- Mt HEHS 5l hA2 M| KAIHHS E Sl 2elol 7Hssta R AMiEt M= 24 MH|AME0 22l6tAI7| HHELICE
- HE 7HHS AHAHIRIIAOR ko] |Al/ZM/Z A Mu|AMEof 2t xfol7} IS =~ &LICh

oy £8 18 HE HEY(SE) HEYFE) HIYAH|XIIH (VAT EE, &)

Ineos Grenadier Complete Vehicle GRA-0000-000100 Screw D5 A3Z D5 7,600
Ineos Grenadier Complete Vehicle GRA-0000-000130 Spring Nut D5 2o HE p5 7,600
Ineos Grenadier Complete Vehicle GRA-0000-000140 Spring Nut Mé AT HE M6 14,100
Ineos Grenadier Complete Vehicle GRA-0000-000150 Screw M6x16 ATZ M6x16 700
Ineos Grenadier Complete Vehicle GRA-0000-000160 Screw M8x19 1,900
Ineos Grenadier Complete Vehicle GRA-0000-000170 Screw 5,500
Ineos Grenadier Complete Vehicle GRA-0000-000180 Screw M6x20 1,300
Ineos Grenadier Complete Vehicle GRA-0000-000190 Screw M6x23 7,600
Ineos Grenadier Complete Vehicle GRA-0000-000250 Screw M10x20 1,900
Ineos Grenadier Complete Vehicle GRA-0000-000360 Push-fit Clip D8 14,100
Ineos Grenadier Complete Vehicle GRA-0000-000390 Screw M6x25 1,100
Ineos Grenadier Complete Vehicle GRA-0000-000420 Grommet 5mm Int Dia 2,300
Ineos Grenadier Complete Vehicle GRA-0000-000470 Screw M4x16 700
Ineos Grenadier Complete Vehicle GRA-0000-000500 Screw M8x16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-000510 Screw M8x40 1,900
Ineos Grenadier Complete Vehicle GRA-0000-000520 Nut M6 400
Ineos Grenadier Complete Vehicle GRA-0000-000530 Screw M6x12 400
Ineos Grenadier Complete Vehicle GRA-0000-000570 Nut M12 1,700
Ineos Grenadier Complete Vehicle GRA-0000-000630 Rubber Mount 173,600
Ineos Grenadier Complete Vehicle GRA-0000-000640 Exhaust Hanger 133,700
Ineos Grenadier Complete Vehicle GRA-0000-000650 Nut M8 1,200
Ineos Grenadier Complete Vehicle GRA-0000-000660 Screw M8x20 1,500
Ineos Grenadier Complete Vehicle GRA-0000-000680 Exhaust Hanger LHER] 145,800
Ineos Grenadier Complete Vehicle GRA-0000-000690 Gasket UEA 153,300
Ineos Grenadier Complete Vehicle GRA-0000-000710 Exhaust Hanger LR 132,100
Ineos Grenadier Complete Vehicle GRA-0000-000720 Exhaust Hanger i 7| 34> 126,600
Ineos Grenadier Complete Vehicle GRA-0000-000730 Exhaust Hanger LR 131,200
Ineos Grenadier Complete Vehicle GRA-0000-000740 Screw AR 2,100
Ineos Grenadier Complete Vehicle GRA-0000-000830 Exhaust Hanger LHER] 134,100
Ineos Grenadier Complete Vehicle GRA-0000-000930 Spring Clip Az 28 7,600
Ineos Grenadier Complete Vehicle GRA-0000-000950 Screw A3F 2,100
Ineos Grenadier Complete Vehicle GRA-0000-001040 Bolt M12x70 = E M12x70 24,000
Ineos Grenadier Complete Vehicle GRA-0000-001340 Bolt M16x50 2 E M16x50 30,100
Ineos Grenadier Complete Vehicle GRA-0000-001570 Nut M8 HE M8 1,300
Ineos Grenadier Complete Vehicle GRA-0000-001820 Screw M8x20 235 M8x20 10,900
Ineos Grenadier Complete Vehicle GRA-0000-001830 Washer M8x15 2k M8x15 10,900
Ineos Grenadier Complete Vehicle GRA-0000-002000 Screw M14x90 A3 F M14x90 8,100
Ineos Grenadier Complete Vehicle GRA-0000-002010 Screw M12x45 ATE M12x45 17,600
Ineos Grenadier Complete Vehicle GRA-0000-002020 Nut M16 L{E M16 6,900
Ineos Grenadier Complete Vehicle GRA-0000-002030 Clip D6.5-7 22 D6.5-7 400
Ineos Grenadier Complete Vehicle GRA-0000-002050 Washer E 400
Ineos Grenadier Complete Vehicle GRA-0000-002060 Screw M6x35 AT Z M6x35 700
Ineos Grenadier Complete Vehicle GRA-0000-002070 Nut M6 HE M6 200
Ineos Grenadier Complete Vehicle GRA-0000-002080 Screw M6x25 AT 2 M6x25 1,300
Ineos Grenadier Complete Vehicle GRA-0000-002090 Washer M8 2t M8 400
Ineos Grenadier Complete Vehicle GRA-0000-002100 Screw M6x12 ATZ M6x12 900
Ineos Grenadier Complete Vehicle GRA-0000-002110 Tie 4.6x165 E}O| 4.6x165 400
Ineos Grenadier Complete Vehicle GRA-0000-002120 Screw M6x12 ATZ M6x12 900
Ineos Grenadier Complete Vehicle GRA-0000-002130 Plug 10x20 E2{1 10x20 700
Ineos Grenadier Complete Vehicle GRA-0000-002140 Mounting Plug D20 028 Z2{3 D20 1,700
Ineos Grenadier Complete Vehicle GRA-0000-002150 Mounting Plug 20x30 OH2 &l E2{1 20x30 2,300
Ineos Grenadier Complete Vehicle GRA-0000-002160 Plug 25x35 =2{1 25x35 2,500
Ineos Grenadier Complete Vehicle GRA-0000-002170 Plug D25 2,100
Ineos Grenadier Complete Vehicle GRA-0000-002180 Screw M8x16 1,500
Ineos Grenadier Complete Vehicle GRA-0000-002190 Screw M6x20 1,100
Ineos Grenadier Complete Vehicle GRA-0000-002200 Screw M5x25 400
Ineos Grenadier Complete Vehicle GRA-0000-002210 Screw M6x16 700
Ineos Grenadier Complete Vehicle GRA-0000-002220 Screw Méx12 1,700
Ineos Grenadier Complete Vehicle GRA-0000-002230 Screw M8x20 2,300
Ineos Grenadier Complete Vehicle GRA-0000-002240 Lock Washer 2.5x16.6 = 9kM 2.5x16.6 6,500
Ineos Grenadier Complete Vehicle GRA-0000-002250 Double Pipe Clip D10-15 Gl £ mjo|Z 28 D10-15 6,100
Ineos Grenadier Complete Vehicle GRA-0000-002260 Plug D12 £33 D12 900
Ineos Grenadier Complete Vehicle GRA-0000-002270 Mounting Plug D25 02 €l E2{1 D25 1,900
Ineos Grenadier Complete Vehicle GRA-0000-002280 Plug D30 =21 D30 1,900
Ineos Grenadier Complete Vehicle GRA-0000-002290 Clip EE 200
Ineos Grenadier Complete Vehicle GRA-0000-002300 Screw M6x20 AT Z M6x20 400
Ineos Grenadier Complete Vehicle GRA-0000-002310 Clip EE 1,100
Ineos Grenadier Complete Vehicle GRA-0000-002320 Cable Clip D4-6 Aol = 22 D4-6 700
Ineos Grenadier Complete Vehicle GRA-0000-002330 Tape D32 E|O|Z D32 7,400
Ineos Grenadier Complete Vehicle GRA-0000-002340 Grommet D16 281 D16 1,700
Ineos Grenadier Complete Vehicle GRA-0000-002350 Screw M10x35 A3 F M10x35 2,300
Ineos Grenadier Complete Vehicle GRA-0000-002390 Screw M6x16 ATZ M6x16 900
Ineos Grenadier Complete Vehicle GRA-0000-002400 Plug D25 £33 D25 4,800
Ineos Grenadier Complete Vehicle GRA-0000-002410 Screw M6X20 AT Z M6X20 900
Ineos Grenadier Complete Vehicle GRA-0000-002420 Screw PT5X16 ASZ PT5X16 400
Ineos Grenadier Complete Vehicle GRA-0000-002430 Tape EES 9,400
Ineos Grenadier Complete Vehicle GRA-0000-002440 Plug D20 £33 D20 3,200
Ineos Grenadier Complete Vehicle GRA-0000-002450 Tape 71x38 E|O[ I 71x38 7,100
Ineos Grenadier Complete Vehicle GRA-0000-002460 Screw M8x35 A3 F M8x35 1,100
Ineos Grenadier Complete Vehicle GRA-0000-002470 Screw M8x30 A3 8x30 8,900
Ineos Grenadier Complete Vehicle GRA-0000-002480 Screw Méx14 o=} 6x14 1,300
Ineos Grenadier Complete Vehicle GRA-0000-002490 Screw M8x25 A3 8x25 2,100
Ineos Grenadier Complete Vehicle GRA-0000-002500 Ball Stud M10 2 2AHE M10 14,500
Ineos Grenadier Complete Vehicle GRA-0000-002510 Screw M8x20 A3 2 M8x20 1,300
Ineos Grenadier Complete Vehicle GRA-0000-002520 Clip 6.5x13 =8 6.5x13 12,800
Ineos Grenadier Complete Vehicle GRA-0000-002530 Screw Méx16 AT 2 M6x16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-002560 Locking Screw 238 8,600
Ineos Grenadier Complete Vehicle GRA-0000-002570 Bolt M10x17.5 =E M10x17.5 5,200
Ineos Grenadier Complete Vehicle GRA-0000-002580 Bolt Méx16 EE Méx16 1,900
Ineos Grenadier Complete Vehicle GRA-0000-002600 Bolt M10x75 = E M10x75 3,800
Ineos Grenadier Complete Vehicle GRA-0000-002650 Bolt M8x50 2,900
Ineos Grenadier Complete Vehicle GRA-0000-002660 Bolt M12x100 = 10,500
Ineos Grenadier Complete Vehicle GRA-0000-002670 Bolt M12x75 EE MI2x75 6,900




Ineos Grenadier Complete Vehicle GRA-0000-002690 Bolt M10x20 =E M10x20 9,700
Ineos Grenadier Complete Vehicle GRA-0000-002700 Bolt M8x20 = E M8x20 9,000
Ineos Grenadier Complete Vehicle GRA-0000-002710 Bolt M6x20 =E M6x20 7,600
Ineos Grenadier Complete Vehicle GRA-0000-002740 Bolt £E 12,700
Ineos Grenadier Complete Vehicle GRA-0000-002750 Bolt M10x45 = E M10x45 13,800
Ineos Grenadier Complete Vehicle GRA-0000-002770 Screw M10x125 A3 Z M10x125 8,400
Ineos Grenadier Complete Vehicle GRA-0000-002780 Screw M8x60 4,500
Ineos Grenadier Complete Vehicle GRA-0000-002800 Screw M6x33 3,200
Ineos Grenadier Complete Vehicle GRA-0000-002850 Screw M8x14 2,300
Ineos Grenadier Complete Vehicle GRA-0000-002860 Screw M12x40 AT F M12x40 9,000
Ineos Grenadier Complete Vehicle GRA-0000-002870 Screw M12x30 AT E M12x30 6,800
Ineos Grenadier Complete Vehicle GRA-0000-002880 Screw M12x34.5 A Z M12x34.5 8,300
Ineos Grenadier Complete Vehicle GRA-0000-002890 Screw M8x30 A3 2 M8x30 2,600
Ineos Grenadier Complete Vehicle GRA-0000-002900 Screw M12x75 AT E M12x75 12,600
Ineos Grenadier Complete Vehicle GRA-0000-002910 Screw Méx14 AT 2 M6x14 1,400
Ineos Grenadier Complete Vehicle GRA-0000-002920 Screw M16x120 A3 Z M16x120 25,000
Ineos Grenadier Complete Vehicle GRA-0000-002930 Screw Méx16 AT 2 M6x16 1,600
Ineos Grenadier Complete Vehicle GRA-0000-002940 Screw M10x40 AT F M10x40 2,600
Ineos Grenadier Complete Vehicle GRA-0000-002950 Screw Méx12 AT 2 M6x12 2,200
Ineos Grenadier Complete Vehicle GRA-0000-002960 Screw M6x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-002970 Screw M10x90 7,300
Ineos Grenadier Complete Vehicle GRA-0000-002980 Screw M10x25 3,200
Ineos Grenadier Complete Vehicle GRA-0000-002990 Screw M6x20 1,000
Ineos Grenadier Complete Vehicle GRA-0000-003000 Screw M6x20 1,200
Ineos Grenadier Complete Vehicle GRA-0000-003010 Screw M6x16 600

Ineos Grenadier Complete Vehicle GRA-0000-003020 Screw M6x16 7,100
Ineos Grenadier Complete Vehicle GRA-0000-003030 Screw M8x20 1,200
Ineos Grenadier Complete Vehicle GRA-0000-003040 Screw M6x25 800

Ineos Grenadier Complete Vehicle GRA-0000-003050 Screw M6x30 2,900
Ineos Grenadier Complete Vehicle GRA-0000-003060 Screw M6x12 1,100
Ineos Grenadier Complete Vehicle GRA-0000-003080 Screw M8x25 5,700
Ineos Grenadier Complete Vehicle GRA-0000-003090 Screw M6x25 1,300
Ineos Grenadier Complete Vehicle GRA-0000-003100 Screw 5x16.55 700

Ineos Grenadier Complete Vehicle GRA-0000-003110 Screw 4x16 400

Ineos Grenadier Complete Vehicle GRA-0000-003140 Screw M6x16 900

Ineos Grenadier Complete Vehicle GRA-0000-003150 Screw M10x40 4,300
Ineos Grenadier Complete Vehicle GRA-0000-003160 Screw M10x50 9,500
Ineos Grenadier Complete Vehicle GRA-0000-003170 Screw M8x20 1,900
Ineos Grenadier Complete Vehicle GRA-0000-003180 Screw M8x25 2,300
Ineos Grenadier Complete Vehicle GRA-0000-003190 Screw M8x35 2,500
Ineos Grenadier Complete Vehicle GRA-0000-003200 Screw 5x20 1,700
Ineos Grenadier Complete Vehicle GRA-0000-003210 Screw M6x20 5,900
Ineos Grenadier Complete Vehicle GRA-0000-003220 Screw M8x16 1,700
Ineos Grenadier Complete Vehicle GRA-0000-003230 Screw M6x12 1,700
Ineos Grenadier Complete Vehicle GRA-0000-003240 Screw Mé6x16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-003260 Screw M16x10 AT Z M16x10 17,100
Ineos Grenadier Complete Vehicle GRA-0000-003270 Screw M12x90 5,100
Ineos Grenadier Complete Vehicle GRA-0000-003280 Screw M10X1.25 10,200
Ineos Grenadier Complete Vehicle GRA-0000-003290 Screw M16x35 10,800
Ineos Grenadier Complete Vehicle GRA-0000-003300 Screw M12x25 3,500
Ineos Grenadier Complete Vehicle GRA-0000-003310 Screw M12x85 6,500
Ineos Grenadier Complete Vehicle GRA-0000-003320 Screw M15x20 16,500
Ineos Grenadier Complete Vehicle GRA-0000-003340 Screw M8x30 2,300
Ineos Grenadier Complete Vehicle GRA-0000-003350 Screw M8x25 2,500
Ineos Grenadier Complete Vehicle GRA-0000-003360 Screw M8x90 3,500
Ineos Grenadier Complete Vehicle GRA-0000-003370 Screw M8x25 1,700
Ineos Grenadier Complete Vehicle GRA-0000-003380 Screw M6x12 900

Ineos Grenadier Complete Vehicle GRA-0000-003390 Screw M12x80 12,200
Ineos Grenadier Complete Vehicle GRA-0000-003400 Screw M14x65 11,200
Ineos Grenadier Complete Vehicle GRA-0000-003410 Screw M16x90 11,000
Ineos Grenadier Complete Vehicle GRA-0000-003420 Screw M14x110 10,200
Ineos Grenadier Complete Vehicle GRA-0000-003430 Screw M14x90 9,000
Ineos Grenadier Complete Vehicle GRA-0000-003440 Screw M14x120 22,200
Ineos Grenadier Complete Vehicle GRA-0000-003450 Screw M14x120 9,000
Ineos Grenadier Complete Vehicle GRA-0000-003460 Screw M14x75 13,400
Ineos Grenadier Complete Vehicle GRA-0000-003470 Screw M12x30 3,500
Ineos Grenadier Complete Vehicle GRA-0000-003480 Screw M10x35 2,700
Ineos Grenadier Complete Vehicle GRA-0000-003490 Screw M10x30 2,900
Ineos Grenadier Complete Vehicle GRA-0000-003500 Screw M10x16 3,700
Ineos Grenadier Complete Vehicle GRA-0000-003510 Screw M5x10 400

Ineos Grenadier Complete Vehicle GRA-0000-003520 Screw M14x40 8,000
Ineos Grenadier Complete Vehicle GRA-0000-003540 Screw M12x40 4,900
Ineos Grenadier Complete Vehicle GRA-0000-003550 Screw M8x20 1,700
Ineos Grenadier Complete Vehicle GRA-0000-003560 Screw M10x25 3,300
Ineos Grenadier Complete Vehicle GRA-0000-003570 Screw M8x16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-003580 Screw M6x25 7,100
Ineos Grenadier Complete Vehicle GRA-0000-003590 Screw M8x16 1,300
Ineos Grenadier Complete Vehicle GRA-0000-003600 Screw M6x16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-003610 Screw PT4x12 1,500
Ineos Grenadier Complete Vehicle GRA-0000-003620 Screw M5x20 1,700
Ineos Grenadier Complete Vehicle GRA-0000-003630 Screw M6x17.5 2,300
Ineos Grenadier Complete Vehicle GRA-0000-003650 Screw M12x45 7,400
Ineos Grenadier Complete Vehicle GRA-0000-003660 Screw M6x45 1,300
Ineos Grenadier Complete Vehicle GRA-0000-003670 Screw M5x12 700

Ineos Grenadier Complete Vehicle GRA-0000-003680 Screw M8x25 1,500
Ineos Grenadier Complete Vehicle GRA-0000-003690 Screw M6x20 700

Ineos Grenadier Complete Vehicle GRA-0000-003700 Screw M6x30 1,300
Ineos Grenadier Complete Vehicle GRA-0000-003710 Screw M6x12 3,700
Ineos Grenadier Complete Vehicle GRA-0000-003720 Screw M6x12 700

Ineos Grenadier Complete Vehicle GRA-0000-003730 Screw M6x40 1,300
Ineos Grenadier Complete Vehicle GRA-0000-003740 Screw M4x16 900

Ineos Grenadier Complete Vehicle GRA-0000-003750 Screw M6x16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-003760 Screw 3x10 AR 3x10 700

Ineos Grenadier Complete Vehicle GRA-0000-003770 Screw PT4x12 A F PT4x12 2,300
Ineos Grenadier Complete Vehicle GRA-0000-003780 Screw M10 AT E M0 6,500
Ineos Grenadier Complete Vehicle GRA-0000-003790 Screw Méx16 23T Méx16 900

Ineos Grenadier Complete Vehicle GRA-0000-003800 Screw M10x20 A3 E M10x20 2,700
Ineos Grenadier Complete Vehicle GRA-0000-003810 Screw M8x16 235 M8x16 2,300




Ineos Grenadier Complete Vehicle GRA-0000-003820 Screw ST4.2x13 AR ST4.2x13 200
Ineos Grenadier Complete Vehicle GRA-0000-003830 Screw ST4.2x16 AT ST4.2x16 6,500
Ineos Grenadier Complete Vehicle GRA-0000-003840 Screw M5x12 AT Z M5x12 400
Ineos Grenadier Complete Vehicle GRA-0000-003850 Screw 4x14 23T 4x14 1,100
Ineos Grenadier Complete Vehicle GRA-0000-003870 Screw AR 2,900
Ineos Grenadier Complete Vehicle GRA-0000-003880 Screw M8x16 23T M8x16 700
Ineos Grenadier Complete Vehicle GRA-0000-003890 Screw AR 2,500
Ineos Grenadier Complete Vehicle GRA-0000-003910 Screw A3F 3,900
Ineos Grenadier Complete Vehicle GRA-0000-003920 Screw Méx16 AT 2 M6x16 1,700
Ineos Grenadier Complete Vehicle GRA-0000-003940 Screw M10x23 = 3,300
Ineos Grenadier Complete Vehicle GRA-0000-003950 Screw M12x25 5,300
Ineos Grenadier Complete Vehicle GRA-0000-003960 Screw M10x20 10,200
Ineos Grenadier Complete Vehicle GRA-0000-003970 Screw M8x20 3,100
Ineos Grenadier Complete Vehicle GRA-0000-003980 Screw M6x35 1,500
Ineos Grenadier Complete Vehicle GRA-0000-003990 Screw M5x25 1,900
Ineos Grenadier Complete Vehicle GRA-0000-004000 Screw ST4.8x16 AT ST4.8x16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-004010 Screw M8x20 A3 2 M8x20 1,500
Ineos Grenadier Complete Vehicle GRA-0000-004020 Screw M10x40 AT F M10x40 4,900
Ineos Grenadier Complete Vehicle GRA-0000-004030 Screw PT6x20 A3 PT6x20 700
Ineos Grenadier Complete Vehicle GRA-0000-004040 Screw PT4.5x25 A2 PT4.5x25 1,700
Ineos Grenadier Complete Vehicle GRA-0000-004050 Screw M6x40 2,900
Ineos Grenadier Complete Vehicle GRA-0000-004070 Screw M6x12 700
Ineos Grenadier Complete Vehicle GRA-0000-004080 Screw M10x60 3,900
Ineos Grenadier Complete Vehicle GRA-0000-004090 Screw M6x25 7,400
Ineos Grenadier Complete Vehicle GRA-0000-004100 Screw Mé6x12 1,300
Ineos Grenadier Complete Vehicle GRA-0000-004110 Screw M6x30 1,100
Ineos Grenadier Complete Vehicle GRA-0000-004120 Screw M5x16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-004130 Screw M6x22 1,500
Ineos Grenadier Complete Vehicle GRA-0000-004140 Screw M6x12 900
Ineos Grenadier Complete Vehicle GRA-0000-004160 Screw M6x25 2,100
Ineos Grenadier Complete Vehicle GRA-0000-004180 Nut M8 17,300
Ineos Grenadier Complete Vehicle GRA-0000-004190 Screw M6x16 7,200
Ineos Grenadier Complete Vehicle GRA-0000-004200 Nut 5,300
Ineos Grenadier Complete Vehicle GRA-0000-004210 Screw M8x12 23T M8x12 1,500
Ineos Grenadier Complete Vehicle GRA-0000-004220 Screw M5x12 AT 2 M5x12 1,100
Ineos Grenadier Complete Vehicle GRA-0000-004230 Screw ST4.2x19 A3 ZF ST4.2x19 1,100
Ineos Grenadier Complete Vehicle GRA-0000-004240 Screw 3.5x7 2,300
Ineos Grenadier Complete Vehicle GRA-0000-004250 Screw M8x12 2,100
Ineos Grenadier Complete Vehicle GRA-0000-004260 Screw M5x12 700
Ineos Grenadier Complete Vehicle GRA-0000-004270 Screw M6x20 1,700
Ineos Grenadier Complete Vehicle GRA-0000-004280 Screw M6x20 900
Ineos Grenadier Complete Vehicle GRA-0000-004290 Screw M4x20 2,500
Ineos Grenadier Complete Vehicle GRA-0000-004300 Thumb Screw 19,500
Ineos Grenadier Complete Vehicle GRA-0000-004310 Screw M8x60 5,500
Ineos Grenadier Complete Vehicle GRA-0000-004320 Clip = 5 4,100
Ineos Grenadier Complete Vehicle GRA-0000-004330 Screw M12x25 AT F M12x25 8,200
Ineos Grenadier Complete Vehicle GRA-0000-004340 Screw M10x20 A3 E M10x20 7,900
Ineos Grenadier Complete Vehicle GRA-0000-004350 Washer El 400
Ineos Grenadier Complete Vehicle GRA-0000-004360 Screw M10x30 A3 E M10x30 11,000
Ineos Grenadier Complete Vehicle GRA-0000-004370 Screw M12x30 A3 F M12x30 14,000
Ineos Grenadier Complete Vehicle GRA-0000-004380 Nut M6 HE M6 1,100
Ineos Grenadier Complete Vehicle GRA-0000-004390 Screw M6x20 23T M6x20 1,300
Ineos Grenadier Complete Vehicle GRA-0000-004400 Nut M8 HE M8 2,900
Ineos Grenadier Complete Vehicle GRA-0000-004410 Washer ot 6,100
Ineos Grenadier Complete Vehicle GRA-0000-004420 Washer AN 9,600
Ineos Grenadier Complete Vehicle GRA-0000-004430 Nut M10 L{E M10 7,100
Ineos Grenadier Complete Vehicle GRA-0000-004440 Lock Washer B 4,100
Ineos Grenadier Complete Vehicle GRA-0000-004450 Lock Washer B 4,100
Ineos Grenadier Complete Vehicle GRA-0000-004470 Washer M6 9t M6 3,300
Ineos Grenadier Complete Vehicle GRA-0000-004480 Nut M8 HE M8 4,500
Ineos Grenadier Complete Vehicle GRA-0000-004500 Nut M6 HE M6 3,900
Ineos Grenadier Complete Vehicle GRA-0000-004510 Nut M6 HE M6 400
Ineos Grenadier Complete Vehicle GRA-0000-004520 Clip =8 3,700
Ineos Grenadier Complete Vehicle GRA-0000-004530 Nut M6 HE M6 5,500
Ineos Grenadier Complete Vehicle GRA-0000-004630 Bolt M8x13 =E M8x13 7,400
Ineos Grenadier Complete Vehicle GRA-0000-004640 Nut M10 L{E M10 1,100
Ineos Grenadier Complete Vehicle GRA-0000-004670 Nut M8 L{E M8 900
Ineos Grenadier Complete Vehicle GRA-0000-004680 Nut M16 L{E M16 5,300
Ineos Grenadier Complete Vehicle GRA-0000-004690 Nut M14 HE M14 2,500
Ineos Grenadier Complete Vehicle GRA-0000-004700 Screw M8x21 235 M8x21 12,400
Ineos Grenadier Complete Vehicle GRA-0000-004710 Nut M16 HE M16 6,500
Ineos Grenadier Complete Vehicle GRA-0000-004720 Nut M12 L E M12 3,100
Ineos Grenadier Complete Vehicle GRA-0000-004740 Plastic Rivet EctAE 28l 1,300
Ineos Grenadier Complete Vehicle GRA-0000-004770 Stud Bolt 2HE EE 3,900
Ineos Grenadier Complete Vehicle GRA-0000-004780 Dowel Pin 4,700
Ineos Grenadier Complete Vehicle GRA-0000-004790 Dowel 1,500
Ineos Grenadier Complete Vehicle GRA-0000-004870 Bolt 1,300
Ineos Grenadier Complete Vehicle GRA-0000-004890 Bolt 4,100
Ineos Grenadier Complete Vehicle GRA-0000-004940 Liquid Sealant 48,300
Ineos Grenadier Complete Vehicle GRA-0000-004950 Reluctor 58,400
Ineos Grenadier Complete Vehicle GRA-0000-004960 Dowel 2,200
Ineos Grenadier Complete Vehicle GRA-0000-004970 Bolt 3,800
Ineos Grenadier Complete Vehicle GRA-0000-005310 Tape D32 3,500
Ineos Grenadier Complete Vehicle GRA-0000-005320 Tape D40 4,700
Ineos Grenadier Complete Vehicle GRA-0000-005780 Clip 6,100
Ineos Grenadier Complete Vehicle GRA-0000-006500 Clip 1,100
Ineos Grenadier Complete Vehicle GRA-0000-006590 Screw 5x16 1,500
Ineos Grenadier Complete Vehicle GRA-0000-006710 Foam Washer 5,100
Ineos Grenadier Complete Vehicle GRA-0000-006720 Bolt 6,900
Ineos Grenadier Complete Vehicle GRA-0000-006870 Immocoil REEP 220,600
Ineos Grenadier Complete Vehicle GRA-0000-006890 Washer kM 5,400
Ineos Grenadier Complete Vehicle GRA-0000-006900 Interior Temperature Sensor AL 2= MM 359,900
Ineos Grenadier Complete Vehicle GRA-0000-006910 Ignition Lock OaLM & 805,400
Ineos Grenadier Complete Vehicle GRA-0000-007660 Screw M6x10 A3 F M6x10 900
Ineos Grenadier Complete Vehicle GRA-0000-007860 Clip =2 1,000
Ineos Grenadier Complete Vehicle GRA-0000-007980 Screw PT4x20 A3 F PT4x20 400
Ineos Grenadier Complete Vehicle GRA-0000-008000 Reflector EEE] 31,700
Ineos Grenadier Complete Vehicle GRA-0000-008550 Screw M6x25 23T M6x25 2,900




Ineos Grenadier Complete Vehicle GRA-0000-008880 0-ring EX] 4,200
Ineos Grenadier Complete Vehicle GRA-0000-009150 Bolt M8x20 = E M8x20 8,100
Ineos Grenadier Complete Vehicle GRA-0000-009540 Screw M8x20 A3 2 M8x20 43,800
Ineos Grenadier Complete Vehicle GRA-0000-009580 Nut M5 HE M5 4,100
Ineos Grenadier Complete Vehicle GRA-0000-009720 Grommet D30 281 D30 7,800
Ineos Grenadier Complete Vehicle GRA-0000-009740 Screw M10x45 AT F M10x45 6,800
Ineos Grenadier Complete Vehicle GRA-0000-009870 Plug D7.0 £33 7.0 1,500
Ineos Grenadier Complete Vehicle GRA-0000-009940 Clip EE 14,200
Ineos Grenadier Complete Vehicle GRA-0000-009980 Washer kM 63,100
Ineos Grenadier Complete Vehicle GRA-0000-010200 Exhaust Hanger LHER] 182,500
Ineos Grenadier Complete Vehicle GRA-0000-010230 Washer D34x2.1 2FA D34x2.1 1,400
Ineos Grenadier Complete Vehicle GRA-0000-010240 Nut M8 HE M8 800
Ineos Grenadier Complete Vehicle GRA-0000-010250 Washer D30x4 2FM D30x4 1,400
Ineos Grenadier Complete Vehicle GRA-0000-010260 Nut M16 L{E M16 4,200
Ineos Grenadier Complete Vehicle GRA-0000-010270 Cap M16x1  M16x1 1,200
Ineos Grenadier Complete Vehicle GRA-0000-010280 Screw A3F 15,500
Ineos Grenadier Complete Vehicle GRA-0000-010290 Washer D30x3.5 2FA D30x3.5 1,400
Ineos Grenadier Complete Vehicle GRA-0000-010300 Lock Washer B 800
Ineos Grenadier Complete Vehicle GRA-0000-010310 Washer D17.5x3.3 2FA D17.5x3.3 2,200
Ineos Grenadier Complete Vehicle GRA-0000-010320 Washer D17.5x4 2tM D17.5x4 1,000
Ineos Grenadier Complete Vehicle GRA-0000-010330 Cap M8 M8 1,000
Ineos Grenadier Complete Vehicle GRA-0000-010410 Nut M8 HE M8 3,300
Ineos Grenadier Complete Vehicle GRA-0000-010650 Alarm Siren FERNE] 193,200
Ineos Grenadier Complete Vehicle GRA-0000-010730 Screw M8x20 235 M8x20 1,500
Ineos Grenadier Complete Vehicle GRA-0000-010750 Screw 5x16.55 ATE 5x16.55 900
Ineos Grenadier Complete Vehicle GRA-0000-010780 Bolt M6x20 EE M6x20 8,000
Ineos Grenadier Complete Vehicle GRA-0000-010790 Bolt =E 13,800
Ineos Grenadier Complete Vehicle GRA-0000-011070 Weld Nut 8H HE 3,400
Ineos Grenadier Complete Vehicle GRA-0000-011080 Screw M8x14 AT 2 M8x14 1,300
Ineos Grenadier Complete Vehicle GRA-0000-011100 Nut M6 HE M6 4,100
Ineos Grenadier Complete Vehicle GRA-0000-011110 Nut M8 HE M8 700
Ineos Grenadier Complete Vehicle GRA-0000-011120 Nut M6 HE M6 2,200
Ineos Grenadier Complete Vehicle GRA-0000-011140 Nut HE 900
Ineos Grenadier Complete Vehicle GRA-0000-011150 Nut HE 2,100
Ineos Grenadier Complete Vehicle GRA-0000-011210 Nut M8 L{E M8 400
Ineos Grenadier Complete Vehicle GRA-0000-011230 Plastic Nut EotAE HE 1,500
Ineos Grenadier Complete Vehicle GRA-0000-011240 Nut M6 L E M6 200
Ineos Grenadier Complete Vehicle GRA-0000-011250 Nut M8 HE M8 1,100
Ineos Grenadier Complete Vehicle GRA-0000-011260 Screw M8x16 AT 2 M8x16 1,500
Ineos Grenadier Complete Vehicle GRA-0000-011290 Clip D23x6.5 =& D23x6.5 5,500
Ineos Grenadier Complete Vehicle GRA-0000-011300 Clip D16-22 =2 D16-22 10,600
Ineos Grenadier Complete Vehicle GRA-0000-011310 Clip 1x6.5 =& 1x6.5 400
Ineos Grenadier Complete Vehicle GRA-0000-011320 Retainer Clip EENEEE 700
Ineos Grenadier Complete Vehicle GRA-0000-011330 Clip 14.7x26 S8 14.7x26 3,700
Ineos Grenadier Complete Vehicle GRA-0000-011340 Clip 20x20 =2 20x20 5,500
Ineos Grenadier Complete Vehicle GRA-0000-011360 Clip D7x4 =& D7x4 2,900
Ineos Grenadier Complete Vehicle GRA-0000-011370 Clip =8 14,500
Ineos Grenadier Complete Vehicle GRA-0000-011380 Clip EE 7,400
Ineos Grenadier Complete Vehicle GRA-0000-011390 Clip D6.3 =22 D6.3 2,500
Ineos Grenadier Complete Vehicle GRA-0000-011410 Clip EE 7,800
Ineos Grenadier Complete Vehicle GRA-0000-011480 Screw AR 3,100
Ineos Grenadier Complete Vehicle GRA-0000-011490 Bolt £E 3,400
Ineos Grenadier Complete Vehicle GRA-0000-011500 Bolt =E 7,500
Ineos Grenadier Complete Vehicle GRA-0000-011510 Dowel cHel 1,800
Ineos Grenadier Complete Vehicle GRA-0000-011530 0Oil Pressure Sensor EFRERE 78,500
Ineos Grenadier Complete Vehicle GRA-0000-011540 Oil Pressure Switch o ofad AQ[X] 44,500
Ineos Grenadier Complete Vehicle GRA-0000-011550 Solenoid Valve £olE e 221,500
Ineos Grenadier Complete Vehicle GRA-0000-011560 Bolt £E 1,500
Ineos Grenadier Complete Vehicle GRA-0000-011570 Screw 238 900
Ineos Grenadier Complete Vehicle GRA-0000-011580 Sealing Washer A2 M 2,900
Ineos Grenadier Complete Vehicle GRA-0000-011590 Stud Bolt AHE BE 4,600
Ineos Grenadier Complete Vehicle GRA-0000-011610 Gasket =Y 11,300
Ineos Grenadier Complete Vehicle GRA-0000-011620 Nut HE 1,300
Ineos Grenadier Complete Vehicle GRA-0000-011640 0-ring EX] 1,400
Ineos Grenadier Complete Vehicle GRA-0000-011660 0-ring EX] 2,600
Ineos Grenadier Complete Vehicle GRA-0000-011670 Bolt = 2,100
Ineos Grenadier Complete Vehicle GRA-0000-011680 Bolt 2,000
Ineos Grenadier Complete Vehicle GRA-0000-011690 Bolt 6,400
Ineos Grenadier Complete Vehicle GRA-0000-011710 Blind Plug setele Zea 3,700
Ineos Grenadier Complete Vehicle GRA-0000-011720 Screw Plug 7,000
Ineos Grenadier Complete Vehicle GRA-0000-011750 Bolt 1,600
Ineos Grenadier Complete Vehicle GRA-0000-011770 Bolt 9,900
Ineos Grenadier Complete Vehicle GRA-0000-011780 Bolt 10,000
Ineos Grenadier Complete Vehicle GRA-0000-011820 Camshaft Position Sensor HAFZE XN HM 229,800
Ineos Grenadier Complete Vehicle GRA-0000-011830 0-ring EX] 6,500
Ineos Grenadier Complete Vehicle GRA-0000-011840 Bolt 2,600
Ineos Grenadier Complete Vehicle GRA-0000-011930 Bolt 1,600
Ineos Grenadier Complete Vehicle GRA-0000-011960 Bolt 5,600
Ineos Grenadier Complete Vehicle GRA-0000-012000 Pin 4,100
Ineos Grenadier Complete Vehicle GRA-0000-012220 Flexplate El 1,161,600
Ineos Grenadier Complete Vehicle GRA-0000-012230 Bolt 5,600
Ineos Grenadier Complete Vehicle GRA-0000-012260 Bolt 5,500
Ineos Grenadier Complete Vehicle GRA-0000-012280 Bolt 3,800
Ineos Grenadier Complete Vehicle GRA-0000-012310 Bolt 1,400
Ineos Grenadier Complete Vehicle GRA-0000-012340 Bolt 15,000
Ineos Grenadier Complete Vehicle GRA-0000-012360 Bolt 2,000
Ineos Grenadier Complete Vehicle GRA-0000-012560 Screw 3,900
Ineos Grenadier Complete Vehicle GRA-0000-012570 Bolt 2,800
Ineos Grenadier Complete Vehicle GRA-0000-012580 Bolt 1,600
Ineos Grenadier Complete Vehicle GRA-0000-012630 Bolt 9,000
Ineos Grenadier Complete Vehicle GRA-0000-012680 Bolt 3,700
Ineos Grenadier Complete Vehicle GRA-0000-012730 0-ring 9,600
Ineos Grenadier Complete Vehicle GRA-0000-012760 Bolt 2,100
Ineos Grenadier Complete Vehicle GRA-0000-012770 Screw 1,800
Ineos Grenadier Complete Vehicle GRA-0000-012860 Screw 13,500
Ineos Grenadier Complete Vehicle GRA-0000-012870 Screw 2,200
Ineos Grenadier Complete Vehicle GRA-0000-012880 Screw AR 5,100
Ineos Grenadier Complete Vehicle GRA-0000-012920 Screw M8x20 235 M8x20 6,100




Ineos Grenadier Complete Vehicle GRA-0000-012960 Rivet EE] 1,100
Ineos Grenadier Complete Vehicle GRA-0000-013250 Nut HE 3,000
Ineos Grenadier Complete Vehicle GRA-0000-013360 Rubber Mount 2t O E 22,200
Ineos Grenadier Complete Vehicle GRA-0000-013680 Screw A3F 8,100
Ineos Grenadier Complete Vehicle GRA-0000-013720 Lock Washer B 21,900
Ineos Grenadier Complete Vehicle GRA-0000-013730 Screw A3F 9,700
Ineos Grenadier Complete Vehicle GRA-0000-013740 Screw AR 9,700
Ineos Grenadier Complete Vehicle GRA-0000-013750 Pressure Sensor o3 MM 203,300
Ineos Grenadier Complete Vehicle GRA-0000-013760 Bolt =E 1,700
Ineos Grenadier Complete Vehicle GRA-0000-013890 0-ring EX] 2,900
Ineos Grenadier Complete Vehicle GRA-0000-013900 Screw 1,700
Ineos Grenadier Complete Vehicle GRA-0000-013910 Screw 4,000
Ineos Grenadier Complete Vehicle GRA-0000-013920 Screw 20,000
Ineos Grenadier Complete Vehicle GRA-0000-013930 Bolt 2,000
Ineos Grenadier Complete Vehicle GRA-0000-013940 Bolt 1,600
Ineos Grenadier Complete Vehicle GRA-0000-013950 Bolt = 3,900
Ineos Grenadier Complete Vehicle GRA-0000-013960 Exhaust Gas Temperature Sensor Hi 7| 7tA 2= Mo 149,600
Ineos Grenadier Complete Vehicle GRA-0000-014040 Banjo Bolt HE =E 14,600
Ineos Grenadier Complete Vehicle GRA-0000-014050 Banjo Bolt Hix 2E 4,900
Ineos Grenadier Complete Vehicle GRA-0000-014060 Seal Washer EE 800
Ineos Grenadier Complete Vehicle GRA-0000-014070 Screw A3 2 1,300
Ineos Grenadier Complete Vehicle GRA-0000-014080 Screw ATE 2,000
Ineos Grenadier Complete Vehicle GRA-0000-014090 Bolt 1,300
Ineos Grenadier Complete Vehicle GRA-0000-014110 Nut 1,300
Ineos Grenadier Complete Vehicle GRA-0000-014160 0-RING 7,700
Ineos Grenadier Complete Vehicle GRA-0000-014170 0-ring 7,300
Ineos Grenadier Complete Vehicle GRA-0000-014180 0-ring 13,000
Ineos Grenadier Complete Vehicle GRA-0000-014210 Screw 7,800
Ineos Grenadier Complete Vehicle GRA-0000-014220 Screw 4,600
Ineos Grenadier Complete Vehicle GRA-0000-014230 Screw 1,600
Ineos Grenadier Complete Vehicle GRA-0000-014250 Screw fat 1,400
Ineos Grenadier Complete Vehicle GRA-0000-014290 Screw A7 1,900
Ineos Grenadier Complete Vehicle GRA-0000-014360 Exhaust Pressure Sensor [HEERR 164,500
Ineos Grenadier Complete Vehicle GRA-0000-014370 Screw A3F 10,400
Ineos Grenadier Complete Vehicle GRA-0000-014380 Nut HE 2,000
Ineos Grenadier Complete Vehicle GRA-0000-014460 Screw A3F 8,100
Ineos Grenadier Complete Vehicle GRA-0000-014470 Rivet EE] 500
Ineos Grenadier Complete Vehicle GRA-0000-014480 Clip EE 1,000
Ineos Grenadier Complete Vehicle GRA-0000-014490 0-ring 13,900
Ineos Grenadier Complete Vehicle GRA-0000-014500 Bolt 2,700
Ineos Grenadier Complete Vehicle GRA-0000-014560 Lubrication Grease 69,600
Ineos Grenadier Complete Vehicle GRA-0000-014590 Screw 4,400
Ineos Grenadier Complete Vehicle GRA-0000-014640 Grommet 6,000
Ineos Grenadier Complete Vehicle GRA-0000-014650 Screw 2,100
Ineos Grenadier Complete Vehicle GRA-0000-014690 Clamp 2,700
Ineos Grenadier Complete Vehicle GRA-0000-014720 Screw 1,500
Ineos Grenadier Complete Vehicle GRA-0000-014730 Clamp 4,800
Ineos Grenadier Complete Vehicle GRA-0000-014740 Strap Bracket 2,300
Ineos Grenadier Complete Vehicle GRA-0000-014790 Bolt 4,100
Ineos Grenadier Complete Vehicle GRA-0000-014820 Clip 4,000
Ineos Grenadier Complete Vehicle GRA-0000-014880 Coolant Temperature Sensor 80,900
Ineos Grenadier Complete Vehicle GRA-0000-014890 Screw 1,000
Ineos Grenadier Complete Vehicle GRA-0000-014900 0-ring 5,500
Ineos Grenadier Complete Vehicle GRA-0000-014990 Screw 3,700
Ineos Grenadier Complete Vehicle GRA-0000-015010 Bolt 7,300
Ineos Grenadier Complete Vehicle GRA-0000-015060 Bolt 12,900
Ineos Grenadier Complete Vehicle GRA-0000-015070 Washer 13,000
Ineos Grenadier Complete Vehicle GRA-0000-015110 0-ring 61,300
Ineos Grenadier Complete Vehicle GRA-0000-015130 Bolt 3,300
Ineos Grenadier Complete Vehicle GRA-0000-015160 Gasket 17,600
Ineos Grenadier Complete Vehicle GRA-0000-015170 Screw 11,300
Ineos Grenadier Complete Vehicle GRA-0000-015180 Clamp 5,600
Ineos Grenadier Complete Vehicle GRA-0000-015240 Screw 3,200
Ineos Grenadier Complete Vehicle GRA-0000-015420 Bolt 5,800
Ineos Grenadier Complete Vehicle GRA-0000-015440 Snap Ring 6,100
Ineos Grenadier Complete Vehicle GRA-0000-015470 Bolt 4,900
Ineos Grenadier Complete Vehicle GRA-0000-015690 Bolt 3,700
Ineos Grenadier Complete Vehicle GRA-0000-015700 Screw 3,900
Ineos Grenadier Complete Vehicle GRA-0000-015710 COUNTERSUNK SCREW 3,300
Ineos Grenadier Complete Vehicle GRA-0000-015720 Dowel 3,800
Ineos Grenadier Complete Vehicle GRA-0000-015750 Screw 1,500
Ineos Grenadier Complete Vehicle GRA-0000-016010 Screw 3,300
Ineos Grenadier Complete Vehicle GRA-0000-016040 Screw 3,500
Ineos Grenadier Complete Vehicle GRA-0000-016050 0-ring 3,500
Ineos Grenadier Complete Vehicle GRA-0000-016140 0-ring 29,500
Ineos Grenadier Complete Vehicle GRA-0000-016170 0-ring 5,000
Ineos Grenadier Complete Vehicle GRA-0000-016180 Screw 1,700
Ineos Grenadier Complete Vehicle GRA-0000-016220 Screw 1,700
Ineos Grenadier Complete Vehicle GRA-0000-016230 Screw 2,300
Ineos Grenadier Complete Vehicle GRA-0000-016270 Bolt 3,800
Ineos Grenadier Complete Vehicle GRA-0000-016300 Screw 3,700
Ineos Grenadier Complete Vehicle GRA-0000-016310 Screw 5,200
Ineos Grenadier Complete Vehicle GRA-0000-016320 Lock Washer 2,100
Ineos Grenadier Complete Vehicle GRA-0000-016330 Bolt 2,200
Ineos Grenadier Complete Vehicle GRA-0000-016350 Bolt 3,100
Ineos Grenadier Complete Vehicle GRA-0000-016380 0-ring 21,300
Ineos Grenadier Complete Vehicle GRA-0000-016410 0-ring 3,700
Ineos Grenadier Complete Vehicle GRA-0000-016420 0-ring 5,300
Ineos Grenadier Complete Vehicle GRA-0000-016460 Screw 3,100
Ineos Grenadier Complete Vehicle GRA-0000-016470 Screw 2,200
Ineos Grenadier Complete Vehicle GRA-0000-016480 Screw 1,200
Ineos Grenadier Complete Vehicle GRA-0000-016550 Screw 2,600
Ineos Grenadier Complete Vehicle GRA-0000-016560 Screw 1,500
Ineos Grenadier Complete Vehicle GRA-0000-016580 Bolt 3,400
Ineos Grenadier Complete Vehicle GRA-0000-016590 Screw AR 1,000
Ineos Grenadier Complete Vehicle GRA-0000-016610 Push Fit Clip D8 FEA W 28 D8 900
Ineos Grenadier Complete Vehicle GRA-0000-016730 Bolt =E 800
Ineos Grenadier Complete Vehicle GRA-0000-016760 Screw A3F 1,600




Ineos Grenadier Complete Vehicle GRA-0000-016780 Nut HE 900
Ineos Grenadier Complete Vehicle GRA-0000-016890 Screw A3F 3,700
Ineos Grenadier Complete Vehicle GRA-0000-016950 Bolt =E 5,000
Ineos Grenadier Complete Vehicle GRA-0000-017000 0-ring EX] 54,200
Ineos Grenadier Complete Vehicle GRA-0000-017020 Washer 2FM 700
Ineos Grenadier Complete Vehicle GRA-0000-017030 Clamp D22 S3Z D22 12,200
Ineos Grenadier Complete Vehicle GRA-0000-017080 Bolt M10x70 = E M10x70 6,900
Ineos Grenadier Complete Vehicle GRA-0000-017090 Bolt M10x20 2 E M10x20 4,900
Ineos Grenadier Complete Vehicle GRA-0000-017100 Nut M10 HE M10 3,300
Ineos Grenadier Complete Vehicle GRA-0000-017160 Anchor Cable Tie A7 A 0|5 EfO| 1,300
Ineos Grenadier Complete Vehicle GRA-0000-017170 Anchor Cable Tie A7 A 3,200
Ineos Grenadier Complete Vehicle GRA-0000-017190 Bolt 1,500
Ineos Grenadier Complete Vehicle GRA-0000-017200 Bolt 3,900
Ineos Grenadier Complete Vehicle GRA-0000-017210 Bolt 1,400
Ineos Grenadier Complete Vehicle GRA-0000-018220 Screw M5x25 4,900
Ineos Grenadier Complete Vehicle GRA-0000-018240 Clip 15,800
Ineos Grenadier Complete Vehicle GRA-0000-018800 Clamp 12,600
Ineos Grenadier Complete Vehicle GRA-0000-018870 Screw M12x50 6,400
Ineos Grenadier Complete Vehicle GRA-0000-018880 Screw M12x100 10,000
Ineos Grenadier Complete Vehicle GRA-0000-018940 Washer M12 700
Ineos Grenadier Complete Vehicle GRA-0000-018950 Washer M12 1,900
Ineos Grenadier Complete Vehicle GRA-0000-019001 LH Side Door Hinge LH AFO|E &0] 3IX] 251,400
Ineos Grenadier Complete Vehicle GRA-0000-019012 RH Side Door Hinge RH AFO|E = 0f $IX| 251,400
Ineos Grenadier Complete Vehicle GRA-0000-019090 Retainer Clip EEREEE] 1,300
Ineos Grenadier Complete Vehicle GRA-0000-019110 Plug Ll 2,100
Ineos Grenadier Complete Vehicle GRA-0000-019390 Screw M8x20 235 M8x20 3,100
Ineos Grenadier Complete Vehicle GRA-0000-019400 Screw M6x20 AT 2 M6x20 25,800
Ineos Grenadier Complete Vehicle GRA-0000-019460 Washer El 5,900
Ineos Grenadier Complete Vehicle GRA-0000-019520 Screw M10x25 AT E M10x25 11,000
Ineos Grenadier Complete Vehicle GRA-0000-019530 Screw M8x20 235 M8x20 8,100
Ineos Grenadier Complete Vehicle GRA-0000-019600 Rivet EE] 2,500
Ineos Grenadier Complete Vehicle GRA-0000-019610 Dowel 14.5mm CHel 14.5mm 2,200
Ineos Grenadier Complete Vehicle GRA-0000-019650 Mounting Clip o8 =& 11,600
Ineos Grenadier Complete Vehicle GRA-0000-019680 Expanding Nut SEH HE 700
Ineos Grenadier Complete Vehicle GRA-0000-019980 Exhaust Isolator HY 7| ofo|& 2 0|E 199,300
Ineos Grenadier Complete Vehicle GRA-0000-020860 Washer El 3,200
Ineos Grenadier Complete Vehicle GRA-0000-020960 Hose Clamp A CHO 1,900
Ineos Grenadier Complete Vehicle GRA-0000-020970 Hose Clamp DA CHD 3,700
Ineos Grenadier Complete Vehicle GRA-0000-021330 Nut M12 HE M12 3,100
Ineos Grenadier Complete Vehicle GRA-0000-021380 Washer El 140,300
Ineos Grenadier Complete Vehicle GRA-0000-021490 Screw AR 1,700
Ineos Grenadier Complete Vehicle GRA-0000-021860 Nut Washer Mé HE 9l M6 1,300
Ineos Grenadier Complete Vehicle GRA-0000-022130 Metal Retaining Clip g 2|Hold 28 2,700
Ineos Grenadier Complete Vehicle GRA-0000-022150 Metal Retaining Clip LEEEREEE] 2,600
Ineos Grenadier Complete Vehicle GRA-0000-022200 Push Clip FA 28 2,700
Ineos Grenadier Complete Vehicle GRA-0000-022460 Push Clip FA 28 700
Ineos Grenadier Complete Vehicle GRA-0000-022880 Clip =8 3,700
Ineos Grenadier Complete Vehicle GRA-0000-022930 Screw M8x90 AT F M8x90 6,900
Ineos Grenadier Complete Vehicle GRA-0000-023290 Push Button EAHE 102,800
Ineos Grenadier Complete Vehicle GRA-0000-023470 Washer ot 400
Ineos Grenadier Complete Vehicle GRA-0000-023540 Washer AN 7,800
Ineos Grenadier Complete Vehicle GRA-0000-023560 Screw M8x20 AT E M8x20 6,400
Ineos Grenadier Complete Vehicle GRA-0000-023700 Clip =8 1,500
Ineos Grenadier Complete Vehicle GRA-0000-023740 Spring Nut AT HE 4,400
Ineos Grenadier Complete Vehicle GRA-0000-023780 Bolt M10x75 = E M10x75 8,200
Ineos Grenadier Complete Vehicle GRA-0000-023790 Washer El 4,100
Ineos Grenadier Complete Vehicle GRA-0000-023800 Bolt M5x16 =E M5x16 6,400
Ineos Grenadier Complete Vehicle GRA-0000-023810 Clip EE 4,300
Ineos Grenadier Complete Vehicle GRA-0000-023940 Screw M8x30 A3 2 M8x30 1,700
Ineos Grenadier Complete Vehicle GRA-0000-025150 Central Control Interface CTR [0 QIE{m{o]2~ 385,700
Ineos Grenadier Complete Vehicle GRA-0000-025190 USB Charging Port USB 58 ZE 157,100
Ineos Grenadier Complete Vehicle GRA-0000-025380 Pin & 24,200
Ineos Grenadier Complete Vehicle GRA-0000-026220 Clamp e 18,300
Ineos Grenadier Complete Vehicle GRA-0000-026380 Screw A3F 3,700
Ineos Grenadier Complete Vehicle GRA-0000-026450 Screw M6x25 AT 2 M6x25 3,500
Ineos Grenadier Complete Vehicle GRA-0000-026490 Grommet EEL] 5,100
Ineos Grenadier Complete Vehicle GRA-0000-026540 Screw M8x15 AT 2 M8x15 5,900
Ineos Grenadier Complete Vehicle GRA-0000-026820 Expanding Rivet R 4,400
Ineos Grenadier Complete Vehicle GRA-0000-026850 Blind Rivet =ctelE 28l 1,500
Ineos Grenadier Complete Vehicle GRA-0000-026980 Nut HE 20,100
Ineos Grenadier Complete Vehicle GRA-0000-027040 Expanding Rivet EREEY 400
Ineos Grenadier Complete Vehicle GRA-0000-027100 Clip EE 2,500
Ineos Grenadier Complete Vehicle GRA-0000-027640 Screw M6 ATE M6 3,700
Ineos Grenadier Complete Vehicle GRA-0000-028390 Clip EE 4,700
Ineos Grenadier Complete Vehicle GRA-0000-028620 Push Fixing FA| T 1,700
Ineos Grenadier Complete Vehicle GRA-0000-028970 Screw M8x20 235 M8x20 11,200
Ineos Grenadier Complete Vehicle GRA-0000-030050 Screw AR 7,200
Ineos Grenadier Complete Vehicle GRA-0000-030070 Screw A3F 2,500
Ineos Grenadier Complete Vehicle GRA-0000-030460 Bolt M10x20 = E M10x20 9,800
Ineos Grenadier Complete Vehicle GRA-0000-030580 Plug 15mm Z2{1 15mm 3,900
Ineos Grenadier Complete Vehicle GRA-0000-030590 Plug 20mm =233 20mm 1,300
Ineos Grenadier Complete Vehicle GRA-0000-030600 Plug 20mm Z2{1 20mm 700
Ineos Grenadier Complete Vehicle GRA-0000-030610 Plug 25mm =23 25mm 900
Ineos Grenadier Complete Vehicle GRA-0000-030620 Plug 30mm Z2{1 30mm 1,300
Ineos Grenadier Complete Vehicle GRA-0000-030630 Screw M8 AT2E M8 7,100
Ineos Grenadier Complete Vehicle GRA-0000-030790 Screw M8x30 235 M8x30 2,500
Ineos Grenadier Complete Vehicle GRA-0000-030880 Star Washer AE}QEN 2,300
Ineos Grenadier Complete Vehicle GRA-0000-031130 Screw Méx16 AT F M6x16 1,500
Ineos Grenadier Complete Vehicle GRA-0000-031150 Screw Méx16 A3 6X16 5,400
Ineos Grenadier Complete Vehicle GRA-0000-031160 Screw M8x25 2T M8x25 1,700
Ineos Grenadier Complete Vehicle GRA-0000-031180 Plug Ll 1,900
Ineos Grenadier Complete Vehicle GRA-0000-031190 Plug 15x25 =21 15x25 700
Ineos Grenadier Complete Vehicle GRA-0000-031200 Plug 25x35 =2{1 25x35 1,500
Ineos Grenadier Complete Vehicle GRA-0000-031210 Plug D35 £33 D35 6,100
Ineos Grenadier Complete Vehicle GRA-0000-031220 Plug Dé =21 D6 900
Ineos Grenadier Complete Vehicle GRA-0000-031290 Screw M8x25 A3 F M8x25 2,900
Ineos Grenadier Complete Vehicle GRA-0000-031440 Washer kM 3,900
Ineos Grenadier Complete Vehicle GRA-0000-031810 Screw M12x35 A3 F M12x35 19,400




Ineos Grenadier Complete Vehicle GRA-0000-031830 Screw M12x30 AT E M12x30 19,100
Ineos Grenadier Complete Vehicle GRA-0000-031890 Knurled Nut dE HE 1,500
Ineos Grenadier Complete Vehicle GRA-0000-031910 Expanding Rivet EREEY 3,100
Ineos Grenadier Complete Vehicle GRA-0000-032080 Bolt M10x75 2 E M10x75 14,600
Ineos Grenadier Complete Vehicle GRA-0000-032320 Nut M8 L{E M8 700
Ineos Grenadier Complete Vehicle GRA-0000-032330 Screw M6x88 AT E M6x88 3,900
Ineos Grenadier Complete Vehicle GRA-0000-032340 Cable Tie 2.5x205 A0l = EHO| 2.5x205 200
Ineos Grenadier Complete Vehicle GRA-0000-032350 Scew M12x45 AT F M12x45 4,900
Ineos Grenadier Complete Vehicle GRA-0000-032360 Washer kM 1,000
Ineos Grenadier Complete Vehicle GRA-0000-033190 Screw M8x35 235 M8x35 1,100
Ineos Grenadier Complete Vehicle GRA-0000-033310 Clip =8 14,600
Ineos Grenadier Complete Vehicle GRA-0000-033510 Relay EEE 186,700
Ineos Grenadier Complete Vehicle GRA-0000-033700 Knurled Nut HE HE 1,500
Ineos Grenadier Complete Vehicle GRA-0000-033910 Screw M6x40 23T M6x40 1,300
Ineos Grenadier Complete Vehicle GRA-0000-033960 Washer 2FM 400
Ineos Grenadier Complete Vehicle GRA-0000-034670 Screw 7/16-20 UNF A F 7/16-20 UNF 15,100
Ineos Grenadier Complete Vehicle GRA-0000-034920 Plug =l 6,100
Ineos Grenadier Complete Vehicle GRA-0000-035700 Screw M8x20 235 M8x20 6,500
Ineos Grenadier Complete Vehicle GRA-0000-036360 Screw M10x20 A3 E M10x20 11,000
Ineos Grenadier Complete Vehicle GRA-0000-036480 Screw TS5x20 A F TS5x20 1,300
Ineos Grenadier Complete Vehicle GRA-0000-036510 Blanking Plug EEELE RS 9,500
Ineos Grenadier Complete Vehicle GRA-0000-036520 Blanking Plug EREEE! 19,100
Ineos Grenadier Complete Vehicle GRA-0000-036530 Blanking Plug EEELE R 21,700
Ineos Grenadier Complete Vehicle GRA-0000-036540 Blanking Plug EREEE! 11,300
Ineos Grenadier Complete Vehicle GRA-0000-036550 Grommet EED] 10,400
Ineos Grenadier Complete Vehicle GRA-0000-036560 Grommet EEL] 8,300
Ineos Grenadier Complete Vehicle GRA-0000-038180 Clip =8 8,600
Ineos Grenadier Complete Vehicle GRA-0000-038210 Door Trim Clip £o EE 23 6,800
Ineos Grenadier Complete Vehicle GRA-0000-038220 Screw M6x16 ATZ M6x16 900
Ineos Grenadier Complete Vehicle GRA-0000-038250 Weld Nut 8H HE 1,300
Ineos Grenadier Complete Vehicle GRA-0000-038260 Screw M6x25 AT 2 M6x25 2,100
Ineos Grenadier Complete Vehicle GRA-0000-038280 Blind Rivet EEREEE] 8,000
Ineos Grenadier Complete Vehicle GRA-0000-038290 Blind Rivet =ctelE 28l 5,700
Ineos Grenadier Complete Vehicle GRA-0000-038310 Push Pin AL H 3,300
Ineos Grenadier Complete Vehicle GRA-0000-038320 Push Pin ZEAH 1,300
Ineos Grenadier Complete Vehicle GRA-0000-038330 Screw M10x20 A3 F M10x20 4,300
Ineos Grenadier Complete Vehicle GRA-0000-038340 Tape D20 H[O|Z D20 3,500
Ineos Grenadier Complete Vehicle GRA-0000-039890 Screw Méx16 23T Méx16 1,100
Ineos Grenadier Complete Vehicle GRA-0000-040130 Screw ST5x20 AT ST5x20 900
Ineos Grenadier Complete Vehicle GRA-0000-040140 Plug £33 6,100
Ineos Grenadier Complete Vehicle GRA-0000-040290 Screw M6x18 AT 2 M6x18 1,900
Ineos Grenadier Complete Vehicle GRA-0000-040300 Screw PT5x16 A Z PT5x16 3,000
Ineos Grenadier Complete Vehicle GRA-0000-040590 Clip =8 7,900
Ineos Grenadier Complete Vehicle GRA-0000-040760 Screw M10x105 A3 Z M10x105 34,300
Ineos Grenadier Complete Vehicle GRA-0000-041550 Blanking Plug =dZ 583 11,200
Ineos Grenadier Complete Vehicle GRA-0000-041670 Rivet Nut 28l HE 3,500
Ineos Grenadier Complete Vehicle GRA-0000-043580 Screw M4x8 AT 2 M4x8 1,900
Ineos Grenadier Complete Vehicle GRA-0000-045330 Metal Retaining Clip LEEEREEE] 2,700
Ineos Grenadier Complete Vehicle GRA-0000-045640 Grommet D30 281 D30 7,800
Ineos Grenadier Complete Vehicle GRA-0000-045990 Weld nut M14 8 HE M14 30,900
Ineos Grenadier Complete Vehicle GRA-0000-046040 Screw M8x35 A2 M8x35 2,600
Ineos Grenadier Complete Vehicle GRA-0000-046120 Slimline Seal 17x25mm DIA £ atol & 17x25mm DIA 11,800
Ineos Grenadier Complete Vehicle GRA-0000-046130 Slimline Seal 8x16mm DIA Zaetel A 8x16mm DIA 9,100
Ineos Grenadier Complete Vehicle GRA-0000-046140 Slimline Seal 11x19mm DIA £3atel & 11x19mm DIA 10,200
Ineos Grenadier Complete Vehicle GRA-0000-046570 Banjo Bolt 30,000
Ineos Grenadier Complete Vehicle GRA-0000-046580 Seal Washer 9,100
Ineos Grenadier Complete Vehicle GRA-0000-046620 Screw M6x20 9,900
Ineos Grenadier Complete Vehicle GRA-0000-046650 Screw M6x12 1,900
Ineos Grenadier Complete Vehicle GRA-0000-046810 Snap Lock Coupling I EREE] 14,300
Ineos Grenadier Complete Vehicle GRA-0000-046910 30A JCASE Fuse 30AJAHO|A X 7,800
Ineos Grenadier Complete Vehicle GRA-0000-046920 40A JCASE Fuse 40A JHO|A F= 7,800
Ineos Grenadier Complete Vehicle GRA-0000-046930 20A JCASE LP Fuse 20A JHOIA LP = 6,500
Ineos Grenadier Complete Vehicle GRA-0000-046940 30A JCASE LP Fuse (Pink) 30AJAIO|A LP = 6,500
Ineos Grenadier Complete Vehicle GRA-0000-046950 40A JCASE LP Fuse 40A JH[O|A LP F= 6,500
Ineos Grenadier Complete Vehicle GRA-0000-046960 60A JCASE LP Fuse 60A JHO|A LP = 6,500
Ineos Grenadier Complete Vehicle GRA-0000-046970 5A Mini Fuse 5A 0|4 = 1,500
Ineos Grenadier Complete Vehicle GRA-0000-046980 7.5A Mini Fuse 7.5A 0|L = 1,500
Ineos Grenadier Complete Vehicle GRA-0000-046990 10A Mini Fuse 10A O|L] = 1,100
Ineos Grenadier Complete Vehicle GRA-0000-047000 15A Mini Fuse 15A 0L = 1,500
Ineos Grenadier Complete Vehicle GRA-0000-047010 20A Mini Fuse 20A 0L = 1,500
Ineos Grenadier Complete Vehicle GRA-0000-047020 25A Mini Fuse 25A 0L = 1,500
Ineos Grenadier Complete Vehicle GRA-0000-047030 30A Mini Fuse 30A O/L| = 1,500
Ineos Grenadier Complete Vehicle GRA-0000-047040 30A Micro Relay 30A 00|32 213[0] 34,500
Ineos Grenadier Complete Vehicle GRA-0000-047050 30A Micro Relay (614) 30A OHO|3 2 230 68,300
Ineos Grenadier Complete Vehicle GRA-0000-047070 70A Maxi Relay 70A HA| o] 79,400
Ineos Grenadier Complete Vehicle GRA-0000-047080 60A ZCASE Fuse 60A ZH|0[A F= 109,600
Ineos Grenadier Complete Vehicle GRA-0000-047090 125A ZCASE Fuse 125A ZH 0| A 7= 86,200
Ineos Grenadier Complete Vehicle GRA-0000-047100 150A ZCASE Fuse 150A ZAH0| A F= 86,200
Ineos Grenadier Complete Vehicle GRA-0000-047110 SHUNT ZCASE Fuse ME 770|A = 86,200
Ineos Grenadier Complete Vehicle GRA-0000-047120 100A ZCASE Fuse 100A ZH[0|A F= 86,200
Ineos Grenadier Complete Vehicle GRA-0000-047130 80A ZCASE Fuse 80A ZHO|A = 109,600
Ineos Grenadier Complete Vehicle GRA-0000-047140 350A ZCASE Fuse 350A ZH[O|&~ F= 133,300
Ineos Grenadier Complete Vehicle GRA-0000-047150 300A ZCASE Fuse 300A ZAH[O| A HF= 109,600
Ineos Grenadier Complete Vehicle GRA-0000-047160 125A MEGA Fuse 125A 0|7t = 46,800
Ineos Grenadier Complete Vehicle GRA-0000-047930 Push-fit Clip EA-Z 28 5,500
Ineos Grenadier Complete Vehicle GRA-0000-049280 Screw M6x37 23T Mex37 10,200
Ineos Grenadier Complete Vehicle GRA-0000-049830 Stud Mount Cable Tie M5x167mm AEE O-2 E # 0| = EFO| M5x167mm 2,900
Ineos Grenadier Complete Vehicle GRA-0000-049850 Pressure Line Fitting Kit FEEREEEHE 42,200
Ineos Grenadier Complete Vehicle GRA-0000-049860 Return Line Fitting Kit EEENREEEE 42,200
Ineos Grenadier Complete Vehicle GRA-0D01-031760 Tool Kit =J|E 625,000
Ineos Grenadier Complete Vehicle GRA-0D01-031770 Tool Kit Belt E7|EHE 41,000
Ineos Grenadier Complete Vehicle GRA-0D02-010850 Vehicle Jack Azg M 390,100
Ineos Grenadier Complete Vehicle GRA-0D02-041440 Vehicle Jack and Bracket Atgrg ™ 9l =2ap3l 508,500
Ineos Grenadier Complete Vehicle GRA-0D02-046110 Internal Jack Handle e MHs 19,700
Ineos Grenadier Complete Vehicle GRA-0E99-043450 Centre Recliner Bushing REEEENEER 78,500
Ineos Grenadier Complete Vehicle GRA-0E99-047270 Wire Crushshield Qtojo] F{FHE 15,700
Ineos Grenadier Complete Vehicle GRA-0E99-048090 Nitto Foam Seal Nitto = A 12,600
Ineos Grenadier Complete Vehicle GRA-0E99-051600 Sikaflex Adhesive Sealant AZIEHA HAF MELE 61,300




Ineos Grenadier Complete Vehicle GRA-0F00-017220 Lifting Gear EEEEE 1,967,800
Ineos Grenadier Complete Vehicle GRA-0F00-017230 Tester EESE] 3,410,600
Ineos Grenadier Complete Vehicle GRA-0F00-017240 Compression Tester &4 HAH 3,645,200
Ineos Grenadier Complete Vehicle GRA-0F00-017250 Pin & 43,400
Ineos Grenadier Complete Vehicle GRA-0F00-017260 Pliers Z2t0|0] 211,200
Ineos Grenadier Complete Vehicle GRA-0F00-017270 Adapter EEE] 76,800
Ineos Grenadier Complete Vehicle GRA-0F00-017280 Rest HAE 620,000
Ineos Grenadier Complete Vehicle GRA-0F00-017290 Socket Wrench Insert 2 K IME 79,900
Ineos Grenadier Complete Vehicle GRA-0F00-017300 Bush HA| 473,800
Ineos Grenadier Complete Vehicle GRA-0F00-017310 Sensor Measuring Device MM 2 FX] 735,000
Ineos Grenadier Complete Vehicle GRA-0F00-017320 Stand AEC 745,100
Ineos Grenadier Complete Vehicle GRA-0F00-017330 Plate EY0|E 115,900
Ineos Grenadier Complete Vehicle GRA-0F00-017360 Socket Wrench Insert A X QIME 139,800
Ineos Grenadier Complete Vehicle GRA-0F00-017370 Holder 20 347,700
Ineos Grenadier Complete Vehicle GRA-0F00-017380 Socket Wrench A2 -] 74,600
Ineos Grenadier Complete Vehicle GRA-0F00-017390 Socket A 148,100
Ineos Grenadier Complete Vehicle GRA-0F00-017400 Adapter EEE] 134,000
Ineos Grenadier Complete Vehicle GRA-0F00-017410 Gauge A Oo|X] 373,700
Ineos Grenadier Complete Vehicle GRA-0F00-017420 Plate Z20|E 102,400
Ineos Grenadier Complete Vehicle GRA-0F00-017430 Fixture AaX 299,200
Ineos Grenadier Complete Vehicle GRA-0F00-017440 Fixture AKX 567,800
Ineos Grenadier Complete Vehicle GRA-0F00-017450 Socket A 49,400
Ineos Grenadier Complete Vehicle GRA-0F00-017460 Fixture AKX 4,290,100
Ineos Grenadier Complete Vehicle GRA-0F00-017470 Extension Piece ABIM I A 147,700
Ineos Grenadier Complete Vehicle GRA-0F00-017480 Tool = 251,000
Ineos Grenadier Complete Vehicle GRA-0F00-017490 Holder B 128,100
Ineos Grenadier Complete Vehicle GRA-0F00-017500 Socket 27 87,800
Ineos Grenadier Complete Vehicle GRA-0F00-017510 Fitting Aid 1|g ojo|= 37,300
Ineos Grenadier Complete Vehicle GRA-0F00-017530 Fastener T ENE] 329,300
Ineos Grenadier Complete Vehicle GRA-0F00-017550 Sliding Hammer Zotolg sy 149,600
Ineos Grenadier Complete Vehicle GRA-0F00-017560 Socket Wrench Insert A X QIME 123,700
Ineos Grenadier Complete Vehicle GRA-0F00-017570 Engine Support AT MZE 757,200
Ineos Grenadier Complete Vehicle GRA-0F00-017580 Engine Support AT MEE 757,200
Ineos Grenadier Complete Vehicle GRA-0F00-017590 Support MEE 1,577,600
Ineos Grenadier Complete Vehicle GRA-0F00-017600 Filler Device EEED 589,600
Ineos Grenadier Complete Vehicle GRA-0F00-017620 Pin Wrench REE 89,000
Ineos Grenadier Complete Vehicle GRA-0F00-017630 Measuring Adapter EREE] 192,700
Ineos Grenadier Complete Vehicle GRA-0F00-017640 Vacuum Adapter T3 of¥H 356,200
Ineos Grenadier Complete Vehicle GRA-0F00-017650 Fixture gAK 476,600
Ineos Grenadier Complete Vehicle GRA-0F00-017660 Installation Drift OlAEe0|M EB|ZE 133,100
Ineos Grenadier Complete Vehicle GRA-0F00-017670 Fitting Aid /g ofo|= 262,900
Ineos Grenadier Complete Vehicle GRA-0F00-017680 Locating Fixture B NERES] 1,065,600
Ineos Grenadier Complete Vehicle GRA-0F00-017700 Tensioning Tool HAod = 120,300
Ineos Grenadier Complete Vehicle GRA-0F00-017710 Fastener AL 74,200
Ineos Grenadier Complete Vehicle GRA-0F00-017720 Holder =4 52,200
Ineos Grenadier Complete Vehicle GRA-0F00-017730 Adapter REE] 52,500
Ineos Grenadier Complete Vehicle GRA-0F00-017740 Insertion Tool OIMM E 193,400
Ineos Grenadier Complete Vehicle GRA-0F00-017750 Socket Wrench 23 HX| 178,600
Ineos Grenadier Complete Vehicle GRA-0F00-017760 Fixture AKX 414,000
Ineos Grenadier Complete Vehicle GRA-0F00-017770 Fitting Aid 1|8l 0joj= 54,000
Ineos Grenadier Complete Vehicle GRA-0F00-017780 Adapter EEE] 139,700
Ineos Grenadier Complete Vehicle GRA-0F00-017790 Set Of Tools EHNE 219,600
Ineos Grenadier Complete Vehicle GRA-0F00-017800 Gauge AOIX| 806,500
Ineos Grenadier Complete Vehicle GRA-0F00-017810 Ratchet Handle A HE 197,600
Ineos Grenadier Complete Vehicle GRA-0F00-017820 Alignment Pin AetoIHE H 110,800
Ineos Grenadier Complete Vehicle GRA-0F00-017830 Puller Bl 86,000
Ineos Grenadier Complete Vehicle GRA-0F00-017840 Adapter Lead OftHE 2|E 1,427,400
Ineos Grenadier Complete Vehicle GRA-0F00-017850 Adapter Lead EEEEES 1,518,700
Ineos Grenadier Complete Vehicle GRA-0F00-017860 Adapter Lead OftHE 2|E 1,615,700
Ineos Grenadier Complete Vehicle GRA-0F00-017870 Adapter Lead EEEES 398,100
Ineos Grenadier Complete Vehicle GRA-0F00-017880 Gauge A O] X] 837,900
Ineos Grenadier Complete Vehicle GRA-0F00-017890 Fixture EESS 2,164,600
Ineos Grenadier Complete Vehicle GRA-0F00-017900 Fixture AKX 848,300
Ineos Grenadier Complete Vehicle GRA-0F00-017910 Lever B 158,600
Ineos Grenadier Complete Vehicle GRA-0F00-017920 Adapter EEE] 121,100
Ineos Grenadier Complete Vehicle GRA-0F00-017930 Plug £33 204,700
Ineos Grenadier Complete Vehicle GRA-0F00-017940 Adapter Lead EEEES 343,800
Ineos Grenadier Complete Vehicle GRA-0F00-017950 Adapter Lead CEEEE 643,800
Ineos Grenadier Complete Vehicle GRA-0F00-017960 Gaiter A O|E 917,800
Ineos Grenadier Complete Vehicle GRA-0F00-017970 Fastener THA L 451,600
Ineos Grenadier Complete Vehicle GRA-0F00-017980 Adapter EEE 82,400
Ineos Grenadier Complete Vehicle GRA-0F00-017990 Gauge AHlo|x 194,900
Ineos Grenadier Complete Vehicle GRA-0F00-018020 Pliers Z2t0|0] 569,100
Ineos Grenadier Complete Vehicle GRA-0F00-018030 Locating Fixture 27 0]8 TAK 140,800
Ineos Grenadier Complete Vehicle GRA-0F00-018040 Extractor ol A EeiE] 292,000
Ineos Grenadier Complete Vehicle GRA-0F00-018050 Socket A 86,200
Ineos Grenadier Complete Vehicle GRA-0F00-018060 Holder =4 378,300
Ineos Grenadier Complete Vehicle GRA-0F00-018070 Locating Fixture 27 0]8 TAK 81,900
Ineos Grenadier Complete Vehicle GRA-0F00-018080 Cap 2 141,300
Ineos Grenadier Complete Vehicle GRA-0F00-018090 Removal and Installation Tool 2| F0HE W HX = 96,500
Ineos Grenadier Complete Vehicle GRA-0F00-018100 Adapter EEE] 196,900
Ineos Grenadier Complete Vehicle GRA-0F00-018110 Lifting Table EERERE 161,700
Ineos Grenadier Complete Vehicle GRA-0F00-018120 Tube 58 63,600
Ineos Grenadier Complete Vehicle GRA-0F00-018130 Pliers E2tolof 1,604,100
Ineos Grenadier Complete Vehicle GRA-0F00-018140 Socket Wrench Insert A X QIME 155,700
Ineos Grenadier Complete Vehicle GRA-0F00-018150 Adapter EEE] 114,700
Ineos Grenadier Complete Vehicle GRA-0F00-029590 Pin (110390) I (110390) 35,300
Ineos Grenadier Complete Vehicle GRA-0F00-029600 Socket wrench insert (116050) 23 JAX| 2IM E (116050) 80,400
Ineos Grenadier Complete Vehicle GRA-0F00-029610 Connection piece (2468560) {4l M I A (2468560) 119,200
Ineos Grenadier Complete Vehicle GRA-0F00-029620 Socket wrench insert (117020) 23 || 2IM E (117020) 93,400
Ineos Grenadier Complete Vehicle GRA-0F00-029630 Socket wrench insert (117030) AZ1 X 2IME (117030) 142,600
Ineos Grenadier Complete Vehicle GRA-0F00-029640 Socket (118850) A7 (118850) 46,400
Ineos Grenadier Complete Vehicle GRA-0F00-029650 Socket (121220) 221 (121220) 75,100
Ineos Grenadier Complete Vehicle GRA-0F00-029660 Fitting aid (121230) 1| &l of 0| = (121230) 54,800
Ineos Grenadier Complete Vehicle GRA-0F00-029670 Injector Well Cleaning Kit (135210) OIME & Z2|d 7|E (135210) 285,500
Ineos Grenadier Complete Vehicle GRA-0F00-029680 Holding sleeve (135211) =42 &2lE (135211) 56,400
Ineos Grenadier Complete Vehicle GRA-0F00-029690 Holder (135212) Z0 (135212) 63,400
Ineos Grenadier Complete Vehicle GRA-0F00-029700 Brush head (135213) B2fAl 8| E (135213) 56,200




Ineos Grenadier Complete Vehicle GRA-0F00-029710 Rod (135214) 2L (135214) 55,500
Ineos Grenadier Complete Vehicle GRA-0F00-029720 Plug (135215) £2{1 (135215) 51,700
Ineos Grenadier Complete Vehicle GRA-0F00-029730 Sliding Hammer (135250) £2tC|o] &M (135250) 153,600
Ineos Grenadier Complete Vehicle GRA-0F00-029740 Rod (135251) E2E (135251) 74,400
Ineos Grenadier Complete Vehicle GRA-0F00-029750 Bush (135252) 4 (135252) 24,300
Ineos Grenadier Complete Vehicle GRA-0F00-029760 Weight (135253) 20| E (135253) 81,100
Ineos Grenadier Complete Vehicle GRA-0F00-029770 Socket wrench insert (135320) AZ1 X 2IM E (135320) 123,300
Ineos Grenadier Complete Vehicle GRA-0F00-029780 Gauge A Oo|X] 49,900
Ineos Grenadier Complete Vehicle GRA-0F00-029790 Fitting aid /g ofo|= 224,700
Ineos Grenadier Complete Vehicle GRA-0F00-029800 Pliers E2tolof 311,400
Ineos Grenadier Complete Vehicle GRA-0F00-029810 Fixture AKX 1,850,700
Ineos Grenadier Complete Vehicle GRA-0F00-029820 Socket A 73,800
Ineos Grenadier Complete Vehicle GRA-0F00-029830 Removal and installation tool 2| 20E 9 HX| E 82,500
Ineos Grenadier Complete Vehicle GRA-0F00-031240 Water Separator Wrench EEREEREEERES 50,500
Ineos Grenadier Complete Vehicle GRA-0G02-041660 Fuse Card == 7lE 9,700
Ineos Grenadier Complete Vehicle GRA-0G02-041670 Fuse Card FX 7t 9,700
Ineos Grenadier Complete Vehicle GRA-0G02-044550 Fuse Card == 7lE 10,000
Ineos Grenadier Complete Vehicle GRA-0G04-051610 Certificate of Conformity Paper Hotd SN 82X 130,300
Ineos Grenadier Engine and Motor GRA-1000-002760 Screw M8x30 235 M8x30 4,600
Ineos Grenadier Engine and Motor GRA-1000-002820 0il Level Sensor EFEERE 597,700
Ineos Grenadier Engine and Motor GRA-1000-004950 Reluctor’ ERE] 68,800
Ineos Grenadier Engine and Motor GRA-1000-007901 LH Engine Mount Frame LH A7 OH2E =3l 356,100
Ineos Grenadier Engine and Motor GRA-1000-007912 RH Engine Mount Frame RH AIZI OIRE =3l 356,100
Ineos Grenadier Engine and Motor GRA-1000-011530 0Oil Pressure Sensor EFRERR 78,500
Ineos Grenadier Engine and Motor GRA-1000-011550 Solenoid Valve £ ol #e 251,000
Ineos Grenadier Engine and Motor GRA-1000-011820 Camshaft Position Sensor ZHAFZE ZX|M MM 260,400
Ineos Grenadier Engine and Motor GRA-1000-012010 Bearing Shell (Blue) Hog # (28 56,400
Ineos Grenadier Engine and Motor GRA-1000-012020 Bearing Shell (Green) [REETSE) 56,400
Ineos Grenadier Engine and Motor GRA-1000-012030 Bearing Shell (Brown) LEEETCES) 56,400
Ineos Grenadier Engine and Motor GRA-1000-012220 Flexplate 1,106,400
Ineos Grenadier Engine and Motor GRA-1000-012440 Hydraulic Tappet 49,200
Ineos Grenadier Engine and Motor GRA-1000-012450 Rocker Arm 60,600
Ineos Grenadier Engine and Motor GRA-1000-012480 Valve Stem Seal 169,300
Ineos Grenadier Engine and Motor GRA-1000-012490 Valve Spring 21,900
Ineos Grenadier Engine and Motor GRA-1000-012500 Valve Spring Plate 19,400
Ineos Grenadier Engine and Motor GRA-1000-012510 Valve Stem Collet W A" FE 2,100
Ineos Grenadier Engine and Motor GRA-1000-012600 Qil Filter EREE 53,400
Ineos Grenadier Engine and Motor GRA-1000-012610 0Oil Filter Cap U Iy Y 84,800
Ineos Grenadier Engine and Motor GRA-1000-012940 Starter Motor Acoustic Plug 2AEHE BE O{FAE 20 12,100
Ineos Grenadier Engine and Motor GRA-1000-015190 Actuator EERNTE] 85,000
Ineos Grenadier Engine and Motor GRA-1000-015200 Ignition Coil and Fuel Label O aLM AY Sl eizg apd 24,200
Ineos Grenadier Engine and Motor GRA-1000-015810 Valve Spring Plate 19,400
Ineos Grenadier Engine and Motor GRA-1000-015820 Valve Spring 37,100
Ineos Grenadier Engine and Motor GRA-1000-015830 Valve Stem Seal 91,200
Ineos Grenadier Engine and Motor GRA-1000-015840 Inlet Valve 63,900
Ineos Grenadier Engine and Motor GRA-1000-015870 Valve Collet 4,000
Ineos Grenadier Engine and Motor GRA-1000-015880 Valve Spring Plate 15,300
Ineos Grenadier Engine and Motor GRA-1000-015890 Valve Spring 36,900
Ineos Grenadier Engine and Motor GRA-1000-015900 Valve Stem Seal 110,700
Ineos Grenadier Engine and Motor GRA-1000-015910 Exhaust Valve 85,200
Ineos Grenadier Engine and Motor GRA-1000-015920 Cam Follower 96,600
Ineos Grenadier Engine and Motor GRA-1000-020640 Engine Mount Plate 41,000
Ineos Grenadier Engine and Motor GRA-1000-022940 Qil Filler Cap 20,800
Ineos Grenadier Engine and Motor GRA-1A01-014920 Short Motor 28,297,700
Ineos Grenadier Engine and Motor GRA-1A02-015220 Ventilation Pipe 112,900
Ineos Grenadier Engine and Motor GRA-1A02-015230 Ventilation Pipe 65,200
Ineos Grenadier Engine and Motor GRA-1A03-020631 LH Engine Mount Bracket 353,400
Ineos Grenadier Engine and Motor GRA-1A03-020652 RH Engine Mount Bracket 315,100
Ineos Grenadier Engine and Motor GRA-1A03-022752 RH Engine Mount Heat Shield 58,400
Ineos Grenadier Engine and Motor GRA-1A04-016430 Engine Rear Acoustic Panel QX 2|of | RAE IS 41,000
Ineos Grenadier Engine and Motor GRA-1A06-006040 Engine Cover Damping Rubber FREEEEEE 54,500
Ineos Grenadier Engine and Motor GRA-1A06-010930 Engine Cover AT 7 237,700
Ineos Grenadier Engine and Motor GRA-1A07-016440 Ignition Coil NEEREL 146,300
Ineos Grenadier Engine and Motor GRA-1A07-016450 Spark Plug Ants S8 62,400
Ineos Grenadier Engine and Motor GRA-1A08-015250 Crankshaft Pulley AYIAZE E¢ 1,263,100
Ineos Grenadier Engine and Motor GRA-1A08-016910 Belt Tensioner HE B 255,800
Ineos Grenadier Engine and Motor GRA-1A08-016920 Drive Belt celoje HE 68,000
Ineos Grenadier Engine and Motor GRA-1A09-016930 Alternator EEERE] 2,800,300
Ineos Grenadier Engine and Motor GRA-1A10-012940 Starter Motor Acoustic Plug 2AEHE BE O{FAE 20 12,500
Ineos Grenadier Engine and Motor GRA-1A10-012950 Cap Flange Nut M8 W EWX HE M8 4,200
Ineos Grenadier Engine and Motor GRA-1A10-016940 Starter Motor AEHE 2H 1,300,000
Ineos Grenadier Engine and Motor GRA-1A10-020850 Starter Motor AEHH ZH 1,339,000
Ineos Grenadier Engine and Motor GRA-1A21-015140 Cylinder Head Cover FREEEEEL] 846,000
Ineos Grenadier Engine and Motor GRA-1A21-015150 Cylinder Head Cover Gasket FREEEERERES 107,200
Ineos Grenadier Engine and Motor GRA-1A21-015210 Damper L] 4,000
Ineos Grenadier Engine and Motor GRA-1A21-022940 Oil Filler Cap I Y 19,800
Ineos Grenadier Engine and Motor GRA-1A22-015030 Cylinder Head Az = 10,998,900
Ineos Grenadier Engine and Motor GRA-1A22-015040 Cyylinder Head Gasket FREEEER S 327,200
Ineos Grenadier Engine and Motor GRA-1A22-015050 Cylinder Head Gasket FREEEEREY] 441,600
Ineos Grenadier Engine and Motor GRA-1A22-015080 Air-discharge Fitting 37| 8 T 28,200
Ineos Grenadier Engine and Motor GRA-1A22-015090 Engine Lift Bracket AT 2| ZE B3l 16,500
Ineos Grenadier Engine and Motor GRA-1A22-022950 Temperature Sensor 2= MM 89,000
Ineos Grenadier Engine and Motor GRA-1A22-022960 VVT Actuator Motor VT A=0)0[E ZE 762,600
Ineos Grenadier Engine and Motor GRA-1A41-014940 Shaft Seal AFZE A 68,400
Ineos Grenadier Engine and Motor GRA-1A41-014980 Timing Case Cover EtO[ Y #H[O]A FHH] 470,800
Ineos Grenadier Engine and Motor GRA-1A41-016690 Crankshaft Sensor AYIAIZE MAN 195,300
Ineos Grenadier Engine and Motor GRA-1A42-015510 Timing chain Efo| 3 A2l 237,300
Ineos Grenadier Engine and Motor GRA-1A42-015520 Guide Rail HEEEE 69,800
Ineos Grenadier Engine and Motor GRA-1A42-015530 Chain Tensioner RRIERE] 58,100
Ineos Grenadier Engine and Motor GRA-1A42-015540 Slide Rail £2to|E e 63,400
Ineos Grenadier Engine and Motor GRA-1A42-015550 Inlet Camshaft Adjuster 7| YWMZE {ENAH 943,200
Ineos Grenadier Engine and Motor GRA-1A42-015560 Exhaust Camshaft Adjuster Hi 7| HAFZE OJEXAH 943,200
Ineos Grenadier Engine and Motor GRA-1A42-015570 Central Valve MEZ H#s 225,100
Ineos Grenadier Engine and Motor GRA-1A42-015580 Chain Tensioner R EIESIE 122,600
Ineos Grenadier Engine and Motor GRA-1A42-015590 Sealing Sleeve PR 12,900
Ineos Grenadier Engine and Motor GRA-1A45-015600 Actuator Shaft OHFO|O|H M ZE 1,600,500
Ineos Grenadier Engine and Motor GRA-1A45-015610 Intermediate Lever QI O|C00| E 21 103,000
Ineos Grenadier Engine and Motor GRA-1A45-015620 Intermediate Lever REEENNEEE] 103,000




Ineos Grenadier Engine and Motor GRA-1A45-015630 Intermediate Lever OIE{O| C|0f O] E 2f| 1 103,000
Ineos Grenadier Engine and Motor GRA-1A45-015640 Intermediate Lever RELEEREEL 103,000
Ineos Grenadier Engine and Motor GRA-1A45-015650 Intermediate Lever OIE{O| C|0f O] E 2f| 1] 103,000
Ineos Grenadier Engine and Motor GRA-1A45-015660 Intermediate Lever RELEEREEL 103,000
Ineos Grenadier Engine and Motor GRA-1A45-015670 Torsion Spring EMADY 20,500
Ineos Grenadier Engine and Motor GRA-1A45-015680 Support MEE 13,500
Ineos Grenadier Engine and Motor GRA-1A46-015730 Inlet Camshaft 57| BMNZE 1,733,200
Ineos Grenadier Engine and Motor GRA-1A46-015740 Reluctor’ ERE] 86,400
Ineos Grenadier Engine and Motor GRA-1A46-015760 Rocker Arm 27 60,700
Ineos Grenadier Engine and Motor GRA-1A46-015770 Rocker Arm 27 Y 60,600
Ineos Grenadier Engine and Motor GRA-1A46-015780 Rocker Arm 27 61,900
Ineos Grenadier Engine and Motor GRA-1A46-015790 Rocker Arm 27 Y 62,500
Ineos Grenadier Engine and Motor GRA-1A46-015800 Rocker Arm 27 62,500
Ineos Grenadier Engine and Motor GRA-1A47-015850 Exhaust Camshaft Hi7| AIZE 1,682,700
Ineos Grenadier Engine and Motor GRA-1A47-015860 Rocker Arm 27 60,600
Ineos Grenadier Engine and Motor GRA-1A61-008260 Vibration Damper Pulley T Y 2| 1,003,400
Ineos Grenadier Engine and Motor GRA-1A62-012220 Flexplate EYAEYO0IE 1,063,400
Ineos Grenadier Engine and Motor GRA-1A64-015280 Crankshaft IYIAIZE 3,667,300
Ineos Grenadier Engine and Motor GRA-1A64-015320 Guide Bearing Shell (Blue) JIOIE HIOE H (EF) 75,200
Ineos Grenadier Engine and Motor GRA-1A64-015330 Guide Bearing Shell (Green) Ztol= Hjofd & (a8 75,200
Ineos Grenadier Engine and Motor GRA-1A64-015340 Guide Bearing Shell (Brown) o= HIoE & (EatR) 75,200
Ineos Grenadier Engine and Motor GRA-1A64-015350 Guide Bearing Shell (Blue) ZtojE HiojE & (E2 75,200
Ineos Grenadier Engine and Motor GRA-1A64-015360 Guide Bearing Shell (Green) JIojE Hiojd & (28l 75,200
Ineos Grenadier Engine and Motor GRA-1A64-015370 Guide Bearing Shell (Brown) 7tolE HiofE & (2e2te) 75,200
Ineos Grenadier Engine and Motor GRA-1A64-015380 Bearing Shell (Blue) Hojgd & (£8) 56,400
Ineos Grenadier Engine and Motor GRA-1A64-015390 Bearing Shell (Green) EEEETEEN 56,400
Ineos Grenadier Engine and Motor GRA-1A64-015400 Bearing Shell (Yellow) [REETEES) 56,400
Ineos Grenadier Engine and Motor GRA-1A64-015410 Bearing Shell (Red) CEEETES) 56,400
Ineos Grenadier Engine and Motor GRA-1A65-015430 Piston oA E 524,200
Ineos Grenadier Engine and Motor GRA-1A65-015450 Piston Ring Set oAE 2 ME 178,400
Ineos Grenadier Engine and Motor GRA-1A65-015460 Connector Rod HUYH 2 1,645,800
Ineos Grenadier Engine and Motor GRA-1A65-015480 UPR Bearing Shell UPR HO{ & & 59,700
Ineos Grenadier Engine and Motor GRA-1A65-015490 LWR Bearing Shell LWR Hjjof 2l & 59,700
Ineos Grenadier Engine and Motor GRA-1A65-049080 UPR Bearing Shell UPR HO{ & & 89,600
Ineos Grenadier Engine and Motor GRA-1A81-002840 Temperature Sensor 2 MM 80,900
Ineos Grenadier Engine and Motor GRA-1A81-005640 0il Pressure Sensor 2 MM 85,200
Ineos Grenadier Engine and Motor GRA-1A81-014930 FRT Crankshaft Seal FRT AU IAAFZE A 68,400
Ineos Grenadier Engine and Motor GRA-1A81-014950 Ping Sensor o MM 80,900
Ineos Grenadier Engine and Motor GRA-1A81-014960 0Oil Deflector Plate LU C|E3H EY0|E 164,500
Ineos Grenadier Engine and Motor GRA-1A81-014970 Qil Spraying Nozzle A Amyd =& 56,600
Ineos Grenadier Engine and Motor GRA-1A82-015930 Qil Pump 9 Ho 862,900
Ineos Grenadier Engine and Motor GRA-1A82-015940 Suction Pipe MM moj& 101,500
Ineos Grenadier Engine and Motor GRA-1A82-015950 Oil Pump Sprocket A Ho Am2 I 43,600
Ineos Grenadier Engine and Motor GRA-1A82-015960 Oil Pump Chain Y #Ho Aol 131,800
Ineos Grenadier Engine and Motor GRA-1A83-015970 Oil Filter EEEE 549,700
Ineos Grenadier Engine and Motor GRA-1A83-015980 0il Heat Exchanger 2 H ushy| 355,000
Ineos Grenadier Engine and Motor GRA-1A83-015990 Gasket Set TtAZ M E 77,400
Ineos Grenadier Engine and Motor GRA-1A83-016000 Gasket Set A NE 77,400
Ineos Grenadier Engine and Motor GRA-1A84-015020 Oil Sump Pan Y ¥ M 1,160,300
Ineos Grenadier Heating and Cooling GRA-2000-005690 Expansion Tank Bracket st 83 el 126,700
Ineos Grenadier Heating and Cooling GRA-2000-006422 Side Cooler Air Duct AOIE 23 oo EE 207,800
Ineos Grenadier Heating and Cooling GRA-2000-006442 Side Cooler Air Duct ARO|E 22] 0ol HE 163,600
Ineos Grenadier Heating and Cooling GRA-2000-006460 Expansion Tank Bracket EREEELH 66,600
Ineos Grenadier Heating and Cooling GRA-2000-006570 Heat Shield Bracket S|E AE =l 55,600
Ineos Grenadier Heating and Cooling GRA-2000-006970 Blanking Cap EEEE 27,800
Ineos Grenadier Heating and Cooling GRA-2000-007740 Pressure Sensor o3 MM 202,800
Ineos Grenadier Heating and Cooling GRA-2000-008342 RH UPR Radiator Bracket RH UPR 2}C[0j|O0]Ef E2t3l 66,800
Ineos Grenadier Heating and Cooling GRA-2000-009460 Rubber Mount 2B O E 84,400
Ineos Grenadier Heating and Cooling GRA-2000-009470 Rubber Mount 2H OLRE 86,400
Ineos Grenadier Heating and Cooling GRA-2000-009480 High Temperature Radiator FEEERRE 2,854,200
Ineos Grenadier Heating and Cooling GRA-2000-009550 Bracket EEE] 27,600
Ineos Grenadier Heating and Cooling GRA-2000-009560 Rubber Mount 2B O E 43,800
Ineos Grenadier Heating and Cooling GRA-2000-009570 Side Cooler AO|E 28] 1,111,700
Ineos Grenadier Heating and Cooling GRA-2000-010860 High Temperature Expansion Tank A2 S e 319,400
Ineos Grenadier Heating and Cooling GRA-2000-010870 Expansion Tank Cap EREER] 37,600
Ineos Grenadier Heating and Cooling GRA-2000-010880 Low Temperature Expansion Tank e gz g3 200,000
Ineos Grenadier Heating and Cooling GRA-2000-010890 Expansion Tank Cap EREEER] 37,600
Ineos Grenadier Heating and Cooling GRA-2000-012932 RH Side Cooler Bracket Strut RH ALO|E 22] Bej3l AEH 58,400
Ineos Grenadier Heating and Cooling GRA-2000-013001 LH UPR Radiator Bracket LH UPR 2tC[0f|O]E Eat3l 50,000
Ineos Grenadier Heating and Cooling GRA-2000-013110 Side Cooler Rubber Mount ARO|E 22 2{H OIRE 37,600
Ineos Grenadier Heating and Cooling GRA-2000-013141 LH Skid Plate Support Bracket LH 27|E E20|E MZE E2}3l 402,500
Ineos Grenadier Heating and Cooling GRA-2000-013152 RH Skid Plate Support Bracket RH A7|E E0|E MEE Haj3il 402,500
Ineos Grenadier Heating and Cooling GRA-2000-013190 Coolant Hose A2 oA 231,100
Ineos Grenadier Heating and Cooling GRA-2000-015300 Radiator Fan Shroud 2tCI00|H M fatRE 2,451,000
Ineos Grenadier Heating and Cooling GRA-2000-018210 Coolant Hose A2 oA 266,100
Ineos Grenadier Heating and Cooling GRA-2000-020790 Blanking Cap =4z 10,100
Ineos Grenadier Heating and Cooling GRA-2000-020800 Blanking Cap =3z 11,100
Ineos Grenadier Heating and Cooling GRA-2000-030332 RH UPR Side Cooler Bracket RH UPR ALO|E =& B3l 125,700
Ineos Grenadier Heating and Cooling GRA-2000-030342 RH LWR Side Cooler Bracket RH LWR AtO|E Z2f E2}3l 197,700
Ineos Grenadier Heating and Cooling GRA-2000-031310 High Temperature Radiator 12 2tC]of o[ 2,939,900
Ineos Grenadier Heating and Cooling GRA-2000-035880 Auxiliary Coolant Pump HE W2t Ho 380,000
Ineos Grenadier Heating and Cooling GRA-2000-048300 High Temperature Radiator 12 2tC]of o 2,939,900
Ineos Grenadier Heating and Cooling GRA-2000-048850 Coolant Hose A2 oA 192,900
Ineos Grenadier Heating and Cooling GRA-2A01-006350 LWR Radiator Air Deflector LWR 2tC[0j|0JE] ofjo] C|Z2E 220,200
Ineos Grenadier Heating and Cooling GRA-2A01-006370 UPR Radiator Air Deflector UPR 2tC|0f0[Ef ofof C|E3H 177,300
Ineos Grenadier Heating and Cooling GRA-2A01-006391 LH Radiator Air Deflector LH 2tcojjo|Ef ofjof C|Z g 126,700
Ineos Grenadier Heating and Cooling GRA-2A01-006412 RH Radiator Air Deflector RH 2tC[0f|0[E 0jjof CIE3H 120,500
Ineos Grenadier Heating and Cooling GRA-2A01-008580 LWR Radiator Air Deflector LWR 2tC[0j|0JE] ofjo] C|Z2E 240,100
Ineos Grenadier Heating and Cooling GRA-2A02-007320 Petrol Coolant Package Zh&E 2t 17| X| 5,617,200
Ineos Grenadier Heating and Cooling GRA-2A02-008342 RH UPR Radiator Bracket RH UPR 2tC|0f| O Ef Eatzl 68,800
Ineos Grenadier Heating and Cooling GRA-2A02-009500 Low Temperature Radiator X2 2tC]ojlolE 2,519,200
Ineos Grenadier Heating and Cooling GRA-2A02-048490 Low Temperature Radiator X2 2CjojolE 2,519,200
Ineos Grenadier Heating and Cooling GRA-2A02-050790 Foam Sealing Strip = dg 2Eg 31,700
Ineos Grenadier Heating and Cooling GRA-2A02-050800 Foam Sealing Strip ZHY2EY 31,700
Ineos Grenadier Heating and Cooling GRA-2A03-013012 RH Side Cooler Bracket RH ALO|E Z2] a3l 41,400
Ineos Grenadier Heating and Cooling GRA-2A03-013180 Side Cooler Fan AO|E Z2f | 1,006,500
Ineos Grenadier Heating and Cooling GRA-2A11-006510 Expansion Tank Heat Shield S e3 5| E ME 114,000
Ineos Grenadier Heating and Cooling GRA-2A11-013030 Expansion Tank Bracket stE 83 sl 58,900




Ineos Grenadier Heating and Cooling GRA-2A11-013050 Expansion Tank Bracket EREEELE 22,700
Ineos Grenadier Heating and Cooling GRA-2A11-033480 Expansion Tank Bracket stE 83 el 104,900
Ineos Grenadier Heating and Cooling GRA-2A11-033490 Expansion Tank Bracket EREEEL 69,000
Ineos Grenadier Heating and Cooling GRA-2A12-009220 Coolant Hose e 161,400
Ineos Grenadier Heating and Cooling GRA-2A12-009600 Coolant Hose A oA 323,200
Ineos Grenadier Heating and Cooling GRA-2A12-009620 Coolant Hose e 291,600
Ineos Grenadier Heating and Cooling GRA-2A12-009680 Coolant Hose R 117,800
Ineos Grenadier Heating and Cooling GRA-2A12-009690 Coolant Hose dds oA 371,900
Ineos Grenadier Heating and Cooling GRA-2A12-009710 Coolant Hose W2t oA 103,900
Ineos Grenadier Heating and Cooling GRA-2A12-009730 Degassing Hose LY =24 317,100
Ineos Grenadier Heating and Cooling GRA-2A12-009760 Coolant Hose A 105,100
Ineos Grenadier Heating and Cooling GRA-2A12-009780 Coolant Hose [ 400,100
Ineos Grenadier Heating and Cooling GRA-2A12-009800 Coolant Hose A A 314,600
Ineos Grenadier Heating and Cooling GRA-2A12-010100 Coolant Hose e 293,900
Ineos Grenadier Heating and Cooling GRA-2A12-011190 Coolant Hose W2t oA 326,500
Ineos Grenadier Heating and Cooling GRA-2A12-017110 Degassing Hose LY =4 109,100
Ineos Grenadier Heating and Cooling GRA-2A12-017120 Degassing Hose CI7He =& 233,700
Ineos Grenadier Heating and Cooling GRA-2A12-026120 Coolant Hose e 613,400
Ineos Grenadier Heating and Cooling GRA-2A12-026130 Bracket EET 32,800
Ineos Grenadier Heating and Cooling GRA-2A12-026190 Coolant Hose dAs oA 355,700
Ineos Grenadier Heating and Cooling GRA-2A12-034820 Coolant Hose W2t oA 312,900
Ineos Grenadier Heating and Cooling GRA-2A12-036470 Degassing Hose LY =4 240,700
Ineos Grenadier Heating and Cooling GRA-2A12-047740 Coolant Hose A oA 323,200
Ineos Grenadier Heating and Cooling GRA-2A12-047760 Coolant Hose e 400,100
Ineos Grenadier Heating and Cooling GRA-2A12-048710 Coolant Hose A A 291,600
Ineos Grenadier Heating and Cooling GRA-2A12-048730 Coolant Hose [ 371,900
Ineos Grenadier Heating and Cooling GRA-2A12-048760 Coolant Hose W2t oA 400,100
Ineos Grenadier Heating and Cooling GRA-2A12-048770 Coolant Hose dds oA 161,400
Ineos Grenadier Heating and Cooling GRA-2A12-048780 Coolant Hose W2t oA 613,400
Ineos Grenadier Heating and Cooling GRA-2A12-048790 Degassing Hose LY =4 109,100
Ineos Grenadier Heating and Cooling GRA-2A12-048840 Coolant Hose A oA 312,900
Ineos Grenadier Heating and Cooling GRA-2A12-048860 Charge Air Hose sH 0o = A 645,800
Ineos Grenadier Heating and Cooling GRA-2A12-048940 Coolant Hose W2t oA 350,800
Ineos Grenadier Heating and Cooling GRA-2A12-048960 Coolant Hose dAs A 369,900
Ineos Grenadier Heating and Cooling GRA-2A12-048970 Coolant Hose R 335,200
Ineos Grenadier Heating and Cooling GRA-2A12-048990 Coolant Hose A zA 212,900
Ineos Grenadier Heating and Cooling GRA-2A12-049010 Coolant Hose W2t oA 326,500
Ineos Grenadier Heating and Cooling GRA-2A13-013210 Auxiliary Coolant Pump 2x 42+ oo 145,200
Ineos Grenadier Heating and Cooling GRA-2A13-013220 Auxiliary Coolant Pump Clamp HE d24+ Hx WD 10,300
Ineos Grenadier Heating and Cooling GRA-2A13-013230 Crankcase Bracket EEERRESEET 88,800
Ineos Grenadier Heating and Cooling GRA-2A13-013260 Bracket EEE] 86,100
Ineos Grenadier Heating and Cooling GRA-2A13-013270 Bracket el 10,800
Ineos Grenadier Heating and Cooling GRA-2A13-013280 Auxiliary Coolant Pump HE W2t Ho 548,200
Ineos Grenadier Heating and Cooling GRA-2A21-016060 Thermal Management Module EREEIESS 549,300
Ineos Grenadier Heating and Cooling GRA-2A21-016070 Seal A 17,600
Ineos Grenadier Heating and Cooling GRA-2A21-016080 Seal e 17,600
Ineos Grenadier Heating and Cooling GRA-2A22-013300 Water Pump EEEE 556,100
Ineos Grenadier Heating and Cooling GRA-2A22-016100 Coolant Pump e 370,800
Ineos Grenadier Heating and Cooling GRA-2A22-016110 Gasket TtAZ 58,600
Ineos Grenadier Heating and Cooling GRA-2A22-016120 Gasket =Y 46,800
Ineos Grenadier Heating and Cooling GRA-2A22-016130 Connector Pipe {4 E mo|= 40,500
Ineos Grenadier Heating and Cooling GRA-2A22-016150 Coolant Pump Pipe Y2t Ho mo|& 142,400
Ineos Grenadier Heating and Cooling GRA-2A22-016160 Gasket JtAZ 17,600
Ineos Grenadier Heating and Cooling GRA-2A22-049110 Coolant Pump e 438,800
Ineos Grenadier Heating and Cooling GRA-2A23-016020 Turbocharger Coolant Line E{ 2 XPA 2t 2ol 142,400
Ineos Grenadier Heating and Cooling GRA-2A23-016030 Turbocharger Coolant Line E[2 XK W2t 2tol 184,600
Ineos Grenadier Heating and Cooling GRA-2D01-009490 Gearbox Oil Cooler 7|0{8tA 2 22 2,163,100
Ineos Grenadier Heating and Cooling GRA-2D01-009650 Gearbox Oil Cooler Pipe 7ojdtA 29 22 moj& 465,400
Ineos Grenadier Heating and Cooling GRA-2D01-009670 Gearbox Oil Cooler Pipe JlofHiA @9 F ojo| = 591,500
Ineos Grenadier Heating and Cooling GRA-2D01-009820 Gear Oil Thermostat 710 Y MBAEH 332,600
Ineos Grenadier Heating and Cooling GRA-2D01-010720 Gear Oil Thermostat 7|0 2 MEAEH 319,700
Ineos Grenadier Heating and Cooling GRA-2D01-030800 Bracket el 33,100
Ineos Grenadier Heating and Cooling GRA-2D01-032200 Inlet Gearbox Qil Cooler Pipe QI3 7]oj8rA @ 2 mojx 565,100
Ineos Grenadier Heating and Cooling GRA-2D01-048830 Outlet Gearbox Oil Cooler Pipe OFg3l 7]ojdtA 29l Z2f mjo|=x 741,100
Ineos Grenadier Heating and Cooling GRA-2D01-048880 Coolant Hose Az oA 363,600
Ineos Grenadier Heating and Cooling GRA-2D01-048890 Coolant Hose dds A 157,800
Ineos Grenadier Heating and Cooling GRA-2F01-001791 LH UPR Side Cooler Bracket LH UPR AFO|E Z2&] Eap3ll 123,100
Ineos Grenadier Heating and Cooling GRA-2F01-002041 LH Side Cooler Bracket Strut LH AIO|E 22 Hapl 2AEH 57,600
Ineos Grenadier Heating and Cooling GRA-2F01-006330 Transfer Box Cooler Air Duct EdAT A 28] 00l HE 208,900
Ineos Grenadier Heating and Cooling GRA-2F01-006430 Transfer Box Cooler Air Duct EAWAT 9fA 22 00] HE 162,600
Ineos Grenadier Heating and Cooling GRA-2F01-009290 Side Cooler Bracket NUEEEEE] 53,800
Ineos Grenadier Heating and Cooling GRA-2F01-010190 Transfer Box Side Cooler EZAm A AtO|E 27 1,919,000
Ineos Grenadier Heating and Cooling GRA-2F01-013120 Side Cooler Bracket NEEEEEE] 34,500
Ineos Grenadier Heating and Cooling GRA-2F01-013130 Side Cooler Fan AO|E Z2f W 1,006,500
Ineos Grenadier Heating and Cooling GRA-2F01-030311 LH LWR Side Cooler Bracket LH LWR AFO|E Z2f Eap3l 217,600
Ineos Grenadier Heating and Cooling GRA-2F02-003120 Transfer Box Oil Feed Pipe EdAT EA 2 23 Ojo|= 1,114,100
Ineos Grenadier Heating and Cooling GRA-2F02-003130 Transfer Box Oil Return Pipe EfAT HA 99 2| mjo|= 441,000
Ineos Grenadier Heating and Cooling GRA-2F02-030350 Transfer Box Oil Return Pipe EMA 8tA @2 2[H mjo|Z 1,112,100
Ineos Grenadier Heating and Cooling GRA-2F02-044490 FRT Transfer Box Oil Feed Pipe FRT EGHATY HIA @ g mjoj= 503,300
Ineos Grenadier Heating and Cooling GRA-2F02-044500 CTR Transfer Box Oil Feed Pipe CTR EZHAT HiA 29 5 IHo[& 869,200
Ineos Grenadier Heating and Cooling GRA-2F02-044510 RR Transfer Box Oil Feed Pipe RREMATY HIA @9 g moj= 768,800
Ineos Grenadier Heating and Cooling GRA-2F02-044520 FRT Transfer Box Oil Return Pipe FRT EMHAY A @9 2[H mjo|Z 494,900
Ineos Grenadier Heating and Cooling GRA-2F02-044530 CTR Transfer Box Oil Return Pipe CTR EHATH HiA 2 2|& mjo|= 1,363,600
Ineos Grenadier Heating and Cooling GRA-2F02-044540 RR Transfer Box Oil Return Pipe RR EZHAT] BtA @29l 2|8 mo|xT 1,198,100
Ineos Grenadier Heating and Cooling GRA-2G00-030230 Defrost Actuator ELEREEENNE] 212,500
Ineos Grenadier Heating and Cooling GRA-2G00-030240 Bypass Actuator HHO|Tf A 2#2=0f 0] 212,500
Ineos Grenadier Heating and Cooling GRA-2G00-030250 Foot Actuator = HZofolEf 212,500
Ineos Grenadier Heating and Cooling GRA-2G00-030641 LH Intake Actuator LH QIE|0[3 4==00[Ef 212,500
Ineos Grenadier Heating and Cooling GRA-2G00-030652 RH Intake Actuator RH QIE{0[3 24Z=0j0|E 212,500
Ineos Grenadier Heating and Cooling GRA-2G00-036590 HVAC Filter HVAC ZE 119,500
Ineos Grenadier Heating and Cooling GRA-2G00-047730 Pressure Sensor FERN 156,300
Ineos Grenadier Heating and Cooling GRA-2G00-051480 Valve He 17,100
Ineos Grenadier Heating and Cooling GRA-2G00-051490 Valve Cap EERL] 5,200
Ineos Grenadier Heating and Cooling GRA-2G00-051500 Valve Cap EER 5,200
Ineos Grenadier Heating and Cooling GRA-2G00-051510 Valve Cap EERL] 5,200
Ineos Grenadier Heating and Cooling GRA-2G01-007630 Refrigerant Pressure line of 28 2ol 538,400
Ineos Grenadier Heating and Cooling GRA-2G01-007640 Refrigerant Pressure line EEFEEER 538,400
Ineos Grenadier Heating and Cooling GRA-2G01-007660 Refrigerant Pressure line o 28 2ol 1,389,300




Ineos Grenadier Heating and Cooling GRA-2G01-007680 Refrigerant Pressure line EEFEEER 1,389,300
Ineos Grenadier Heating and Cooling GRA-2G01-007700 Refrigerant Return Line EEEER] 495,400
Ineos Grenadier Heating and Cooling GRA-2G01-029000 Refrigerant Pressure Line EEFEEER 635,500
Ineos Grenadier Heating and Cooling GRA-2G01-029010 Refrigerant Pressure Line of 28 2ol 635,500
Ineos Grenadier Heating and Cooling GRA-2G01-033990 Refrigerant Pressure Line EEFEEER 1,602,400
Ineos Grenadier Heating and Cooling GRA-2G01-034390 Refrigerant Pressure Line o 28 2ol 1,602,400
Ineos Grenadier Heating and Cooling GRA-2G02-013320 AC Compressor AC A=A 2,679,400
Ineos Grenadier Heating and Cooling GRA-2G03-007590 Coolant Hose dds A 110,700
Ineos Grenadier Heating and Cooling GRA-2G03-007610 Coolant Hose R 156,400
Ineos Grenadier Heating and Cooling GRA-2G03-007730 Coolant Hose ds A 169,700
Ineos Grenadier Heating and Cooling GRA-2G03-029040 Heater Waterpump EEEEEE 331,100
Ineos Grenadier Heating and Cooling GRA-2G11-007620 Refrigerant Return Line EEEER 553,300
Ineos Grenadier Heating and Cooling GRA-2G11-007650 Refrigerant Pressure line EEFEEER 538,400
Ineos Grenadier Heating and Cooling GRA-2G11-007670 Refrigerant Pressure line o 28 2ol 1,339,500
Ineos Grenadier Heating and Cooling GRA-2G11-007690 Refrigerant Pressure line EEFEEER 483,300
Ineos Grenadier Heating and Cooling GRA-2G11-007710 Refrigerant Pressure line o 28 2ol 483,300
Ineos Grenadier Heating and Cooling GRA-2G11-029020 Refrigerant Pressure Line EEFEEER 608,900
Ineos Grenadier Heating and Cooling GRA-2G11-029030 Refrigerant Pressure Line o 28 2ol 608,900
Ineos Grenadier Heating and Cooling GRA-2G11-029050 Refrigerant Pressure line EEFEEER 1,498,200
Ineos Grenadier Heating and Cooling GRA-2G11-029060 Refrigerant Pressure line o 28 2ol 1,498,200
Ineos Grenadier Heating and Cooling GRA-2G11-034370 Refrigerant Pressure Line EEFEEER 1,553,300
Ineos Grenadier Heating and Cooling GRA-2G11-034380 Refrigerant Pressure Line of 28 2ol 1,553,300
Ineos Grenadier Heating and Cooling GRA-2G12-013340 AC Compressor AC A=A 2,608,100
Ineos Grenadier Heating and Cooling GRA-2G13-007580 Coolant Hose e 152,300
Ineos Grenadier Heating and Cooling GRA-2G13-007600 Coolant Hose W2t oA 138,100
Ineos Grenadier Heating and Cooling GRA-2G13-007720 Coolant Hose dds A 206,500
Ineos Grenadier Heating and Cooling GRA-2G31-013350 Heat Exchanger o k| 898,000
Ineos Grenadier Heating and Cooling GRA-2G31-013370 HVAC Cooler Pump Bracket HVAC 22 gz =3l 304,400
Ineos Grenadier Heating and Cooling GRA-2G31-029910 Bracket EEE] 119,700
Ineos Grenadier Heating and Cooling GRA-2G41-013390 IP Water Drain Hose IP Q/E{ EgO s A 261,800
Ineos Grenadier Heating and Cooling GRA-2G41-041470 HVAC Assembly HVAC O{ ¥l 2| 4,213,700
Ineos Grenadier Heating and Cooling GRA-2G42-013410 Heater Blower Fan Drive S|H 220 W E2jo|E 722,800
Ineos Grenadier Heating and Cooling GRA-2G42-013420 HVAC Airduct HVAC O E 289,400
Ineos Grenadier Heating and Cooling GRA-2G42-032300 Heater Blower Fan Drive S|H 220 W E2jo|E 1,667,000
Ineos Grenadier Heating and Cooling GRA-2G42-036570 Heater Blower Fan Drive S| £20{ W c2o|= 1,271,800
Ineos Grenadier Heating and Cooling GRA-2G42-044890 HVAC Blower Motor HVAC E20{ B 763,000
Ineos Grenadier Heating and Cooling GRA-2G52-013430 Heater Blower Fan Drive S| 220 W c2o|= 794,000
Ineos Grenadier Heating and Cooling GRA-2G52-013440 HVAC Airduct HVAC Ooj|HE 289,400
Ineos Grenadier Heating and Cooling GRA-2G52-033550 Heater Blower Fan Drive S| 220 W c2o|= 1,597,000
Ineos Grenadier Heating and Cooling GRA-2G52-036580 Heater Blower Fan Drive S| 220 W E2jo|E 1,644,900
Ineos Grenadier Heating and Cooling GRA-2G52-044880 HVAC Blower Motor HVAC £20{ 2 763,000
Ineos Grenadier Fuel and Exhaust GRA-3000-000620 Exhaust Clamp Hf 7| S = 77,700
Ineos Grenadier Fuel and Exhaust GRA-3000-002810 Screw A2 74,400
Ineos Grenadier Fuel and Exhaust GRA-3000-005020 Fuel Filler Flap Cover Az T S HY 114,200
Ineos Grenadier Fuel and Exhaust GRA-3000-005860 Fuel Flap Trim Panel oz EYEZIY 19,900
Ineos Grenadier Fuel and Exhaust GRA-3000-007260 Locking Ring £z 3 46,900
Ineos Grenadier Fuel and Exhaust GRA-3000-007270 0-Ring 3 42,200
Ineos Grenadier Fuel and Exhaust GRA-3000-007280 Fuel Tank Strap oz B3 AERM 273,700
Ineos Grenadier Fuel and Exhaust GRA-3000-008062 RH RR Body Side Trim Panel RHRR HIC| AtO|E E 2 Y 46,300
Ineos Grenadier Fuel and Exhaust GRA-3000-008300 Lock = 381,600
Ineos Grenadier Fuel and Exhaust GRA-3000-009370 Air Duct oo HE 103,900
Ineos Grenadier Fuel and Exhaust GRA-3000-009380 Bellow Hzo 148,800
Ineos Grenadier Fuel and Exhaust GRA-3000-009390 Rubber Mount 2{H O E 6,700
Ineos Grenadier Fuel and Exhaust GRA-3000-009450 Air Intake Duct ojof 9Io|3 HE 404,700
Ineos Grenadier Fuel and Exhaust GRA-3000-010050 Fuel Tank Protection Plate Az B3 25 Z0|E 2,351,900
Ineos Grenadier Fuel and Exhaust GRA-3000-010060 Fuel Tank Protection Bracket Az B3 B3 =Halal 142,000
Ineos Grenadier Fuel and Exhaust GRA-3000-010070 Fuel Tank Mid Support Frame Oz B3 FZHMEE T 263,600
Ineos Grenadier Fuel and Exhaust GRA-3000-010080 RR Fuel Tank Protection Plate RROIZ B3 B35 Z0|E 811,000
Ineos Grenadier Fuel and Exhaust GRA-3000-010090 Fuel Tank Protection Bracket oAz 83 B3 223 405,500
Ineos Grenadier Fuel and Exhaust GRA-3000-011090 Fuel Filler Drain Pipe Az T £ 9l ojo|= 27,800
Ineos Grenadier Fuel and Exhaust GRA-3000-013460 Air Filter Box Bracket 0f|o] TE gtA =3 159,900
Ineos Grenadier Fuel and Exhaust GRA-3000-013750 Pressure Sensor o2 MIA 209,400
Ineos Grenadier Fuel and Exhaust GRA-3000-016670 Air Filter Box Bracket 0f|o] TE gtA =3 173,000
Ineos Grenadier Fuel and Exhaust GRA-3000-016830 Exhaust Clamp Gasket Hi7| S = JpAZl 47,900
Ineos Grenadier Fuel and Exhaust GRA-3000-016840 Exhaust Clamp Hi7| Sz 71,000
Ineos Grenadier Fuel and Exhaust GRA-3000-018730 Fuel Tank Strap oz B3 AERM 256,700
Ineos Grenadier Fuel and Exhaust GRA-3000-018750 FRT Fuel Tank Heatshield FRT OiE &3 5|E 4 273,900
Ineos Grenadier Fuel and Exhaust GRA-3000-018770 Temperature Sensor 2 MA 311,800
Ineos Grenadier Fuel and Exhaust GRA-3000-018810 Vent Line Bracket HIE 2ol =2}3l 62,100
Ineos Grenadier Fuel and Exhaust GRA-3000-020770 Fuel Tank Pad oz 3 I 6,400
Ineos Grenadier Fuel and Exhaust GRA-3000-020780 RR Fuel Tank Heatshield RR ¢IE B3 S|E ME 354,400
Ineos Grenadier Fuel and Exhaust GRA-3000-031960 Temperature Sensor 2 MA 272,400
Ineos Grenadier Fuel and Exhaust GRA-3000-036620 Fuel Tank Protection Panel g B3 B 1y 1,864,500
Ineos Grenadier Fuel and Exhaust GRA-3000-040150 Fuel Filler Pipe Bracket Az Zg otoj= Ez3l 226,600
Ineos Grenadier Fuel and Exhaust GRA-3000-043150 Fuel Filler Flap Cover oz Tg 28 HY 96,800
Ineos Grenadier Fuel and Exhaust GRA-3000-043160 Fuel Filler Flap Cover Az Tz S HH 117,700
Ineos Grenadier Fuel and Exhaust GRA-3000-047800 Air Duct ool HE 103,900
Ineos Grenadier Fuel and Exhaust GRA-3000-047830 Bellow EEC) 148,800
Ineos Grenadier Fuel and Exhaust GRA-3000-047840 Air Intake Duct EREEREER 404,700
Ineos Grenadier Fuel and Exhaust GRA-3A02-008220 Air Filter oo ZE 70,300
Ineos Grenadier Fuel and Exhaust GRA-3A02-013450 Clean Air Duct 22 oo 5§ 316,100
Ineos Grenadier Fuel and Exhaust GRA-3A02-013470 PCV Pipe PCV I}O| 60,400
Ineos Grenadier Fuel and Exhaust GRA-3A02-013480 Mass Air Flow Sensor OjA oo 222 MM 692,200
Ineos Grenadier Fuel and Exhaust GRA-3A02-018760 Air Filter Box Assembly 0fof =E BfA o{ME2| 684,300
Ineos Grenadier Fuel and Exhaust GRA-3A02-047820 Air Filter Box Assembly 0 0] TE{ HA OojME7] 684,300
Ineos Grenadier Fuel and Exhaust GRA-3A03-013490 Charge Air Duct XX 0o HE 777,200
Ineos Grenadier Fuel and Exhaust GRA-3A03-016850 Seal A 25,700
Ineos Grenadier Fuel and Exhaust GRA-3A03-016860 Seal A 19,200
Ineos Grenadier Fuel and Exhaust GRA-3A03-016870 Spring Clip 2oy 28 9,200
Ineos Grenadier Fuel and Exhaust GRA-3A03-016880 Air Pressure Sensor ofjof @Fad MIA 149,600
Ineos Grenadier Fuel and Exhaust GRA-3A03-016900 Temperature Sensor 25 AN 149,600
Ineos Grenadier Fuel and Exhaust GRA-3D01-013510 Temperature Sensor 2 MA 209,400
Ineos Grenadier Fuel and Exhaust GRA-3D01-013520 Intake Manifold QlE[O|=A OjL|ZEE= 2,492,000
Ineos Grenadier Fuel and Exhaust GRA-3D01-013530 FRT Intake Manifold Bracket FRT QIE[O|3 OfL|ZE i3l 118,800
Ineos Grenadier Fuel and Exhaust GRA-3D01-013540 RR Intake Manifold Bracket RR QIE|O|3 OjL|ZE Ea}3 118,800
Ineos Grenadier Fuel and Exhaust GRA-3D01-013550 Throttle Body A2 E HiC| 1,058,500
Ineos Grenadier Fuel and Exhaust GRA-3D01-015260 Induction Manifold 57| 0L ZEE 2,199,500
Ineos Grenadier Fuel and Exhaust GRA-3D01-015270 Screw A3 8 5,300




Ineos Grenadier Fuel and Exhaust GRA-3D01-016190 Induction Manifold Gasket S7| 0L ZEE 7tAA 17,600
Ineos Grenadier Fuel and Exhaust GRA-3D01-016200 FRT Intake Manifold Bracket FRT QIE[O|3 OfL|ZE a3l 41,200
Ineos Grenadier Fuel and Exhaust GRA-3D01-016210 RR Intake Manifold Bracket RR QIE|0|3 OiLEE =23l 37,700
Ineos Grenadier Fuel and Exhaust GRA-3D01-016570 Throttle Body Gasket A2 E HiC| 7tAZ 14,500
Ineos Grenadier Fuel and Exhaust GRA-3D02-016490 FRT Injector Rail FRT QIMIE 2 572,200
Ineos Grenadier Fuel and Exhaust GRA-3D02-016500 Injector Rail Sensor OIME 2| MM 149,600
Ineos Grenadier Fuel and Exhaust GRA-3D02-016510 HIGH-PRESSURE RAIL 09 Y 572,200
Ineos Grenadier Fuel and Exhaust GRA-3D02-016520 Injector Ol ™ E{ 537,800
Ineos Grenadier Fuel and Exhaust GRA-3D02-016530 Injector Seal OIME Al 12,700
Ineos Grenadier Fuel and Exhaust GRA-3D02-016540 Injector Bracket OIME Ea}3ll 20,200
Ineos Grenadier Fuel and Exhaust GRA-3D03-013560 High Pressure Rail 09 Y 505,000
Ineos Grenadier Fuel and Exhaust GRA-3D03-013570 High Pressure Rail Pl (fel 505,000
Ineos Grenadier Fuel and Exhaust GRA-3D03-013580 Rubber 2{H 5,200
Ineos Grenadier Fuel and Exhaust GRA-3D03-013590 High Pressure Pipe ¢ moj= 174,800
Ineos Grenadier Fuel and Exhaust GRA-3D03-013600 High Pressure Pump o EHo 2,176,100
Ineos Grenadier Fuel and Exhaust GRA-3D03-016460 High-pressure Fuel Pump 0o oy Ho 2,198,100
Ineos Grenadier Fuel and Exhaust GRA-3D05-013600 High Pressure Fuel Pump Jot oz HE 1,866,900
Ineos Grenadier Fuel and Exhaust GRA-3D06-013650 Purge Valve X e 149,200
Ineos Grenadier Fuel and Exhaust GRA-3D11-009060 Engine Bay Fuel Lines AT Hlo] ez 2tol 490,500
Ineos Grenadier Fuel and Exhaust GRA-3D11-013610 Fuel Purge Pipe AZ HX| IHo| = 67,200
Ineos Grenadier Fuel and Exhaust GRA-3D11-013620 Fuel Purge Pipe 9E MX| mjo|= 77,600
Ineos Grenadier Fuel and Exhaust GRA-3D11-013630 Low Pressure Inlet Pipe Mg olal mo|= 119,300
Ineos Grenadier Fuel and Exhaust GRA-3D11-013640 Inlet Pipe Damper OlEll mo| T GHTH 4,500
Ineos Grenadier Fuel and Exhaust GRA-3D11-013660 Fuel Purge Pipe AZ HX| IHo| = 67,200
Ineos Grenadier Fuel and Exhaust GRA-3D11-013670 Fuel Purge Pipe A= MX| ojo|= 116,300
Ineos Grenadier Fuel and Exhaust GRA-3D11-048590 Engine Bay Fuel Lines QI ZEl H|o] Az 2}9l 490,500
Ineos Grenadier Fuel and Exhaust GRA-3D12-006740 Fuel Purge Line A=z MX| 249l 237,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-009090 Fuel Tank Fuel Lines Az i3 ¢lg 240l 369,900
Ineos Grenadier Fuel and Exhaust GRA-3D12-009110 Underbody Fuel Lines O HIC| A& 2tol 392,200
Ineos Grenadier Fuel and Exhaust GRA-3D12-009120 Underbody Fuel Lines QIGHIC| A2 2ol 412,600
Ineos Grenadier Fuel and Exhaust GRA-3D12-009200 Fuel Line Az 2ol 211,500
Ineos Grenadier Fuel and Exhaust GRA-3D12-029550 Fuel Filter oz ZE 127,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-038720 Underbody Fuel Lines O HIC| A& 2tol 430,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-048610 Fuel Tank Fuel Lines Az Ei3 oz 2}0l 369,900
Ineos Grenadier Fuel and Exhaust GRA-3D12-048630 Underbody Fuel Lines AC{HLC| S1& 2t9l 392,200
Ineos Grenadier Fuel and Exhaust GRA-3D12-048640 Underbody Fuel Lines QIGHIC| 2 29l 419,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-048650 Underbody Fuel Lines AC{HLC| S1& 2t9l 412,600
Ineos Grenadier Fuel and Exhaust GRA-3D12-048660 Underbody Fuel Lines QIGHIC| 2 2ol 430,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-048680 Fuel Purge Line A=z MX| 249l 237,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-048690 Fuel Line Az 2}ol 211,500
Ineos Grenadier Fuel and Exhaust GRA-3D21-009030 Breather Pipe B2|f mo|= 450,100
Ineos Grenadier Fuel and Exhaust GRA-3D21-009040 Breather Pipe Be|H Oojo|= 1,128,300
Ineos Grenadier Fuel and Exhaust GRA-3D21-013690 Charcoal Canister XHE 7L AE 1,010,600
Ineos Grenadier Fuel and Exhaust GRA-3D21-018710 Charcoal Filter Bracket A= =He =223l 43,400
Ineos Grenadier Fuel and Exhaust GRA-3D21-018720 Charcoal Filter Bracket K= Ze 223 92,700
Ineos Grenadier Fuel and Exhaust GRA-3D21-048560 Breather Pipe BH2|H mo|= 450,100
Ineos Grenadier Fuel and Exhaust GRA-3D21-048570 Breather Pipe Ha|f mto|= 1,128,300
Ineos Grenadier Fuel and Exhaust GRA-3D22-020580 Fuel Distribution Module AE BEHf 2 & 990,000
Ineos Grenadier Fuel and Exhaust GRA-3D22-020590 Fuel Distribution Module oz EHl 25 980,700
Ineos Grenadier Fuel and Exhaust GRA-3D22-020760 Fuel Tank LR 2,628,600
Ineos Grenadier Fuel and Exhaust GRA-3D22-041690 Fuel Tank LERER 2,707,400
Ineos Grenadier Fuel and Exhaust GRA-3D23-007560 Filler Cap oo M 76,700
Ineos Grenadier Fuel and Exhaust GRA-3D23-018780 Filler Neck Jumper Hose Sl 4l Mo s A 214,600
Ineos Grenadier Fuel and Exhaust GRA-3D23-026210 Fuel Filler Pipe oz Zg| ooz 667,400
Ineos Grenadier Fuel and Exhaust GRA-3D23-029280 Fuel Filler Housing Az =g 512 % 523,600
Ineos Grenadier Fuel and Exhaust GRA-3D23-033450 Fuel Filler Housing oz = s5tA 523,600
Ineos Grenadier Fuel and Exhaust GRA-3D23-035590 Fuel Filler Housing Az =g 5127 539,400
Ineos Grenadier Fuel and Exhaust GRA-3D23-038370 Fuel Filler Flap oz Tl EH 178,700
Ineos Grenadier Fuel and Exhaust GRA-3D24-030030 Fuel Tank Protection Az 83 B 22,800
Ineos Grenadier Fuel and Exhaust GRA-3G11-006990 Turbocharger UPR Shield E{E2 XX UPR A E 56,700
Ineos Grenadier Fuel and Exhaust GRA-3G11-007550 Blow-by Pipe S22 Hjo| mo|= 89,700
Ineos Grenadier Fuel and Exhaust GRA-3G11-012200 Turbocharger Assembly HEXAN ojdE2| 5,151,300
Ineos Grenadier Fuel and Exhaust GRA-3G11-016240 Turbocharger EEES] 5,001,300
Ineos Grenadier Fuel and Exhaust GRA-3G11-016280 Exhaust Manifold Gasket Hi 7| OjL|ZEE JtAZ 19,200
Ineos Grenadier Fuel and Exhaust GRA-3G11-016290 Turbocharger Support Bracket E|2XH MEZE =223l 64,400
Ineos Grenadier Fuel and Exhaust GRA-3G11-016340 LWR Turbocharger Shield LWR E{EX}H M E 56,700
Ineos Grenadier Fuel and Exhaust GRA-3G11-016360 Wastegate Valve Actuator QO|AEHO|E $= oiz=0f0|H 670,800
Ineos Grenadier Fuel and Exhaust GRA-3G11-016370 Turbocharger Heated Adapter EHE XX S|E|E O{HH 225,500
Ineos Grenadier Fuel and Exhaust GRA-3G11-049090 UPR Turbocharger Heat Shield UPR E{EX}X S|E M E 89,400
Ineos Grenadier Fuel and Exhaust GRA-3G11-049100 LWR Turbocharger Heat Shield LWR E{EXIX S| E HE 89,400
Ineos Grenadier Fuel and Exhaust GRA-3G12-012200 Turbocharger Assembly E{2 XX ofMEe| 5,001,300
Ineos Grenadier Fuel and Exhaust GRA-3G12-012210 Turbocharger Support Bracket HEXIN MEE 23 67,000
Ineos Grenadier Fuel and Exhaust GRA-3G12-016280 Turbocharger Gasket E{E2 XA 7pAZ 17,100
Ineos Grenadier Fuel and Exhaust GRA-3G12-016320 Turbocharger UPR Heat Shield E{2XX UPR S| E HE 80,700
Ineos Grenadier Fuel and Exhaust GRA-3G12-016360 Wastegate Valve Actuator QO|AEHO|E $= oiz=0f0|H 690,900
Ineos Grenadier Fuel and Exhaust GRA-3G12-016810 Turbocharger LWR Heat Shield EEXXN LWR S| E HE 80,700
Ineos Grenadier Fuel and Exhaust GRA-3G12-016820 Turbocharger Vent Adapter EEXIX HE OB H 216,800
Ineos Grenadier Fuel and Exhaust GRA-3G13-016390 Turbocharger Oil Line HEXN @2 240l 137,100
Ineos Grenadier Fuel and Exhaust GRA-3G13-016400 Turbocharger Oil Pipe E{2 XY 2 mo|= 137,100
Ineos Grenadier Fuel and Exhaust GRA-3G13-019040 Qil Return Line 2 2| 2}l 121,000
Ineos Grenadier Fuel and Exhaust GRA-3G13-019320 Qil Supply Line 9 aZ gfol 121,000
Ineos Grenadier Fuel and Exhaust GRA-3G21-009140 Exhaust Pressure Sensor Hose HY 7| 3] MM S A 44,500
Ineos Grenadier Fuel and Exhaust GRA-3G21-016250 Catalytic Converter Gasket Z0f HAHE TtA3 35,100
Ineos Grenadier Fuel and Exhaust GRA-3G21-016260 Exhaust Clamp Hf7| S = 53,400
Ineos Grenadier Fuel and Exhaust GRA-3G21-016600 Catalytic Converter =0 HHEH 2,727,500
Ineos Grenadier Fuel and Exhaust GRA-3G21-016620 Clip 28 3,800
Ineos Grenadier Fuel and Exhaust GRA-3G21-016630 Exhaust Clamp Hi7| Sz 48,600
Ineos Grenadier Fuel and Exhaust GRA-3G21-016670 Exhaust Sensor HY 7| MM 718,700
Ineos Grenadier Fuel and Exhaust GRA-3G21-016680 Exhaust Sensor Hij 7| MIE 605,300
Ineos Grenadier Fuel and Exhaust GRA-3G21-017150 Catalytic Converter Bracket R EEEE] 72,700
Ineos Grenadier Fuel and Exhaust GRA-3G21-019470 Catalytic Converter =0 HHEH 2,837,700
Ineos Grenadier Fuel and Exhaust GRA-3G21-020890 Exhaust Oxygen Sensor HY 7| AbA MIA 627,600
Ineos Grenadier Fuel and Exhaust GRA-3G21-020900 Exhaust Oxygen Sensor HY 7] Ak A 502,100
Ineos Grenadier Fuel and Exhaust GRA-3G21-020910 Exhaust Pressure Sensor HY 7| b2 MiA 149,600
Ineos Grenadier Fuel and Exhaust GRA-3G24-000540 FRT Exhaust Pipe FRT HY 7| m}O|= 2,171,800
Ineos Grenadier Fuel and Exhaust GRA-3G24-000550 FRT Exhaust Pipe FRT Hi7| ofo|= 1,685,200
Ineos Grenadier Fuel and Exhaust GRA-3G24-000780 FRT Exhaust Pipe FRT HY 7| m}O|= 2,202,200
Ineos Grenadier Fuel and Exhaust GRA-3G24-000790 FRT Exhaust Pipe FRT Hi7| ofo|= 1,715,600




Ineos Grenadier Fuel and Exhaust GRA-3G25-000560 RR Exhaust Pipe RR B 7| To| = 1,968,500
Ineos Grenadier Steering and Suspension GRA-4A00-032721 FRT Bumper Plate FRT Hm E20|E 208,100
Ineos Grenadier Steering and Suspension GRA-4A00-032731 LH Wheel Deflector GERELE 220,100
Ineos Grenadier Steering and Suspension GRA-4A00-032742 RH Wheel Deflector RH 2 C|E3H 220,100
Ineos Grenadier Steering and Suspension GRA-4A00-032770 FRT Tow Hook FRT EQ 23 258,400
Ineos Grenadier Steering and Suspension GRA-4A00-032781 LH FRT Spring Bracket LH FRT AZ 2 =23l 490,500
Ineos Grenadier Steering and Suspension GRA-4A00-032792 RH FRT Spring Bracket RHFRT AZ 3 =23l 490,500
Ineos Grenadier Steering and Suspension GRA-4A00-032821 LH RR Bump Stop LHRR HZ A& 194,700
Ineos Grenadier Steering and Suspension GRA-4A00-032832 RH RR Bump Stop RHRR I AE 194,700
Ineos Grenadier Steering and Suspension GRA-4A00-032841 LH Body Mount Bracket LH HIC| O E 2213l 370,200
Ineos Grenadier Steering and Suspension GRA-4A00-032852 RH Body Mount Bracket RH HIC| O E Eap3ll 370,200
Ineos Grenadier Steering and Suspension GRA-4A00-032860 Body Mount Bracket HiC| O E =3l 314,600
Ineos Grenadier Steering and Suspension GRA-4A00-032871 LH RR UPR Control Arm Bracket LHRRUPR Z1EE & Ea}3l 150,100
Ineos Grenadier Steering and Suspension GRA-4A00-032882 RH RR UPR Control Arm Bracket RHRRUPR ZIEE & 223l 150,100
Ineos Grenadier Steering and Suspension GRA-4A00-032890 RR Exhaust Bracket RR B 7| E2}3 45,000
Ineos Grenadier Steering and Suspension GRA-4A00-032901 LH FRT Shock Absorber Bracket LH FRT 23 A =23l 291,800
Ineos Grenadier Steering and Suspension GRA-4A00-032912 RH FRT Shock Absorber Bracket RH FRT &3 YAH =223l 291,800
Ineos Grenadier Steering and Suspension GRA-4A00-032921 LH LWR Control Arm Bracket LHLWR HEE 2 =at3l 211,800
Ineos Grenadier Steering and Suspension GRA-4A00-032932 RH LWR Control Arm Bracket RHLWR Z1EE & =23l 211,800
Ineos Grenadier Steering and Suspension GRA-4A00-032941 LH RR Stabiliser Link Bracket LHRR AEfato|X &3 =ap3ll 341,600
Ineos Grenadier Steering and Suspension GRA-4A00-032952 RH RR Stabiliser Link Bracket RH RR AEj&I2}0|XN &3 =al3l 341,500
Ineos Grenadier Steering and Suspension GRA-4A00-032961 LH RR Tow Hook Support LHRRE® 23 MZEE 310,900
Ineos Grenadier Steering and Suspension GRA-4A00-032972 RH RR Tow Hook Support RHRREQ 3 MEZE 310,900
Ineos Grenadier Steering and Suspension GRA-4A00-032981 LH Body Mount Bracket LH HiC| OHR E Hap3l 136,900
Ineos Grenadier Steering and Suspension GRA-4A00-032992 RH Body Mount Bracket RH HIC| O E EHat3l 136,900
Ineos Grenadier Steering and Suspension GRA-4A00-033001 LH Body Mount Bracket LH HIC| O E 2213l 248,600
Ineos Grenadier Steering and Suspension GRA-4A00-033012 RH Body Mount Bracket RH HIC| O E EHat3l 248,600
Ineos Grenadier Steering and Suspension GRA-4A00-033021 LH OTR RR Shock Absorber Bracket LH OTRRR &3 YAH Ha}3l 26,400
Ineos Grenadier Steering and Suspension GRA-4A00-033032 RH OTR RR Shock Absorber Bracket RHOTRRR &3 §4H Haepal 26,400
Ineos Grenadier Steering and Suspension GRA-4A00-033041 LH INR UPR Control Arm Bracket LHINRUPR Z1EE ¢ Ha}3ll 134,000
Ineos Grenadier Steering and Suspension GRA-4A00-033052 RH INR UPR Control Arm Bracket RH INR UPR ZIEZ @ B2}l 134,000
Ineos Grenadier Steering and Suspension GRA-4A00-033061 LH RR Shock Absorber Bracket LHRR &3 Y¥AH a3l 173,500
Ineos Grenadier Steering and Suspension GRA-4A00-033072 RH RR Shock Absorber Bracket RHRR &3 Y4H =223l 173,500
Ineos Grenadier Steering and Suspension GRA-4A01-030130 Ladder Frame e =g 9,417,700
Ineos Grenadier Steering and Suspension GRA-4A01-030140 Ladder Frame o = 9,417,700
Ineos Grenadier Steering and Suspension GRA-4A01-030150 Ladder Frame e =g 9,417,700
Ineos Grenadier Steering and Suspension GRA-4A01-032750 RR Panhard Bracket RR H3SIE =3l 296,400
Ineos Grenadier Steering and Suspension GRA-4A01-032800 FRT Panhard Bracket FRT HMsIE 223l 456,600
Ineos Grenadier Steering and Suspension GRA-4A02-030160 Ladder Frame o = 9,417,700
Ineos Grenadier Steering and Suspension GRA-4A02-030170 Ladder Frame e =g 9,417,700
Ineos Grenadier Steering and Suspension GRA-4A02-030180 Ladder Frame o = 9,417,700
Ineos Grenadier Steering and Suspension GRA-4A02-032760 RR Panhard Bracket RR HM3BIE =223l 290,400
Ineos Grenadier Steering and Suspension GRA-4A02-032810 FRT Panhard Bracket FRT H3IE 2213l 456,600
Ineos Grenadier Steering and Suspension GRA-4A11-007340 Bodymount M12 HIC|OF2 E M12 280,900
Ineos Grenadier Steering and Suspension GRA-4A11-007350 Bodymount Disc M12 HIC|OFR E C|A 3 M12 51,800
Ineos Grenadier Steering and Suspension GRA-4A11-007360 Bodymount M16 HIC|OF2 E M16 345,700
Ineos Grenadier Steering and Suspension GRA-4A11-007370 Bodymount Disc M16 HIC|OFR E C|A 3 M16 52,200
Ineos Grenadier Steering and Suspension GRA-4A21-018830 FRT Towing Base Plate Assembly FRT £ H|o|A E20|E o{H=2| 673,600
Ineos Grenadier Steering and Suspension GRA-4A22-000770 Bolt Cap 4,700
Ineos Grenadier Steering and Suspension GRA-4A22-001350 Bolt Cap 9,400
Ineos Grenadier Steering and Suspension GRA-4A22-006620 RR Fixed Tow Ball and Pin 490,000
Ineos Grenadier Steering and Suspension GRA-4A22-006630 RR Fixed Tow Ball 345,100
Ineos Grenadier Steering and Suspension GRA-4A22-006640 RR NAS Fixed Tow Ball 408,500
Ineos Grenadier Steering and Suspension GRA-4A22-007390 Towing Adapter Plate 710,500
Ineos Grenadier Steering and Suspension GRA-4A22-018910 Washer 2FM 1,100
Ineos Grenadier Steering and Suspension GRA-4A22-018920 Tow Ball Pin NAS EQ £ T NAS 150,500
Ineos Grenadier Steering and Suspension GRA-4A22-018930 Tow Ball Pin R-clip EQ £ mR-28 9,800
Ineos Grenadier Steering and Suspension GRA-4A22-047510 RR Fixed Tow Ball NAS RR DA LE EQ 2 NAS 411,000
Ineos Grenadier Steering and Suspension GRA-4A31-006530 FRT Crossmember FRT A2 AHH 2,713,500
Ineos Grenadier Steering and Suspension GRA-4A31-006580 Frame Crossmember e 32 AU 2,590,000
Ineos Grenadier Steering and Suspension GRA-4A31-007940 FRT Crossmember FRT A2 AHH 4,481,900
Ineos Grenadier Steering and Suspension GRA-4A31-008450 FRT Crossmember FRT A2 AR H 4,284,600
Ineos Grenadier Steering and Suspension GRA-4A31-018960 FRT Crossmember FRT A2 A HH 1,103,800
Ineos Grenadier Steering and Suspension GRA-4A31-018970 FRT Crossmember FRT A2 AR H 1,286,700
Ineos Grenadier Steering and Suspension GRA-4A33-018980 Transfer Box Crossmember ENATH HA 2 AHH 1,109,200
Ineos Grenadier Steering and Suspension GRA-4A33-042250 Transfer Box Crossmember Black EZHAT] BtA I 2 AU SaH 1,109,200
Ineos Grenadier Steering and Suspension GRA-4A33-042260 Transfer Box Crossmember Red EMAT HA J2AHY g|lE 1,109,200
Ineos Grenadier Steering and Suspension GRA-4B00-019810 UPR Steering Cowl Cover UPR AE|0{3 7} Y 165,700
Ineos Grenadier Steering and Suspension GRA-4B00-019820 LWR Steering Cowl Cover LWR 2E[0{ & 72 7Y 108,900
Ineos Grenadier Steering and Suspension GRA-4B00-030980 Steering Wheel Assembly AE|0{E & oMEg| 2,006,000
Ineos Grenadier Steering and Suspension GRA-4B00-030990 Steering Wheel Assembly AE[0j2 2 o] Ee| 3,212,000
Ineos Grenadier Steering and Suspension GRA-4B11-000670 Steering Column Assembly AE|0{2 ZH3 ojMdlge| 1,793,300
Ineos Grenadier Steering and Suspension GRA-4B11-009180 UPR Steering Shaft UPR 2E[0{E| AIZE 728,800
Ineos Grenadier Steering and Suspension GRA-4B11-009270 Steering Intermediate Shaft AE|0{2] OIE{0|C|Of0|E AFZE 1,254,200
Ineos Grenadier Steering and Suspension GRA-4B11-030850 Steering Column Assembly AE[0j2 ZH oj M g2 1,875,800
Ineos Grenadier Steering and Suspension GRA-4B11-030870 UPR Steering Shaft UPR AE[O{E AFZE 750,600
Ineos Grenadier Steering and Suspension GRA-4B12-004650 Steering Column Assembly AE|0j2 ZH oj M g2 1,793,300
Ineos Grenadier Steering and Suspension GRA-4B12-009190 UPR Steering Shaft UPR AE[O{E AFZE 728,800
Ineos Grenadier Steering and Suspension GRA-4B12-009280 Steering Intermediate Shaft AE|0{2 QIE{O|C|0|0|E AFZE 1,254,200
Ineos Grenadier Steering and Suspension GRA-4B12-030860 Steering Column Assembly AE|0{2 Z+H3 ojMdlge| 1,875,800
Ineos Grenadier Steering and Suspension GRA-4B12-030880 UPR Steering Shaft UPR 2E[0{E| AFIZE 750,600
Ineos Grenadier Steering and Suspension GRA-4B20-007250 Power Steering Pump e AEjoj2 Hm 4,430,100
Ineos Grenadier Steering and Suspension GRA-4B20-007470 Clamp e 12,400
Ineos Grenadier Steering and Suspension GRA-4B20-008240 Power Steering Reservoir Cap e AE|02 2| M 7 169,100
Ineos Grenadier Steering and Suspension GRA-4B20-008270 Power Steering Reservoir Q| AE[0{3l 2| XMH 177,700
Ineos Grenadier Steering and Suspension GRA-4B20-019841 LH Steering Hose Bracket LH AE|0{2] s A =Eai3ll 74,700
Ineos Grenadier Steering and Suspension GRA-4B20-019852 RH Steering Hose Bracket RH 2E[0{2 S A =213 80,500
Ineos Grenadier Steering and Suspension GRA-4B21-001930 Steering Gear AE|0{2! 7|0f 10,222,300
Ineos Grenadier Steering and Suspension GRA-4B22-001940 Steering Gear AE[03 7|0f 10,222,300
Ineos Grenadier Steering and Suspension GRA-4B23-007400 Suction Hose MM A 219,200
Ineos Grenadier Steering and Suspension GRA-4B23-007440 Steering Pressure Line AE[0f3 3 2fol 904,700
Ineos Grenadier Steering and Suspension GRA-4B23-007460 Steering Return Line AE|0{2 2|E 2}9l 745,900
Ineos Grenadier Steering and Suspension GRA-4B23-019830 Steering Bracket AE[0j2 B3l 85,200
Ineos Grenadier Steering and Suspension GRA-4B23-019860 Mounting 02 &l 42,400
Ineos Grenadier Steering and Suspension GRA-4B23-033270 Steering Return Line AE[0f3l 2|H 2}2l 768,300
Ineos Grenadier Steering and Suspension GRA-4B23-033280 Steering Pressure Line AE|0{2 23 2}ol 931,900
Ineos Grenadier Steering and Suspension GRA-4B23-033380 Mounting o2& 67,400
Ineos Grenadier Steering and Suspension GRA-4B23-038380 Power Steering Pump e AEjoj2 Hm 4,430,100




Ineos Grenadier Steering and Suspension GRA-4B23-045070 Steering Return Line As-2|E 2491 LHD 562,400
Ineos Grenadier Steering and Suspension GRA-4B23-045690 Power Steering Pump e AEjoj2 Hm 4,430,100
Ineos Grenadier Steering and Suspension GRA-4B24-007430 Suction Hose MM SA 225,300
Ineos Grenadier Steering and Suspension GRA-4B24-007450 Steering Pressure Line AE|0{2 23 2}ol 739,000
Ineos Grenadier Steering and Suspension GRA-4B24-007480 Steering Return Line AE[0f2l 2|E 2}9l 624,600
Ineos Grenadier Steering and Suspension GRA-4B24-019870 Steering Bracket AE|0{E 523l 103,400
Ineos Grenadier Steering and Suspension GRA-4B24-019880 Mounting o2& 50,200
Ineos Grenadier Steering and Suspension GRA-4B24-033290 Steering Pressure Line AE|0{2 23 2}ol 864,800
Ineos Grenadier Steering and Suspension GRA-4B24-033300 Steering Return Line AE[0fEl 2|H 2}2l 814,100
Ineos Grenadier Steering and Suspension GRA-4B40-007010 Drag Link cegja g3 921,300
Ineos Grenadier Steering and Suspension GRA-4B40-007170 Drag Link = == 921,300
Ineos Grenadier Steering and Suspension GRA-4B40-007180 Steering Link Ball Joint AE0jE 23 &5 XQE 549,200
Ineos Grenadier Steering and Suspension GRA-4B40-007190 Tie Rod Adjuster ElO] 2E O{EXMqAH 210,700
Ineos Grenadier Steering and Suspension GRA-4B40-008120 Steering Damper AE|0{2 I 562,900
Ineos Grenadier Steering and Suspension GRA-4B40-031950 Steering Damper AE|0]2] I 579,800
Ineos Grenadier Steering and Suspension GRA-4B40-033650 Drag Link cegja g3 921,300
Ineos Grenadier Steering and Suspension GRA-4B40-033980 Drag Link = =T 948,900
Ineos Grenadier Steering and Suspension GRA-4B41-026280 Tie Rod ElO| 2E 1,225,400
Ineos Grenadier Steering and Suspension GRA-4B41-031330 Tie Rod 1,262,100
Ineos Grenadier Steering and Suspension GRA-4B42-026290 Tie Rod 1,208,700
Ineos Grenadier Steering and Suspension GRA-4B42-031340 Tie Rod 1,244,900
Ineos Grenadier Steering and Suspension GRA-4C00-004550 FRT Coil Spring 315,900
Ineos Grenadier Steering and Suspension GRA-4C00-004560 FRT Coil Spring 323,600
Ineos Grenadier Steering and Suspension GRA-4C00-004570 FRT Coil Spring 330,300
Ineos Grenadier Steering and Suspension GRA-4C00-004580 FRT Coil Spring 335,800
Ineos Grenadier Steering and Suspension GRA-4C00-007810 Coil Spring Shim 228,100
Ineos Grenadier Steering and Suspension GRA-4C00-007820 Coil Spring Shim 219,200
Ineos Grenadier Steering and Suspension GRA-4C00-008080 FRT Bump Stop 147,200
Ineos Grenadier Steering and Suspension GRA-4C00-026300 Shock Absorber 363,200
Ineos Grenadier Steering and Suspension GRA-4C00-031940 FRT Coil Spring FRTAY Az 303,200
Ineos Grenadier Steering and Suspension GRA-4C00-034650 Shock Absorber A3 Yar 625,800
Ineos Grenadier Steering and Suspension GRA-4C01-026300 Shock Absorber A3 Al 648,400
Ineos Grenadier Steering and Suspension GRA-4C10-007130 Control Arm Bush HEE & 24 126,600
Ineos Grenadier Steering and Suspension GRA-4C10-009890 FRT LWR Suspension Arm FRT LWR MAHIM & 850,400
Ineos Grenadier Steering and Suspension GRA-4C10-034590 FRT LWR Suspension Arm FRT LWR A AT 2} 850,400
Ineos Grenadier Steering and Suspension GRA-4C10-034840 FRT LWR Suspension Arm FRT LWR M 2T M 888,800
Ineos Grenadier Steering and Suspension GRA-4C11-009901 LH FRT UPR Suspension Arm LH FRT UPR A EHIM & 904,500
Ineos Grenadier Steering and Suspension GRA-4C11-034611 LH FRT UPR Suspension Arm LH FRT UPR M AT M o 904,500
Ineos Grenadier Steering and Suspension GRA-4C11-034871 LH FRT UPR Suspension Arm LH FRT UPR M|AEIM & 930,500
Ineos Grenadier Steering and Suspension GRA-4C12-009910 RH FRT UPR Suspension Arm RH FRT UPR A{AHIM 844,500
Ineos Grenadier Steering and Suspension GRA-4C12-034602 RH FRT UPR Suspension Arm RH FRT UPR M AT & 844,500
Ineos Grenadier Steering and Suspension GRA-4C12-034882 RH FRT UPR Suspension Arm RH FRT UPR A{AHIM ¢ 886,900
Ineos Grenadier Steering and Suspension GRA-4C20-000400 Panhard Rod Bearing StE 2E o &l 100,200
Ineos Grenadier Steering and Suspension GRA-4C20-007830 FRT Panhard Rod FRT M3lE 25 968,000
Ineos Grenadier Steering and Suspension GRA-4C23-007040 Stabilizer Link AEfzEio|X 23 151,100
Ineos Grenadier Steering and Suspension GRA-4€23-007750 FRT Stabilizer FRT AEf2to| X 1,159,100
Ineos Grenadier Steering and Suspension GRA-4D00-004590 RR Coil Spring RRIY A 629,800
Ineos Grenadier Steering and Suspension GRA-4D00-004600 RR Coil Spring RRIAY AZ 569,500
Ineos Grenadier Steering and Suspension GRA-4D00-004610 RR Coil Spring RR Y 577,200
Ineos Grenadier Steering and Suspension GRA-4D00-008090 RR Bump Stop RR BT AE 225,700
Ineos Grenadier Steering and Suspension GRA-4D00-019990 UPR Shock Absorber Bracket UPR 23 ¢ 96,200
Ineos Grenadier Steering and Suspension GRA-4D00-026310 Shock Absorber A3 Al 363,200
Ineos Grenadier Steering and Suspension GRA-4D00-031260 RR Coil Spring RRIY AZ 606,700
Ineos Grenadier Steering and Suspension GRA-4D00-031270 RR Coil Spring RRIAY AZY 614,800
Ineos Grenadier Steering and Suspension GRA-4D00-031280 RR Coil Spring RRIY AZ 799,500
Ineos Grenadier Steering and Suspension GRA-4D00-031920 RR Coil Spring RRIAY AZY 721,800
Ineos Grenadier Steering and Suspension GRA-4D00-031930 RR Coil Spring RRIY AZ 561,400
Ineos Grenadier Steering and Suspension GRA-4D00-034660 Shock Absorber &3 YPAaH 626,800
Ineos Grenadier Steering and Suspension GRA-4D01-026310 Shock Absorber A3 YA 649,700
Ineos Grenadier Steering and Suspension GRA-4D10-007140 RR LWR Control Arm RRIWR TEE & 928,600
Ineos Grenadier Steering and Suspension GRA-4D10-021100 Control Arm Bush Mo o 24 126,000
Ineos Grenadier Steering and Suspension GRA-4D11-007151 LH RR UPR Control Arm LHRRUPR ZIEE 2 1,173,900
Ineos Grenadier Steering and Suspension GRA-4D12-007162 RH RR UPR Control Arm RHRRUPR ZIEE ¢t 869,800
Ineos Grenadier Steering and Suspension GRA-4D20-000410 Panhard Rod Bearing WSE 2 Hjoj2 100,200
Ineos Grenadier Steering and Suspension GRA-4D20-007840 RR Panhard Rod RR HMslE 2E 913,600
Ineos Grenadier Steering and Suspension GRA-4D23-007050 Stabilizer Link AEfeelo| N &3 172,200
Ineos Grenadier Steering and Suspension GRA-4D23-007970 RR Stabilizer Bar RR AE{ 20| X Ht 1,057,500
Ineos Grenadier Steering and Suspension GRA-4E00-004660 Wheel Nut 2 HE 6,100
Ineos Grenadier Steering and Suspension GRA-4E00-019540 Tyre Pressure Sensor EFO|O] ©F3d MIA 428,100
Ineos Grenadier Steering and Suspension GRA-4E00-032500 Valve Stem e AH 58,800
Ineos Grenadier Steering and Suspension GRA-4E00-032510 Valve Service Kit W MH|A F|E 58,800
Ineos Grenadier Steering and Suspension GRA-4E01-007290 17" Steel Wheel 17" A8 2 591,800
Ineos Grenadier Steering and Suspension GRA-4E11-007330 18" Alloy Wheel 18" ¢=20| & 1,917,800
Ineos Grenadier Transmission and Drive GRA-5000-013500 Harness Plug stelA 81 47,900
Ineos Grenadier Transmission and Drive GRA-5000-021210 Central Body Cover MEZ diC| HH 274,400
Ineos Grenadier Transmission and Drive GRA-5000-021220 Plug M22x1.5 E2{1 M22x1.5 40,800
Ineos Grenadier Transmission and Drive GRA-5000-021230 Central Body Gasket ME 2 HiC| AR 62,700
Ineos Grenadier Transmission and Drive GRA-5000-021240 Differential Locking Bracket ClHadE 22 gg13l 42,000
Ineos Grenadier Transmission and Drive GRA-5000-021250 Breather M10x1 22|H M10x1 27,800
Ineos Grenadier Transmission and Drive GRA-5000-021370 Wheel Bearing 2o 483,600
Ineos Grenadier Transmission and Drive GRA-5000-021410 Ring Nut 2l HE 90,900
Ineos Grenadier Transmission and Drive GRA-5000-021420 Pinion Flange oL ot EX| 418,100
Ineos Grenadier Transmission and Drive GRA-5000-021430 Thrust Washer AZAE QLM 87,000
Ineos Grenadier Transmission and Drive GRA-5000-021440 0-ring 22l 6,800
Ineos Grenadier Transmission and Drive GRA-5000-021450 Shaft Seal APZE A 176,500
Ineos Grenadier Transmission and Drive GRA-5000-021460 Bearing LEE] 189,300
Ineos Grenadier Transmission and Drive GRA-5000-021470 Elastic Spacer AlzfAEl ATHO|M 75,500
Ineos Grenadier Transmission and Drive GRA-5000-021480 Thrust Bearing AP AE HO{E 180,200
Ineos Grenadier Transmission and Drive GRA-5000-021520 Thrust Bearing APAE HOE 121,500
Ineos Grenadier Transmission and Drive GRA-5000-021640 Differential Housing Cover ClHaAM 6128 7 448,100
Ineos Grenadier Transmission and Drive GRA-5000-021650 Differential Housing ClEHH A 5123 2,109,000
Ineos Grenadier Transmission and Drive GRA-5000-021660 Differential Kit ClHAM 7| E 2,306,100
Ineos Grenadier Transmission and Drive GRA-5000-022370 Differential Drive Plate FEEEEENEERERER 19,500
Ineos Grenadier Transmission and Drive GRA-5000-022980 Shim 4.50mm 4 4.50mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-022990 Shim 4.55mm A 4.55mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023000 Shim 4.60mm 4 4.60mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023010 Shim 4.65mm A 4.65mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023020 Shim 4.70mm 4 4.70mm 99,600




Ineos Grenadier Transmission and Drive GRA-5000-023030 Shim 4.75mm A 4.75mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023040 Shim 4.80mm 4 4.80mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023050 Shim 4.85mm A 4.85mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023060 Shim 4.90mm 4 4.90mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023070 Shim 4.95mm A 4.95mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023080 Shim 5.00mm 4] 5.00mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023090 Shim 5.05mm A 5.05mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023100 Shim 5.10mm 4 5.10mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023110 Shim 5.15mm A 5.15mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023120 Shim 5.20mm 4] 5.20mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023130 Shim 5.25mm A 5.25mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023140 Shim 5.30mm 4] 5.30mm 99,600
Ineos Grenadier Transmission and Drive GRA-5000-023150 Shim 5.35mm A 5.35mm 99,600
Ineos Grenadier Transmission and Drive GRA-5A00-019620 Gearbox Inspection Cover 7|0{EA OIAEHM FHH 15,100
Ineos Grenadier Transmission and Drive GRA-5A00-020300 Output Shaft Seal Kit OlRZ AfZE M 7|E 102,600
Ineos Grenadier Transmission and Drive GRA-5A00-020310 Screw Plug ASE EBO 18,100
Ineos Grenadier Transmission and Drive GRA-5A00-020340 Oil Line Plug Kit 2 g0l E3{1 7|E 40,200
Ineos Grenadier Transmission and Drive GRA-5A00-020480 Mechatronic Seal Kit H7IE2Y A 7| E 775,300
Ineos Grenadier Transmission and Drive GRA-5A00-029150 Heat Shield Bracket S|E ME =3l 59,700
Ineos Grenadier Transmission and Drive GRA-5A00-033210 Gearbox Heat Shield 7|0f{8tA S|E ME 55,000
Ineos Grenadier Transmission and Drive GRA-5A11-009250 Gearbox Breather 7|0jgtA =Ha|H 377,800
Ineos Grenadier Transmission and Drive GRA-5A12-043240 Automatic Gearbox QEDHE| 7|0{EtA 18,909,700
Ineos Grenadier Transmission and Drive GRA-5A13-020410 Small Parts Kit ABIOX 7| E 189,800
Ineos Grenadier Transmission and Drive GRA-5A13-020440 Torque Converter Kit E3d 7AHEH 7|E 3,582,000
Ineos Grenadier Transmission and Drive GRA-5A13-020450 Torque Converter Seal Kit E3 ZiHEH A 7| E 158,000
Ineos Grenadier Transmission and Drive GRA-5A14-020430 Pump Wiring Harness Kit EE VN EEEES 566,300
Ineos Grenadier Transmission and Drive GRA-5A14-020460 Selector System Kit MBE A|AH 7| E 912,200
Ineos Grenadier Transmission and Drive GRA-5A14-020470 Mechatronic Assembly H7IEZ2Y ojdE2| 6,794,600
Ineos Grenadier Transmission and Drive GRA-5A14-020490 Pump Kit Ho 7| E 2,513,500
Ineos Grenadier Transmission and Drive GRA-5A14-020500 Pump O-ring Kit Hz 22 7|E 819,900
Ineos Grenadier Transmission and Drive GRA-5A24-044710 Mechatronic Assembly o7tEZ2 Y ojdEze| 6,770,200
Ineos Grenadier Transmission and Drive GRA-5C00-019640 Gear Selector Bracket 7|0 Male =23l 69,000
Ineos Grenadier Transmission and Drive GRA-5C00-019660 RR Selector Cable Bracket RR A2 E 0|2 =3l 73,100
Ineos Grenadier Transmission and Drive GRA-5C00-019670 FRT Selector Cable Bracket FRT A3l H # ol 23l 35,500
Ineos Grenadier Transmission and Drive GRA-5C00-035670 Bowden Cable 224 #olg 584,000
Ineos Grenadier Transmission and Drive GRA-5C01-019630 Gear Selector Base 7|0f MElE Hjo|A 910,700
Ineos Grenadier Transmission and Drive GRA-5C01-026320 Transfer Box Selector EAT BfA MBE 295,300
Ineos Grenadier Transmission and Drive GRA-5C01-026330 Bracket EEE] 69,000
Ineos Grenadier Transmission and Drive GRA-5C01-026340 Bowden Cable 224 7o|g 584,000
Ineos Grenadier Transmission and Drive GRA-5C01-026350 Bowden Mounting Plate Hd o2&l Eg0|E 32,500
Ineos Grenadier Transmission and Drive GRA-5C01-026360 Bowden Bracket 28 =23 108,700
Ineos Grenadier Transmission and Drive GRA-5C01-032240 Transfer Box Selector EATY oA M2 E 304,200
Ineos Grenadier Transmission and Drive GRA-5C01-043520 Bowden Cable 24 AHolg 584,000
Ineos Grenadier Transmission and Drive GRA-5C02-019700 Gear Selector Base 7|0f MElE Hjo|A 910,700
Ineos Grenadier Transmission and Drive GRA-5C12-019710 Transfer Box Heat Shield EMATY HA S|E A E 90,500
Ineos Grenadier Transmission and Drive GRA-5C12-019720 Transfer Box Heat Shield EUAL BA S|E MCE 79,100
Ineos Grenadier Transmission and Drive GRA-5C12-019730 Transfer Box Assembly E2MAT A ojMlE2| 12,936,100
Ineos Grenadier Transmission and Drive GRA-5C12-019740 Transfer Box Mount EMAL BtA OIRE 461,400
Ineos Grenadier Transmission and Drive GRA-5C12-034130 Output Bearing Kit Ol Z H|0j3 7|E 180,900
Ineos Grenadier Transmission and Drive GRA-5C12-034140 Differential Lock Selector Kit ClmHaMe 2 Melg 7| E 191,300
Ineos Grenadier Transmission and Drive GRA-5C12-034150 Gear Selector Kit 7|0] Mg 7| E 182,100
Ineos Grenadier Transmission and Drive GRA-5C12-034160 Magnet Kit oYl 7| E 119,700
Ineos Grenadier Transmission and Drive GRA-5C12-034170 Differential Lock Fork Kit ClHAME 2 23 7|E 362,100
Ineos Grenadier Transmission and Drive GRA-5C12-034180 Transfer Box Seal Kit EZHAT] BtA A F|E 356,100
Ineos Grenadier Transmission and Drive GRA-5C12-034190 Bearing Shim Kit Hojg & 7|E 276,000
Ineos Grenadier Transmission and Drive GRA-5C12-034200 Input Shaft Bearing Kit OIZ AFZE H|0j2l 7| E 117,700
Ineos Grenadier Transmission and Drive GRA-5C12-034210 Differential FRT Bearing Kit ClHalE FRT HIOE 7| E 100,100
Ineos Grenadier Transmission and Drive GRA-5C12-034220 Differential RR Bearing Kit ClHAME RR H|Oj2 7| E 107,500
Ineos Grenadier Transmission and Drive GRA-5C12-034230 Intermediate Shaft Bearing Kit OIE{O|C|Of0|E AFZE H|0{E 7| E 110,400
Ineos Grenadier Transmission and Drive GRA-5C12-034240 Differential Assembly Kit ClHad ojdEe 7| E 3,434,500
Ineos Grenadier Transmission and Drive GRA-5C12-034250 Intermediate Shaft Kit QIE{O|C|00|E AFZE 7|E 1,305,100
Ineos Grenadier Transmission and Drive GRA-5C12-034260 Input Shaft Kit oIz E J|E 918,100
Ineos Grenadier Transmission and Drive GRA-5C12-034270 Output Flange Kit Ol E ZalX| 7| E 661,000
Ineos Grenadier Transmission and Drive GRA-5C12-034280 Housing Assembly Kit SR A ojdlge| 7|E 1,854,700
Ineos Grenadier Transmission and Drive GRA-5C12-034290 Housing Cover Kit SR 7 7|E 1,254,500
Ineos Grenadier Transmission and Drive GRA-5C12-034300 Pump Assembly Kit Hz ojdlge 7|1E 224,300
Ineos Grenadier Transmission and Drive GRA-5C12-034310 Position Sensor Kit ZXM MM FIE 242,000
Ineos Grenadier Transmission and Drive GRA-5C12-034320 Neutral Lock Kit SEY EJ|E 355,500
Ineos Grenadier Transmission and Drive GRA-5C12-034330 Gear Selector Fork Kit 7|0f M2 23 7|E 203,200
Ineos Grenadier Transmission and Drive GRA-5C12-034340 Ball Detent Kit 2 CJHE 7|E 77,900
Ineos Grenadier Transmission and Drive GRA-5C12-034350 Temperature Sensor Kit 25 MM F|IE 144,400
Ineos Grenadier Transmission and Drive GRA-5C12-034360 Qil Deflector Kit QU CIEHEH 7|E 68,000
Ineos Grenadier Transmission and Drive GRA-5C12-034410 Plug M14x1.5 22|71 M14x1.5 9,400
Ineos Grenadier Transmission and Drive GRA-5C12-034420 Differential Lock Lever ClHAM 2 gy 120,700
Ineos Grenadier Transmission and Drive GRA-5C12-034430 0il Deflector Q9 C|Z2E 30,500
Ineos Grenadier Transmission and Drive GRA-5C12-034440 Differential Spacer Clm A ALO|A 83,800
Ineos Grenadier Transmission and Drive GRA-5C12-034450 RR Output Shaft RR OI2E AIZE 403,800
Ineos Grenadier Transmission and Drive GRA-5C12-034460 FRT Output Shaft FRT O E MZE 575,600
Ineos Grenadier Transmission and Drive GRA-5C12-034470 Thrust Washer AAE QLM 93,500
Ineos Grenadier Transmission and Drive GRA-5C12-034480 Input Shaft High Gear OIZ AFZE 3}0| 7|0f 599,600
Ineos Grenadier Transmission and Drive GRA-5C12-034490 Input Shaft Selector Ring OIFZ AFZE M2iE 2 291,200
Ineos Grenadier Transmission and Drive GRA-5C12-034500 Differential Lock Selector Ring ClHAME 2 Mg 2l 251,000
Ineos Grenadier Transmission and Drive GRA-5C12-034510 Input Shaft Low Gear OIZ AFZE 22 7|0 592,700
Ineos Grenadier Transmission and Drive GRA-5C12-034520 Input Shaft Bearing Ol AfZE 101,200
Ineos Grenadier Transmission and Drive GRA-5C12-034530 Input Shaft Seal OIZ Al 43,300
Ineos Grenadier Transmission and Drive GRA-5C12-034540 Qutput Shaft Seal o2 45,500
Ineos Grenadier Transmission and Drive GRA-5C12-034550 Connector 25,000
Ineos Grenadier Transmission and Drive GRA-5C12-034560 Gear Selector Lever 7 105,700
Ineos Grenadier Transmission and Drive GRA-5C12-034570 Gear Selector Rail 7 199,000
Ineos Grenadier Transmission and Drive GRA-5C12-034580 Gear Selector Spacer 7|04 7,100
Ineos Grenadier Transmission and Drive GRA-5D00-019750 Propshaft Fixing Kit (2 bolts, 1 shim) zz23 30,500
Ineos Grenadier Transmission and Drive GRA-5D01-026410 FRT Propshaft 1,823,700
Ineos Grenadier Transmission and Drive GRA-5D01-033390 FRT Propshaft 1,823,700
Ineos Grenadier Transmission and Drive GRA-5D11-010920 RR Propshaft RR ZZHAIZE 3,043,500
Ineos Grenadier Transmission and Drive GRA-5D11-026420 RR Propshaft RR ZZHPAIZE 1,505,800
Ineos Grenadier Transmission and Drive GRA-5D11-030360 RR Propshaft RR ZZHAIZE 2,419,500
Ineos Grenadier Transmission and Drive GRA-5D11-033400 RR Propshaft RR ZZHPAIZE 1,723,800
Ineos Grenadier Transmission and Drive GRA-5D11-033500 RR Propshaft RR ZZHAZE 2,492,100




Ineos Grenadier Transmission and Drive GRA-5D11-043970 RR Propshaft Boot RRIZHZAZE BHE 79,200
Ineos Grenadier Transmission and Drive GRA-5E00-000600 Axle Mounted Control Arm Bush o< OL2E|E HEE QF 24 120,700
Ineos Grenadier Transmission and Drive GRA-5E00-000610 Electric differential Lock FALA ClHAN 2 3,149,500
Ineos Grenadier Transmission and Drive GRA-5E00-002680 Wheel Stud M14x1.5 2l AHE M14x1.5 10,600
Ineos Grenadier Transmission and Drive GRA-5E00-006960 FRT Wheel Speed Sensor FRT & AT E AN 226,700
Ineos Grenadier Transmission and Drive GRA-5E00-021270 UPR King Pin UPR Z & 194,300
Ineos Grenadier Transmission and Drive GRA-5E00-021280 King Pin Seal ey 138,700
Ineos Grenadier Transmission and Drive GRA-5E00-021290 UPR King Pin Bearing UPR Z Tl H|oj & 74,400
Ineos Grenadier Transmission and Drive GRA-5E00-021300 ABS Sensor Grommet ABS MM O =0 26,800
Ineos Grenadier Transmission and Drive GRA-5E00-021310 LWR King Pin Bearing LWR Z T H & 87,900
Ineos Grenadier Transmission and Drive GRA-5E00-021320 LWR King Pin LWR Z T 185,400
Ineos Grenadier Transmission and Drive GRA-5E00-021340 Double U-joint Seal Ring HE U-ZQIE M 2] 137,300
Ineos Grenadier Transmission and Drive GRA-5E00-021350 Double U-joint Bush ClE U-ZTOQIE 24 16,700
Ineos Grenadier Transmission and Drive GRA-5E00-021360 Wheel Bearing Circlip 90x4 2 Hoj2! MEE 90x4 14,000
Ineos Grenadier Transmission and Drive GRA-5E00-021390 0-ring 22 6,800
Ineos Grenadier Transmission and Drive GRA-5E00-021500 Crown Wheel and Pinion Kit Azt & 9 oLl 7| E 3,871,900
Ineos Grenadier Transmission and Drive GRA-5E00-021510 Bulkhead H3s = 16,500
Ineos Grenadier Transmission and Drive GRA-5E00-021530 Harness Plug stelA E8{1 21,700
Ineos Grenadier Transmission and Drive GRA-5E00-021542 RH Double U-joint Shaft RH G E U-ZTQE AIZE 1,892,100
Ineos Grenadier Transmission and Drive GRA-5E00-021551 LH Double U-joint Shaft LH G2 U-ZQIE MZE 1,637,800
Ineos Grenadier Transmission and Drive GRA-5E00-021560 Hub Nut 5B HE 186,600
Ineos Grenadier Transmission and Drive GRA-5E00-021570 Hub Nut Cover 52 HE HHY 25,200
Ineos Grenadier Transmission and Drive GRA-5E00-021580 Hub Kit 5B 7| E 1,049,000
Ineos Grenadier Transmission and Drive GRA-5E00-021590 Phonic Wheel z4 256,300
Ineos Grenadier Transmission and Drive GRA-5E00-021601 LH Brake Cover LH =2fo|3 FHH 254,100
Ineos Grenadier Transmission and Drive GRA-5E00-021612 RH Brake Cover RH E20|3 74 254,100
Ineos Grenadier Transmission and Drive GRA-5E00-044000 E Differential Lock EC|HME 2 3,244,000
Ineos Grenadier Transmission and Drive GRA-5E01-021262 RH Swivel Housing RH A 2|2 2 H 2,088,300
Ineos Grenadier Transmission and Drive GRA-5E01-021401 LH Swivel Housing LH 292 2% 1,815,300
Ineos Grenadier Transmission and Drive GRA-5E01-037110 FRT Axle Assembly LHD Locked FRT A4S ojdlZ2| LHD & 17,152,400
Ineos Grenadier Transmission and Drive GRA-5E01-037120 FRT Axle Assembly LHD Open FRT 24& OjdlE2| LHD @& 17,841,400
Ineos Grenadier Transmission and Drive GRA-5E01-044810 FRT Axle Assembly LHD Locked FRT A4S ojdlZ2| LHD & 17,152,400
Ineos Grenadier Transmission and Drive GRA-5E02-021621 LH Swivel Housing LH 292 2% 2,089,000
Ineos Grenadier Transmission and Drive GRA-5E10-021670 Spacer Kit AO|M 7| E 712,100
Ineos Grenadier Transmission and Drive GRA-5F00-006860 RR Wheel Speed Sensor RRE AIE HA 222,900
Ineos Grenadier Transmission and Drive GRA-5F00-021680 RH Axle Shaft RH & AFZE 1,950,200
Ineos Grenadier Transmission and Drive GRA-5F00-021690 LH Axle Shaft LH A& AT E 1,693,700
Ineos Grenadier Transmission and Drive GRA-5F00-021700 Wheel Stud M14x82 2l AHE M14x82 26,000
Ineos Grenadier Transmission and Drive GRA-5F00-021710 Hub Nut 5B HE 181,700
Ineos Grenadier Transmission and Drive GRA-5F00-021720 Washer M 26,800
Ineos Grenadier Transmission and Drive GRA-5F00-021730 Spacer A 0| A 48,100
Ineos Grenadier Transmission and Drive GRA-5F00-021740 0-ring 22l 13,400
Ineos Grenadier Transmission and Drive GRA-5F00-021750 Wheel Hub RS 1,193,800
Ineos Grenadier Transmission and Drive GRA-5F00-021760 Spacer AT 0| A 137,300
Ineos Grenadier Transmission and Drive GRA-5F00-021770 0-ring 3 9,400
Ineos Grenadier Transmission and Drive GRA-5F00-021780 Phonic Wheel z4 g 178,700
Ineos Grenadier Transmission and Drive GRA-5F00-021790 Brake Cover sg0|3 7 220,900
Ineos Grenadier Transmission and Drive GRA-5F00-021800 Crown Wheel and Pinion Kit Azt & 9 oLl 7| E 3,647,900
Ineos Grenadier Transmission and Drive GRA-5F01-037150 RR Axle Assembly LHD Locked RR & O{dE2| LHD & 14,230,300
Ineos Grenadier Transmission and Drive GRA-5F01-037160 RR Axle Assembly LHD Open RR Y& =2/ LHD 2 E 14,919,400
Ineos Grenadier Brakes GRA-6A00-007060 Brake Pedal Pad EE R ER ==, 57,200
Ineos Grenadier Brakes GRA-6A00-007120 Brake Pedal Pad R ER:=gi= 57,700
Ineos Grenadier Brakes GRA-6A00-020010 Brake Light Switch HEss 22X 74,700
Ineos Grenadier Brakes GRA-6A00-020690 Caliper Guide Pin Cap Kit 42|10 710|E Tl 74 F|E 35,500
Ineos Grenadier Brakes GRA-6A00-030970 Brake Pedal Bush EENEREEE] 50,700
Ineos Grenadier Brakes GRA-6A01-007020 Brake Pedal Box Bejo|3 ofE BtA 666,000
Ineos Grenadier Brakes GRA-6A01-012890 Brake Pedal Box EENEEEEES 850,200
Ineos Grenadier Brakes GRA-6A01-033330 Brake Pedal Box Bejo|3 ofE BtA 875,700
Ineos Grenadier Brakes GRA-6A02-007030 Brake Pedal Box EENEEEEES 666,000
Ineos Grenadier Brakes GRA-6A02-012900 Brake Pedal Box Bejo|3 ofE BtA 850,200
Ineos Grenadier Brakes GRA-6A02-033340 Brake Pedal Box EENEEEEES 875,700
Ineos Grenadier Brakes GRA-6A20-007070 Brake Booster Seal Hejo|3 BEAH A 7,100
Ineos Grenadier Brakes GRA-6A20-007110 Brake Fluid Reservoir Cap Bao|3% 2| X 7 10,200
Ineos Grenadier Brakes GRA-6A20-020240 Master Cylinder Seal Kit OfAEH M2IH A 7| E 19,700
Ineos Grenadier Brakes GRA-6A20-020250 Reservoir Grommet Kit 2| 120 7|E 10,400
Ineos Grenadier Brakes GRA-6A20-020260 Reservoir Screw 2| M A3 82 27,600
Ineos Grenadier Brakes GRA-6A20-020270 Brake Fluid Level Sensor Bajo]3oH g MM 52,200
Ineos Grenadier Brakes GRA-6A20-020280 Vacuum Grommet Xz a=z2o 11,800
Ineos Grenadier Brakes GRA-6A20-020720 Brake Booster Kit Bg0|3 BAH 7|E 896,200
Ineos Grenadier Brakes GRA-6A20-028580 Booster Dash Panel HAE Al THE 202,800
Ineos Grenadier Brakes GRA-6A21-020730 Master Cylinder Kit OfAE A2 7| E 569,800
Ineos Grenadier Brakes GRA-6A21-020740 Brake Reservoir Kit EEERERSE ENS 218,800
Ineos Grenadier Brakes GRA-6A22-020700 Master Cylinder Kit OfAE A2 7| E 569,800
Ineos Grenadier Brakes GRA-6A22-020710 Brake Reservoir Kit EEERERSE NS 226,500
Ineos Grenadier Brakes GRA-6A30-009080 Brake Control Module 20|23 Mo 2& 3,370,800
Ineos Grenadier Brakes GRA-6A30-041640 ABS Modulator Dry ABS 2 =2{0|H E2t0| 3,370,800
Ineos Grenadier Brakes GRA-6A30-043530 ESP Module 9.3 Filled ESP2E 9.3 EC 3,153,800
Ineos Grenadier Brakes GRA-6A30-044950 ESP Module 9.3 Filled ESP 25 9.3 ZE 3,153,800
Ineos Grenadier Brakes GRA-6A31-000340 ESC Bracket ESC 223 376,100
Ineos Grenadier Brakes GRA-6A32-021120 Brake Control Module Bracket =Hgoj|3 Hof 2E 22}l 375,700
Ineos Grenadier Brakes GRA-6A40-006670 RH FRT Brake Hose RH FRT E230|3 54 483,100
Ineos Grenadier Brakes GRA-6A40-006680 LH FRT Brake Hose LH FRT Eg0|3 A 481,700
Ineos Grenadier Brakes GRA-6A40-022491 LH FRT Brake Hose LH FRT £20|3 54 354,400
Ineos Grenadier Brakes GRA-6A40-022512 RH FRT Brake Hose RH FRT E80|3 A 355,400
Ineos Grenadier Brakes GRA-6A41-020021 LH FRT Brake Line LH FRT 22{ 0|3 2t2l 531,700
Ineos Grenadier Brakes GRA-6A41-020032 RH FRT Brake Line RH FRT Eg|0|3 2}9l 494,900
Ineos Grenadier Brakes GRA-6A41-020040 Master Cylinder Brake Line OfAEH A2l 220|329l 638,100
Ineos Grenadier Brakes GRA-6A41-020050 Master Cylinder Brake Line OfAH A2l =22o|3 2}9l 624,600
Ineos Grenadier Brakes GRA-6A42-020062 RH FRT Brake Line RH FRT E2j0|3 2t2l 538,100
Ineos Grenadier Brakes GRA-6A42-020071 LH FRT Brake Line LH FRT £2f 0|3 atol 468,600
Ineos Grenadier Brakes GRA-6A42-020080 Master Cylinder Brake Line OfAEH A2l 220|329l 664,500
Ineos Grenadier Brakes GRA-6A42-020090 Master Cylinder Brake Line OfAH M2l 22o|3 2}9l 637,100
Ineos Grenadier Brakes GRA-6A43-020100 Brake Line Bgjo|3a 29l 1,134,300
Ineos Grenadier Brakes GRA-6A43-020110 Brake Line Bgjo|3 29l 1,212,300
Ineos Grenadier Brakes GRA-6A44-020120 Brake Line Bgjo|3a 29l 1,124,900
Ineos Grenadier Brakes GRA-6A44-020130 Brake Line Begjo|3 29l 1,183,700
Ineos Grenadier Brakes GRA-6A45-008180 Brake Vacuum Hose sg0|3 Xlg A 236,000
Ineos Grenadier Brakes GRA-6A45-008190 Brake Vacuum Hose Bejo|3 T3 A 284,900




Ineos Grenadier Brakes GRA-6A46-008200 Brake Vacuum Hose sg0|3 Xlg A 192,200
Ineos Grenadier Brakes GRA-6A46-008210 Brake Vacuum Hose Beo|32 T3 A 267,600
Ineos Grenadier Brakes GRA-6A50-000350 Brake Hose Bracket o3 sA 2213 59,200
Ineos Grenadier Brakes GRA-6A50-006690 RH RR Brake Hose RHRR 20| 5& 663,200
Ineos Grenadier Brakes GRA-6A50-006700 LH RR Brake Hose LHRR E3|0|3 A 608,500
Ineos Grenadier Brakes GRA-6A50-022501 LH RR Brake Hose LHRR E20|3 & 447,700
Ineos Grenadier Brakes GRA-6A50-022522 RH RR Brake Hose RHRR 230|354 487,900
Ineos Grenadier Brakes GRA-6A51-000750 Brake Disc R 427,100
Ineos Grenadier Brakes GRA-6A51-039150 Brake Line sgo|3 2ol 175,600
Ineos Grenadier Brakes GRA-6A51-039160 Brake line Bgjo|3 2ol 328,400
Ineos Grenadier Brakes GRA-6A52-000760 Brake Disc Bgo|3 CjA3 325,000
Ineos Grenadier Brakes GRA-6A52-039170 Brake Line Bgjo|3 2ol 179,400
Ineos Grenadier Brakes GRA-6A52-039180 Brake Line sgo|3 2ol 294,700
Ineos Grenadier Brakes GRA-6A52-039190 Clip 28 4,500
Ineos Grenadier Brakes GRA-6A60-020160 Backpressure Valve I\ e 44,000
Ineos Grenadier Brakes GRA-6A60-020170 Filter el 61,900
Ineos Grenadier Brakes GRA-6A61-032280 Brake Vacuum Hose sg0|3 Xlg A 238,300
Ineos Grenadier Brakes GRA-6A61-049170 Brake Vacuum Hose Bejo|3 T3 A 236,000
Ineos Grenadier Brakes GRA-6A61-049180 Brake Vacuum Hose 20|32 Xlg A 238,300
Ineos Grenadier Brakes GRA-6A62-030470 Brake Vacuum Hose Beo|32 FF3 A 463,000
Ineos Grenadier Brakes GRA-6A62-030480 Brake Vacuum Hose H0|3 2F sA 297,100
Ineos Grenadier Brakes GRA-6A62-033200 Brake Vacuum Hose B0|32 FF A 476,900
Ineos Grenadier Brakes GRA-6A62-049190 Brake Vacuum Hose H0|3 2Z s A 476,900
Ineos Grenadier Brakes GRA-6A62-049200 Brake Vacuum Hose Beo|32 T3 A 297,100
Ineos Grenadier Brakes GRA-6A70-020200 Caliper Bleed Screw Kit e | E2|E AR F|E 40,200
Ineos Grenadier Brakes GRA-6A70-021140 FRT Brake Carrier Kit FRT 220|3 742]0f 7| E 239,500
Ineos Grenadier Brakes GRA-6A70-021150 Guide Pin Kit Ji0|E Bl 7| E 111,000
Ineos Grenadier Brakes GRA-6A70-021160 Brake Pad Spring Kit Hyo|3 IjE A2 F|E 27,600
Ineos Grenadier Brakes GRA-6A70-021170 FRT Brake Pad Kit FRT E30|3 IjE 7| E 578,700
Ineos Grenadier Brakes GRA-6A70-021180 Dust Boot and Piston Seal Kit OAE HE QI OAE AN F|E 53,200
Ineos Grenadier Brakes GRA-6A70-021190 Sensor Connector Securing Bracket MM HEE A|F0{E B3l 22,000
Ineos Grenadier Brakes GRA-6A71-021131 LH FRT Brake Caliper LH FRT £2f 0|3 Z2| 694,600
Ineos Grenadier Brakes GRA-6A72-021202 RH FRT Brake Caliper RH FRT E2{0|3 Zz2|H 690,800
Ineos Grenadier Brakes GRA-6A80-020220 RR Brake Carrier Kit RR E2{0|3 742|0f 7| E 201,800
Ineos Grenadier Brakes GRA-6A80-020670 RR Brake Pad Kit RR E20|3 HE 7|E 342,300
Ineos Grenadier Brakes GRA-6A81-020661 LH RR Brake Caliper LHRR E20|3 Zz|H 927,000
Ineos Grenadier Brakes GRA-6A82-020682 RH RR Brake Caliper RHRR E8{|0|3 22| 929,200
Ineos Grenadier Brakes GRA-6B00-010640 Handbrake Cable Set SHEE2|0|3 0|5 ME 374,700
Ineos Grenadier Brakes GRA-6B00-043261 RR LH Handbrake Cable Bracket RR LH SHE Egj0|3 A 0|5 Eat3l 58,400
Ineos Grenadier Brakes GRA-6B00-043270 RR Handbrake Bowden Cable RREMEEE 0|3 HE #Oo|= 336,000
Ineos Grenadier Brakes GRA-6B00-043282 RR RH Handbrake Cable Bracket RRRH $HEE20|3 # 0|5 Eatil 57,300
Ineos Grenadier Brakes GRA-6B01-007410 Handbrake Lever SHE E2{0|3 2y 644,100
Ineos Grenadier Brakes GRA-6B01-021850 Handbrake Lever (Saddle) HE =2 0|3 B (ME) 686,300
Ineos Grenadier Brakes GRA-6B01-028160 Handbrake Lever Gaiter SHE E2{|0|3 2f|tf A O|E 230,600
Ineos Grenadier Brakes GRA-6B01-044950 Handbrake Lever Assembly sHE=20|3 BH (£3) 760,900
Ineos Grenadier Brakes GRA-6B01-044960 Handbrake Lever Assembly sHE=go/3 2 (ME) 803,200
Ineos Grenadier Brakes GRA-6B02-007420 Handbrake Lever FECEENEEE 651,700
Ineos Grenadier Brakes GRA-6B02-021880 Handbrake Lever (Saddle) sHE=go/3 2 (ME) 1,388,100
Ineos Grenadier Brakes GRA-6B02-026970 Handbrake Lever Gaiter siE=g0|3 2 AHO|E 230,600
Ineos Grenadier Brakes GRA-6B02-044970 Handbrake Lever Assembly sic=gol3 2 (&) 768,600
Ineos Grenadier Brakes GRA-6B02-044980 Handbrake Lever Assembly SHE =2 0|3 B (ME) 811,000
Ineos Grenadier Body GRA-7000-005910 Utility Rail SE2E Y 27,200
Ineos Grenadier Body GRA-7000-005920 Body Side Mounting Plate HIC| AtO|E OHRE Z0|E 165,600
Ineos Grenadier Body GRA-7000-006070 Body Side Trim Panel HIC| AFO|E E&] Tjd 116,200
Ineos Grenadier Body GRA-7000-010020 Body Side Trim Panel HIC| AtO|E E 2l 1jd 118,900
Ineos Grenadier Body GRA-7000-010110 Lashing Eye 26,400
Ineos Grenadier Body GRA-7000-022091 Grab Handle Bracket 94,700
Ineos Grenadier Body GRA-7000-022101 Grab Handle Cap 21,200
Ineos Grenadier Body GRA-7000-022111 Grab Handle Cap 21,200
Ineos Grenadier Body GRA-7000-022260 INR C-pillar Bracket 27,600
Ineos Grenadier Body GRA-7000-022440 Plug 30 323,600
Ineos Grenadier Body GRA-7000-022450 Sill Moulding Reinforcement 224,500
Ineos Grenadier Body GRA-7000-022530 A-pillar Grab Handle 227,900
Ineos Grenadier Body GRA-7000-023550 Lashing Eye 52,600
Ineos Grenadier Body GRA-7000-032470 Water Drain 85,100
Ineos Grenadier Body GRA-7000-034400 Water Drain == 121,100
Ineos Grenadier Body GRA-7000-034910 Body Side Mounting Plate HIC| AtO|E OtR.E Z0|E 87,200
Ineos Grenadier Body GRA-7000-035820 LH OTR B-pillar Reinforcement LHOTRB-Z2 2|/ ZAHE 150,800
Ineos Grenadier Body GRA-7000-039260 UPR INR C-pillar Baffle UPRINR C-Z 2| HYE 8,400
Ineos Grenadier Body GRA-7000-039701 Bodyside Trim HIC|A}O|E E 2] 61,100
Ineos Grenadier Body GRA-7000-050090 Grab Handle Cap M SHE 21,200
Ineos Grenadier Body GRA-7A01-000040 FRT Bumper Mesh FRT S 0| 174,600
Ineos Grenadier Body GRA-7A01-000050 FRT Bumper Mesh FRT HIH 04 135,500
Ineos Grenadier Body GRA-7A01-000060 FRT Bumper Reinforcement FRT Hm 2|QIZAHE 205,000
Ineos Grenadier Body GRA-7A01-000090 FRT Bumper Assembly FRT #I oM E2 3,455,300
Ineos Grenadier Body GRA-7A01-000111 LH Bull Bar Cover LH & Hf HH 91,500
Ineos Grenadier Body GRA-7A01-000122 RH Bull Bar Cover RH & B} 714 91,500
Ineos Grenadier Body GRA-7A01-000200 FRT Bumper CTR Segment FRT B CTR | OHE 1,174,300
Ineos Grenadier Body GRA-7A01-000211 FRT Bumper LH Segment FRT B LH | OHE 1,337,200
Ineos Grenadier Body GRA-7A01-000222 FRT Bumper RH Segment FRT S RH | OIHE 1,337,200
Ineos Grenadier Body GRA-7A01-000230 PDC Sensor Housing PDC AIM 312 F 30,500
Ineos Grenadier Body GRA-7A01-000240 PDC Sensor Housing PDC MM &2 3 30,500
Ineos Grenadier Body GRA-7A01-000261 LH Closure Panel LlHE2XM 0g 118,000
Ineos Grenadier Body GRA-7A01-000272 RH Closure Panel RHE2X ijg 132,600
Ineos Grenadier Body GRA-7A01-000301 LH INR Air Duct LHINR OO HE 145,600
Ineos Grenadier Body GRA-7A01-000312 RH INR Air Duct RH INR 0jj0f HE 145,600
Ineos Grenadier Body GRA-7A01-000321 LH OTR Air Duct LHOTR O HE 186,200
Ineos Grenadier Body GRA-7A01-000920 FRT Bumper Mesh FRT S 0| 115,200
Ineos Grenadier Body GRA-7A01-001850 INR Parking Sensor Bracket INR I+ MM =223l 11,200
Ineos Grenadier Body GRA-7A01-001860 OTR Parking Sensor Bracket OTR It MM Eap3l 11,200
Ineos Grenadier Body GRA-7A01-005621 LH Bull Bar Cover LH & B 7 30,200
Ineos Grenadier Body GRA-7A01-005632 RH Bull Bar Cover RH = H #HH 30,200
Ineos Grenadier Body GRA-7A01-019261 LH Closure Panel Bracket LHE2X 0d =23l 68,200
Ineos Grenadier Body GRA-7A01-019271 LH Adapter Bracket LH " E| =23l 28,900
Ineos Grenadier Body GRA-7A01-019282 RH Closure Panel Bracket RHEZX g =3l 68,200
Ineos Grenadier Body GRA-7A01-019292 RH Adapter Bracket RH O{HHE =223l 28,900
Ineos Grenadier Body GRA-7A01-021890 FRT Bumper CTR Mesh FRT &1 CTR M4 317,400
Ineos Grenadier Body GRA-7A01-021901 FRT Bumper LH Mesh FRT I LH o4 187,600




Ineos Grenadier Body GRA-7A01-021912 FRT Bumper RH Mesh FRT 1 RH O] 187,600
Ineos Grenadier Body GRA-7A02-005950 FRT Skid Plate FRT A7|E Z20|E 703,100
Ineos Grenadier Body GRA-7A11-011160 M8 Nut Cover M8 HE FHf 53,800
Ineos Grenadier Body GRA-7A11-019490 Control Unit Bracket Mol g4l =213l 316,400
Ineos Grenadier Body GRA-7A11-032070 Control Unit Bracket Mol g4 =23 425,000
Ineos Grenadier Body GRA-7A11-032550 Plasma Lock Ect=0r 2 80,900
Ineos Grenadier Body GRA-7A21-000430 Front Grille UPR Cover IZ=2E J2 UPR HH 178,200
Ineos Grenadier Body GRA-7A21-000440 Front Grille LWR Cover Z2E J2 IWRAHHY 111,800
Ineos Grenadier Body GRA-7A21-000451 LH Auxiliary Light Cover LH 2 2}0|E HH 72,200
Ineos Grenadier Body GRA-7A21-000462 RH Auxiliary Light Cover RH EZX 2}0|E HH{ 72,200
Ineos Grenadier Body GRA-7A21-000480 Front Grille Mesh D2E 12 04 315,700
Ineos Grenadier Body GRA-7A21-000490 Front Grille Frame Z2E 8 oy ¢ 1,640,700
Ineos Grenadier Body GRA-7A21-000840 Front Grille o2E 1% 1,414,000
Ineos Grenadier Body GRA-7A21-004730 Clossure Panel ESkE 218,000
Ineos Grenadier Body GRA-7A21-022020 Grille Mounted Working Lamp 2 Or2EIE 97 = 632,800
Ineos Grenadier Body GRA-7A21-022031 LH Wing Foam Block IHEEEE 344,700
Ineos Grenadier Body GRA-7A21-035290 FRT Crossmember FRT A2 AHH 186,700
Ineos Grenadier Body GRA-7A22-000371 LH Headlamp Cover LH S| EHE 7 88,700
Ineos Grenadier Body GRA-7A22-001611 LH Headlamp Panel LHS|EM=T o 512,200
Ineos Grenadier Body GRA-7A23-000382 RH Headlamp Cover RH 8| E = 71 88,700
Ineos Grenadier Body GRA-7A23-001622 RH Headlamp Panel RH S|z ofd 512,200
Ineos Grenadier Body GRA-7A40-006550 UPR Wing Foam Block UPRE E E8 9,700
Ineos Grenadier Body GRA-7A40-006560 LWR Wing Foam Block IWNRE EEE 10,500
Ineos Grenadier Body GRA-7A40-030830 LWR Wing Foam Block IWRE E EE 10,800
Ineos Grenadier Body GRA-7A40-030840 UPR Wing Foam Block UPRE EEE 10,000
Ineos Grenadier Body GRA-7A40-051580 UPR Wing Foam Sealing Strip UPR & E A3 AEE 10,000
Ineos Grenadier Body GRA-7A40-051590 LWR Wing Foam Sealing Strip LWR & & HEg AEY 10,800
Ineos Grenadier Body GRA-7A41-005181 LH UPR Wing Panel Bracket LHUPR ¥ I d =aj3ll 492,200
Ineos Grenadier Body GRA-7A41-005771 FRT LH Wheel Arch Trim FRT LH € OtX| E& 183,300
Ineos Grenadier Body GRA-7A41-005840 Side Indicator Trim Cover APO|E QIC|AHO|Ef E2l F{H] 211,000
Ineos Grenadier Body GRA-7A41-010011 LH FRT Wing Panel LHFRT & 0 & 1,974,900
Ineos Grenadier Body GRA-7A41-018001 LH Headlamp Mounting Panel LHS|EH= DR E ofjd 235,400
Ineos Grenadier Body GRA-7A41-019021 LH Wing Bracket LH & =223l 117,400
Ineos Grenadier Body GRA-7A41-019030 INEOS Badge INEOS Hi X| 103,600
Ineos Grenadier Body GRA-7A41-035741 LH UPR Shotgun Reinforcement LH UPR AFZd 2[QIZATHE 132,900
Ineos Grenadier Body GRA-7A41-035761 LH MID Shotgun Reinforcement LH MID &7 2QIZAHE 136,200
Ineos Grenadier Body GRA-7A41-035781 LH LWR Shotgun Reinforcement LH LWR AFH 2|QIZATHE 131,600
Ineos Grenadier Body GRA-7A41-041730 Side Indicator Trim Cover AMO|E QIC|7|0|f EZ| HH 439,600
Ineos Grenadier Body GRA-7A42-005192 RH UPR Wing Panel Bracket RHUPR & Ijd =23l 492,200
Ineos Grenadier Body GRA-7A42-005792 FRT RH Wheel Arch Trim FRT RH & O}X| E& 183,300
Ineos Grenadier Body GRA-7A42-006250 Side Air Intake Grille AFO|E 0Ofjof QIE0]3 O & 136,100
Ineos Grenadier Body GRA-7A42-008312 RH FRT Wing Panel RHFRT ¥ I{d 1,974,900
Ineos Grenadier Body GRA-7A42-018012 RH Headlamp Mounting Panel RH S| O E iy 235,400
Ineos Grenadier Body GRA-7A42-018860 National Flag Badge UK LIS 21 BIX| uK 221,900
Ineos Grenadier Body GRA-7A42-019052 RH Wing Bracket RH & 22}3l 117,400
Ineos Grenadier Body GRA-7A42-022052 RH Wing Foam Block RH & E BE 344,700
Ineos Grenadier Body GRA-7A42-022772 RH Fender Air Intake Grille RH HH oof QlH0|3 O 238,900
Ineos Grenadier Body GRA-7A42-028982 National Flag Plaque - UK LHME E21 E213 - UK 199,700
Ineos Grenadier Body GRA-7A42-028992 Side Air Intake Grille AFO|E Ofjof QIE0|3 O & 221,900
Ineos Grenadier Body GRA-7A42-035752 RH UPR Shotgun Reinforcement RH UPR 71 2[QIZATHE 132,900
Ineos Grenadier Body GRA-7A42-035772 RH MID Shotgun Reinforcement RHMID & 2[QIIAHE 136,200
Ineos Grenadier Body GRA-7A42-035792 RH LWR Shotgun Reinforcement RH LWR 4 2|QIZATHE 131,600
Ineos Grenadier Body GRA-7A42-041750 Side Air Intake Grille AFO|E 0Ofjof QIE0]3 O & 221,900
Ineos Grenadier Body GRA-7A51-009830 Raised Air Intake 20| =E ofof Q0|2 1,074,600
Ineos Grenadier Body GRA-7A51-018250 UPR Bracket UPR 223 105,900
Ineos Grenadier Body GRA-7A51-018260 LWR Bracket LWR 223l 105,900
Ineos Grenadier Body GRA-7A61-030460 Nose Wrap 2= 1,238,200
Ineos Grenadier Body GRA-7B00-023950 Bulkhead Acoustic Treatment HAHE O|RAE ECEMHE 459,100
Ineos Grenadier Body GRA-7B01-009160 Seal Cap R 82,500
Ineos Grenadier Body GRA-7B01-019070 Windscreen Metal Badge AE AT 2l O € By x| 100,400
Ineos Grenadier Body GRA-7B01-019080 Inner Bulkhead Insulation o|l H3s|= Q&g o|M 425,600
Ineos Grenadier Body GRA-7B01-019100 Accelerator Module Bracket AMB Ol 2 & 23l 106,900
Ineos Grenadier Body GRA-7B01-029920 Badge Y X| 60,700
Ineos Grenadier Body GRA-7B01-029930 Badge Windscreen (Trialmaster) HiX| IEAT 2l (E2O|YOtAH) 60,700
Ineos Grenadier Body GRA-7B01-029940 Badge Windscreen (Fieldmaster) HYX| QIEA SRl (HEDOIAH) 60,700
Ineos Grenadier Body GRA-7B01-030750 Inner Bulkhead Insulation Ol "3 = Q&g oM 671,400
Ineos Grenadier Body GRA-7B02-009170 Seal Cap R 82,500
Ineos Grenadier Body GRA-7B02-024110 Accelerator Module Bracket AMBY 0| 2 & B2} 121,000
Ineos Grenadier Body GRA-7B02-024120 Inner Bulkhead Insulation NEEELEREENE 425,600
Ineos Grenadier Body GRA-7B02-030760 Inner Bulkhead Insulation Ol "3 = Q=g oM 671,400
Ineos Grenadier Body GRA-7B04-010180 CTR Bulkhead Heatshield CTR €33 E S|E A= 112,800
Ineos Grenadier Body GRA-7B04-010911 LH Bulkhead Heat Shield LH 23| E 5| E AE 453,800
Ineos Grenadier Body GRA-7B04-021112 RH Bulkhead Heat Shield RH ¥A|E S|E AME 367,700
Ineos Grenadier Body GRA-7B04-033692 RH Bulkhead Heat Shield RH ¥33|E S|E AME 378,800
Ineos Grenadier Body GRA-7B10-008600 Cowl Seal Fte W 138,600
Ineos Grenadier Body GRA-7B10-008930 Cowl Cover 72 7 101,000
Ineos Grenadier Body GRA-7B10-008940 Cowl Cover Cap 712 7 11,800
Ineos Grenadier Body GRA-7B10-011220 Cowl Seal 7S A 333,200
Ineos Grenadier Body GRA-7B10-019131 LH Water Drain Hose LH 9H Egol s A& 98,700
Ineos Grenadier Body GRA-7B10-019140 Water Drain Hose Clamp 2lE E2f0l S A ST 4,800
Ineos Grenadier Body GRA-7B10-019152 RH Water Drain Hose RH ¥/ Egol A 98,700
Ineos Grenadier Body GRA-7B10-019162 RH Fixing Plate RH Zd E20|E 14,000
Ineos Grenadier Body GRA-7B10-019171 LH Fixing Plate LH Z/Al Z20|E 14,000
Ineos Grenadier Body GRA-7B10-029500 Cowl Cover 72 Y 161,500
Ineos Grenadier Body GRA-7B10-030102 RH Fixing Plate RH ZlAl Z30|E 32,500
Ineos Grenadier Body GRA-7B10-030111 LH Fixing Plate LH =& E20|E 32,500
Ineos Grenadier Body GRA-7B10-030870 Drainage Rib LHD = 20|LX] & LHD 22,400
Ineos Grenadier Body GRA-7B10-034791 LH Side Cowl Cover LH AIO|E 7+8 71 89,100
Ineos Grenadier Body GRA-7B10-034802 RH Side Cowl Cover RH ALO|E 7+2 FHH 89,100
Ineos Grenadier Body GRA-7B10-035990 RR Cowl Cover Seal RR 7t HH A& 237,900
Ineos Grenadier Body GRA-7B10-036000 FRT Cowl Cover Seal FRT 7t 7 & 237,900
Ineos Grenadier Body GRA-7B10-036011 LH Water Drain LH I =22 165,100
Ineos Grenadier Body GRA-7B10-036020 CTR Water Drain CTR IH =32l 197,500
Ineos Grenadier Body GRA-7B10-043440 Cowl Cover 72 HY 166,300
Ineos Grenadier Body GRA-7B10-045470 Cowl Cover Seal 7L 78 A 52,900
Ineos Grenadier Body GRA-7B10-045480 Cowl Cover Cap 7S HH 15,900
Ineos Grenadier Body GRA-7B11-008750 CTR Water Drain CTR ®IH =32l 191,800
Ineos Grenadier Body GRA-7B11-008762 RH Water Drain RH R/E =2f 2 166,900




Ineos Grenadier Body GRA-7B11-008771 LH Water Drain LH 9H =3¢l 160,300
Ineos Grenadier Body GRA-7B11-019202 RH Air Intake RH 0j|of QIE{|o|3 56,600
Ineos Grenadier Body GRA-7B11-019211 LH Air Intake Cover LH 0flof QIE|0|3 HH 61,300
Ineos Grenadier Body GRA-7B11-030082 RH Air Intake RH 0j|of QIE{|o|3 61,300
Ineos Grenadier Body GRA-7B11-031691 LH Side Cowl Cover LH AFO|E 7t2 HH 55,300
Ineos Grenadier Body GRA-7B11-031702 RH Side Cowl Cover RH AIO|E 712 HH 55,300
Ineos Grenadier Body GRA-7B11-032380 Air Intake Diffuser ofjof QIE|o|3 C|FEX 30,500
Ineos Grenadier Body GRA-7B11-035980 Air Intake Diffuser oof OI0|3 C|HEXN 66,000
Ineos Grenadier Body GRA-7B11-045031 LH Air Intake Cover LH 0flof QIE|0|3 HH 61,300
Ineos Grenadier Body GRA-7B11-045042 RH Air Intake RH 0j|of QIE{|0o|3 61,300
Ineos Grenadier Body GRA-7B11-045460 Cowl Cover Assembly 712 #HH oz 166,300
Ineos Grenadier Body GRA-7B11-049790 Cowl Cover Assembly 72 HH ol E2| 166,300
Ineos Grenadier Body GRA-7B12-019182 RH Air Intake Cover RH 0f[0f QIE|0|3 #H 66,700
Ineos Grenadier Body GRA-7B12-030091 LH Air Intake LH 0f|of QIE 0|3 102,400
Ineos Grenadier Body GRA-7B12-032370 Air Intake Diffuser NERENEEES] 30,500
Ineos Grenadier Body GRA-7B12-036030 Air Intake Diffuser ofjof OI0|3 C|HEXN 66,000
Ineos Grenadier Body GRA-7B12-042590 Cowl Cover Assembly 712 A ojdlEz| 166,300
Ineos Grenadier Body GRA-7B12-045021 LH Air Intake LH 0jjof QIEo|3 74,800
Ineos Grenadier Body GRA-7B12-045052 RH Air Intake Cover RH 0f|0f QIE{|0]3 HH 66,700
Ineos Grenadier Body GRA-7B22-034970 Camera Cover Fto 2} 7{H 16,600
Ineos Grenadier Body GRA-7B22-049300 Interior Mirror R 319,400
Ineos Grenadier Body GRA-7C00-022140 Footrest LHFX ZAE 211,500
Ineos Grenadier Body GRA-7C00-022160 Footrest Reinforcement ZPYAE BQZAHE 213,900
Ineos Grenadier Body GRA-7C00-022170 Footrest Block ZYAE E2 181,700
Ineos Grenadier Body GRA-7C01-024081 LH Outer Drain Gutter LH O} H =232 AHH 18,800
Ineos Grenadier Body GRA-7C01-029191 LH Body Side Outer LH HFC| AO| = OF2H 4,100,500
Ineos Grenadier Body GRA-7C01-029211 LH Body Side Outer LH HFC| AFO|E OF2H 4,100,500
Ineos Grenadier Body GRA-7€01-035441 LH RR Body Side End Panel LHRR HIC| AjO|E QIE T Y 154,900
Ineos Grenadier Body GRA-7C01-035461 LH Body Side Connector Panel LH BiC| AtO|E FHHIE T 178,000
Ineos Grenadier Body GRA-7C01-039611 LH Body Side Panel LH HFC| AfO|E T d 2,871,700
Ineos Grenadier Body GRA-7C01-040891 LH OTR B-pillar Panel LH OTR B-Z&j ojd 2,292,600
Ineos Grenadier Body GRA-7€01-040911 LH OTR Sill Panel LHOTR & mjd 3,040,200
Ineos Grenadier Body GRA-7C01-040921 LH OTR Sill Panel LHOTR & mji'd 3,040,200
Ineos Grenadier Body GRA-7€01-040951 LH OTR RR Quarter Panel LHOTRRR HEH Ijd 2,388,400
Ineos Grenadier Body GRA-7C01-040961 LH OTR RR Quarter Panel LH OTRRR HE 1j 4 2,388,400
Ineos Grenadier Body GRA-7C11-008321 LH Sill Trim Panel LHA E2 oy 788,300
Ineos Grenadier Body GRA-7C11-023991 LH Cantrail Reinforcement LHZHER Y B[ ZATHE 253,800
Ineos Grenadier Body GRA-7C11-024031 LH Cantrail Outer LH ZHE2| Y Ot H 97,500
Ineos Grenadier Body GRA-7C11-024061 LH D-pillar Outer LHD-Z 2 Ot2F 791,400
Ineos Grenadier Body GRA-7C11-024091 LH LWR Outer C-pillar LH LWR O}2H c-Z3 190,200
Ineos Grenadier Body GRA-7C11-029221 LH Sill Reinforcement LH A 2[QIZAHE 3,641,000
Ineos Grenadier Body GRA-7C11-035481 LH B-pillar Reinforcement LHB-Z&{ 2[QIZATHE 2,292,600
Ineos Grenadier Body GRA-7C11-035501 LH Side Sill Reinforcement LH AIO|E A 2|QIZEAHE 3,276,900
Ineos Grenadier Body GRA-7C11-035801 LH OTR A-pillar Reinforcement LHOTRA-Z2 2|QIZAHE 161,000
Ineos Grenadier Body GRA-7C11-035841 LH OTR C-pillar Reinforcement LHOTRC-E2 2|QIZAHE 150,800
Ineos Grenadier Body GRA-7C11-035861 LH INR C-pillar Reinforcement LHINRC-Z2 2|QIZAHE 136,300
Ineos Grenadier Body GRA-7C11-038841 LH RR OTR Cantrail LHRROTR ZHEZ| 204,800
Ineos Grenadier Body GRA-7C11-038861 LH FRT INR Cantrail Baffle LHFRT INR ZHE R Y HHE 10,700
Ineos Grenadier Body GRA-7C11-038881 LH RR INR Cantrail LHRRINR HE B 371,000
Ineos Grenadier Body GRA-7C11-039281 LH LWR INR C-pillar Baffle LHLWR INR C-Z2f HjZ 30,400
Ineos Grenadier Body GRA-7C11-039291 LH UPR OTR C-pillar Support LHUPROTRC-Z&{ NEE 144,300
Ineos Grenadier Body GRA-7C11-039301 LH UPR OTR C-pillar Support LHUPROTRC-E2| MEZE 62,300
Ineos Grenadier Body GRA-7C11-039571 LH LWR C-pillar Reinforcement LHLWRC-Z3 2| ZAHE 303,000
Ineos Grenadier Body GRA-7C11-039591 LH OTR Sill Panel LHOTR & 1jd 568,400
Ineos Grenadier Body GRA-7C11-040991 LH INR Cantrail LH INR ZHE Y 4,970,900
Ineos Grenadier Body GRA-7C11-041031 LH INR B-pillar Panel LHINRB-Z2 I g 2,860,800
Ineos Grenadier Body GRA-7C20-022071 LH UPR A-Pillar Trim Cap LH UPRA-Z2 E&l 24 21,200
Ineos Grenadier Body GRA-7C20-022121 LH INR LWR A-Pillar Trim LHINR LWR A-Z2f EZ 219,000
Ineos Grenadier Body GRA-7C20-045421 LH UPR A-pillar Trim Cap LH UPRA-Z2| E2| 24 21,200
Ineos Grenadier Body GRA-7€20-050061 LH UPR A-pillar Trim Cap LHUPRA-Z2 EE 21,200
Ineos Grenadier Body GRA-7C21-022181 LH UPR A-pillar Trim LH UPR A-Zi2] E2 195,300
Ineos Grenadier Body GRA-7€21-045381 LH UPR A-pillar Trim LHUPRA-Z EE 195,300
Ineos Grenadier Body GRA-7C22-022061 LH UPR INR A-Pillar Trim LH UPR INR A-Z2| EZ 188,800
Ineos Grenadier Body GRA-7C22-022081 LH Grab Handle Bracket LH 1# s E ea}al 71,000
Ineos Grenadier Body GRA-7C22-045401 LH UPR A-pillar Trim LH UPR A-Zi2] E2 194,500
Ineos Grenadier Body GRA-7C23-022191 LH UPR INR B-pillar Trim LHUPRINRB-Z2 E& 222,100
Ineos Grenadier Body GRA-7C23-022211 LH INR B-pillar Ramp Airbag LH INR B-E 2 3= ofof 205,600
Ineos Grenadier Body GRA-7C23-022221 LH INR B-pillar Middle Trim LHINRB-Z2 0|5 E& 218,000
Ineos Grenadier Body GRA-7C23-022231 LH INR LWR B-pillar Trim LH INR LWR B-Z2| EZ 231,800
Ineos Grenadier Body GRA-7C24-022241 LH UPR C-pillar Trim LHUPRC-Z EE 247,000
Ineos Grenadier Body GRA-7C24-022251 LH INR UPR C-pillar Cover LH INR UPR C-Z 2| 7{H{ 194,500
Ineos Grenadier Body GRA-7C24-022271 LH Striker Cover Cap LH AE2}0|7 HH 74 173,800
Ineos Grenadier Body GRA-7C24-022281 LH Striker Cover Cap LH AE210|H 7 180,500
Ineos Grenadier Body GRA-7€24-022291 LH INR C-pillar Ramp Airbag LHINR C-Z2 = ofo{ 190,600
Ineos Grenadier Body GRA-7C24-022301 LH INR LWR C-pillar Trim LH INR LWR C-Z 2| E2 301,700
Ineos Grenadier Body GRA-7€24-030041 LH LWR C-pillar Adapter Trim LHLWR C-Z3 O{HH EE 93,100
Ineos Grenadier Body GRA-7C24-039401 LH UPR INR C-pillar Trim LHUPR INR C-Z2| EZ 195,300
Ineos Grenadier Body GRA-7C24-039421 LH LWR INR C-pillar Trim LHLWRINRC-Z2 EE 195,300
Ineos Grenadier Body GRA-7C24-039441 LH UPR INR C-pillar Bracket LH UPR INR C-Z 2| 22|13l 50,800
Ineos Grenadier Body GRA-7C24-039461 LH UPR C-pillar Airbag Ramp LH UPR C-Z 2 ofjojuf = 195,300
Ineos Grenadier Body GRA-7C24-045361 LH C-pillar Airbag Ramp LH C-Z3{ ofjojel A= 190,600
Ineos Grenadier Body GRA-7C24-046851 LH INR LWR C-Pillar Trim LHINRLWR C-Z3f E2 301,700
Ineos Grenadier Body GRA-7C25-022321 LH INR UPR D-pillar Trim LH INR UPR D-Z 2| E2 259,800
Ineos Grenadier Body GRA-7€26-022331 LH FRT Treadplate Bracket LH FRT EZEE0|E Ea}3l 218,400
Ineos Grenadier Body GRA-7C26-022341 LH FRT Treadplate LH FRT E3EE30|E 191,000
Ineos Grenadier Body GRA-7€26-022351 LH RR Treadplate Bracket LHRR EYEE0E 3l 209,700
Ineos Grenadier Body GRA-7C26-022361 LH RR Treadplate LHRR EY EEZZ0|E 241,100
Ineos Grenadier Body GRA-7C27-022381 LH INR Loadspace Trim LHINR 2EAHO|A EE| 590,200
Ineos Grenadier Body GRA-7C27-022391 LH INR Loadspace Trim LH INA 2EATHO|A E2| 556,200
Ineos Grenadier Body GRA-7C27-022401 Loadspace Trim Blanking Cap EEANOA EBl S8 74 174,800
Ineos Grenadier Body GRA-7C27-022411 LH Storage Box Cover LH AE2|X| BfA FHH 212,100
Ineos Grenadier Body GRA-7C27-022421 LH Jack Cover LH ™ AHH 212,100
Ineos Grenadier Body GRA-7C27-022431 LH RR INR Loadspace Trim LH RR INR 2EATL|0|A EZ| 229,100
Ineos Grenadier Body GRA-7C27-023391 LH INR Loadspace Trim LH INR ZEATL0|A EE 464,700
Ineos Grenadier Body GRA-7C27-049001 LH INR Loadspace Trim LH INR ZEAT0|A E2 556,200
Ineos Grenadier Body GRA-7C31-005701 RR LH Sill Trim Panel RRLH & Egl 14 132,600
Ineos Grenadier Body GRA-7C31-005801 RR LH Wheel Arch Trim RRLH & O}X] E&| 183,300
Ineos Grenadier Body GRA-7C31-008051 LH Body Side Trim Panel LH HIC| AfOo|E E&l T d 41,000

==5




Ineos Grenadier Body GRA-7C31-008652 LH FRT Scuff Plate LH FRT AHZ E30|E 38,200
Ineos Grenadier Body GRA-7C31-008671 LH RR Scuff Plate LHRR 27 I E0|E 38,200
Ineos Grenadier Body GRA-7C31-008691 LH Sill Trim Panel Bracket LH A E2lojd 223l 37,600
Ineos Grenadier Body GRA-7C31-033561 FRT LH Sill Trim Panel FRTLH A Egloijg 117,400
Ineos Grenadier Body GRA-7C31-035561 LH Side Gap Hider LH ALO|E 24 slo| 31,000
Ineos Grenadier Body GRA-7C31-040111 RR LH Sill Trim Panel RRLH & Egl 14 302,700
Ineos Grenadier Body GRA-7C31-040121 LH Sill Trim Panel Bracket LH A E2l ojd 223l 66,000
Ineos Grenadier Body GRA-7C31-046631 LH Side Gap Hider LH AHO| E 74 5ol 169,900
Ineos Grenadier Body GRA-7C41-033990 Built In Hambach Sticker Y E Ol $IHtS AE|AH 25,400
Ineos Grenadier Body GRA-7C41-044901 LH RR QTR Glass LHRR #E ZatA& 1,136,200
Ineos Grenadier Body GRA-7C42-006651 LH Gullwing Window LHZg 2= 3,110,100
Ineos Grenadier Body GRA-7D01-024072 RH Outer Drain Gutter RH OF2E =29 7H 18,800
Ineos Grenadier Body GRA-7D01-029202 RH Body Side Outer RH BIC| AFO|E OFRE 4,100,500
Ineos Grenadier Body GRA-7D01-029222 RH Body Side Outer RH HIC| AtO|E OFRE 2,721,600
Ineos Grenadier Body GRA-7D01-035452 RH RR Body Side End Panel RH RR HC| AtO|E oE T 154,900
Ineos Grenadier Body GRA-7D01-035472 RH Body Side Connector Panel RH BFC| AFO|E FHUElE T 178,000
Ineos Grenadier Body GRA-7D01-039602 RH Body Side Panel RH BIC| AtO|E T 2,871,700
Ineos Grenadier Body GRA-7D01-040902 RH OTR B-pillar Panel RHOTRB-Z mjg 2,292,600
Ineos Grenadier Body GRA-7D01-040932 RH OTR Sill Panel RH OTR & I & 3,040,200
Ineos Grenadier Body GRA-7D01-040942 RH OTR Sill Panel RH OTR & 14 3,040,200
Ineos Grenadier Body GRA-7D01-040972 RH OTR RR Quarter Panel RHOTRRR #HE Ijg 2,388,400
Ineos Grenadier Body GRA-7D01-040982 RH OTR RR Quarter Panel RH OTRRR #H 1f'd 2,388,400
Ineos Grenadier Body GRA-7D11-008332 RH Sill Trim Panel RH A E2| ojd 788,300
Ineos Grenadier Body GRA-7D11-024002 RH Cantrail Reinforcement RH ZHED Y 2| ZAHE 253,800
Ineos Grenadier Body GRA-7D11-024042 RH Cantrail Outer RH ZHE 2|2 Ot H 97,500
Ineos Grenadier Body GRA-7D11-024052 RH D-pillar Outer RH D-Z2{ Ot H 720,000
Ineos Grenadier Body GRA-7D11-024102 RH LWR Outer C-pillar RH LWR OF2H C-Z 2 190,200
Ineos Grenadier Body GRA-7D11-030322 RH Sill Reinforcement RH A 2|QZEAHE 3,641,000
Ineos Grenadier Body GRA-7D11-035492 RH B-pillar Reinforcement RHB-Z2| 2[QIZEAHE 2,292,600
Ineos Grenadier Body GRA-7D11-035512 RH Side Sill Reinforcement RH AIO|E A Z|QIZAHE 3,276,900
Ineos Grenadier Body GRA-7D11-035812 RH OTR A-pillar Reinforcement RHOTRA-E2 29I ZAHE 161,000
Ineos Grenadier Body GRA-7D11-035852 RH OTR C-pillar Reinforcement RHOTRC-Z2 29I ZAHE 150,800
Ineos Grenadier Body GRA-7D11-035872 RH INR C-pillar Reinforcement RHINR C-E2| 2[QIZAHE 136,300
Ineos Grenadier Body GRA-7D11-038902 RH FRT INR Cantrail Baffle RHFRT INR ZHEZ Y HiE 10,800
Ineos Grenadier Body GRA-7D11-038942 RH RR INR Cantrail RHRRINR ZHE B 371,000
Ineos Grenadier Body GRA-7D11-038952 RH RR OTR Cantrail RHRROTR HEZ| Y 198,800
Ineos Grenadier Body GRA-7D11-039342 RH UPR OTR C-pillar Support RHUPR OTR C-Z2| MEE 62,300
Ineos Grenadier Body GRA-7D11-039372 RH LWR INR C-pillar Baffle RHLWR INR C-Z2| HIE 30,400
Ineos Grenadier Body GRA-7D11-039562 RH LWR C-pillar Reinforcement RHLWR C-&2{ 2[QIZAHE 303,000
Ineos Grenadier Body GRA-7D11-039582 RH OTR Sill Panel RHOTR A I{d 568,400
Ineos Grenadier Body GRA-7D11-041002 RH INR Cantrail RHINR ZHE | 4,970,900
Ineos Grenadier Body GRA-7D11-041042 RH INR B-pillar Panel RHINRB-Z{ ojgd 2,860,800
Ineos Grenadier Body GRA-7D20-022622 RH LWR A-pillar Trim RH LWR A-Zl2] E2Z 215,800
Ineos Grenadier Body GRA-7D20-045432 RH UPR A-pillar Trim Cap RHUPRA-Z EF Y 21,200
Ineos Grenadier Body GRA-7D20-050132 RH UPR A-pillar Trim Cap RHUPRA-Z2{ E& 2 21,200
Ineos Grenadier Body GRA-7D21-022542 A-pillar Grab Handle A-EHe O sHE 198,300
Ineos Grenadier Body GRA-7D21-022552 RH UPR A-pillar Trim RH UPR A-Z2] EZ 173,200
Ineos Grenadier Body GRA-7D21-022562 RH Grab Handle Bracket RH 1 SHE 2213l 71,000
Ineos Grenadier Body GRA-7D21-045392 RH UPR A-pillar Trim RH UPR A-Z2| EZ 111,100
Ineos Grenadier Body GRA-7D22-022632 RH UPR A-pillar Trim RH UPR A-Z2 E& 195,300
Ineos Grenadier Body GRA-7D22-045412 RH UPR A-pillar Trim RH UPR A-Z2| EZ 195,300
Ineos Grenadier Body GRA-7D23-022642 RH INR B-pillar Ramp Airbag RH INR B-Z2{ I of of 205,600
Ineos Grenadier Body GRA-7D23-022652 RH INR UPR B-pillar Trim RH INR UPRB-Z2| E& 222,100
Ineos Grenadier Body GRA-7D23-022662 RH CTR B-pillar Trim RHCTRB-Z3 EZ 218,000
Ineos Grenadier Body GRA-7D23-022672 RH LWR B-pillar Trim RHLWRB-Z2 E& 231,800
Ineos Grenadier Body GRA-7D23-035832 RH OTR B-pillar Reinforcement RHOTRB-Z3 2 ZAHE 150,800
Ineos Grenadier Body GRA-7D24-022682 RH UPR C-pillar Airbag Ramp RH UPR C-Z2{ Of O{&f &z 190,600
Ineos Grenadier Body GRA-7D24-022692 RH UPR C-pillar Trim RH UPR C-Z2| E2 247,000
Ineos Grenadier Body GRA-7D24-022702 RH UPR C-pillar Trim Cover RH UPR C-Z2{ E& AHH 194,500
Ineos Grenadier Body GRA-7D24-022712 RH Striker Cover Cap RH Striker & 24 173,800
Ineos Grenadier Body GRA-7D24-022722 RH Striker Cover Cap RH Striker ] 24 173,800
Ineos Grenadier Body GRA-7D24-022732 RH LWR C-pillar Trim RH LWR C-Z2| E2Z 299,700
Ineos Grenadier Body GRA-7D24-030062 RH LWR C-pillar Adapter Trim RH LWR C-Z2{ Oj i E& 93,100
Ineos Grenadier Body GRA-7D24-039392 RH UPR INR C-pillar Trim RHUPRINR C-Z2| EZ 195,300
Ineos Grenadier Body GRA-7D24-039412 RH LWR INR C-pillar Trim RHLWRINR C-Z3{ EE 195,300
Ineos Grenadier Body GRA-7D24-039432 RH UPR INR C-pillar Bracket RH UPR INR C-Z&{ E2}3ll 50,800
Ineos Grenadier Body GRA-7D24-039452 RH UPR C-pillar Airbag Ramp RH UPR C-Z2{ Of O{&f & 195,300
Ineos Grenadier Body GRA-7D24-045372 RH C-pillar Airbag Ramp RH C-Z2] ofjojH W= 190,600
Ineos Grenadier Body GRA-7D24-046862 RH LWR C-pillar Trim RHLWR C-Z3{ EE 299,700
Ineos Grenadier Body GRA-7D25-000292 RH INR UPR D-pillar Trim RH INR UPR D-Z 2| EZ 259,800
Ineos Grenadier Body GRA-7D26-004542 RH FRT Treadplate Bracket RH FRT EB|EE80|E 23l 212,300
Ineos Grenadier Body GRA-7D26-005032 RH FRT Treadplate RH FRT E3EEF0|E 191,000
Ineos Grenadier Body GRA-7D26-005432 RH RR Treadplate Bracket RHRR EYEZ0|E Eaj3l 209,700
Ineos Grenadier Body GRA-7D26-006272 RH RR Treadplate RHRR EHEEZ0|E 241,100
Ineos Grenadier Body GRA-7D27-006282 RH INR Loadspace Trim RHINR 2EAHO|A EE| 582,800
Ineos Grenadier Body GRA-7D27-006952 RH RR INR Loadspace Trim RHRR INR ZEEAHO|A E& 235,000
Ineos Grenadier Body GRA-7D27-007002 INR Fuel Filler Cover Trim INR ¢l2 2| HH EF 198,500
Ineos Grenadier Body GRA-7D31-005712 RR RH Sill Trim Panel RRRH & E&l 04 132,600
Ineos Grenadier Body GRA-7D31-005812 RR RH Wheel Arch Trim RRRH & OX| E& 183,300
Ineos Grenadier Body GRA-7D31-005852 RH Body Side Trim Panel RH HIC| AtO|E E&I T 28,400
Ineos Grenadier Body GRA-7D31-008070 Attachment Cover OEfX|HE FHH 28,400
Ineos Grenadier Body GRA-7D31-008662 RH FRT Scuff Plate RH FRT A7 I Z20|E 38,200
Ineos Grenadier Body GRA-7D31-008682 RH RR Scuff Plate RHRR 2HI Z0|E 38,200
Ineos Grenadier Body GRA-7D31-008702 RH Sill Trim Panel Bracket RHA E2 o4 223l 37,600
Ineos Grenadier Body GRA-7D31-033572 FRT RH Sill Trim Panel FRTRH & E& mjd 117,400
Ineos Grenadier Body GRA-7D31-035572 RH Side Gap Hider RH ALO|E 74 80| 31,000
Ineos Grenadier Body GRA-7D31-040162 RR RH Sill Trim Panel RRRH & Egl 1jd 302,700
Ineos Grenadier Body GRA-7D31-040172 RH Sill Trim Panel Bracket RHA E2 o4 223l 66,000
Ineos Grenadier Body GRA-7D31-046642 RH Side Gap Hider RH AIO|E 24 &0l 101,300
Ineos Grenadier Body GRA-7D41-044922 RH RR QTR Glass RHRR #{H Z2tA 1,136,200
Ineos Grenadier Body GRA-7D42-006662 RH Gullwing Window RH 28 2= 3,110,100
Ineos Grenadier Body GRA-7E01-023960 Cross Beam EEEy) 329,200
Ineos Grenadier Body GRA-7E01-023970 Sun Roof Cross Beam MEZ 32A 4 446,700
Ineos Grenadier Body GRA-7E01-023980 Roof Cross Beam Reinforcement FZT 3ZA HBQAIAHE 218,500
Ineos Grenadier Body GRA-7E01-035230 Roof Panel 2o e 4,387,500
Ineos Grenadier Body GRA-7E01-035310 Roof Panel 2oy 4,447,000
Ineos Grenadier Body GRA-7E01-035330 FRT OTR Roof Crossmember FRT OTR 2Z 32 AHH 1,885,600
Ineos Grenadier Body GRA-7E01-035390 Roof Crossmember (No. 2) 22X 32 AUH (No. 2) 186,700




Ineos Grenadier Body GRA-7E01-039710 Sunvisor Bracket Muto| X =Hatal 36,100
Ineos Grenadier Body GRA-7E10-050171 LH Partition Hook Cover LH THE|M =3 AHH 27,400
Ineos Grenadier Body GRA-7E10-050182 RH Partition Hook Cover RH THE|M =3 HHY 26,800
Ineos Grenadier Body GRA-7E11-003250 FRT Headliner FRT o =2t0| L 2,315,000
Ineos Grenadier Body GRA-7E11-005360 Headliner EEENIE] 2,315,000
Ineos Grenadier Body GRA-7E11-005370 Headliner CEEEE] 2,315,000
Ineos Grenadier Body GRA-7E11-007231 LH Partition Hook Cover LH THE|M =3 AHH 50,500
Ineos Grenadier Body GRA-7E11-007242 RH Partition Hook Cover RH THE|M =3 HH 50,500
Ineos Grenadier Body GRA-7E11-007680 FRT INR Headliner FRT INR 8| =.2t0| L 2,315,000
Ineos Grenadier Body GRA-7E11-007741 Roof Strip 2o AEZ 172,600
Ineos Grenadier Body GRA-7E11-008961 LH Headliner Sunroof Cover LH 8| =20 M2 7 142,400
Ineos Grenadier Body GRA-7E11-008971 LH Headliner Sunroof Filler LH 8| E2to| MBT Fa) 232,200
Ineos Grenadier Body GRA-7E11-008982 RH Headliner Sunroof Filler RH S| E2to|H MBo Ta) 237,700
Ineos Grenadier Body GRA-7E11-008992 RH Headliner Sunroof Cover RH 8| E20|H MEZ 7{H] 150,100
Ineos Grenadier Body GRA-7E11-009750 FRT INR Headliner FRT INR 38l E2}0| L4 2,315,000
Ineos Grenadier Body GRA-7E11-009880 Grab Handle Oz shE 59,100
Ineos Grenadier Body GRA-7E11-029090 Grab Handle JM s 69,800
Ineos Grenadier Body GRA-7E11-039720 Headliner CE=ETE] 2,315,000
Ineos Grenadier Body GRA-7E11-040181 LH Partition Hook Cover LH THE|M =3 AHH 27,400
Ineos Grenadier Body GRA-7E11-040192 RH Partition Hook Cover RH THE|M =3 HH 26,800
Ineos Grenadier Body GRA-7E11-040200 Headliner == E 2,315,000
Ineos Grenadier Body GRA-7E11-040210 Headliner s =20l 2,247,600
Ineos Grenadier Body GRA-7E11-050651 LH Partition Hook Cover LH THE|M =3 AHH 27,400
Ineos Grenadier Body GRA-7E11-050662 RH Partition Hook Cover RH THE|M =3 HH 26,800
Ineos Grenadier Body GRA-7E12-008280 Partition Hook Cover OEIM =3 AHHY 35,700
Ineos Grenadier Body GRA-7E12-008290 Partition Hook Cover IHEIM 33 7{H 41,200
Ineos Grenadier Body GRA-7E12-008362 RH RR Headliner Cover RH RR &} £2}0| L 7B 129,000
Ineos Grenadier Body GRA-7E12-008370 CTR RR Headliner Cover CTRRR 8| £2t0| 4 #H 127,600
Ineos Grenadier Body GRA-7E12-008431 LH RR Headliner Cover LH RR 3| E2}0|L4 7{H{ 129,000
Ineos Grenadier Body GRA-7E12-008520 RR Headliner RR 8| =E2}0| 4 1,441,200
Ineos Grenadier Body GRA-7E21-005980 Drain Gutter =89 AH 162,300
Ineos Grenadier Body GRA-7E21-005990 Drain Gutter cgfol HH 484,000
Ineos Grenadier Body GRA-7E21-006160 RR CTR Roof Cover Panel RRCTR 2 71 g 276,800
Ineos Grenadier Body GRA-7E21-006171 LH RR Roof Cover Panel LHRR £Z HH 1j 4 340,300
Ineos Grenadier Body GRA-7E21-006181 RR LH Roof Cover Bracket RRLH &I 7H =3l 171,000
Ineos Grenadier Body GRA-7E21-006192 RR RH Roof Cover Bracket RRRH £I 7{H| 223l 171,000
Ineos Grenadier Body GRA-7E21-006200 RR CTR Roof Cover Bracket RRCTR 2 7{H{ 22|73 179,500
Ineos Grenadier Body GRA-7E21-006211 Roof Strip 2o AEZ 138,900
Ineos Grenadier Body GRA-7E21-006222 Roof Strip 2o AEE 138,900
Ineos Grenadier Body GRA-7E21-006231 Roof Strip 2o AEZ 138,900
Ineos Grenadier Body GRA-7E21-006242 Roof Strip 2o AEE 138,900
Ineos Grenadier Body GRA-7E21-007741 Roof Strip 2o AEZ 155,400
Ineos Grenadier Body GRA-7E21-007880 Roof Rail Bracket 2o e 142,600
Ineos Grenadier Body GRA-7E21-008110 Roof Rail Bar 2o g b 134,500
Ineos Grenadier Body GRA-7E21-008620 UPR Split Door Seal UPRAEE =0 & 154,700
Ineos Grenadier Body GRA-7E21-008731 LH RR Roof Corner Moulding LHRR £Z Il & 195,700
Ineos Grenadier Body GRA-7E21-008742 RH RR Roof Corner Moulding RHRR Z2Z I E¢& 195,700
Ineos Grenadier Body GRA-7E21-010601 LH FRT Roof Corner Moulding LHFRT 2= 314 24 176,400
Ineos Grenadier Body GRA-7E21-010612 RH RR Roof Corner Moulding RHRR Z2Z I E¢& 176,400
Ineos Grenadier Body GRA-7E21-018842 Roof Strip 2o AEZ 155,400
Ineos Grenadier Body GRA-7E21-018900 Roof Strip 2o AEE 155,400
Ineos Grenadier Body GRA-7E21-018901 LH RR Roof Corner Moulding LHRR 2Z Al =gl 95,300
Ineos Grenadier Body GRA-7E21-019902 RH RR Roof Cover Panel RHRR 2= 71 o4 340,300
Ineos Grenadier Body GRA-7E21-019982 RH RR Roof Corner Moulding RHRR 2= I =S¢ 95,300
Ineos Grenadier Body GRA-7E21-022770 Drain Gutter =89 AH 65,800
Ineos Grenadier Body GRA-7E21-023170 Roof Rail End Cap 2oy de 74 18,900
Ineos Grenadier Body GRA-7E21-023180 Roof Rail Side Cover 2 Y AO|E HH 280,100
Ineos Grenadier Body GRA-7E21-023190 Roof Rail Side Cover 2o Y AO|E FHH 251,200
Ineos Grenadier Body GRA-7E21-030210 Roof Rail Side Cover I Y AO|E FHH 288,600
Ineos Grenadier Body GRA-7E21-030220 Roof Rail Side Cover 2o Y AO|E FHH 258,800
Ineos Grenadier Body GRA-7E21-035151 LH FRT Roof Corner Moulding LHFRT 2= 3L ¢ 181,700
Ineos Grenadier Body GRA-7E21-035162 RH FRT Roof Corner Moulding RHFRT 2Z 3l =24 181,700
Ineos Grenadier Body GRA-7E30-023240 Sunvisor Support MHEFO| X MEE 15,500
Ineos Grenadier Body GRA-7E30-023251 LH Sunvisor Bracket LH MHtO| N 223l 97,600
Ineos Grenadier Body GRA-7E30-023262 RH Sunvisor Bracket RH MHIO|N 2213 97,600
Ineos Grenadier Body GRA-7E31-010991 LH Sunvisor LH M HO| X 122,700
Ineos Grenadier Body GRA-7E31-011001 LH Sunvisor LH MO X 133,300
Ineos Grenadier Body GRA-7E31-011011 LH Sunvisor LH M HO| X 154,600
Ineos Grenadier Body GRA-7E31-011042 RH Sunvisor RH MHLO| X 144,100
Ineos Grenadier Body GRA-7E31-015122 RH Sunvisor RH MHIO| X 122,700
Ineos Grenadier Body GRA-7E31-020752 RH Sunvisor RH MHLO| X 133,300
Ineos Grenadier Body GRA-7E31-030671 LH Sunvisor LH MHIO| X 136,700
Ineos Grenadier Body GRA-7E31-030682 RH Sunvisor RH A HIO| X 168,100
Ineos Grenadier Body GRA-7E31-030711 LH Sunvisor LH MHIO|X 176,700
Ineos Grenadier Body GRA-7E31-030722 RH Sunvisor RH A HIO| X 160,000
Ineos Grenadier Body GRA-7E31-045511 LH Sunvisor LH MHIO|X 166,400
Ineos Grenadier Body GRA-7E31-045522 RH Sunvisor RH A HIO| X 150,200
Ineos Grenadier Body GRA-7E32-011001 LH Sunvisor LH MHIO|X 133,300
Ineos Grenadier Body GRA-7E32-015122 RH Sunvisor RH A HIO| X 122,700
Ineos Grenadier Body GRA-7E32-030691 LH Sunvisor LH MHIO|X 168,100
Ineos Grenadier Body GRA-7E32-030702 RH Sunvisor RH A HIO| X 141,800
Ineos Grenadier Body GRA-7E41-023290 FRT Overhead Console Frame FRT 2H3|E 25 T2 196,900
Ineos Grenadier Body GRA-7E41-023300 Roof Console Cover 22X 24 AHY 174,800
Ineos Grenadier Body GRA-7E41-023310 Roof Console Carrier 2o 24 712|9 296,900
Ineos Grenadier Body GRA-7E41-023320 Large Roof Console Handle 2IX| EZ 2L ME 27,800
Ineos Grenadier Body GRA-7E41-023330 Roof Console Cover 2o 24 7Y 339,000
Ineos Grenadier Body GRA-7E41-023340 Roof Console Cover 2o ZE Y 298,300
Ineos Grenadier Body GRA-7E41-023350 Roof Console Cover 2o 24 7Y 338,800
Ineos Grenadier Body GRA-7E41-023360 Small Roof Console Handle AZ ZET EE S 24,000
Ineos Grenadier Body GRA-7E41-023370 Roof Console Cover 2o 24 7Y 334,200
Ineos Grenadier Body GRA-7E41-023380 Roof Console Cover 2o ZE A 343,500
Ineos Grenadier Body GRA-7E41-023390 Roof Console Cover 2o 24 7Y 339,500
Ineos Grenadier Body GRA-7E41-023400 Roof Console Cover 2o ZE A 339,000
Ineos Grenadier Body GRA-7E41-023410 Roof Console Cover 2o 24 7Y 293,800
Ineos Grenadier Body GRA-7F00-031230 Drain Plug b 2813 30,100
Ineos Grenadier Body GRA-7F10-029321 LH RR Footrest Foam Block LHRR ZYAE E =5 143,400
Ineos Grenadier Body GRA-7F10-029332 RH RR Footrest Foam Block RHRR ZYAE E E2 143,400
Ineos Grenadier Body GRA-7F10-029341 LH Black Foil Void Cover LHE32 2 B0|E HY 22,100




Ineos Grenadier Body GRA-7F10-029352 RH Black Foil Void Cover RH £2§ L HO|E HH 22,100
Ineos Grenadier Body GRA-7F11-018270 FRT Floor Mat Set FRTE20 HE N E 2,192,200
Ineos Grenadier Body GRA-7F11-018290 RR Floor Mat Set RREZ0 OHE N E 2,570,900
Ineos Grenadier Body GRA-7F11-018300 RR Floor Mat Set RREZ0{ OHE N E 2,570,900
Ineos Grenadier Body GRA-7F11-018310 RR Floor Mat Set RREZ0 OHE N E 2,570,900
Ineos Grenadier Body GRA-7F11-018370 RR Floor Mat Set RREZ0{ OHE N E 2,570,900
Ineos Grenadier Body GRA-7F11-018380 RR Floor Mat Set RREZ0 OHE N E 2,570,900
Ineos Grenadier Body GRA-7F11-018390 RR Floor Mat Set RREZ0{ O{E N E 2,570,900
Ineos Grenadier Body GRA-7F11-029310 Foam Block EEE 176,400
Ineos Grenadier Body GRA-7F11-029360 FRT Floor Carpet FRT 220 75 2,330,600
Ineos Grenadier Body GRA-7F11-029370 RR Floor Carpet RREZ0] 745l 2,636,100
Ineos Grenadier Body GRA-7F11-029380 RR Floor Carpet RREZ0] 7=l 2,636,100
Ineos Grenadier Body GRA-7F11-041651 LH RR Floor Mat LHRR ZZ0{ B|E 108,000
Ineos Grenadier Body GRA-7F11-041662 RH RR Floor Mat RHRREZ0 OHE 108,000
Ineos Grenadier Body GRA-7F12-018280 FRT Floor Mat Set FRT 220 I{E NE 2,213,600
Ineos Grenadier Body GRA-7F12-018320 RR Floor Mat Set RREZ0{ O{E N E 2,570,900
Ineos Grenadier Body GRA-7F12-018330 RR Floor Mat Set RREZ0 OHE N E 2,570,900
Ineos Grenadier Body GRA-7F12-018340 RR Floor Mat Set RREZ0{ OHE N E 2,570,900
Ineos Grenadier Body GRA-7F12-018350 RR Floor Mat Set RREZ0 OHE N E 2,570,900
Ineos Grenadier Body GRA-7F12-018360 RR Floor Mat Set RREZ0{ OHE N E 2,570,900
Ineos Grenadier Body GRA-7F12-018400 RR Floor Mat Set RREZ0 OHE N E 2,570,900
Ineos Grenadier Body GRA-7F12-029390 Foam Block ZEE 172,400
Ineos Grenadier Body GRA-7F12-029400 FRT Floor Carpet FRT Z20{ 7}3 2,528,900
Ineos Grenadier Body GRA-7F12-029410 RR Floor Carpet RREZ0] 7}=l 2,636,100
Ineos Grenadier Body GRA-7F12-029420 RR Floor Carpet RREZ0] 745l 2,636,100
Ineos Grenadier Body GRA-7F21-041190 RR LWR Floor Crossmember RRLWR 220 A2 AHH 2,541,400
Ineos Grenadier Body GRA-7F21-041221 LH CTR RR Floor Crossmember Panel LHCTRRR E20| A2 AHH 1f4 3,288,600
Ineos Grenadier Body GRA-7F21-041232 RH CTR RR Floor Crossmember Panel RHCTRRR 220 =2 AHH Ij4 3,288,600
Ineos Grenadier Body GRA-7F21-041240 Load Area Floor Panel ZE ofjofz|o] E=0f 1fd 842,500
Ineos Grenadier Body GRA-7F21-041250 Load Area Floor Reinforcement 2E 00j2|0] E20{ 2|QEATHE 4,323,600
Ineos Grenadier Body GRA-7F31-005410 Load Area Extension Assembly ZC 0fo{2|o] AAHM ojMEg| 2,651,100
Ineos Grenadier Body GRA-7F31-005680 Adheisive Foam O{ES|IAE & 59,200
Ineos Grenadier Body GRA-7F31-006050 Adheisive Foam O|ES|AIE E 59,200
Ineos Grenadier Body GRA-7F31-006060 Infil Panel ol mj g 766,400
Ineos Grenadier Body GRA-7F31-007090 Tunnel Bracket EEREEE] 125,700
Ineos Grenadier Body GRA-7F31-007100 Cargo Lid 7t 2|E 3,660,000
Ineos Grenadier Body GRA-7F31-007220 Stand Pole ARCE 2 39,600
Ineos Grenadier Body GRA-7F31-007850 Hinge SIX| 94,500
Ineos Grenadier Body GRA-7F31-007890 Latch 2| 27,800
Ineos Grenadier Body GRA-7F31-008100 Spring B 8,400
Ineos Grenadier Body GRA-7F31-008140 Cargo Lid Latch Ft3 2= x| 67,800
Ineos Grenadier Body GRA-7F31-009790 Load Area Extension Assembly 2E 00{2|0] AAEIM ofMlEe| 2,430,800
Ineos Grenadier Body GRA-7F31-023420 Load Area Floor Trim ZE 0020 E20{ EE 1,683,900
Ineos Grenadier Body GRA-7F31-023430 Load Area Floor Trim 2E 0joj2|o] E20{ EE| 356,900
Ineos Grenadier Body GRA-7F31-023440 Load Area Floor Trim ZE 0020 E20{ EE 1,683,900
Ineos Grenadier Body GRA-7F31-023450 Loading Floor Utility Rail 2Y E20 QEZ|E Y 502,100
Ineos Grenadier Body GRA-7F31-023460 Utility Rail End Cap SQEIZ|E| Y e ZH 35,300
Ineos Grenadier Body GRA-7F31-037070 FRT Load Area Floor Trim FRT 2E 0joj2|0f 220 EE 698,300
Ineos Grenadier Body GRA-7F31-037080 RR Load Area Floor Trim RR 2E 0foj2|o E20f E& 506,200
Ineos Grenadier Body GRA-7F31-037090 RR Load Area Floor Trim RR 2E 00{2|0f E20 EEI 530,200
Ineos Grenadier Body GRA-7F31-049880 Load Area Floor Utility Rail EENEEEEEEEER 502,100
Ineos Grenadier Body GRA-7G01-041420 FRT Tunnel Heat Shield FRT HHE 3|E ME 825,600
Ineos Grenadier Body GRA-7G01-041430 FRT Tunnel RR Heat Shield FRT E{2 RRS|E A E 65,500
Ineos Grenadier Body GRA-7G02-024022 RH RR Heat Shield Bracket RHRRS|E HE =zl 140,700
Ineos Grenadier Body GRA-7G11-023480 FRT Tunnel Heat Shield FRT B $|E AME 921,700
Ineos Grenadier Body GRA-7G11-023490 FRT Exhaust Heat Shield FRT H{”7| 3| E M E 245,600
Ineos Grenadier Body GRA-7G11-023500 Crossmember Heat Shield 2 A SE AC 84,600
Ineos Grenadier Body GRA-7G11-023510 FRT Tunnel Accoustic Shield FRT H{2 O|FAE M 695,100
Ineos Grenadier Body GRA-7G11-023520 FRT Exhaust Accoustic Shield FRT Bij7| O{FAE A C 405,500
Ineos Grenadier Body GRA-7G13-023530 RR Exhaust Heat Shield RR Hi7| B|E AME 463,100
Ineos Grenadier Body GRA-7G14-039632 RH RR Wheelhouse Liner RH RR 324 2}0|14 274,200
Ineos Grenadier Body GRA-7G14-039641 LH RR Wheelhouse Liner LH RR 25124 20|14 274,000
Ineos Grenadier Body GRA-7G15-018990 Mud Flap Set HE EW NE 184,500
Ineos Grenadier Body GRA-7G21-005721 FRT LH Wheelhouse Liner FRT LH 25t A 2to|Lq 391,800
Ineos Grenadier Body GRA-7G21-029431 FRT LH Wheelhouse Liner FRT LH 235124 2t0|4 403,500
Ineos Grenadier Body GRA-7G22-005732 FRT RH Wheelhouse Liner FRT RH 25124 2t0| L 403,500
Ineos Grenadier Body GRA-7G23-005741 RR LH Wheelhouse Liner RR LH &3} 20| 127,200
Ineos Grenadier Body GRA-7G24-005752 RR RH Wheelhouse Liner RR RH 2524 20|l 127,200
Ineos Grenadier Body GRA-7G25-000280 Mud Flap Set HE EW NE 184,500
Ineos Grenadier Body GRA-7H01-001840 Parking Sensor Bracket ot A =23l 11,200
Ineos Grenadier Body GRA-7H01-005512 RH RR Bull Bar Bracket RHRR & B} 223l 151,700
Ineos Grenadier Body GRA-7H01-005521 RR Bumper LH Bracket RR 814 LH 223l 184,400
Ineos Grenadier Body GRA-7H01-005531 LH RR Bull Bar Bracket LHRR & B} 223l 151,700
Ineos Grenadier Body GRA-7H01-005542 RR Bumper RH Bracket RR B RH E2t3l 184,400
Ineos Grenadier Body GRA-7H01-005550 RR Bumper CTR Segment RR 8 CTR IOHE 223,100
Ineos Grenadier Body GRA-7H01-005560 RR Bumper Reinforcement RR HI{ 2| ZAHE 679,800
Ineos Grenadier Body GRA-7H01-005571 RR Bumper LH Segment RR HI{ LH A JHE 1,109,500
Ineos Grenadier Body GRA-7H01-005582 RR Bumper RH Segment RR HIH RH M| OAHE 1,109,500
Ineos Grenadier Body GRA-7H01-005591 RR Bumper LH Segment RR HI{ LH A|JHE 208,900
Ineos Grenadier Body GRA-7H01-005602 RR Bumper RH Bracket RR B RH E2t3l 208,900
Ineos Grenadier Body GRA-7H01-007921 LH RR Bull Bar Cover LH RR & B} 71 37,400
Ineos Grenadier Body GRA-7H01-007932 RH RR Bull Bar Cover RHRR 2 Ht A H 37,400
Ineos Grenadier Body GRA-7H01-023571 LH RR Bumper Segment LHRR HI{ | OIHE 957,900
Ineos Grenadier Body GRA-7H01-023582 RH RR Bumper Segment RHRR I jOHE 957,900
Ineos Grenadier Body GRA-7H01-023591 LH RR Bumper Segment LHRR HI{ | OIHE 930,200
Ineos Grenadier Body GRA-7H01-023602 RH RR Bumper Segment RHRR HIH MOAHE 930,200
Ineos Grenadier Body GRA-7H01-023611 LH RR Bumper Side Bracket LH RR 1 AO|E E2}3 358,900
Ineos Grenadier Body GRA-7H01-023622 RH RR Bumper Side Bracket RH RR 1§ AtO|E =23 358,900
Ineos Grenadier Body GRA-7H01-023631 LH RR Bumper Corner Extension LHRR B I QAHM 178,000
Ineos Grenadier Body GRA-7H01-023642 RH RR Bumper Corner Extension RHRR HI{ T AAHNM 178,000
Ineos Grenadier Body GRA-7H01-023651 LH RR Bumper Corner Extension LHRR HIH L QAEM 210,900
Ineos Grenadier Body GRA-7H01-023662 RH RR Bumper Corner Extension RHRR HI{ L AAHNM 210,900
Ineos Grenadier Body GRA-7H01-047621 LH RR Bumper Segment LHRR HI{ | OIHE 930,200
Ineos Grenadier Body GRA-7H01-047632 RH RR Bumper Segment RHRR B jOHE 930,200
Ineos Grenadier Body GRA-7H01-049241 LH RR Bumper Side Segment LH RR HI{ AIO|E MOIHE 197,800
Ineos Grenadier Body GRA-7H01-049252 RH RR Bumper Side Segment RHRR 8 AIO[E M|OHE 197,800
Ineos Grenadier Body GRA-7H01-049261 LH RR Bumper Side Segment LH RR HI{ AIO|E MOIHE 234,300
Ineos Grenadier Body GRA-7H01-049272 RH RR Bumper Side Segment RHRR 8 AIO[E M| OHE 234,300




Ineos Grenadier Body GRA-7H02-005970 RR Skid Plate RR 27| E Zg|0|E 1,702,700
Ineos Grenadier Body GRA-7H02-007380 Trailer Hitch Cover Ef|ey] 5K HHY 69,000
Ineos Grenadier Body GRA-7H02-007761 LH RR Skid Plate Bracket LHRR 27|E E0|E Ea}3d 161,900
Ineos Grenadier Body GRA-7H02-007772 RH RR Skid Plate Bracket RHRR 27|E EZ0|E Ha}3! 161,900
Ineos Grenadier Body GRA-7H02-007781 LH RR Skid Plate Bracket LHRR 27|E E0|E Ea}3d 67,000
Ineos Grenadier Body GRA-7H02-007792 RH RR Skid Plate Bracket RHRR 27| E E80|E Eal3 67,000
Ineos Grenadier Body GRA-7H02-008130 RR Skid Plate RR 27| E Zg|0|E 2,185,000
Ineos Grenadier Body GRA-7H02-023670 RR Bumper Skid Plate RR HI{ A7|E E20|E 461,300
Ineos Grenadier Body GRA-7H02-031350 Trailer Hitch Cover Eg e 3K HHY 130,600
Ineos Grenadier Body GRA-7H22-032030 RR Screen Privacy RR A3 2l Z2}0O|HA| 1,377,800
Ineos Grenadier Body GRA-7H31-040220 RR UPR INR Trim Panel RRUPRINR EZ Ijd 155,400
Ineos Grenadier Body GRA-7H31-040242 RH RR LWR INR Trim Panel RHRR LWR INR E 2! Tj 4 155,400
Ineos Grenadier Body GRA-7H41-006081 LH UPR D-pillar Trim Panel LH UPR D-Z2{ E& 1jd 424,600
Ineos Grenadier Body GRA-7H41-006092 RH UPR D-pillar Trim Panel RH UPR D-Z g 424,600
Ineos Grenadier Body GRA-7H41-006121 LH LWR D-pillar Trim Bracket LH LWR D-Z&{ E&| 22} 178,500
Ineos Grenadier Body GRA-7H41-006132 RH LWR D-pillar Trim Bracket RH LWR D-Z2f E& =at3ll 178,500
Ineos Grenadier Body GRA-7H41-006141 LH UPR D-pillar Trim Bracket LH UPR D-Z2{ E&| Bz} 175,200
Ineos Grenadier Body GRA-7H41-006152 RH UPR D-pillar Trim Bracket RH UPRD-Z2 E& =2}3l 175,200
Ineos Grenadier Body GRA-7H41-006260 RR Sill Cover Panel RR A 71 i 290,400
Ineos Grenadier Body GRA-7H41-009932 RH D-pillar Grille RHD-Z3 108 22,000
Ineos Grenadier Body GRA-7H41-023681 LH Ventilation Flap LH HIElZo|M 3 206,400
Ineos Grenadier Body GRA-7H41-023692 RH Ventilation Flap RH #IElgjo|d Z3 206,400
Ineos Grenadier Body GRA-7H41-023711 LH D-pillar Grille LHD-Z2 O& 17,500
Ineos Grenadier Body GRA-7H41-023721 LH LWR D-pillar Trim Panel LHLWRD-Z2 E& 1jd 398,100
Ineos Grenadier Body GRA-7H41-023732 RH LWR D-pillar Trim Panel RHLWR D-Z2{ E& 14 398,100
Ineos Grenadier Body GRA-7H41-030772 RH Tailgate Sill Cover Bracket RH HIZHO|E A 31 =22}3l 106,700
Ineos Grenadier Body GRA-7H41-030781 LH Tailgate Sill Cover Bracket LH B2 A0|E A 7t Ha}3l 106,700
Ineos Grenadier Body GRA-7H41-030892 RH D-pillar Grille RHD-Z3{ 108 148,000
Ineos Grenadier Body GRA-7H41-030901 LH D-pillar Grille LHD-Z3 102 148,000
Ineos Grenadier Body GRA-7H41-031870 RR Sill Cover Panel RR & H T 299,100
Ineos Grenadier Body GRA-7H41-034932 RH LWR D-pillar Trim Panel RHLWR D-Z2{ E& 14 410,000
Ineos Grenadier Body GRA-7H41-034941 LH LWR D-pillar Trim Panel LHLWRD-Z2{ E& 1jd 410,000
Ineos Grenadier Body GRA-7H41-034951 LH RR Gap Hider LHRR 4 30| 70,400
Ineos Grenadier Body GRA-7H41-034962 RH RR Gap Hider RHRR 4 810| 70,400
Ineos Grenadier Body GRA-7H41-045341 LH Ventilation Flap LH HIElo|M 3 212,500
Ineos Grenadier Body GRA-7H41-045352 RH Ventilation Flap RH #IElgjo|d Z3 212,500
Ineos Grenadier Body GRA-7J02-047940 Pickup Bed Floor Trim Panel I HE Z20 EE| Tt 4,100,500
Ineos Grenadier Body GRA-7J02-047950 FRT Pickup Bed Trim Panel FRT E Qi HiE E3 e 672,100
Ineos Grenadier Body GRA-7J02-047961 LH Pickup Bed Trim Panel LH = HlE EZ 672,100
Ineos Grenadier Body GRA-7J02-047972 RH Pickup Bed Trim Panel RH T @ H|C E& T 672,100
Ineos Grenadier Body GRA-7J03-048002 RH OTR RR Corner Bed Edge Trim RH OTRRR T H|E SIX| E& 195,300
Ineos Grenadier Body GRA-7J03-048011 LH OTR RR Corner Bed Edge Trim LH OTRRR T L HIE X EF 92,700
Ineos Grenadier Body GRA-7J03-048022 RH OTR RR Corner Bed Edge Trim RH OTRRR T H|E SIX| E& 92,700
Ineos Grenadier Body GRA-7J04-040271 RR LH Pickup Bed Trim Bracket RRLH ZQ HE EG =223l 48,300
Ineos Grenadier Body GRA-7J04-047431 RR LH Pickup Bed Trim Panel RRILH T HIE E& E2}3l 373,700
Ineos Grenadier Body GRA-7K01-006101 LH UPR Bracket LH UPR 223l 91,900
Ineos Grenadier Body GRA-7K01-006112 RH UPR Bracket RH UPR E2}3l 91,900
Ineos Grenadier Body GRA-7K01-023750 Partition Panel IHEIM Tjd 2,689,100
Ineos Grenadier Body GRA-7K01-023762 RH UPR Bracket RH UPR E2}3l 212,100
Ineos Grenadier Body GRA-7K01-023771 LH UPR Bracket LH UPR 223l 212,100
Ineos Grenadier Body GRA-7K01-023820 Scrubpad AJHHE 62,300
Ineos Grenadier Body GRA-7K01-023830 Partition Panel IHEIM Tjd 658,800
Ineos Grenadier Body GRA-7K01-023841 LH UPR Bracket LH UPR 223 56,400
Ineos Grenadier Body GRA-7K01-023852 RH UPR Bracket RH UPR =23 56,400
Ineos Grenadier Body GRA-7K01-023861 LH LWR Bracket LH LWR E2}3l 52,800
Ineos Grenadier Body GRA-7K01-023872 RH LWR Bracket RH LWR 23l 52,800
Ineos Grenadier Body GRA-7K01-030450 Partition Panel THE|M o e 1,129,300
Ineos Grenadier Body GRA-7L00-023890 Console Beam CTR Mount 24 8 CTROIRE 202,800
Ineos Grenadier Body GRA-7L00-023900 Console Beam Cross Brace FZ2 H 32A H0|A 55,800
Ineos Grenadier Body GRA-7L00-023911 Console Beam LH Mount 24 8 |HORE 156,200
Ineos Grenadier Body GRA-7L00-023922 Console Beam RH Mount 25 YURHORE 156,200
Ineos Grenadier Body GRA-7L01-023880 Console Beam 2% 4l 1,124,400
Ineos Grenadier Body GRA-7L02-023930 Cross Car Beam EE 1,124,400
Ineos Grenadier Body GRA-7L10-024161 LH CTR Air Vent LH CTR 0fj0f HIE 172,400
Ineos Grenadier Body GRA-7L10-024172 RH CTR Air Vent RH CTR 0| HIE 172,400
Ineos Grenadier Body GRA-7L10-024200 Air Conditioning Unit Adapter ojo] ACIMY S O 37,900
Ineos Grenadier Body GRA-7L10-024211 LH Side Demist Duct LH AFO|E JOHAH HE 37,400
Ineos Grenadier Body GRA-7L10-024222 RH Side Demist Duct RH AIO|E MO|X|7{ HE 37,400
Ineos Grenadier Body GRA-7L10-024231 LH CTR Demist Duct LH CTR HOf|X|7 HE 42,200
Ineos Grenadier Body GRA-7L10-024242 RH CTR Demist Duct RH CTR gOHAH HE 39,800
Ineos Grenadier Body GRA-7L10-024250 Demist Duct AoxH HE 143,600
Ineos Grenadier Body GRA-7L10-024260 CTR Air Vent Duct CTR 00 HIE HE 72,400
Ineos Grenadier Body GRA-7L11-024131 LH Outer Air Vent LH OFREf 0fj0] HIE 219,000
Ineos Grenadier Body GRA-7L11-024142 RH Outer Air Vent RH Ot E 0ofjof HIE 219,000
Ineos Grenadier Body GRA-7L11-024151 LH Air Vent Duct LHOjof HIE HE 83,000
Ineos Grenadier Body GRA-7L11-024180 CTR Air Vent Assembly CTR 0fj0f HIE O{HE2| 451,200
Ineos Grenadier Body GRA-7L11-024192 RH Air Vent Duct RH 00 HIE HE 74,300
Ineos Grenadier Body GRA-7L11-050500 CTR Air Vent Assembly CTR 0fj0f HIE O{ 52| 451,200
Ineos Grenadier Body GRA-7L12-024270 CTR Air Vent Assembly CTR 0j|0] MIE oM E 2| 451,200
Ineos Grenadier Body GRA-7L12-024282 RH Air Vent Duct RH 0o HIE §E 83,000
Ineos Grenadier Body GRA-7L12-024291 LH Air Vent Duct LH Ojof HIE HE 105,100
Ineos Grenadier Body GRA-7L12-050510 CTR Air Vent Assembly CTR 0fj0f HIE O{ 52| 451,200
Ineos Grenadier Body GRA-7120-024310 Topper Panel Seal EH g A 5,700
Ineos Grenadier Body GRA-7L20-024331 LH A-pillar Bracket LHA-Z& =23l 16,700
Ineos Grenadier Body GRA-7L20-024342 RH A-pillar Bracket RHA-Z2{ =223l 16,700
Ineos Grenadier Body GRA-7120-024350 Bracket EEE] 20,900
Ineos Grenadier Body GRA-7120-024371 LH CTR Console Side Trim LHCTR 25 AlO|E E& 100,200
Ineos Grenadier Body GRA-7120-024380 Dashboard Navigation Cover CHA| 2 E LHH| A O] M 7{H 223,300
Ineos Grenadier Body GRA-71.20-024390 CTR Console LWR Trim CTR 22 LWR EE 117,000
Ineos Grenadier Body GRA-7L20-024412 LWR Passengers Panel Trim LWR SEtA Ijd EE 71,600
Ineos Grenadier Body GRA-7120-024422 RH CTR Console Side Trim RH CTR & AtO|E E& 101,000
Ineos Grenadier Body GRA-7120-024460 Fuse Box Cover EX A F{H 42,200
Ineos Grenadier Body GRA-7120-024471 LWR Drivers panel Trim LWR 2/ M Ijd E& 71,600
Ineos Grenadier Body GRA-7120-024480 Defrost Grille Moulding Mo|HH 2 29 129,200
Ineos Grenadier Body GRA-7120-024500 FRT CTR Console Strip Trim FRTCTR 22 AEZ EZ| 205,400
Ineos Grenadier Body GRA-7120-024580 Clock Cover Erkal:l 283,900
Ineos Grenadier Body GRA-7L20-024640 Grab Handle W sHE 272,700
Ineos Grenadier Body GRA-7120-024900 Glove Box Latch 288 8tA i x| 72,600




Ineos Grenadier Body GRA-7120-024910 Glove Box Plunger Switch 228 8A SN AKX 48,300
Ineos Grenadier Body GRA-7120-024920 Glove Box Bump Stop g gtA Ho AE 16,900
Ineos Grenadier Body GRA-71.20-024930 Glove Box Striker =82 gA AERO|F 34,100
Ineos Grenadier Body GRA-7L20-024940 Glove Box Damper 25| 8tA ci 84,000
Ineos Grenadier Body GRA-7L20-031360 Clock Cover ekl 283,900
Ineos Grenadier Body GRA-7L20-031371 LH LWR Knee Roll Trim LHLWR L| E EE 89,100
Ineos Grenadier Body GRA-7L20-031382 RH LWR Knee Roll Trim RHIWR L| & E& 89,100
Ineos Grenadier Body GRA-7L20-031390 Grab Handle Oz shE 261,200
Ineos Grenadier Body GRA-7L20-031400 Grab Handle O 3= 358,000
Ineos Grenadier Body GRA-7L20-031410 Grab Handle O3 sHE 346,600
Ineos Grenadier Body GRA-71.21-024300 UPR Console Topper Panel UPR 2& EH 04 1,627,500
Ineos Grenadier Body GRA-7121-024320 Topper Panel Rubber Mat EI IjE 2] O E 45,500
Ineos Grenadier Body GRA-7121-024360 UPR Console Carrier UPR 22 7Hi2|0f 1,102,400
Ineos Grenadier Body GRA-7L21-024402 RH UPR Console End Cap Trim RHUPR Z& I H EE 137,500
Ineos Grenadier Body GRA-7121-024430 Bracket EE 89,700
Ineos Grenadier Body GRA-7L21-024441 CTR Drivers Panel Trim CTR2FM Iig Eg 297,900
Ineos Grenadier Body GRA-7L21-024451 LH UPR Console End Cap Trim LHUPR 22 o= Y E& 133,900
Ineos Grenadier Body GRA-7L21-024491 UPR Drivers Panel Trim UPR 2XAM g E& 426,800
Ineos Grenadier Body GRA-7121-024511 LH OTR Drivers Strip Trim LH MM o AEQ E& 194,300
Ineos Grenadier Body GRA-7L21-024521 LH CTR Console Strip Trim LHCTREZE AEE Eq 185,200
Ineos Grenadier Body GRA-7L21-024532 RH CTR Console Strip Trim RHCTR 2& AEQ EZ 183,300
Ineos Grenadier Body GRA-71.21-024542 RH Demister Panel Strip Trim RH G|O|AH Ijd AEE E& 198,800
Ineos Grenadier Body GRA-7121-024550 Drivers Display Bezel 2FM C|AZ 0] HIH 55,500
Ineos Grenadier Body GRA-71.21-024562 RH Demister Panel RH H|O|AE ofd 244,600
Ineos Grenadier Body GRA-71.21-024571 LH Demister Panel LH G|ojAE D g 227,700
Ineos Grenadier Body GRA-7L21-024592 RH OTR F Strip Trim RH SN Ijd AEE E2 189,400
Ineos Grenadier Body GRA-7L21-024601 LH INR Drivers Strip Trim RH MM Ijd AEQ E& 186,400
Ineos Grenadier Body GRA-7L21-024612 RH INR F Strip Trim LH S 1jd AEE EZ 185,400
Ineos Grenadier Body GRA-7L21-024622 UPR P s Panel Trim UPR Passengers Ij 2 E 2! 195,900
Ineos Grenadier Body GRA-7L21-024632 Grab Handle Bracket Grab 3 S =223l 182,800
Ineos Grenadier Body GRA-71.22-024651 LH CTR Console Strip Trim LHCTR 22 2EZ EZ 185,400
Ineos Grenadier Body GRA-7122-024662 RH CTR Console Strip Trim RHCTR & AER EF 187,200
Ineos Grenadier Body GRA-71.22-024671 LH Demister Panel Strip Trim LH G0jAH Ijd AEZ EZ 201,000
Ineos Grenadier Body GRA-7122-024682 RH OTR Drivers Strip Trim RHOTR RHX AEE Eg 196,500
Ineos Grenadier Body GRA-7122-024702 UPR Drivers Panel Trim UPR 27Xt Ijd E& 426,800
Ineos Grenadier Body GRA-71.22-024712 RH Demister Panel RH H|O|AE of g 227,700
Ineos Grenadier Body GRA-71.22-024721 LH Demister Panel LH G|ojAE Dj g 239,100
Ineos Grenadier Body GRA-7122-024730 Drivers Display Bezel ™K} C|AZ 0| B ™ 55,500
Ineos Grenadier Body GRA-7122-024742 RH UPR Console End Cap Trim RHUPR 2& Q= 4 E8 135,100
Ineos Grenadier Body GRA-7122-024752 CTR Drivers Panel Trim CTR2Hxtmgd Eg 293,000
Ineos Grenadier Body GRA-7122-024760 Bracket EE 89,700
Ineos Grenadier Body GRA-7L22-024771 LH UPR Console End Cap Trim LHUPR ZE dE W EG 133,900
Ineos Grenadier Body GRA-7122-024780 UPR Console Carrier UPR 22 7i2|0f 1,102,400
Ineos Grenadier Body GRA-7L22-024801 LH OTR F Strip Trim LHOTR &M AER EE 191,600
Ineos Grenadier Body GRA-7L22-024811 LH INR Dashboard Deco Trim LH INR CHA|EE H3 EZ 189,000
Ineos Grenadier Body GRA-7122-024822 RH INR Drivers Strip Trim RHINR 2HA AER EE 183,900
Ineos Grenadier Body GRA-7122-024831 UPR P s Panel Trim UPR EfSAtId E& 195,900
Ineos Grenadier Body GRA-7L22-024841 Grab Handle Bracket Grab 3 S =223l 182,800
Ineos Grenadier Body GRA-7122-024850 UPR Console Topper Panel UPR 2& E Ijd 1,627,500
Ineos Grenadier Body GRA-7122-024862 Topper Panel Rubber Mat EI IjE 2] O E 45,500
Ineos Grenadier Body GRA-7123-024872 Glove Box Assembly =82 gA ojdEee 998,700
Ineos Grenadier Body GRA-7124-024951 Glove Box Assembly 28 8tA oM E2| 998,700
Ineos Grenadier Body GRA-7M00-025000 LWR CTR Console Air Duct LWR CTR Z& 00| HE 159,600
Ineos Grenadier Body GRA-7M00-025032 RH LWR CTR Console FRT Trim RH LWR CTR &£ FRT E& 104,500
Ineos Grenadier Body GRA-7M00-025042 RH Feet Blower Duct RHE £20{ HE 71,000
Ineos Grenadier Body GRA-7M00-025051 LH LWR CTR Console FRT Trim LH LWR CTR & FRT E& 104,500
Ineos Grenadier Body GRA-7M00-025061 LH Feet Blower Duct IlHE £20{ HE 114,400
Ineos Grenadier Body GRA-7M00-025090 Storage Box Rubber Mat AEZ|X| BtA B{H O E 43,800
Ineos Grenadier Body GRA-7M00-025110 LWR CTR Console RR Air Duct LWR CTR Z£ RRO|{ HE 79,900
Ineos Grenadier Body GRA-7M00-025120 LWR CTR Console Storage Box LWR CTR Z2& AEE[X| A 176,400
Ineos Grenadier Body GRA-7M00-025160 LWR CTR Console RR Panel LWR CTR & RR If 2 271,100
Ineos Grenadier Body GRA-7M00-025170 LWR Console RR Air Vent LWR && RR 0f|0] HIE 155,900
Ineos Grenadier Body GRA-7M00-025180 LWR CTR Console RR Panel LWR CTR & RR I} 4 283,100
Ineos Grenadier Body GRA-7M00-025200 LWR CTR Console RR Panel LWR CTR 2 RR I 4 283,100
Ineos Grenadier Body GRA-7M00-025210 LWR Armrest Bracket LWR Y AE =223l 245,400
Ineos Grenadier Body GRA-7M00-025220 LWR Armrest Bezel LWR g AE HIH 179,300
Ineos Grenadier Body GRA-7M00-025230 LWR Armrest RR Bezel LWR 22| AE RR H|IE 61,500
Ineos Grenadier Body GRA-7M00-025240 Armrest Storage Bin AYAE AEZ|X| HI 170,600
Ineos Grenadier Body GRA-7M00-039660 Armrest AYAE 656,900
Ineos Grenadier Body GRA-7M00-039670 Leather Armrest (Black) oo 2 AE (&3) 802,200
Ineos Grenadier Body GRA-7M00-047690 Armrest Bracket AYAE 223l 29,500
Ineos Grenadier Body GRA-7M01-022870 Centre Console Armature ME 24 ®7|XH 603,000
Ineos Grenadier Body GRA-7M01-024980 Cup Holder H=4 289,800
Ineos Grenadier Body GRA-7M01-024990 Selector Bracket AE =23l 146,000
Ineos Grenadier Body GRA-7M01-025011 LH LWR CTR Console RR Trim LHLWR CTR 2& RR E& 223,100
Ineos Grenadier Body GRA-7M01-025022 RH LWR CTR Console RR Trim RHLWR CTR Z£ RR E& 223,100
Ineos Grenadier Body GRA-7M01-025070 Selector Cover EEI=EE 101,400
Ineos Grenadier Body GRA-7M01-025080 Phone Tray Rubber SCHE Ego] 2y 46,100
Ineos Grenadier Body GRA-7M01-025100 LWR CTR Console Armature LWR CTR 2& H7|Xt 361,100
Ineos Grenadier Body GRA-7M01-025130 Top Finisher Bezel EbO|L|M ™ 335,400
Ineos Grenadier Body GRA-7M01-025140 Central Control Interface Cover = K o] QIE{H O] A FH] 71,900
Ineos Grenadier Body GRA-7M02-022310 Centre Console Armature ME 24 ®7|Xt 603,000
Ineos Grenadier Body GRA-7M02-025250 Selector Bracket EEI=REE 146,000
Ineos Grenadier Body GRA-7M02-025260 Cup Holder H=H 289,800
Ineos Grenadier Body GRA-7M02-025271 LH LWR CTR Console RR Trim LHLWR CTR 2& RR E& 223,100
Ineos Grenadier Body GRA-7M02-025282 RH LWR CTR Console RR Trim RHLWR CTR Z£& RR E& 223,100
Ineos Grenadier Body GRA-7M02-025290 Selector Cover EEI=EE 101,400
Ineos Grenadier Body GRA-7M02-025300 Phone Tray SOZE Eg0] 46,100
Ineos Grenadier Body GRA-7M02-025310 LWR CTR Console Armature LWR CTR & H7|Xt 361,100
Ineos Grenadier Body GRA-7M02-025320 Central Control Interface Cover S X o QIE{m|0|A HH 72,500
Ineos Grenadier Body GRA-7M02-025330 Top Finisher Bezel S LA HI- 315,100
Ineos Grenadier Body GRA-7M03-031170 Ashtray L] 24,600
Ineos Grenadier Body GRA-7N00-025350 Bracket =zl 7,700
Ineos Grenadier Body GRA-7N00-030660 Bracket EEL 15,100
Ineos Grenadier Body GRA-7N00-039680 FRT Seat Rail Adjustment Stop FRTAE Y {EMHAENE AE 21,300
Ineos Grenadier Body GRA-7N00-041780 FRT Seat PVC Leather Headrest FRT A|E S| EAE 464,700
Ineos Grenadier Body GRA-7N00-041790 FRT Seat Headrest Guide Set FRT AlE S|EAE 7I0|E M E 70,400
Ineos Grenadier Body GRA-7N00-041820 FRT Seat Backpanel FRT A|E O g 495,900




Ineos Grenadier Body GRA-7N00-041830 FRT Seat Wiring Harness Connector FRT AlE 20|0{ 8 34| A 74l E 80,200
Ineos Grenadier Body GRA-7N00-041840 FRT Seat Dummy Occupancy Sensor FRT AE O] @ FHA| MA 79,600
Ineos Grenadier Body GRA-7N00-041860 FRT Seat Fixings Kit FRT AE 4l 7|E 80,900
Ineos Grenadier Body GRA-7N00-041870 FRT Seat Cushion FRT AIE M 1,058,200
Ineos Grenadier Body GRA-7N00-041890 Seat Heating ECM A E S|El ECM 302,100
Ineos Grenadier Body GRA-7N00-041900 FRT Seat Wiring Harness Connector FRT AlE 210]0{ 2l S| A 74l E 128,600
Ineos Grenadier Body GRA-7N00-041910 FRT Seat Heated Cushion FRT A|E S|E|E M 1,191,100
Ineos Grenadier Body GRA-7N00-041930 FRT Seat Cushion FRT AIE M 1,058,200
Ineos Grenadier Body GRA-7N00-041950 FRT Seat Heated Cushion FRT A|E 3|E|E M 1,191,100
Ineos Grenadier Body GRA-7N00-041970 FRT Seat Heated Cushion FRT A|E 3|E|E M 1,929,400
Ineos Grenadier Body GRA-7N00-041990 FRT Seat Heated Cushion FRT A|E 3|E|E M 1,919,200
Ineos Grenadier Body GRA-7N00-042010 Seat Occupancy Sensor AE QFHA| MM 213,700
Ineos Grenadier Body GRA-7N00-042020 FRT Seat Leather Headrest FRT A|E S| E3AE 565,600
Ineos Grenadier Body GRA-7N00-042120 FRT Seat Fixings Kit FRT AE H4 7|E 89,600
Ineos Grenadier Body GRA-7N00-042170 FRT Seat Rail Adjustment Stop FRTAE Y {EMHAENE AE 119,500
Ineos Grenadier Body GRA-7N00-042180 FRT Seat Rail End Cap FRTAIE g e Y 79,500
Ineos Grenadier Body GRA-7N00-042190 FRT Seat Belt Buckle FRT QIMHE HZ 352,800
Ineos Grenadier Body GRA-7N00-042200 FRT Seat Heated Cushion FRT A|E 3|E|E M 951,200
Ineos Grenadier Body GRA-7N00-042210 FRT Seat Heated Cushion FRT A|E 3|E|E M 951,200
Ineos Grenadier Body GRA-7N00-042220 FRT Seat Heated Cushion FRT A|E 3|E|E M 951,200
Ineos Grenadier Body GRA-7N00-042230 FRT Seat Heated Cushion FRT A|E 3|E|E M 951,200
Ineos Grenadier Body GRA-7N00-048080 Bracket s 15,100
Ineos Grenadier Body GRA-7N03-033771 LH FRT Seat Belt LH FRT QMM E 411,900
Ineos Grenadier Body GRA-7N03-041701 LH FRT Seat Belt LH FRT QM E 414,800
Ineos Grenadier Body GRA-7N10-041761 LH FRT Seat Cushion Frame LHFRT A|E M =g 1,375,900
Ineos Grenadier Body GRA-7N10-041771 LH FRT Seat Backrest Frame LH FRT A|E B AE =g 1,122,400
Ineos Grenadier Body GRA-7N10-041801 LH INR FRT Seat Valance LH INR FRT A|E ZAIE N 93,000
Ineos Grenadier Body GRA-7N10-041811 LH OTR FRT Seat Valance LHOTRFRT A|E EA8 H 320,300
Ineos Grenadier Body GRA-7N10-041880 FRT Seat Backrest FRT A|E SH3|AE 1,451,200
Ineos Grenadier Body GRA-7N10-041920 FRT Seat Heated Backrest FRT A|E B|E|E WY AE 1,092,400
Ineos Grenadier Body GRA-7N10-041940 FRT Seat Backrest FRT A|E S| AE 1,451,200
Ineos Grenadier Body GRA-7N10-041960 FRT Seat Heated Backrest FRT A|E S|E|E BiAE 1,555,800
Ineos Grenadier Body GRA-7N10-041980 FRT Seat Heated Backrest FRT A|E 3|E|E HIYAE 2,950,200
Ineos Grenadier Body GRA-7N10-042000 FRT Seat Heated Backrest FRT A|E S|E|E BiAE 2,863,300
Ineos Grenadier Body GRA-7N11-041850 FRT Seat Postion Sensor FRT AlE ZEX|M MM 136,100
Ineos Grenadier Body GRA-7N13-033862 RH FRT Seat Belt RH FRT QM E 370,700
Ineos Grenadier Body GRA-7N13-041712 RH FRT Seat Belt OFHMHE 1.SR RH 411,900
Ineos Grenadier Body GRA-7N13-041722 RH FRT Seat Belt RH FRT QM E 414,800
Ineos Grenadier Body GRA-7N21-025341 LH FRT Seat Belt LH FRT QMM E 368,000
Ineos Grenadier Body GRA-7N40-042032 RH FRT Seat Cushion Frame RHFRT A|E M =2l 1,372,900
Ineos Grenadier Body GRA-7N40-042042 RH FRT Backrest Frame RH FRT B3| A E 2| Q) 1,139,000
Ineos Grenadier Body GRA-7N40-042052 RH INR FRT Seat Valance RHINR FRT A|E ZAIE H 93,000
Ineos Grenadier Body GRA-7N40-042062 RH OTR FRT Seat Valance RH OTR FRT A|E HAIE H 320,300
Ineos Grenadier Body GRA-7N40-042080 FRT Seat Backrest FRT A|E BiZ|AE 1,539,400
Ineos Grenadier Body GRA-7N40-042090 FRT Seat Heated Backrest FRT A|E B|E|E Y AE 1,644,000
Ineos Grenadier Body GRA-7N40-042130 FRT Seat Backrest FRT A|E BiZ|AE 1,539,400
Ineos Grenadier Body GRA-7N40-042140 FRT Seat Heated Backrest FRT A|E 3|E|E HIYAE 1,644,000
Ineos Grenadier Body GRA-7N40-042150 FRT Seat Heated Backrest FRT A|E S|E|E BiAE 3,038,500
Ineos Grenadier Body GRA-7N40-042160 FRT Seat Heated Backrest FRT A|E &|E|E HIYAE 2,951,500
Ineos Grenadier Body GRA-7N41-042070 FRT Seat Postion Sensor FRT A|E ZX|M MM 188,400
Ineos Grenadier Body GRA-7N41-042100 Seat Occupancy Sensor Bracket AE QFHA| MM Hatal 7,700
Ineos Grenadier Body GRA-7N41-042110 Seat Occupancy Sensor AE QFHA| MM 141,200
Ineos Grenadier Body GRA-7N51-025362 RH FRT Seat Belt RH FRT QI E 368,000
Ineos Grenadier Body GRA-7N51-025372 RH FRT Seat Belt RH FRT QM E 368,000
Ineos Grenadier Body GRA-7P01-025390 RR Seat Water Barrier RR AlE 2/H Bi2|0f 170,800
Ineos Grenadier Body GRA-7P01-025401 LH Adapter Plate LH " E E20|E 260,500
Ineos Grenadier Body GRA-7P01-025412 RH Adapter Plate |0|E 260,500
Ineos Grenadier Body GRA-7P01-025421 LH Striker 74 173,600
Ineos Grenadier Body GRA-7P01-025432 RH Striker RH 2 E2}0|7 173,600
Ineos Grenadier Body GRA-7P01-038160 RR Seat PVC Leather Headrest RR A E S EGAE 794,100
Ineos Grenadier Body GRA-7P01-038170 RR Seat Leather Headrest RR G S|EYAE (E3H) 787,900
Ineos Grenadier Body GRA-7P01-042601 LH RR Bench Seat Cushion LHRR #IX| A|E M 986,100
Ineos Grenadier Body GRA-7P01-042611 LH RR Bench Seat Backrest LHRR H#IX| A|E B AE 1,210,900
Ineos Grenadier Body GRA-7P01-042622 RH RR Bench Seat Cushion RHRR HIX]| A|[E 4 973,300
Ineos Grenadier Body GRA-7P01-042632 RH RR Bench Seat Backrest RH RR HIX| A\|E HHYAE 938,200
Ineos Grenadier Body GRA-7P01-042640 RR Seat PVC Leather Headrest RR HIX| A|E S EAE 765,100
Ineos Grenadier Body GRA-7P01-042652 RH RR Bench Seat Bezel RH RR HIX| A|E H|IZ 476,500
Ineos Grenadier Body GRA-7P01-042661 LH RR Bench Seat Bezel LH RR #IX| A|E H|H 672,400
Ineos Grenadier Body GRA-7P01-042672 RH RR Bench Seat Backpanel RH RR HIX| A|E SHTjd 552,300
Ineos Grenadier Body GRA-7P01-042681 LH RR Bench Seat Backpanel LH RR #IX| A|E &1j'd 913,800
Ineos Grenadier Body GRA-7P01-042691 LH RR Bench Seat Backrest Frame LH RR B#IX| A|E S AE T3 2,060,000
Ineos Grenadier Body GRA-7P01-042702 RH RR Bench Seat Backrest Frame RHRR HIX| A|E HigAE Z3 Q) 1,761,900
Ineos Grenadier Body GRA-7P01-042710 RR Bench Seat Frame RR Bl X| A|E =3 Q 2,476,500
Ineos Grenadier Body GRA-7P01-042721 LH RR Bench Seat Foot LHRR #IX| A|[E & 172,900
Ineos Grenadier Body GRA-7P01-042732 RH RR Bench Seat Foot RH RR HIX| A\|E = 172,900
Ineos Grenadier Body GRA-7P01-042740 CTR RR Bench Seat Foot CTRRR HIX| A\|E & 186,200
Ineos Grenadier Body GRA-7P01-042751 LH Release Mechanism Cover LH 22|= oj74E #HH 374,100
Ineos Grenadier Body GRA-7P01-042762 RH Release Mechanism Cover RH E2|= 0j7{L|E 7{H 291,200
Ineos Grenadier Body GRA-7P01-042770 Release Lever Cover EEEEEEE] 56,600
Ineos Grenadier Body GRA-7P01-042780 CTR Seat Belt Cover CTR QHHHIE HH 63,600
Ineos Grenadier Body GRA-7P01-042791 LH RR Bench Seat Foot Cover LH RR BIX| A|E = 7{H] 100,300
Ineos Grenadier Body GRA-7P01-042802 RH RR Bench Seat Foot Cover RH RR HIX] A|E & 7{H 100,300
Ineos Grenadier Body GRA-7P01-042811 LH OTR Recliner Cover LH OTR 2| 22t0|4 #HH 77,000
Ineos Grenadier Body GRA-7P01-042822 RH OTR Recliner Cover RH OTR 2|Z2t0|H Y 77,000
Ineos Grenadier Body GRA-7P01-042830 CTR Recliner Cover CTR 2|22t0|4H HH 74,800
Ineos Grenadier Body GRA-7P01-042840 RR Bench Seat Cushion Hinge RR HIX| A|E M BIX| 57,800
Ineos Grenadier Body GRA-7P01-042852 RH RR Bench Seat Cushion Base RH RR HIX| A|E F4M HO[A 298,800
Ineos Grenadier Body GRA-7P01-042861 LH RR Bench Seat Cushion Base LHRR #IX| A|E M H0|A 380,200
Ineos Grenadier Body GRA-7P01-042870 RR Bench Seat Fixings Kit RR HIX| A|E DA 7| E 60,200
Ineos Grenadier Body GRA-7P01-042900 ISIZE ISOFIX Cover ISIZE ISOFIX 7{H{ 64,500
Ineos Grenadier Body GRA-7P01-042910 ISOFIX Cover ISOFIX 7 H{ 64,500
Ineos Grenadier Body GRA-7P01-042920 RR Bench Seat Striker RR HIX| A|E AEZ}0|H 92,500
Ineos Grenadier Body GRA-7P01-042931 LH RR Bench Seat Backpanel LH RR HIX| A|E SHTjd 1,013,200
Ineos Grenadier Body GRA-7P01-042942 RH RR Bench Seat Cushion RH RR HIX| A|E M 973,300
Ineos Grenadier Body GRA-7P01-042951 LH RR Bench Seat Cushion LH RR BIX| A|E M 986,100
Ineos Grenadier Body GRA-7P01-042962 RH RR Bench Seat Backrest RHRR HIX] A\|E WY AE 938,200
Ineos Grenadier Body GRA-7P01-042971 LH RR Bench Seat Backrest LHRR HIX| A|E B AE 1,210,900
Ineos Grenadier Body GRA-7P01-042982 RH RR Bench Seat Cushion RHRR HIX]| A|[E 4 1,478,700




Ineos Grenadier Body GRA-7P01-042991 LH RR Bench Seat Cushion LH RR #IX] A|E M 2,151,100
Ineos Grenadier Body GRA-7P01-043002 RH RR Bench Seat Backrest RHRR HIX] A\|E WY AE 1,737,900
Ineos Grenadier Body GRA-7P01-043011 LH RR Bench Seat Backrest LHRR HIX| A|E B AE 1,210,900
Ineos Grenadier Body GRA-7P01-043022 RH RR Bench Seat Bezel RH RR HIX] A|E H|H 759,700
Ineos Grenadier Body GRA-7P01-043031 LH RR Bench Seat Bezel LH RR HIX| A|E H|IZ 975,200
Ineos Grenadier Body GRA-7P01-043040 RR Seat Leather Headrest RR HIX| A|E S EAE 893,800
Ineos Grenadier Body GRA-7P01-043052 RH RR Bench Seat Cushion RHRR HIX]| A|E M 1,506,600
Ineos Grenadier Body GRA-7P01-043061 LH RR Bench Seat Cushion LHRR #IX| A|E M 2,185,200
Ineos Grenadier Body GRA-7P01-043072 RH RR Bench Seat Backrest RH RR HIX| A|E HHYAE 1,773,100
Ineos Grenadier Body GRA-7P01-043081 LH RR Bench Seat Backrest LHRR #IX| A|E Y AE 2,489,200
Ineos Grenadier Body GRA-7P01-044860 RR Bench Seat Assembly RR HIX| A|E OjdE2] 1,681,800
Ineos Grenadier Body GRA-7P05-025441 LH FRT Underseat Cover LH FRT QIGA|E HHH] 126,600
Ineos Grenadier Body GRA-7P05-025452 RH FRT Underseat Cover RH FRT HEAIE 7H 116,600
Ineos Grenadier Body GRA-7P05-025461 LH RR Underseat Cover LH RR HACA|E AHH 151,100
Ineos Grenadier Body GRA-7P05-025472 RH RR Underseat Cover RH RR A E HH 145,000
Ineos Grenadier Body GRA-7P06-025480 Under Seat Storage Compartment ACA|E AER|X| ZLIIEHE 224,700
Ineos Grenadier Body GRA-7P06-025490 Storage Box Cover AEZ|X| BhA HH 6,800
Ineos Grenadier Body GRA-7P21-025501 LH RR Seat Belt LHRR QIHHE 235,400
Ineos Grenadier Body GRA-7P21-025512 RH RR Seat Belt RHRR QI E 235,400
Ineos Grenadier Body GRA-7P21-025520 CTR RR Seat Belt CTRRR QHHHE 487,500
Ineos Grenadier Body GRA-7P21-025531 LH RR Seat Belt Guide Bracket LH RR QHHHE 710|E =223l 17,900
Ineos Grenadier Body GRA-7P21-025542 RH RR Seat Belt Guide Bracket RHRR QHHHIE 710|E Hatall 17,900
Ineos Grenadier Body GRA-7P21-025551 LH RR Seat Belt LHRR QI E 259,400
Ineos Grenadier Body GRA-7P21-025562 RH RR Seat Belt RHRR QIHHE 259,400
Ineos Grenadier Body GRA-7P21-025570 CTR RR Seat Belt CTRRR QIHHIE 487,500
Ineos Grenadier Body GRA-7P21-025580 RR Seat Belt Double Buckle RR OIHHIE 2 HE 398,500
Ineos Grenadier Body GRA-7P21-033871 LH RR Seat Belt LHRR QI E 258,900
Ineos Grenadier Body GRA-7P21-033882 RH RR Seat Belt RHRR QIHHE 258,900
Ineos Grenadier Body GRA-7P21-033891 LH RR Seat Belt LHRR QI E 283,600
Ineos Grenadier Body GRA-7P21-033902 RH RR Seat Belt RHRR QIHHE 283,600
Ineos Grenadier Body GRA-7P21-043361 LH RR Seat Belt LHRR QI E 258,900
Ineos Grenadier Body GRA-7P21-043372 RH RR Seat Belt RHRR QIHHE 258,900
Ineos Grenadier Body GRA-7P21-043381 LH RR Seat Belt LHRR QI E 283,600
Ineos Grenadier Body GRA-7P21-043392 RH RR Seat Belt RHRR QIHHE 283,600
Ineos Grenadier Body Closures GRA-8000-000940 Door Mirror Glass Adjuster =0f 08 Z2tA HEXNAH 93,900
Ineos Grenadier Body Closures GRA-8000-001650 Striker AE2HO|H 21,300
Ineos Grenadier Body Closures GRA-8000-001670 FRT OTR Door Handle FRT OTR =0 $HE 220,500
Ineos Grenadier Body Closures GRA-8000-001760 RR Door Outside Handle RR £0f OFRALO|E $HE 223,100
Ineos Grenadier Body Closures GRA-8000-005050 FRT Door Arrester FRT 0] 08| AH 67,000
Ineos Grenadier Body Closures GRA-8000-005060 RR Door Arrester RR =0 O AF 67,000
Ineos Grenadier Body Closures GRA-8000-005870 Utility Rail SEIZE| Y 219,200
Ineos Grenadier Body Closures GRA-8000-005880 FRT Door Mounting Plate FRT =0f 028 E80|E 120,500
Ineos Grenadier Body Closures GRA-8000-005890 RR Door Mounting Plate RR =0f O & E30|E 62,100
Ineos Grenadier Body Closures GRA-8000-005900 Utility Rail SEIZIE| 27,200
Ineos Grenadier Body Closures GRA-8000-005930 Tethering Hook HOY 3 130,000
Ineos Grenadier Body Closures GRA-8000-005940 Tethering Hook Cover HOEH2 53 HHY 7,800
Ineos Grenadier Body Closures GRA-8000-006030 RR CTR Bump Strip RRCTR HZ AEE 88,000
Ineos Grenadier Body Closures GRA-8000-008400 FRT Inner Door Seal FRT O] =0 & 414,300
Ineos Grenadier Body Closures GRA-8000-008490 RR Inner Door Seal RRO|H =Of & 401,100
Ineos Grenadier Body Closures GRA-8000-008900 Arrester Sealing o AE AZ 41,200
Ineos Grenadier Body Closures GRA-8000-010740 Tethering Hook HOEY 3 146,000
Ineos Grenadier Body Closures GRA-8000-016810 FRT OTR Door Handle FRT OTR &0 $H= 220,500
Ineos Grenadier Body Closures GRA-8000-020000 RR Door Outside Handle RR Z0f OFRALO|E SHE 223,100
Ineos Grenadier Body Closures GRA-8000-025640 Puddle Light Blanking Plate HE 2I0|E 23 Z Eg0|E 12,800
Ineos Grenadier Body Closures GRA-8000-025700 Central Locking Blank Cover MEZ 2Z 523 HHY 10,600
Ineos Grenadier Body Closures GRA-8000-029110 FRT Outer Door Seal FRT Ot =0of & 374,500
Ineos Grenadier Body Closures GRA-8000-029120 RR Outer Door Seal RR OREf =0 & 359,300
Ineos Grenadier Body Closures GRA-8000-029480 FRT Door Arrester FRT =0 ofgf|AF 69,000
Ineos Grenadier Body Closures GRA-8000-029490 RR Door Arrester RR =0 oA H 69,000
Ineos Grenadier Body Closures GRA-8000-033260 Door Hinge Nut £0 slX] HE 22,500
Ineos Grenadier Body Closures GRA-8000-035041 LH Door Hinge Foil LH £0f 3IX| =& 16,100
Ineos Grenadier Body Closures GRA-8000-035051 LH Door Hinge Foil LH 0] 3IX| = 8,000
Ineos Grenadier Body Closures GRA-8000-035062 RH Door Hinge Foil RH =0f $IX] = 16,100
Ineos Grenadier Body Closures GRA-8000-035072 RH Door Hinge Foil RH £0f 8IX| = 8,000
Ineos Grenadier Body Closures GRA-8000-037100 Door Button Seal ZOHE MW 1,400
Ineos Grenadier Body Closures GRA-8000-042580 Tethering Hook HOHa 53 146,000
Ineos Grenadier Body Closures GRA-8000-045060 FRT OTR Door Handle FRT OTR =0 $HE 227,100
Ineos Grenadier Body Closures GRA-8000-045780 RR Door Outside Handle RR £0f OFRALO|E $HE 229,800
Ineos Grenadier Body Closures GRA-8000-046880 FRT OTR Door Seal FRT OTR =0 & 374,500
Ineos Grenadier Body Closures GRA-8000-046890 RR OTR Door Seal RROTR =0 & 359,300
Ineos Grenadier Body Closures GRA-8000-046900 RR OTR Door Seal RROTR =0 & 359,300
Ineos Grenadier Body Closures GRA-8A01-005071 LH Bonnet Hinge LH 2R 3IX| 272,700
Ineos Grenadier Body Closures GRA-8A01-005082 RH Bonnet Hinge RH 24 $IX]| 272,700
Ineos Grenadier Body Closures GRA-8A01-020520 Bonnet Stay 2yl AH 0| 82,900
Ineos Grenadier Body Closures GRA-8A01-020530 Bonnet Stay Clip Hul Ag0| 28 5,900
Ineos Grenadier Body Closures GRA-8A01-020540 Bonnet Release Lever Byl 22| = gy 181,500
Ineos Grenadier Body Closures GRA-8A01-020550 Release Lever Reinforcement 22| = Y 2| EAHE 210,900
Ineos Grenadier Body Closures GRA-8A01-020560 Bonnet Sound Insulation Pad HU AIRE o120 IjE 336,400
Ineos Grenadier Body Closures GRA-8A01-030420 Bonnet Assembly HY ojdEz 2,960,000
Ineos Grenadier Body Closures GRA-8A01-035080 Bonnet Hinge Foil HUl SIx] Z= 6,600
Ineos Grenadier Body Closures GRA-8A01-035091 LH Bonnet Hinge Foil LH2W 31X = 7,600
Ineos Grenadier Body Closures GRA-8A01-035102 RH Bonnet Hinge Foil RH B4 sIX| = 7,600
Ineos Grenadier Body Closures GRA-8A01-046690 Bonnet Release Lever Byl 22| = gy 42,100
Ineos Grenadier Body Closures GRA-8A01-046700 Release Lever Reinforcement 23| = e 2| ZAHE 189,800
Ineos Grenadier Body Closures GRA-8A11-005090 Bonnet Latch Byl gfx| 163,200
Ineos Grenadier Body Closures GRA-8A11-005100 Bonnet Striker Byl AERO|AH 90,500
Ineos Grenadier Body Closures GRA-8A11-005110 Bonnet Buffer Hul I 6,500
Ineos Grenadier Body Closures GRA-8A11-005400 Bonnet Handle Cable HU sHE 70| 174,200
Ineos Grenadier Body Closures GRA-8A11-005450 Bonnet Release Spring HY ga|x axd 63,300
Ineos Grenadier Body Closures GRA-8A11-006660 Bonnet Stay Bracket Byl A0l B3l 15,700
Ineos Grenadier Body Closures GRA-8A11-012910 Bonnet Latch Bowden Cable ERENECEERNE 121,500
Ineos Grenadier Body Closures GRA-8A11-029470 Bonnet Buffer B4l I 11,600
Ineos Grenadier Body Closures GRA-8A11-030190 Bonnet Latch HUl 2f X 168,100
Ineos Grenadier Body Closures GRA-8A11-034750 Bonnet Stay 2yl AH 0| 85,400
Ineos Grenadier Body Closures GRA-8A21-005121 LH Bonnet Side Trim LH 24 Ato|E E& 278,800
Ineos Grenadier Body Closures GRA-8A21-005132 RH Bonnet Side Trim RH 24 AMO|E E & 278,800
Ineos Grenadier Body Closures GRA-8A21-005141 LH Bonnet Top Trim LHEW B ER 168,300
Ineos Grenadier Body Closures GRA-8A21-005152 RH Bonnet Top Trim RHEY EEZ 168,300




Ineos Grenadier Body Closures GRA-8A21-005160 Bonnet Seal Hul A 369,500
Ineos Grenadier Body Closures GRA-8A21-005170 Bonnet Logo Badge Byl 273 biX| 77,500
Ineos Grenadier Body Closures GRA-8B01-027631 LH FRT Door Assembly LH FRT =0 o{d 2| 3,689,200
Ineos Grenadier Body Closures GRA-8B01-030731 LH Side Door Hinge LH AFO|E £ 0f 3IX| 171,200
Ineos Grenadier Body Closures GRA-8B11-001630 FRT Door Latch FRT =0 2iX| 347,600
Ineos Grenadier Body Closures GRA-8B11-001660 Connection Rod FHUINM 2E 13,200
Ineos Grenadier Body Closures GRA-8B11-001970 Door Latch Button 0 X HE 778,800
Ineos Grenadier Body Closures GRA-8B11-022761 LH INR Door Handle LH INR £0f SHE 194,200
Ineos Grenadier Body Closures GRA-8B11-036680 Door Latch Button 0 X HE 802,200
Ineos Grenadier Body Closures GRA-8B12-001640 FRT Door Latch FRT =0f 2§X| 337,000
Ineos Grenadier Body Closures GRA-8B12-001980 Door Latch Button 0 X HE 207,900
Ineos Grenadier Body Closures GRA-8B12-036690 Door Latch Button £Of 2fX| HE 214,200
Ineos Grenadier Body Closures GRA-8B21-004171 LH FRT Window Regulator Motor LH FRT Y= 22205 ZF 917,900
Ineos Grenadier Body Closures GRA-8B21-005301 LH FRT Window Regulator LH FRT §/=< 2|=220|H 447,000
Ineos Grenadier Body Closures GRA-8B21-008391 LH FRT Window Seal LHFRT §l=2 & 482,400
Ineos Grenadier Body Closures GRA-8B21-008871 LH FRT Window Guide Rail LH FRT 2= 7}0|= & 143,400
Ineos Grenadier Body Closures GRA-8B21-010661 LH FRT Door Drop Glass LH FRT £0f E& 22tA 673,900
Ineos Grenadier Body Closures GRA-8B21-029231 LH FRT Window Seal LHFRT §l=2 4 482,400
Ineos Grenadier Body Closures GRA-8B30-008411 LH FRT Inner Weatherstrip LH FRT 0|4 QI{AEZ] 113,600
Ineos Grenadier Body Closures GRA-8B30-008421 LH FRT Outer Door Seal LH FRT O} H =0of & 363,600
Ineos Grenadier Body Closures GRA-8B30-025631 LH FRT Door Armrest Finisher LH FRT =0 &3 AE TL|M 290,000
Ineos Grenadier Body Closures GRA-8B30-025651 LH FRT Door Crash Pad LH FRT =0 33| HE 41,400
Ineos Grenadier Body Closures GRA-8B30-025661 LH FRT INR Door Crash Pad LH FRT INR =0f A2j4 = 38,200
Ineos Grenadier Body Closures GRA-8B30-034011 LH FRT Door Armrest Finisher LH FRT =0 A E TL|M 386,400
Ineos Grenadier Body Closures GRA-8B31-025671 LH FRT Mirror Switch Blank LH FRT 0|3 A2(X| £33 15,500
Ineos Grenadier Body Closures GRA-8B31-025681 LH FRT Mirror Switch Bezel LH FRT 0/ AQ(X] #& 15,500
Ineos Grenadier Body Closures GRA-8B31-037361 LH FRT Cloth Door Trim LH FRT 28 =0 E& 1,846,000
Ineos Grenadier Body Closures GRA-8B31-037371 LH FRT Leather Door Trim LHFRT 8|5 =0 E& (53) 1,915,600
Ineos Grenadier Body Closures GRA-8B31-037381 LH FRT Leather Door Trim LH FRT 3|5 =0 E& (3g0]) 1,921,600
Ineos Grenadier Body Closures GRA-8B31-037391 LH FRT Cloth Door Trim LH FRT =0 E& (o) 1,836,500
Ineos Grenadier Body Closures GRA-8B32-025691 LH FRT Window Switch Bezel LH FRT §I=2 AQ|X| H& 111,100
Ineos Grenadier Body Closures GRA-8B32-037401 LH FRT Cloth Door Trim LHFRT && =0 E& 1,731,500
Ineos Grenadier Body Closures GRA-8B32-037411 LH FRT Leather Door Trim LH FRT &4 =0 E& (&3) 1,801,200
Ineos Grenadier Body Closures GRA-8B32-037421 LH FRT Leather Door Trim LH FRT 8|5 =0 E& (3g0]) 1,807,000
Ineos Grenadier Body Closures GRA-8B32-038071 LH FRT Cloth Door Trim LH FRT =0 E&! (m}tH) 1,722,000
Ineos Grenadier Body Closures GRA-8B41-016660 FRT CTR Bump Strip FRTCTR 8 AEE] 117,200
Ineos Grenadier Body Closures GRA-8B51-001411 LH Door Mirror Housing Frame LH =0f O3 5123 =3¢ 73,500
Ineos Grenadier Body Closures GRA-8B51-025731 LH Flat Mirror Glass LH Z34 0|2 22tA 82,200
Ineos Grenadier Body Closures GRA-8B51-025741 LH Heated Door Mirror Assembly LH 3|E|E =0f 0|3 ojMdE2| 650,000
Ineos Grenadier Body Closures GRA-8B51-025751 LH Heated Mirror Glass LH 3|E|E 0|3 22tA 88,700
Ineos Grenadier Body Closures GRA-8C00-002362 RH FRT INR Door Handle RHFRT INR =0 HE 194,200
Ineos Grenadier Body Closures GRA-8C01-030392 RH FRT Door Assembly RH FRT =0 oj4lE 2| 3,975,500
Ineos Grenadier Body Closures GRA-8C01-030742 RH Side Door Hinge RH AHO|E =0f $IX| 171,200
Ineos Grenadier Body Closures GRA-8C11-001690 FRT Door Latch FRT =0f 2§X| 338,200
Ineos Grenadier Body Closures GRA-8C11-001730 Door Latch Button 0 X HE 207,900
Ineos Grenadier Body Closures GRA-8C11-036700 Door Latch Button £Of 2fX| HE 214,200
Ineos Grenadier Body Closures GRA-8C12-001700 FRT Door Latch FRT =0 2iX| 350,800
Ineos Grenadier Body Closures GRA-8C12-001740 Door Latch Button £Of 2fX| HE 778,800
Ineos Grenadier Body Closures GRA-8C12-001960 Connection Rod HUYM 2E 15,800
Ineos Grenadier Body Closures GRA-8C12-036710 Door Latch Button £Of 2fX| HE 802,200
Ineos Grenadier Body Closures GRA-8C21-005332 RH FRT Window Regulator Motor RH FRT 21=<2 220/ 2 917,900
Ineos Grenadier Body Closures GRA-8C21-008442 RH FRT Window Seal RHFRT 2= 4 482,400
Ineos Grenadier Body Closures GRA-8C21-008891 RH FRT Window Guide Rail RHFRT 2I=2 710|E ¥ 139,200
Ineos Grenadier Body Closures GRA-8C21-008892 RH FRT Window Guide Rail RHFRT 2= 710|= 143,400
Ineos Grenadier Body Closures GRA-8C21-009002 RH FRT Window Regulator RH FRT 21= <2 | Z20|H 447,000
Ineos Grenadier Body Closures GRA-8C21-010672 RH FRT Door Drop Glass RHFRT =0 £E& S2tA 673,900
Ineos Grenadier Body Closures GRA-8C21-029242 RH FRT Window Seal RH FRT 1= 4 482,400
Ineos Grenadier Body Closures GRA-8C30-008462 RH FRT Inner Weatherstrip RHFRT O| §IAEE 113,600
Ineos Grenadier Body Closures GRA-8C30-008472 RH FRT Outer Door Seal RH FRT O} H =0 & 363,600
Ineos Grenadier Body Closures GRA-8C30-025782 RH FRT Door Armrest Finisher RH FRT =0f gAE mL|Nq 290,000
Ineos Grenadier Body Closures GRA-8C30-025792 RH FRT Door Crash Pad RH FRT =0 324 I{E 41,400
Ineos Grenadier Body Closures GRA-8C30-025802 RH FRT INR Door Crash Pad RH FRT INR =0 24| THE 38,200
Ineos Grenadier Body Closures GRA-8C30-034052 RH FRT Door Armrest Finisher RH FRT =0f & AE mL|N 386,400
Ineos Grenadier Body Closures GRA-8C31-038082 RH FRT Cloth Door Trim RHFRT 52 &0 E& 1,731,500
Ineos Grenadier Body Closures GRA-8C31-038092 RH FRT Leather Door Trim RHFRT 8|8 =0 EE (&3) 1,801,200
Ineos Grenadier Body Closures GRA-8C31-038102 RH FRT Leather Door Trim RH FRT 2|5 =0f E& (2g0]) 1,807,000
Ineos Grenadier Body Closures GRA-8C31-038112 RH FRT Cloth Door Trim RH FRT =0 E &l (1}tH) 1,722,000
Ineos Grenadier Body Closures GRA-8C32-025812 RH FRT Window Switch Bezel RH FRT 2= AKX H& 115,400
Ineos Grenadier Body Closures GRA-8C32-025822 RH FRT Mirror Switch Blank RH FRT 0|2 AQX| £33 15,500
Ineos Grenadier Body Closures GRA-8C32-025832 RH FRT Mirror Switch Bezel RH FRT O/2f AQ|X| H| & 15,500
Ineos Grenadier Body Closures GRA-8C32-038122 RH FRT Cloth Door Trim RHFRT 22 =0 EE 1,846,000
Ineos Grenadier Body Closures GRA-8C32-038132 RH FRT Leather Door Trim RHFRT 25 =0 E& (23) 1,915,600
Ineos Grenadier Body Closures GRA-8C32-038142 RH FRT Leather Door Trim RH FRT &G £0f E& (23|0]) 1,921,600
Ineos Grenadier Body Closures GRA-8C32-038152 RH FRT Cloth Door Trim RH FRT =0f E& (T}0) 1,836,500
Ineos Grenadier Body Closures GRA-8C51-000822 RH Door Mirror Housing Frame RH =0f 0|2 5} 3 =3¢ 73,500
Ineos Grenadier Body Closures GRA-8C51-025852 RH Convex Mirror Glass RH Zi#IA 0|2 Z2tA 129,600
Ineos Grenadier Body Closures GRA-8D01-030401 LH RR Door Assembly LHRR =0 ojdlE2| 3,601,700
Ineos Grenadier Body Closures GRA-8D01-045221 LH RR Door Assembly LHRR =0f ojdl =2 3,241,200
Ineos Grenadier Body Closures GRA-8D10-002721 LH RR INR Door Handle LHRRINR =0 HE 194,200
Ineos Grenadier Body Closures GRA-8D11-001750 RR Door Latch RR =0f 2iX] 334,200
Ineos Grenadier Body Closures GRA-8D21-005351 LH RR Window Regulator LHRR §1=2 2| Z20|H 398,200
Ineos Grenadier Body Closures GRA-8D21-005651 LH RR Window Regulator Motor LHRR 2I=2 2=220|H 2H 849,400
Ineos Grenadier Body Closures GRA-8D21-008481 LH RR Glass Runchannel LHRR 22t 234 583,200
Ineos Grenadier Body Closures GRA-8D21-008531 LH RR Glass Guide Rail Seal LHRR 22tA 70| E 2 & 107,100
Ineos Grenadier Body Closures GRA-8D21-008911 LH UPR RR Door Glass Guide Rail LH UPRRR =0f Z2tA 710|E 3 250,400
Ineos Grenadier Body Closures GRA-8D21-008921 LH LWR RR Door Glass Guide Rail LH LWRRR =0f 22t 70| 2| 145,800
Ineos Grenadier Body Closures GRA-8D21-010681 LH RR Door Drop Glass LHRR £0f EE Z2tA 368,000
Ineos Grenadier Body Closures GRA-8D21-010701 LH RR Door Fixed Glass LHRR =0 AL FatA 483,400
Ineos Grenadier Body Closures GRA-8D21-029251 LH RR Glass Runchannel LHRR 22t 234 583,200
Ineos Grenadier Body Closures GRA-8D21-031721 LH RR Door Fixed Glass Privacy LHRR =0 TAE Z2tA Z2I0[HA| 514,000
Ineos Grenadier Body Closures GRA-8D21-031861 LH RR Door Drop Glass Privacy LHRR =0 E& Z2tA T2I0[HA| 556,200
Ineos Grenadier Body Closures GRA-8D31-008501 LH RR Inner Weatherstrip LHRRO|{ QAEE 108,500
Ineos Grenadier Body Closures GRA-8D31-008511 LH RR Outer Door Seal LH RR Ot E =0 & 348,800
Ineos Grenadier Body Closures GRA-8D31-025861 LH RR Door Armrest Finisher LHRR =0 & AE mLA 263,500
Ineos Grenadier Body Closures GRA-8D31-025871 LH RR Window Switch Bezel LHRR 2I=2 AQ/X| H- 84,400
Ineos Grenadier Body Closures GRA-8D31-025881 RR Window Switch Blank LHRR I AQX| £33 20,100
Ineos Grenadier Body Closures GRA-8D31-033591 LH RR Door Armrest Finisher LHRR =0f A E mLIN 348,600
Ineos Grenadier Body Closures GRA-8D31-037191 LH RR Cloth Door Trim LHRR &= £0f E 1,574,100




Ineos Grenadier Body Closures GRA-8D31-037201 LH RR Cloth Door Trim LHRR 2 E =0 E& 1,574,100
Ineos Grenadier Body Closures GRA-8D31-037211 LH RR Leather Door Trim LHRR 2|H =0 E& (23) 1,620,800
Ineos Grenadier Body Closures GRA-8D31-037221 LH RR Leather Door Trim LHRR2H =0f EE (E3) 1,630,700
Ineos Grenadier Body Closures GRA-8D31-037231 LH RR Leather Door Trim LHRR 24 =0f E& (a0l 1,681,800
Ineos Grenadier Body Closures GRA-8D31-037241 LH RR Leather Door Trim LHRR 2O =0f E& (Ag0]) 1,635,100
Ineos Grenadier Body Closures GRA-8D31-037251 LH RR Cloth Door Trim LHRR A= £0f E 1,611,300
Ineos Grenadier Body Closures GRA-8D31-037261 LH RR Cloth Door Trim LH RR =0f EZ (TtH) 1,564,600
Ineos Grenadier Body Closures GRA-8D31-038521 LH Screw Cover LHA3E 7H 14,400
Ineos Grenadier Body Closures GRA-8E01-030412 RH RR Door Assembly RHRR =0 ojM&2| 3,601,300
Ineos Grenadier Body Closures GRA-8E01-045232 RH RR Door Assembly RHRR =0 o{dl =2 3,241,200
Ineos Grenadier Body Closures GRA-8E10-005042 RH RR INR Door Handle RHRRINR =0 $HE 194,200
Ineos Grenadier Body Closures GRA-8E11-001770 RR Door Latch RR =0f 2iX] 334,200
Ineos Grenadier Body Closures GRA-8E21-005342 RH RR Window Regulator Motor RHRR §I=2 22206 ZF 849,400
Ineos Grenadier Body Closures GRA-8E21-005382 RH UPR RR Door Glass Guide Rail RH UPRRR =0 Z2tA 710|E Y 237,300
Ineos Grenadier Body Closures GRA-8E21-005392 RH LWR RR Door Glass Guide Rail RHLWRRR =0 Z2tA 710|E g 137,500
Ineos Grenadier Body Closures GRA-8E21-008542 RH RR Glass Runchannel RHRR S2tA 4 386,800
Ineos Grenadier Body Closures GRA-8E21-008592 RH RR Glass Guide Rail Seal RH RR 22[~ 710|E Y & 107,100
Ineos Grenadier Body Closures GRA-8E21-009012 RH RR Window Regulator RHRR 2= 222 0H 398,200
Ineos Grenadier Body Closures GRA-8E21-010692 RH RR Door Drop Glass RHRR £0] EE Z2tA 368,000
Ineos Grenadier Body Closures GRA-8E21-010712 RH RR Door Fixed Glass RHRR EOf HAE FgtA 483,400
Ineos Grenadier Body Closures GRA-8E21-029262 RH RR Glass Runchannel RHRR 22t x4 583,200
Ineos Grenadier Body Closures GRA-8E21-031712 RH RR Door Fixed Glass Privacy RHRR O HAE Z2tA I2I0[HA| 514,000
Ineos Grenadier Body Closures GRA-8E21-031852 RH RR Door Drop Glass Privacy RHRR =0 EE Z2tA T2j0[HA| 556,200
Ineos Grenadier Body Closures GRA-8E31-008562 RH RR Inner Weatherstrip RHRR 0|l QIEAER 108,500
Ineos Grenadier Body Closures GRA-8E31-008572 RH RR Outer Door Seal RHRR OF2E =0f A 348,800
Ineos Grenadier Body Closures GRA-8E31-025912 RH RR Door Armrest Finisher RHRR =0 P AE TmL|M 263,500
Ineos Grenadier Body Closures GRA-8E31-025922 RH RR Window Switch Bezel RHRR §I=2 AQX| H|H 84,400
Ineos Grenadier Body Closures GRA-8E31-034092 RH RR Door Armrest Finisher RHRR =0 P AE TmL|M 348,600
Ineos Grenadier Body Closures GRA-8E31-037272 RH RR Cloth Door Trim RHRR 2 E =0 E& 1,620,800
Ineos Grenadier Body Closures GRA-8E31-037282 RH Screw Cover RH A3 2 7 14,800
Ineos Grenadier Body Closures GRA-8E31-037292 RH RR Cloth Door Trim RHRR & =0 EE 1,574,100
Ineos Grenadier Body Closures GRA-8E31-037302 RH RR Leather Door Trim RHRR 24 =0 E& 1,677,500
Ineos Grenadier Body Closures GRA-8E31-037312 RH RR Leather Door Trim RHRR G =0 EE 1,630,700
Ineos Grenadier Body Closures GRA-8E31-037322 RH RR Leather Door Trim RHRR 24 =0f E& (220]) 1,681,800
Ineos Grenadier Body Closures GRA-8E31-037332 RH RR Leather Door Trim RHRR Z|Ef =0f E& (3 0]) 1,635,100
Ineos Grenadier Body Closures GRA-8E31-037342 RH RR Cloth Door Trim RHRR E0f E&l (IH) 1,611,300
Ineos Grenadier Body Closures GRA-8E31-037352 RH RR Cloth Door Trim RHRR =0 E&! (m}H) 1,564,600
Ineos Grenadier Body Closures GRA-8F00-008610 Split Door Perimeter Seal AZal 0o 2|0/ W 412,600
Ineos Grenadier Body Closures GRA-8F00-046090 Split Door Perimeter Seal AE8l zof Hz2|0/H & 412,600
Ineos Grenadier Body Closures GRA-8F01-005471 LH RR Door Hinge LH RR =0{ $IX| 144,500
Ineos Grenadier Body Closures GRA-8F01-008351 LH Split Door Arrester LHAE8 =0 o{3AH 254,300
Ineos Grenadier Body Closures GRA-8F01-030431 LH Split Door Assembly LH AE2 =0 ojdlE2| 2,819,200
Ineos Grenadier Body Closures GRA-8F01-035110 Split Load Door Hinge Foil AZE 2 £O{ SIX| =Y 8,800
Ineos Grenadier Body Closures GRA-8F01-035120 Split Load Door Hinge Foil AZE 2E £0 SlX| ZQ 8,600
Ineos Grenadier Body Closures GRA-8F02-008781 LH UPR Split Door Aux Latch LHUPR AZ3l 0 BX 2{X| 209,700
Ineos Grenadier Body Closures GRA-8F02-008791 LH UPR Cable LH UPR #|0| = 118,000
Ineos Grenadier Body Closures GRA-8F02-008801 LH CTR Latch LH CTR 2% 370,500
Ineos Grenadier Body Closures GRA-8F02-008830 Outer Handle Ol F sHE 813,800
Ineos Grenadier Body Closures GRA-8F02-008840 Inner Handle O $HE 94,500
Ineos Grenadier Body Closures GRA-8F02-019910 Striker AE2IO|H 93,500
Ineos Grenadier Body Closures GRA-8F02-019921 LH Split Door Lock Barrel LIHAZ3 =0 2 BjE 94,500
Ineos Grenadier Body Closures GRA-8F02-021970 Outer Handle Ol F sHE 64,500
Ineos Grenadier Body Closures GRA-8F02-036720 LH Split Door Lock Barrel LHASSI o EHE 94,500
Ineos Grenadier Body Closures GRA-8F03-030531 LH Split Door Glass LH AEEl 20 22tA 963,700
Ineos Grenadier Body Closures GRA-8F03-030541 LH Split Door Privacy Glass LH AZ2l £ 0] Z2I0|HA| 2EtA 1,051,500
Ineos Grenadier Body Closures GRA-8F04-025931 LH RR UPR Split Door Trim LHRRUPR AZEl =0 E 212,900
Ineos Grenadier Body Closures GRA-8F04-025941 LH RR LWR Split Door Trim LH RR LWR A Eg 367,800
Ineos Grenadier Body Closures GRA-8F04-046521 LH RR LWR Split Door Trim LHRRLWR 2Z&l = EE 367,800
Ineos Grenadier Body Closures GRA-8F05-005821 LH Split Door Trim Panel LHAZSl o E&l o4 60,700
Ineos Grenadier Body Closures GRA-8F05-005832 RH Split Door Trim Panel RHAEZZ z0of E& Ijd 39,000
Ineos Grenadier Body Closures GRA-8F05-006320 Blanking Plug Saizl 8|1 24,000
Ineos Grenadier Body Closures GRA-8F05-025951 LH UPR Split Line Cover Trim LHUPR AE &l 2tol 7 EE 27,200
Ineos Grenadier Body Closures GRA-8F05-025962 RH UPR Split Line Cover Trim RH UPR AE &l 210l 7 E& 27,200
Ineos Grenadier Body Closures GRA-8F06-001780 Access Ladder N A B 1,380,400
Ineos Grenadier Body Closures GRA-8F06-001800 Access Ladder Cap MM A B 74 5,500
Ineos Grenadier Body Closures GRA-8F06-001810 Access Ladder Grommet WA 2jH 2200 5,500
Ineos Grenadier Body Closures GRA-8F07-030451 LH Split Door Wrap LHAES =0 & 633,900
Ineos Grenadier Body Closures GRA-8F11-005482 RH RR Door Hinge RHRR =0f 31X 144,500
Ineos Grenadier Body Closures GRA-8F11-005492 RH Split Door Arrester RH AZ3l Z0f ofgAH 544,600
Ineos Grenadier Body Closures GRA-8F11-025982 RH Split Door Damper Bracket RHAZEZ z0f i B30 286,500
Ineos Grenadier Body Closures GRA-8F11-030442 RH Split Door Assembly RH AZ3l zof ofdl=2| 3,897,100
Ineos Grenadier Body Closures GRA-8F12-005460 Split Door Locator Pin AZaEl 0 27 0|H T 79,700
Ineos Grenadier Body Closures GRA-8F12-008380 Locator Pin Receiver Z270|Ef H 2|AlH 167,900
Ineos Grenadier Body Closures GRA-8F12-008812 RH Auxiliary Latch RH EZX 2fX 213,300
Ineos Grenadier Body Closures GRA-8F12-008822 RH Auxiliary Latch RH 2 X 2fX| 264,600
Ineos Grenadier Body Closures GRA-8F12-008852 RH Split Door Release Handle RHAZEZI £0f 2= HE 82,500
Ineos Grenadier Body Closures GRA-8F12-008862 RH Split Door Handle Mechanism RHAEE =0 $HE |7HLIF 58,000
Ineos Grenadier Body Closures GRA-8F12-025990 Striker Bracket AEZI0|H E2}3l 102,800
Ineos Grenadier Body Closures GRA-8F12-026000 Sriker Nut Plate AEZI0|H HE E0|E 41,400
Ineos Grenadier Body Closures GRA-8F13-030552 RH Split Door Glass RH AEEl 0 22tA 1,270,000
Ineos Grenadier Body Closures GRA-8F13-030562 RH Split Door Privacy Glass RH AZ2l £ 0] Z2I0|HA| 2EtA 1,381,200
Ineos Grenadier Body Closures GRA-8F14-003900 Screw Cover AR Y 14,500
Ineos Grenadier Body Closures GRA-8F14-008630 Split Door Outer CTR Seal 155,200
Ineos Grenadier Body Closures GRA-8F14-008640 Split Door Inner CTR Seal 199,800
Ineos Grenadier Body Closures GRA-8F14-024692 Split Door Emergency Cover 193,900
Ineos Grenadier Body Closures GRA-8F14-024792 RH LWR Split Door Trim 344,100
Ineos Grenadier Body Closures GRA-8F14-026012 RH UPR INR Split Door Trim 225,500
Ineos Grenadier Body Closures GRA-8F14-026022 RH UPR INR Split Door Trim 222,700
Ineos Grenadier Body Closures GRA-8F14-029840 UPR Split Door Buffer A 22,500
Ineos Grenadier Body Closures GRA-8F14-029850 LWR Split Door Buffer LWR 223 =0 H{IH 18,900
Ineos Grenadier Body Closures GRA-8F14-029870 Split Door Inner CTR Seal AZE Z0{ 0] CTRA 303,000
Ineos Grenadier Body Closures GRA-8F14-033710 LWR Split Door Buffer LWR 223 =0 H{Y 22,700
Ineos Grenadier Body Closures GRA-8F14-033720 UPR Split Door Buffer UPR AEE =0 H{ 27,600
Ineos Grenadier Body Closures GRA-8F14-046680 Split Door Inner CTR Seal AZEl 20 O]l CTR 303,000
Ineos Grenadier Body Closures GRA-8F14-047642 RH LWR Split Door Trim RHLWR AE2l =0 EZ| 344,100
Ineos Grenadier Body Closures GRA-8F15-006450 Rear Camera Blanking Cap sdt et 23A M 23,200
Ineos Grenadier Body Closures GRA-8F15-006490 INEOS Lettering INEOS 2| E{ 2 103,900
Ineos Grenadier Body Closures GRA-8F15-008032 RH INR Split Door Trim Panel RHINNAES EO EE Y 44,600




Ineos Grenadier Body Closures GRA-8F15-008042 RH OTR Split Door Trim Panel RHOTRAEZ3 =0 E& iy 48,700
Ineos Grenadier Body Closures GRA-8F15-026032 RH UPR OTR Split Line Trim RH UPR OTR A2 Z2l 2|0l EZ] 27,200
Ineos Grenadier Body Closures GRA-8F15-026042 RH UPR INR Split Line Trim RHUPRINR 28! 20l E& 27,200
Ineos Grenadier Body Closures GRA-8F16-005760 Spare Wheel Carrier A00f 2 7420 851,800
Ineos Grenadier Body Closures GRA-8F16-032050 Spare Wheel Mounting Plate AmH0f 2 O2E E0|E 964,400
Ineos Grenadier Body Closures GRA-8F16-032540 Spare Wheel Carrier A00f 2 7420 900,000
Ineos Grenadier Body Closures GRA-8F16-035170 Spare Wheel Mounting Plate AmH0f 2 O2E E0|E 165,500
Ineos Grenadier Body Closures GRA-8F16-038460 Wheel Nut Stud 2 HE AFHE 47,500
Ineos Grenadier Body Closures GRA-8F17-016680 Spare Wheel Cover Cap AHO = AHH Y 15,900
Ineos Grenadier Body Closures GRA-8F17-016830 Spare Wheel Cover A0 2 HH 143,600
Ineos Grenadier Body Closures GRA-8F17-016840 Spare Wheel Cover Adapter Ao = 7 O{HE 54,400
Ineos Grenadier Body Closures GRA-8F18-010500 Spare Wheel Storage Container AH O] 2 AE2|X| Z4H 0| 555,500
Ineos Grenadier Body Closures GRA-8F18-026060 Spare Wheel Storage Lock A0 & AERX| B 284,700
Ineos Grenadier Body Closures GRA-8F18-026070 Spare Wheel Storage Foam 17" A0 & AEE|X| E 17" 32,200
Ineos Grenadier Body Closures GRA-8F18-026080 Spare Wheel Storage Foam 18" A0 = AEZX| E 18" 32,200
Ineos Grenadier Body Closures GRA-8G01-035131 LH Tailgate Hinge Foil LH H|2HO|E 3IX] ZY 6,500
Ineos Grenadier Body Closures GRA-8G01-035142 RH Tailgate Hinge Foil RH E|2A0|E 3IX| T 6,500
Ineos Grenadier Body Closures GRA-8G01-038870 Tailgate Assembly HLHOIE ojdE2| 3,507,400
Ineos Grenadier Body Closures GRA-8G01-040421 LH Tailgate Hinge LH H LA 0| E BIX| 224,300
Ineos Grenadier Body Closures GRA-8G01-040432 RH Tailgate Hinge RH H| 20| E 3IX| 224,300
Ineos Grenadier Body Closures GRA-8G01-040440 Tailgate Cable FEENEENE 56,000
Ineos Grenadier Body Closures GRA-8G01-046661 LH Tailgate Hinge LH H| 2 A 0| E 3IX| 166,600
Ineos Grenadier Body Closures GRA-8G01-046672 RH Tailgate Hinge RH H 2 A 0|E 3IX]| 166,600
Ineos Grenadier Body Closures GRA-8G11-040310 Shim 2.0mm 4 2.0mm 29,700
Ineos Grenadier Body Closures GRA-8G11-040320 Shim 1.0mm A 1.0mm 68,000
Ineos Grenadier Body Closures GRA-8G11-040330 Shim 4.0mm 4 4.0mm 95,300
Ineos Grenadier Body Closures GRA-8G11-040340 Shim 3.0mm A 3.0mm 77,500
Ineos Grenadier Body Closures GRA-8G11-040361 LH Tailgate Latch LH B2 A 0| E 2X| 117,700
Ineos Grenadier Body Closures GRA-8G11-040372 RH Tailgate Latch RH E|2AHO|E 2} X| 117,700
Ineos Grenadier Body Closures GRA-8G11-040381 LH Tailgate Link Rod LH HZAO|E &3 2 18,700
Ineos Grenadier Body Closures GRA-8G11-040392 RH Tailgate Link Rod RH |2 AO|E 23 2E 18,700
Ineos Grenadier Body Closures GRA-8G11-040401 LH Tailgate Striker LH B2 A O|E AE2}0|H 49,700
Ineos Grenadier Body Closures GRA-8G11-040412 RH Tailgate Striker RH E|2A0|E AE2}0|7{ 49,700
Ineos Grenadier Body Closures GRA-8G11-040450 Tailgate Release Handle HYLHOIE &2|=3HE 178,000
Ineos Grenadier Body Closures GRA-8G11-040460 Tailgate Handle Mechanism E|YAHO|E 3HE OjFH LS 129,100
Ineos Grenadier Body Closures GRA-8G11-046430 Tailgate Release Handle HYLHOIE &E|=3HE 178,000
Ineos Grenadier Body Closures GRA-8G31-038890 INR UPR Tailgate Trim INR UPR HIZA0|E E& 433,400
Ineos Grenadier Body Closures GRA-8G31-040480 Blanking Cap =dz Y 59,300
Ineos Grenadier Body Closures GRA-8G31-040810 Tailgate Top Edge Cover E| 2 A 0| E EF Qx| HH] 502,700
Ineos Grenadier Body Closures GRA-8G31-040820 UPR INR Tailgate Cover UPR INR E|2ZAO|E HH 390,100
Ineos Grenadier Body Closures GRA-8G31-046870 Tailgate Top Edge Cover E| 2 A 0| E EF Qx| HH] 502,700
Ineos Grenadier Body Closures GRA-8G31-047990 Tailgate Trim Panel HAHO|E E2] mtdl 354,400
Ineos Grenadier Body Closures GRA-8H01-002370 UPR Water Drain UPR ¢/E £ 2! 91,200
Ineos Grenadier Body Closures GRA-8H01-002830 Removable Sunroof Hinge 2| 2HE MEZ 3lX| 166,900
Ineos Grenadier Body Closures GRA-8H01-003330 Removable Sunroof Handle 2| 2 H £ 227,100
Ineos Grenadier Body Closures GRA-8H01-003530 Handle Kit HE F|E 742,600
Ineos Grenadier Body Closures GRA-8H01-003930 Hinge Kit SIX| 7| E 732,800
Ineos Grenadier Body Closures GRA-8H01-005440 Removable Sunroof Panel 2 2EHE MEZ Ojd 2,312,900
Ineos Grenadier Body Closures GRA-8H01-006010 Removable Sunroof Hinge 2| FHE MEZ BIX 137,400
Ineos Grenadier Body Closures GRA-8H01-006020 Removable Sunroof Handle 2 2EHE MEZT HE 196,500
Ineos Grenadier Body Closures GRA-8H01-006520 LWR Water Drain LWR 2/E =22l 95,100
Ineos Grenadier Body Closures GRA-8HO01-006540 Removable Sunroof Seal 2 2EHE MET A 165,800
Ineos Grenadier Body Closures GRA-8H01-026550 Removable Sunroof Panel 2|EHE M2 Oy 2,651,500
Ineos Grenadier Body Closures GRA-8H01-031140 Removable Sunroof Seal 2 2EHE MET A 170,800
Ineos Grenadier Body Closures GRA-8H01-033651 LH UPR Water Drain Hose LH UPR ¥{E Egol 54 162,300
Ineos Grenadier Body Closures GRA-8H01-033662 RH UPR Water Drain Hose RH UPR 9/ =22l 5 A 162,300
Ineos Grenadier Body Closures GRA-8H01-033671 LH LWR Water Drain Hose LH LWR ¥/ Egjol 5 A 167,600
Ineos Grenadier Body Closures GRA-8H01-033682 RH LWR Water Drain Hose RH LWR 2/E Egfol s A 167,600
Ineos Grenadier Body Closures GRA-8H02-022860 Sunroof Storage Bag MEBEZ AER|X| 8 756,500
Ineos Grenadier Electrical GRA-9000-011060 Media Headunit o|c|of Sl EQ U 4,811,600
Ineos Grenadier Electrical GRA-9000-026960 USB Data Point USB GO ZOIE 143,900
Ineos Grenadier Electrical GRA-9000-027120 Gateway AO|EQ0] 1,560,000
Ineos Grenadier Electrical GRA-9000-027350 Central Display Unit MEZ A28 0] §H 2,103,700
Ineos Grenadier Electrical GRA-9000-027660 Conductor Rail ZASH g 76,900
Ineos Grenadier Electrical GRA-9000-027670 Ground Cable J2tec #Holge 75,200
Ineos Grenadier Electrical GRA-9000-029580 Gateway AO|EQ0] 1,560,000
Ineos Grenadier Electrical GRA-9000-031300 Media Headunit o|C|of S|lEQ U 4,811,600
Ineos Grenadier Electrical GRA-9000-032180 Gateway AO|Eg0] 1,570,500
Ineos Grenadier Electrical GRA-9000-033830 Media Headunit o|C|of S|lEQ S 4,142,000
Ineos Grenadier Electrical GRA-9000-049970 Antenna Cable 1200mm OHH|L} # O] 2 1200mm 25,800
Ineos Grenadier Electrical GRA-9000-049980 Antenna Cable 1610mm OHE|Lt A O] 2 1610mm 25,800
Ineos Grenadier Electrical GRA-9000-049990 Antenna Cable 2200mm OHH| L} # O] 2 2200mm 25,800
Ineos Grenadier Electrical GRA-9000-050000 Antenna Cable 2300mm OFE| Lt # O] 2 2300mm 25,800
Ineos Grenadier Electrical GRA-9000-050820 Antenna Cable 4160mm OHH|L} # O] 2 4160mm 25,800
Ineos Grenadier Electrical GRA-9A00-010400 FRT Wiper Blade FRT 201 £30|E 50,900
Ineos Grenadier Electrical GRA-9A00-025970 Wiper Arm Cap oto|m @ 7 4,100
Ineos Grenadier Electrical GRA-9A00-027080 Bracket H a3 45,700
Ineos Grenadier Electrical GRA-9A01-010340 FRT Wiper Motor FRT 20| 2 703,000
Ineos Grenadier Electrical GRA-9A01-010360 FRT Wiper Linkage FRT 20| &l7|X| 451,300
Ineos Grenadier Electrical GRA-9A01-010381 FRT LHD Wiper Arm FRT LHD 2}0|1 2t 78,900
Ineos Grenadier Electrical GRA-9A02-010350 FRT Wiper Motor FRT 20| 2 E{ 709,000
Ineos Grenadier Electrical GRA-9A03-008010 RR Wiper Cover RR 210|H HH 13,600
Ineos Grenadier Electrical GRA-9A03-009770 Wiper Motor Shaft Kit Q0| RE| AFZE 7|E 25,600
Ineos Grenadier Electrical GRA-9A03-009920 Anti-rotation Bracket Kit OLE| 2H|0|M E2}3l 7| E 17,300
Ineos Grenadier Electrical GRA-9A03-010000 Washer Connector Kit QtM 7{4E| 7|E 10,800
Ineos Grenadier Electrical GRA-9A03-010210 RR Wiper Arm RR 20| & 89,900
Ineos Grenadier Electrical GRA-9A03-010220 RR Wiper Blade RR 2t0|{ £8|0|E 41,000
Ineos Grenadier Electrical GRA-9A03-010960 Washer D8.5xD17x2.1 2tM D8.5xD17x2.1 1,200
Ineos Grenadier Electrical GRA-9A03-010970 Nut HE 800
Ineos Grenadier Electrical GRA-9A03-010980 Gasket D7.5xD22x4 7t 3 D7.5xD22x4 1,600
Ineos Grenadier Electrical GRA-9A03-011020 RR Wiper Motor RR 210|H 2 H 408,800
Ineos Grenadier Electrical GRA-9A11-010420 Windscreen Washer Pump AE AT R N H= 93,300
Ineos Grenadier Electrical GRA-9A11-010430 Washer Bottle Sensor QIM EE MM 102,800
Ineos Grenadier Electrical GRA-9A11-010440 Washer Bottle Filler Cap ot HE Ha 37,600
Ineos Grenadier Electrical GRA-9A11-010470 License Plate Lamp 20| MlA S20|E MT 86,600
Ineos Grenadier Electrical GRA-9A11-010480 Washer Bottle Container ot EE 7H 0|4 247,600
Ineos Grenadier Electrical GRA-9A11-011030 FRT Washer Tank hose FRT 2tM B3 S A 71,400
Ineos Grenadier Electrical GRA-9A11-011270 RR Washer Tank Hose RR QM B3 A 71,400




Ineos Grenadier Electrical GRA-9A11-011350 Washer Pump ot I 80,500
Ineos Grenadier Electrical GRA-9A11-015290 Windscreen Washer Pump AE AT R P H= 96,200
Ineos Grenadier Electrical GRA-9A11-026050 Washer Bottle Bracket ot BE =3 47,700
Ineos Grenadier Electrical GRA-9A11-026460 Washer Bottle Bracket ot BE =3l 75,900
Ineos Grenadier Electrical GRA-9A11-026470 Washer Bottle Bracket QIM EE Helal 60,500
Ineos Grenadier Electrical GRA-9A11-029100 Washer Bottle Bracket ot HE =3l 61,300
Ineos Grenadier Electrical GRA-9A11-029160 Washer Bottle QM EE 468,000
Ineos Grenadier Electrical GRA-9A11-029170 Washer Bottle o BEE 509,900
Ineos Grenadier Electrical GRA-9A11-032290 Washer Pump ot I 83,000
Ineos Grenadier Electrical GRA-9A12-008020 CTR Washer Hose CTR N A& 57,000
Ineos Grenadier Electrical GRA-9A12-010550 Washer Nozzle OIM =& 22,000
Ineos Grenadier Electrical GRA-9A12-010560 FRT Washer Hose FRT 2t A 36,300
Ineos Grenadier Electrical GRA-9A12-010570 FRT Washer Hose FRT 2N A 29,700
Ineos Grenadier Electrical GRA-9A12-010580 FRT Washer Hose FRT 2t A 40,400
Ineos Grenadier Electrical GRA-9A12-018790 Heated Nozzle Clip S|E|IE =5 22 8,400
Ineos Grenadier Electrical GRA-9A12-019940 T Connector T 7{4l 7,800
Ineos Grenadier Electrical GRA-9A12-019960 RR Washer Hose RR 2t S A 41,200
Ineos Grenadier Electrical GRA-9A12-019970 Hose Connector A 74UH 6,900
Ineos Grenadier Electrical GRA-9A12-029130 FRT Heated Washer Nozzle FRT S|E|E 9t =& 162,600
Ineos Grenadier Electrical GRA-9A12-029140 RR Hose Channel RRZA K4 44,100
Ineos Grenadier Electrical GRA-9B00-026500 Blocking Sticker 27 AE|7 3,500
Ineos Grenadier Electrical GRA-9B10-010450 Side Repeater AFO|E 2| 1| E 118,200
Ineos Grenadier Electrical GRA-9B10-041450 Side Repeater ALO| E. 2| E: 132,900
Ineos Grenadier Electrical GRA-9B13-006000 Side Marker AFO|E Ot 105,100
Ineos Grenadier Electrical GRA-9B14-026510 Side Marker ALO| E O} 112,800
Ineos Grenadier Electrical GRA-9B20-010590 RR Lamp RR # I 978,300
Ineos Grenadier Electrical GRA-9B20-010620 Rear Lamp 2|0 M= 839,400
Ineos Grenadier Electrical GRA-9B23-007990 Additional Brake Light Cover = HESS HY 10,600
Ineos Grenadier Electrical GRA-9B23-010460 Additional Brake Lamp FIHAHESS 280,200
Ineos Grenadier Electrical GRA-9B31-026520 Footwell Light e 20| E 117,400
Ineos Grenadier Electrical GRA-9B31-026530 Ambient Light QHH| O E 2}0|E 97,800
Ineos Grenadier Electrical GRA-9B31-026561 LH Reading Light LH EME 114,200
Ineos Grenadier Electrical GRA-9B31-026572 RH Reading Light RHEME 114,200
Ineos Grenadier Electrical GRA-9B31-026580 2nd Row Reading Light 28 EME 133,300
Ineos Grenadier Electrical GRA-9B31-026590 Loading Area Light EENEEEENE 91,300
Ineos Grenadier Electrical GRA-9B31-033410 2nd Row Reading Light 28 EME 197,900
Ineos Grenadier Electrical GRA-9B31-033421 LH Reading Light LH SAMS 166,100
Ineos Grenadier Electrical GRA-9B31-033432 RH Reading Light RHEME 165,900
Ineos Grenadier Electrical GRA-9C00-021800 Drivers Airbag 2T ofjofel 833,100
Ineos Grenadier Electrical GRA-9C00-026620 Drivers Airbag L2 of o 956,700
Ineos Grenadier Electrical GRA-9C00-042570 Passenger Airbag = HAd 0f| Of HH 940,800
Ineos Grenadier Electrical GRA-9C00-045310 Drivers Airbag L2 of o 953,400
Ineos Grenadier Electrical GRA-9C03-040470 Drivers Airbag 2T ofjofel 960,400
Ineos Grenadier Electrical GRA-9C03-045320 Drivers Airbag L2 of o 960,400
Ineos Grenadier Electrical GRA-9C05-026631 LH Side Airbag LH AtO| £ 0f Of &M 451,300
Ineos Grenadier Electrical GRA-9C05-026641 LH Side Airbag LH AtO| £ Off Of 44 441,100
Ineos Grenadier Electrical GRA-9C05-042531 LH Side Airbag LH AtO| £ 0f Of M 451,300
Ineos Grenadier Electrical GRA-9C05-042551 LH Side Airbag LH AtO| £ Off Of 44 441,100
Ineos Grenadier Electrical GRA-9C06-026652 RH Side Airbag RH AFO| = 0f| 0 &t 451,300
Ineos Grenadier Electrical GRA-9C06-026661 LH Curtain Airbag LH HE ofjo{H 921,700
Ineos Grenadier Electrical GRA-9C06-042242 RH Side Airbag RH AtO| £ Of Of M 441,100
Ineos Grenadier Electrical GRA-9C06-042542 RH Side Airbag RH AO| £ 0f] Of ¥4 451,300
Ineos Grenadier Electrical GRA-9C06-042562 RH Side Airbag RH AtO| £ Of Of M 441,100
Ineos Grenadier Electrical GRA-9C07-026671 LH Curtain Airbag LH £ 0fjof &4 597,100
Ineos Grenadier Electrical GRA-9C07-027061 LH Curtain Airbag LH 7{E 0f|Of 44 891,500
Ineos Grenadier Electrical GRA-9C07-033611 LH Curtain Airbag LH £ 0fjof &4 660,100
Ineos Grenadier Electrical GRA-9C08-026682 RH Curtain Airbag RH 7 E 0f of M 921,700
Ineos Grenadier Electrical GRA-9C08-026692 RH Curtain Airbag RH 7 E 0f of&H 597,100
Ineos Grenadier Electrical GRA-9C08-033602 RH Curtain Airbag RH 7 E 0f of M 990,600
Ineos Grenadier Electrical GRA-9C08-033622 RH Curtain Airbag RH #HE 0f of&H 660,100
Ineos Grenadier Electrical GRA-9C11-026700 Airbag Sensor 0f of B MIx 295,300
Ineos Grenadier Electrical GRA-9C11-026710 Airbag Sensor 0f| of 2 Ml A 76,100
Ineos Grenadier Electrical GRA-9C11-026720 Door Pressure Airbag Sensor £0f 3 ofjofut MIA 86,200
Ineos Grenadier Electrical GRA-9C11-029900 Airbag Control Module oo Mo RE 1,082,700
Ineos Grenadier Electrical GRA-9C11-033660 Airbag Control Module oo Mjof =& 1,082,700
Ineos Grenadier Electrical GRA-9C11-033970 Airbag Control Module oo Mo RE 1,115,200
Ineos Grenadier Electrical GRA-9C21-026730 Car Phone Speaker ex AIlFH 150,900
Ineos Grenadier Electrical GRA-9D01-026750 Engine Control Unit (ECU) QAT MO 4 (ECU) 5,977,000
Ineos Grenadier Electrical GRA-9D01-026760 Power Distribution Module (PDM) el 26 25 (PDM) 192,200
Ineos Grenadier Electrical GRA-9D01-026770 PDM Bracket PDM E2}3l 140,700
Ineos Grenadier Electrical GRA-9D01-026780 PDM Bracket Cover PDM E 2}l 7Y 65,700
Ineos Grenadier Electrical GRA-9D01-026800 ECU Base Mounting Bracket ECU H|O|A OHR & Eap3ll 61,900
Ineos Grenadier Electrical GRA-9D01-026810 ECU Mounting Bracket ECU OH2 & =ap3ll 93,500
Ineos Grenadier Electrical GRA-9D01-029180 Mounting Bracket O El B3l 100,400
Ineos Grenadier Electrical GRA-9D02-013040 Power Distribution Module (PDM) el 26 25 (PDM) 192,200
Ineos Grenadier Electrical GRA-9D02-032110 Engine Control Module Al HO BE 5,981,500
Ineos Grenadier Electrical GRA-9D10-026830 Accelerator Pedal 7hs o g 262,300
Ineos Grenadier Electrical GRA-9D10-026840 Accelerator Pedal Cap 7h o2 12,700
Ineos Grenadier Electrical GRA-9D10-034740 Accelerator Pedal 7hs o g 377,400
Ineos Grenadier Electrical GRA-9D23-026430 Mounting Bracket O El B3l 45,700
Ineos Grenadier Electrical GRA-9E00-011050 Body Control Module (BCM) HIC| ®|Of 2 & (BCM) 3,520,300
Ineos Grenadier Electrical GRA-9E00-030200 Body Control Module (BCM) HIC| ®|Of 2 & (BCM) 1,156,300
Ineos Grenadier Electrical GRA-9E00-033630 Body Control Module (BCM) HIC| ®|Of 2 & (BCM) 1,156,300
Ineos Grenadier Electrical GRA-9E00-038040 Body Control Module (BCM) HIC| ®|Of 2 & (BCM) 1,156,300
Ineos Grenadier Electrical GRA-9E00-038050 Body Control Module (BCM) HIC| ®|Of & & (BCM) 1,156,300
Ineos Grenadier Electrical GRA-9E00-045670 Body Control Module (BCM) HIC| ®|Of 2 & (BCM) 1,156,300
Ineos Grenadier Electrical GRA-9E00-045700 Body Control Module (BCM) HIC| ®|Of 2 & (BCM) 1,156,300
Ineos Grenadier Electrical GRA-9E00-046450 Body Control Module (BCM) HIC| ®|Of 2 & (BCM) 1,156,300
Ineos Grenadier Electrical GRA-9E10-026860 Trailer Module Epj2e 25 530,900
Ineos Grenadier Electrical GRA-9E10-030120 Trailer Module Epesy 3 E 530,900
Ineos Grenadier Electrical GRA-9E10-033640 Trailer Module Epj2e 25 692,200
Ineos Grenadier Electrical GRA-9E10-047500 Trailer Module Epey 3 E 692,200
Ineos Grenadier Electrical GRA-9E11-026870 Trailer Module Bracket Egey 28§ 2213 63,500
Ineos Grenadier Electrical GRA-9E11-026880 Trailer Module Bracket Epey 2§ 2213 77,300
Ineos Grenadier Electrical GRA-9E11-045090 Trailer Control Module E e Mo 2E 546,800
Ineos Grenadier Electrical GRA-9E11-048500 Trailer Module Epesy 3 E 546,800
Ineos Grenadier Electrical GRA-9E12-026880 Trailer Module Bracket Egey 28§ 2213 77,300
Ineos Grenadier Electrical GRA-9E21-006850 Yaw-rate Sensor 2 0|E MM 543,000




Ineos Grenadier Electrical GRA-9F00-026890 Solar Sensor = Ao 53,600
Ineos Grenadier Electrical GRA-9F03-049910 Outside Temperature Sensor QE 25 MM 29,700
Ineos Grenadier Electrical GRA-9H00-026900 FRT Door Speaker FRT =0 A1]7 121,700
Ineos Grenadier Electrical GRA-9H00-026910 RR Door Speaker RR =0 AT 88,600
Ineos Grenadier Electrical GRA-9H03-026931 LH Speaker Sealing Cap LHADAH ME 30,200
Ineos Grenadier Electrical GRA-9H04-026932 RH Speaker Sealing Cap RH 257 Mgl 74 30,200
Ineos Grenadier Electrical GRA-9H05-024070 Subwoofer MELH 870,100
Ineos Grenadier Electrical GRA-9H05-043570 Subwoofer Bracket MELE a3l 37,600
Ineos Grenadier Electrical GRA-9H10-035940 Media Headunit Oicjof sl EgU 4,266,200
Ineos Grenadier Electrical GRA-9H10-043710 Media Headunit o|c|of Sl EQ U 4,587,000
Ineos Grenadier Electrical GRA-9H10-043720 Media Headunit Oicjof sl EgU 4,587,000
Ineos Grenadier Electrical GRA-9H10-043730 Media Headunit o|c|of SlEQ U 5,595,200
Ineos Grenadier Electrical GRA-9H10-043740 Media Headunit Oicjof sl EgU 5,160,600
Ineos Grenadier Electrical GRA-9H10-047220 Media Head Unit o|c|of S EQ U 4,740,300
Ineos Grenadier Electrical GRA-9H10-047230 Media Head Unit Oicjof slEgU 4,587,000
Ineos Grenadier Electrical GRA-9H10-047240 Media Head Unit o|cl|of SEQ U 5,595,200
Ineos Grenadier Electrical GRA-9H10-047250 Media Head Unit Oicjof sl EgU 5,160,600
Ineos Grenadier Electrical GRA-9H10-047260 Media Head Unit o|c|of S EQ U 5,160,600
Ineos Grenadier Electrical GRA-9H11-011080 Media Headunit Oicjof sl EgU 5,440,300
Ineos Grenadier Electrical GRA-9H11-011170 Media Headunit o|c|of S EQ U 5,263,800
Ineos Grenadier Electrical GRA-9H11-011890 Media Headunit o|C|of S|lEQ S 5,892,500
Ineos Grenadier Electrical GRA-9H22-006141 LH D-pillar Bracket and Antenna LHD-Z 2 Eat3l 9 QHELt 377,200
Ineos Grenadier Electrical GRA-9H22-006152 RH D-pillar Bracket and Antenna RHD-E2 =23l gl otHLb 377,200
Ineos Grenadier Electrical GRA-9H22-026990 Antenna Amplifier AM/FM/DAB Org|L} HE2|1It0|0f AM/FM/DAB 250,800
Ineos Grenadier Electrical GRA-9H22-027000 Antenna Base AM/FM/DAB OFEf|L} H| O] A AM/FM/DAB 143,000
Ineos Grenadier Electrical GRA-9H22-027010 Antenna Rod AM/FM/DAB OH|L} 2 5 AM/FM/DAB 104,100
Ineos Grenadier Electrical GRA-9H22-027020 Antenna Cable AM/FM/DAB OHE|L} #| O] 2 AM/FM/DAB 159,400
Ineos Grenadier Electrical GRA-9H22-027030 Antenna GNSS LTE OFE|L} GNSS LTE 180,500
Ineos Grenadier Electrical GRA-9H22-027050 Antenna GNSS only OHE{| L} GNSS only 179,000
Ineos Grenadier Electrical GRA-9H22-027060 Antenna AM/FM/DAB OFE| Lt AM/FM/DAB 131,500
Ineos Grenadier Electrical GRA-9H22-027570 antenna SDARS OHE{| L} SDARS 222,300
Ineos Grenadier Electrical GRA-9H22-033580 Signal Splitter GNSS Al AZ2|E GNSS 102,300
Ineos Grenadier Electrical GRA-9H22-033920 Antenna Amplifier AM/FM/DAB OtEf|Lt 4= 2|10 0] AM/FM/DAB 137,500
Ineos Grenadier Electrical GRA-9H22-043840 Antenna Amplifier AM/FM/DAB Orf|L} HE2|I}0]0f AM/FM/DAB 130,900
Ineos Grenadier Electrical GRA-9J01-001890 Front Parking Sensor e =X MM 69,600
Ineos Grenadier Electrical GRA-9J02-001880 Rear Parking Sensor Sk FAFMA 69,600
Ineos Grenadier Electrical GRA-9J11-011130 Parking Control Module Z=AL MO BE 279,000
Ineos Grenadier Electrical GRA-9J11-020980 Parking Distance Control (PDC) Module FXt A2l Mo (PDC) 2E 284,300
Ineos Grenadier Electrical GRA-9J11-027070 PDC Module Bracket PDC 2 & Hai3l 111,600
Ineos Grenadier Electrical GRA-9J11-030930 Parking Distance Control (PDC) Module FXt A2l Mo (PDC) 2E 292,800
Ineos Grenadier Electrical GRA-9J11-043760 Parking Distance Control (PDC) Module Tt 72| Hof (PDC) 2 E 287,300
Ineos Grenadier Electrical GRA-9J21-027090 Stray Light Cover AEZ 0] 2}0|E HH 13,600
Ineos Grenadier Electrical GRA-9J21-029300 FRT Camera FRT 7ty 2t 1,367,600
Ineos Grenadier Electrical GRA-9J21-038030 FRT ADAS Camera FRT ADAS 7t0j 2t 1,519,500
Ineos Grenadier Electrical GRA-9J21-046440 FRT ADAS Camera FRT ADAS 7t 2t 1,367,600
Ineos Grenadier Electrical GRA-9J22-040350 15 Sk 7t 2t 402,500
Ineos Grenadier Electrical GRA-9J41-001680 Lockset EAM 1,706,300
Ineos Grenadier Electrical GRA-9J41-001710 Lockset EM 1,706,300
Ineos Grenadier Electrical GRA-9J41-001720 Lockset EAM 1,490,700
Ineos Grenadier Electrical GRA-9J41-001950 Lockset EM 1,490,700
Ineos Grenadier Electrical GRA-9J42-001990 Remote Key 2|2E 7| 884,600
Ineos Grenadier Electrical GRA-9K00-032190 Alarm Siren RN 198,300
Ineos Grenadier Electrical GRA-9K01-011180 Siren Bracket NIRRT 92,700
Ineos Grenadier Electrical GRA-9K01-027110 Siren Bracket Atojal =23l 92,700
Ineos Grenadier Electrical GRA-9K03-010510 Lowtone Horn 22E A 73,500
Ineos Grenadier Electrical GRA-9K03-010520 Lowtone Horn 22E AXN 73,500
Ineos Grenadier Electrical GRA-9K03-010530 Hightone Horn Sl0|E AHX 103,900
Ineos Grenadier Electrical GRA-9K03-010540 Hightone Horn 5l0| E A 103,900
Ineos Grenadier Electrical GRA-9K03-033940 Toot Horn EE 43X 100,700
Ineos Grenadier Electrical GRA-9K03-033950 Toot Horn Bracket EE 4™ dap3l 52,200
Ineos Grenadier Electrical GRA-9K10-038060 Gateway AO|Eg|0 1,570,500
Ineos Grenadier Electrical GRA-9K10-044470 Gateway AHO|EQ|O0 1,596,400
Ineos Grenadier Electrical GRA-9K10-046510 Gateway AO|Eg|0 1,570,500
Ineos Grenadier Electrical GRA-9K10-048550 Gateway AHO|EZ|O0 1,570,500
Ineos Grenadier Electrical GRA-9K12-027130 Gateway Bracket HO|EQo] B2}l 130,800
Ineos Grenadier Electrical GRA-9K12-027140 Gateway Bracket A O|EZ|0| E2}3 142,400
Ineos Grenadier Electrical GRA-9K21-027150 RF Antenna RF OHE|Lb 136,700
Ineos Grenadier Electrical GRA-9K21-033320 RF Antenna 433 MHz RF QHH|L} 433 MHz 154,200
Ineos Grenadier Electrical GRA-9K21-043790 RF Antenna RF OHE|Lb 154,200
Ineos Grenadier Electrical GRA-9K30-027160 Immo Reader Immo 2|4 200,400
Ineos Grenadier Electrical GRA-9K41-001680 Lockset EAM 1,706,300
Ineos Grenadier Electrical GRA-9K41-001710 Lockset EM 1,706,300
Ineos Grenadier Electrical GRA-9K41-001720 Lockset EAM 1,490,700
Ineos Grenadier Electrical GRA-9K41-001950 Lockset EM 1,490,700
Ineos Grenadier Electrical GRA-9K41-027170 Key Barrel Set HEERS 112,400
Ineos Grenadier Electrical GRA-9K41-036730 Lockset EM 1,757,400
Ineos Grenadier Electrical GRA-9K41-036740 Lockset EAM 1,757,400
Ineos Grenadier Electrical GRA-9K41-036750 Lockset EM 1,535,400
Ineos Grenadier Electrical GRA-9K41-036760 Lockset EAM 1,535,400
Ineos Grenadier Electrical GRA-9K42-001990 Remote Key 2|2 E 7| 1,012,400
Ineos Grenadier Electrical GRA-9K42-018200 Remote Key (Uncut) 2|2 E 7| (2H) 611,900
Ineos Grenadier Electrical GRA-9L00-006920 Mirror Adjuster Switch 0|2 {EXMAE AQXK| 202,400
Ineos Grenadier Electrical GRA-9L00-025610 Electric Window Switch HEA A2 ALK| 109,000
Ineos Grenadier Electrical GRA-9L00-025710 Single Electric Window Switch AMZHESA AT AQX| 70,700
Ineos Grenadier Electrical GRA-9L00-033820 Central Locking Switch MEZ 27 A2|X| 72,600
Ineos Grenadier Electrical GRA-9L11-014840 Auxilary Toggle Switch BX EZ AQXK 87,200
Ineos Grenadier Electrical GRA-9L11-027180 Interior Light Push Button OIE|2|0f 20| E FEA| HE 89,400
Ineos Grenadier Electrical GRA-9L11-027190 Door Ajar Push Button L0 g2l ZA| HE 89,400
Ineos Grenadier Electrical GRA-9L11-027200 ESC Push Button ESC ZA| HE 89,400
Ineos Grenadier Electrical GRA-9L11-027210 HDC Push Button HDC FA| HE 89,400
Ineos Grenadier Electrical GRA-9L11-027220 Off-road Mode Push Button QIIFL PC ZA|HE 97,900
Ineos Grenadier Electrical GRA-9L11-027230 Wading Mode Push Button Lol BE ZA|HE 97,900
Ineos Grenadier Electrical GRA-9L11-027240 Headlamp Levelling Push Button SIS e FAHE 99,000
Ineos Grenadier Electrical GRA-9L11-027250 Working Light Push Button 2| EI0|E ZEA| HE 89,400
Ineos Grenadier Electrical GRA-9L11-027270 Auxilary Toggle Switch HEX EZ AQX 79,800
Ineos Grenadier Electrical GRA-9L11-027280 Auxilary Toggle Switch HX EZ AKX 82,200
Ineos Grenadier Electrical GRA-9L11-027290 Auxilary Toggle Switch HEX EZ AKX 69,500
Ineos Grenadier Electrical GRA-9L11-027300 Auxilary Toggle Switch HX EZ AKX 79,800




Ineos Grenadier Electrical GRA-9L11-027310 Auxilary Toggle Switch HEX EZ AQX 79,800
Ineos Grenadier Electrical GRA-9L11-027320 Auxilary Toggle Switch HX EZ AKX 79,800
Ineos Grenadier Electrical GRA-9L11-027330 Auxilary Toggle Switch HEX EZ AQX 79,800
Ineos Grenadier Electrical GRA-9L11-030370 Auxilary Toggle Switch HX EZ AKX 107,900
Ineos Grenadier Electrical GRA-9L11-030380 GRA-03038 GRA-03038 97,900
Ineos Grenadier Electrical GRA-9L11-031000 Interior Light Push Button OlH|2|0f 2I0|E ZEA| HE 103,400
Ineos Grenadier Electrical GRA-9L11-031010 Door Ajar Push Button £0f g2l ZA|HE 103,400
Ineos Grenadier Electrical GRA-9L11-031020 ESC Push Button ESC FA| HE 103,400
Ineos Grenadier Electrical GRA-9L11-031030 HDC Push Button HDC ZA|HE 103,400
Ineos Grenadier Electrical GRA-9L11-031040 Off-road Mode Push Button QIRL OC ZAHE 112,200
Ineos Grenadier Electrical GRA-9L11-031050 Wading Mode Push Button L5l RE ZA|HE 112,200
Ineos Grenadier Electrical GRA-9L11-031060 FRT Differential Lock Push Button FRT CIHEE & ZA|HE 122,500
Ineos Grenadier Electrical GRA-9L11-031070 RR Differential Lock Push Button RR C|HEHE E FA| HE 112,200
Ineos Grenadier Electrical GRA-9L11-031080 Working Light Push Button 2| EI0|E ZEA| HE 103,400
Ineos Grenadier Electrical GRA-9L11-032390 Auxiliary Toggle Switch HEX EZ AQX 79,300
Ineos Grenadier Electrical GRA-9L11-032400 Auxiliary Toggle Switch H5X EZ AKX 82,200
Ineos Grenadier Electrical GRA-9L11-032410 Auxiliary Toggle Switch HEX EZ AQX 71,600
Ineos Grenadier Electrical GRA-9L11-032420 Auxiliary Toggle Switch HX EZ AKX 71,600
Ineos Grenadier Electrical GRA-9L11-032430 Auxiliary Toggle Switch HEX EZ AQX 71,600
Ineos Grenadier Electrical GRA-9L11-032440 Auxiliary Toggle Switch HX EZ AKX 71,600
Ineos Grenadier Electrical GRA-9L11-032450 Auxiliary Toggle Switch HEX EZ AQX 71,600
Ineos Grenadier Electrical GRA-9L11-032460 Auxiliary Toggle Switch HX EZ AKX 91,900
Ineos Grenadier Electrical GRA-9L11-032530 Headlamp Levelling Push Button SIS e FAHE 116,400
Ineos Grenadier Electrical GRA-9L20-006880 Compass ELES 733,500
Ineos Grenadier Electrical GRA-9L20-011420 Warning Display Z3 CAEg0| 838,400
Ineos Grenadier Electrical GRA-9L20-011600 Compass EIES 733,500
Ineos Grenadier Electrical GRA-9L20-027340 Warning Display A0 CIAZY0| 828,800
Ineos Grenadier Electrical GRA-9L20-029570 Warning Display A C)AEg 0| 575,400
Ineos Grenadier Electrical GRA-9L.23-029070 Climate Control Unit = 2,869,000
Ineos Grenadier Electrical GRA-91.23-029080 Climate Control Unit = 2,795,800
Ineos Grenadier Electrical GRA-9L.23-029450 Climate Control Unit = 2,633,700
Ineos Grenadier Electrical GRA-9L23-029460 Climate Control Unit = 2,558,300
Ineos Grenadier Electrical GRA-9L30-027360 Steering Wheel Control Module AE]| ol RE 719,300
Ineos Grenadier Electrical GRA-9L30-027370 Steering Wheel Control Module AE| o2& 716,700
Ineos Grenadier Electrical GRA-9L30-033460 Steering Wheel Control Module AE]| ol RE 529,200
Ineos Grenadier Electrical GRA-9L30-033470 Steering Wheel Control Module AE| o2& 527,300
Ineos Grenadier Electrical GRA-9L30-036040 Drivers Display 2 601,200
Ineos Grenadier Electrical GRA-9L30-043640 Drivers Display 2 762,600
Ineos Grenadier Electrical GRA-9L30-043650 Compass 733,500
Ineos Grenadier Electrical GRA-9L30-043660 Drivers Display 2 703,400
Ineos Grenadier Electrical GRA-9L30-048430 Drivers Display 2 703,400
Ineos Grenadier Electrical GRA-9L30-049290 Compass 733,500
Ineos Grenadier Electrical GRA-9L33-043670 Climate Control Unit = 2,557,000
Ineos Grenadier Electrical GRA-9133-043680 Climate Control Unit = 2,557,000
Ineos Grenadier Electrical GRA-9L33-043690 Climate Control Unit = 2,557,000
Ineos Grenadier Electrical GRA-9L33-043700 Climate Control Unit = 2,557,000
Ineos Grenadier Electrical GRA-9L40-043420 Steering Wheel Control Module AE|0jE & Mo 2E 503,400
Ineos Grenadier Electrical GRA-9L41-043430 Steering Wheel Control Module AE0E & Mo BE 501,600
Ineos Grenadier Electrical GRA-9L50-036070 Central Control Interface CTR X0 QIE{HO|A 397,300
Ineos Grenadier Electrical GRA-9M00-010490 Battery HiE{ 2] 943,800
Ineos Grenadier Electrical GRA-9M00-027380 Battery Vent Line HiE 2| HIE atol 46,900
Ineos Grenadier Electrical GRA-9M00-027390 FRT Battery Bracket FRT HiE{2| 223 144,600
Ineos Grenadier Electrical GRA-9M00-044690 Battery Protection Cap HiE2| 2 74 28,000
Ineos Grenadier Electrical GRA-9M01-027400 Side Battery Bracket AFO|E HiE{2| E2}3 37,100
Ineos Grenadier Electrical GRA-9M01-027410 RR Battery Bracket RR HiE{2| E2}3l 302,400
Ineos Grenadier Electrical GRA-9M01-031090 RR Battery Bracket RR HiE{2| a2tz 501,800
Ineos Grenadier Electrical GRA-9M02-027420 Auxiliary Battery Bracket e =R 629,000
Ineos Grenadier Electrical GRA-9M11-019120 12V Power Socket Light Ring 12v o] A% 2jo|E & 4,500
Ineos Grenadier Electrical GRA-9M11-027430 Power Outlet 230V el ok 2l 230V 106,100
Ineos Grenadier Electrical GRA-9M11-027440 Power Outlet 230V It oF22l 230v 161,000
Ineos Grenadier Electrical GRA-9M11-027450 Power Outlet 120V el oh=22l 120v 94,100
Ineos Grenadier Electrical GRA-9M11-027460 Power Outlet Blanking Cap e of2al A 4,800
Ineos Grenadier Electrical GRA-9M11-027470 Power Outlet Cigar Lighter Ite| op2l A7} 2}0|E 36,700
Ineos Grenadier Electrical GRA-9M11-027480 Power Outlet Socket 12V ItQ| of2al A3l 12v 15,000
Ineos Grenadier Electrical GRA-9M11-027490 Power Socket Light Ring 12V el 27 20| E &l 12v 11,300
Ineos Grenadier Electrical GRA-9M11-027500 Power QOutlet Cap ot op2al 7 40,900
Ineos Grenadier Electrical GRA-9M11-027510 Power Outlet Socket 12V ot ot 3l A3 12v 25,800
Ineos Grenadier Electrical GRA-9M11-033360 12V Power Socket Light Ring 12v o4 A% 2jo|E & 16,800
Ineos Grenadier Electrical GRA-9M11-038470 12V Power Outlet Socket 12V ItQ| of 22l A3 105,700
Ineos Grenadier Electrical GRA-9M11-039110 12V Power Outlet OTR Housing 12V I}9| ot22l OTR 3t & 13,400
Ineos Grenadier Electrical GRA-9M11-039120 12V Power Outlet INR Housing 12V ItQf Oh2 2l INR St F 14,000
Ineos Grenadier Electrical GRA-9M11-043550 Power Outlet Housing It o2&l st & 76,000
Ineos Grenadier Electrical GRA-9M11-043630 Power Outlet Cap ntQl op=2al 7 40,900
Ineos Grenadier Electrical GRA-9M11-046500 12V Power Outlet Cigar Lighter Socket 12V I}9] Oh2 2l A|7} 2tol g A3 24,100
Ineos Grenadier Electrical GRA-9M11-047450 12V Power Outlet Socket 12V IOt oS3 A3 105,700
Ineos Grenadier Electrical GRA-9M21-027520 DC/AC Converter 115V-400W DC/AC ZAH{E{ 115V-400W 691,200
Ineos Grenadier Electrical GRA-9M21-027530 DCAC Converter Bracket DCAC ZiH{E Eat3l 478,100
Ineos Grenadier Electrical GRA-9M21-027540 DC/AC Converter 230V-400W DC/AC ZAH{E{ 230V-400W 691,200
Ineos Grenadier Electrical GRA-9M21-027550 AC Converter 230V AC ZAH{H 230V 3,252,900
Ineos Grenadier Electrical GRA-9M21-027560 AC Converter 230V AC ZAHE 230V 3,252,900
Ineos Grenadier Electrical GRA-9N01-016750 Engine Wiring Harness Module 1 AT 2to|ojE St A 2 E 1 755,300
Ineos Grenadier Electrical GRA-9N02-016790 Engine Wiring Harness Module 2 QX 20|02l St|A RE 2 813,400
Ineos Grenadier Electrical GRA-9N03-016770 Engine Wiring Harness Module 3 AT 2t0|0j& StHA B E 3 581,000
Ineos Grenadier Electrical GRA-9N11-016800 Gearbox Wiring Harness 7|0{8tA 9t0|0f &l S| A 512,800
Ineos Grenadier Electrical GRA-9N11-027580 Gearbox Wiring Harness 7|0{etA oto|of &l st A 667,200
Ineos Grenadier Electrical GRA-9N11-027590 Harness Bracket st|A 2213l 27,200
Ineos Grenadier Electrical GRA-9N11-027600 Conductor Rail ZAEH g Y 79,700
Ineos Grenadier Electrical GRA-9N11-034630 Gearbox Wiring Harness 7|0{8tA 9t0|0f &l S| A 764,000
Ineos Grenadier Electrical GRA-9N12-027610 Alternator Cable HAEH[O|E| #H0o|E 175,800
Ineos Grenadier Electrical GRA-9500-037910 Wiring Harness Bracket oto|of &l sty A E2t3l 47,400
Ineos Grenadier Electrical GRA-9500-039690 Blanking Cap S N 8,900
Ineos Grenadier Electrical GRA-9501-027780 Chassis Harness MA| SHH|A 899,800
Ineos Grenadier Electrical GRA-9501-027790 Chassis Harness MA| SHHIA 858,100
Ineos Grenadier Electrical GRA-9501-027800 Chassis Harness MA| SHH|A 948,500
Ineos Grenadier Electrical GRA-9501-027810 Chassis Harness MA| SHHIA 678,500
Ineos Grenadier Electrical GRA-9501-027820 Chassis Harness MA| SHH|A 763,800
Ineos Grenadier Electrical GRA-9501-036260 Chassis Wiring Harness MA| 2tolofal sHy|A 1,375,400
Ineos Grenadier Electrical GRA-9501-036270 Chassis Wiring Harness MA| 2100 2] S| A 1,548,900




Ineos Grenadier Electrical GRA-9501-036280 Chassis Wiring Harness MA| 2tolofal sHy|A 1,067,700
Ineos Grenadier Electrical GRA-9501-036290 Chassis Wiring Harness MA| 2100 2l S| A 1,211,500
Ineos Grenadier Electrical GRA-9501-037860 Chassis Wiring Harness MA| 2tolofal sty A 670,700
Ineos Grenadier Electrical GRA-9501-037870 Chassis Wiring Harness MA| 2100 2] S| A 722,300
Ineos Grenadier Electrical GRA-9501-037880 Chassis Wiring Harness MA| 2tolofal sHy|A 3,903,600
Ineos Grenadier Electrical GRA-9501-037890 Chassis Wiring Harness MA| 2100 2l S| A 2,047,200
Ineos Grenadier Electrical GRA-9501-037900 Chassis Wiring Harness MA| 2tolofal sHy|A 3,972,700
Ineos Grenadier Electrical GRA-9501-037920 Chassis Wiring Harness MA| 2100 2l S| A 2,115,100
Ineos Grenadier Electrical GRA-9501-037930 Chassis Wiring Harness MA| 2tolofal sHy|A 3,933,300
Ineos Grenadier Electrical GRA-9501-037940 Chassis Wiring Harness MA| 2100 2l S| A 2,075,900
Ineos Grenadier Electrical GRA-9501-038510 12V Power Outlet Blanking Cap 12V I ot el S 22,700
Ineos Grenadier Electrical GRA-9502-022470 Water Separator Relay 2|E M|IH2{0|E 20| 35,700
Ineos Grenadier Electrical GRA-9502-027830 Chassis Harness MA| SHHIA 792,000
Ineos Grenadier Electrical GRA-9502-027840 Chassis Harness MA| SHHIA 1,048,400
Ineos Grenadier Electrical GRA-9502-027850 Chassis Harness MA| SHHIA 904,900
Ineos Grenadier Electrical GRA-9502-036300 Chassis Wiring Harness MA| 2100 2l S| A 1,483,300
Ineos Grenadier Electrical GRA-9502-036310 Chassis Wiring Harness MA| 2to]of 2l sy A 1,255,000
Ineos Grenadier Electrical GRA-9502-036320 Chassis Wiring Harness MA| 2100 2] S| A 1,744,900
Ineos Grenadier Electrical GRA-9502-036330 Chassis Wiring Harness MA| 2tolofal sHy|A 1,494,100
Ineos Grenadier Electrical GRA-9502-037800 Blanking Plug £ E 17,200
Ineos Grenadier Electrical GRA-9502-037950 Chassis Wiring Harness MA| 2tolofal sy A 4,192,400
Ineos Grenadier Electrical GRA-9502-037960 Chassis Wiring Harness MA| 2100 2] S| A 2,341,500
Ineos Grenadier Electrical GRA-9502-037970 Chassis Wiring Harness MA| 2tolofal sHy|A 4,231,800
Ineos Grenadier Electrical GRA-9502-037980 Chassis Wiring Harness MA| 2100 2l S| A 2,380,900
Ineos Grenadier Electrical GRA-9502-037990 Chassis Wiring Harness MA| 2tolofal sHy|A 4,324,300
Ineos Grenadier Electrical GRA-9502-038000 Chassis Wiring Harness MA| 2100 2l S| A 2,401,400
Ineos Grenadier Electrical GRA-9502-038010 Chassis Wiring Harness MA| 2tolofal sHy|A 4,062,400
Ineos Grenadier Electrical GRA-9502-038020 Chassis Wiring Harness MA| 2100 2l S| A 2,202,700
Ineos Grenadier Electrical GRA-9502-041530 Chassis Wiring Harness MA| 2tolofal sHy|A 752,100
Ineos Grenadier Electrical GRA-9502-041540 Chassis Wiring Harness MA| 2100 2] S| A 648,300
Ineos Grenadier Electrical GRA-9503-027860 Ground Cable 2t 7o 80,100
Ineos Grenadier Electrical GRA-9503-027870 Ground Cable 22 E Ao 66,700
Ineos Grenadier Electrical GRA-9503-035260 Ground Cable 2l E #0l8 40,800
Ineos Grenadier Electrical GRA-9541-034850 FRT E-differential Bracket FRT E-C|H 24 22t 60,700
Ineos Grenadier Electrical GRA-9541-034890 FRT E-differential Wiring Harness FRT E-C| 2 M 0|0 2 S} A 79,600
Ineos Grenadier Electrical GRA-9542-034860 RR E-differential Bracket RRE-C|HE =ap3l 61,600
Ineos Grenadier Electrical GRA-9542-034900 RR E-differential Wiring Harness RR E-C|H & & 2t0]ofa st A 92,700
Ineos Grenadier Electrical GRA-9T00-008250 500A High Power Relay 500A DM 20| 627,800
Ineos Grenadier Electrical GRA-9T00-011280 Winch Power Supply X MY 32 2,017,000
Ineos Grenadier Electrical GRA-9T00-012970 Winch Power Supply 2AX M 35 2,482,600
Ineos Grenadier Electrical GRA-9T00-012980 Integrated Winch Power Cable St 21K| mtQ| Aol 449,700
Ineos Grenadier Electrical GRA-9T00-018820 Ground Wiring Harness 22 E 2100 2l st A 225,000
Ineos Grenadier Electrical GRA-9T00-019480 Winch Control Unit X HA FU 2,232,600
Ineos Grenadier Electrical GRA-9T00-019500 Winch Wiring Harness 21X| 20|02l S| A 1,212,900
Ineos Grenadier Electrical GRA-9T00-019510 Ground Wiring Harness 22 E 2100 &l st A 239,800
Ineos Grenadier Electrical GRA-9T00-027930 Under Bonnet Pre Fuse Box ACE L =2| = 8tA 681,900
Ineos Grenadier Electrical GRA-9T00-027940 Jump Start Connection Point I AELE AHUM ZOIE 524,800
Ineos Grenadier Electrical GRA-9T00-027950 Jump Start Power Supply Cable M= AEE M@ 35 7A0|E 325,700
Ineos Grenadier Electrical GRA-9T00-027970 Circuit Breaker M7l 280]|7 555,600
Ineos Grenadier Electrical GRA-9T00-028040 Connector Plug {4l E8{1 26,400
Ineos Grenadier Electrical GRA-9T00-028050 FRT Winch Relay Bracket FRT §I1X| 2o 22tz 49,900
Ineos Grenadier Electrical GRA-9T00-028590 Bracket EEL 61,700
Ineos Grenadier Electrical GRA-9T00-028600 Bracket = 24,800
Ineos Grenadier Electrical GRA-9T00-028610 Bracket =23 68,000
Ineos Grenadier Electrical GRA-9T00-030280 Ground Wiring Harness 22 E 2100 &l st A 437,600
Ineos Grenadier Electrical GRA-9T00-032310 Jump Start Connection Point MZ AELE UM ZOIE 540,600
Ineos Grenadier Electrical GRA-9T00-035610 Winch Power Supply X MY 32 2,017,000
Ineos Grenadier Electrical GRA-9T00-035620 Winch Control Unit 2AX| Hof 4 2,299,600
Ineos Grenadier Electrical GRA-9T00-035630 Integrated Winch Power Cable S5t 2IK| 1| #H 0| & 449,700
Ineos Grenadier Electrical GRA-9T01-006750 FRT Bumper Wiring Harness FRT H1{ 200 &l S} A 432,400
Ineos Grenadier Electrical GRA-9T01-006760 FRT Bumper Wiring Harness FRT HIH 2t0[0{ 2 Stif| A 487,400
Ineos Grenadier Electrical GRA-9T01-009020 FRT Bumper Wiring Harness FRT HI{ 200 &l S} A 366,100
Ineos Grenadier Electrical GRA-9T02-027880 Engine Bay Wiring Harness QIZI H|o| o]0 St A 2,087,300
Ineos Grenadier Electrical GRA-9T02-027890 Fuse Box Bracket Ex dHtA =gl 87,000
Ineos Grenadier Electrical GRA-9T02-036200 Engine Bay Wiring Harness QIZI H|o| o]0 St A 1,449,500
Ineos Grenadier Electrical GRA-9T02-040620 Engine Bay Wiring Harness Qll Xl H|0] 2f0|0f &l S| A 1,449,500
Ineos Grenadier Electrical GRA-9T03-027900 Engine Bay Wiring Harness QIZI H|o| o]0 St A 2,011,300
Ineos Grenadier Electrical GRA-9T03-027910 Engine Bay Wiring Harness Qll Xl H|0] 2f0|0f&l sFif| A 2,141,500
Ineos Grenadier Electrical GRA-9T03-027920 Fuse Box Bracket X dhA Hal3 91,100
Ineos Grenadier Electrical GRA-9T03-036210 Engine Bay Wiring Harness Qll Xl H|0] 2f0|0f&l sFf| A 1,376,000
Ineos Grenadier Electrical GRA-9T03-036220 Engine Bay Wiring Harness QXTI H|o| o]0 St A 1,470,800
Ineos Grenadier Electrical GRA-9T03-040630 Engine Bay Wiring Harness Qll Xl H|0] 2f0|0f&l sFif| A 1,376,000
Ineos Grenadier Electrical GRA-9T03-040640 Engine Bay Wiring Harness QI Xl H|O| 2F0|0{ & A 1,470,800
Ineos Grenadier Electrical GRA-9T04-027960 Circuit Breaker Bracket Mzl B2|0|7{ E2}3l 43,800
Ineos Grenadier Electrical GRA-9T04-027980 Power Supply Cable el 33 Aols 369,700
Ineos Grenadier Electrical GRA-9T04-027990 Jump Start Grip M= AEE 108 82,200
Ineos Grenadier Electrical GRA-9T04-028000 Jump Start Connection Bracket I AELE AHUM =2t 176,400
Ineos Grenadier Electrical GRA-9T05-028010 Circuit Breaker Bracket Mzl B2|0|7{ E2}3l 50,500
Ineos Grenadier Electrical GRA-9T05-028020 Circuit Breaker Supply Cable BEENEEEENE 133,900
Ineos Grenadier Electrical GRA-9T06-036060 Winch Relay Power Cable 21X 20| mtQ A olg 369,700
Ineos Grenadier Electrical GRA-9T07-028060 Winch Relay Power Supply Cable 21X Zejo] M 3F A0l 178,300
Ineos Grenadier Electrical GRA-9T07-036340 Winch Relay Power Cable 21X 20| mtQ A olg 253,800
Ineos Grenadier Electrical GRA-9T07-036350 Circuit Breaker Power Cable M7l 28jo|# m}e| #o|E 196,900
Ineos Grenadier Electrical GRA-9T11-028070 Body Harness HEC| S| A 13,217,100
Ineos Grenadier Electrical GRA-9T11-028080 Bracket =23 78,500
Ineos Grenadier Electrical GRA-9T11-028090 Bracket =23 73,600
Ineos Grenadier Electrical GRA-9T11-028100 Bracket =R 67,800
Ineos Grenadier Electrical GRA-9T11-028120 Body Harness HEC| S| A 12,308,500
Ineos Grenadier Electrical GRA-9T11-028130 Body Harness HLC| St A 13,411,100
Ineos Grenadier Electrical GRA-9T11-028140 Body Harness HEC| S| A 12,434,400
Ineos Grenadier Electrical GRA-9T11-028170 Body Harness HLC| St A 12,672,700
Ineos Grenadier Electrical GRA-9T11-028180 Body Harness HEC| SpH| A 11,812,000
Ineos Grenadier Electrical GRA-9T11-028190 Body Harness HLC| St A 12,730,800
Ineos Grenadier Electrical GRA-9T11-028200 Body Harness HEC| S| A 11,902,100
Ineos Grenadier Electrical GRA-9T11-028210 Body Harness HLC| St A 13,039,300
Ineos Grenadier Electrical GRA-9T11-028220 Body Harness HEC| S| A 12,072,200
Ineos Grenadier Electrical GRA-9T11-028230 Body Harness HLC| St A 12,919,900
Ineos Grenadier Electrical GRA-9T11-028240 Body Harness HEC| SpH| A 11,953,800




Ineos Grenadier Electrical GRA-9T11-036080 Body Wiring Harness HEC| 2}0|0{ & A 23,049,600
Ineos Grenadier Electrical GRA-9T11-036090 Body Wiring Harness HFC| Q}0|0f & S| A 21,435,300
Ineos Grenadier Electrical GRA-9T11-036100 Body Wiring Harness HEC| 2F0|O{ & S| A 22,400,400
Ineos Grenadier Electrical GRA-9T11-036110 Body Wiring Harness HFC| 2}0|0f & S| A 20,682,300
Ineos Grenadier Electrical GRA-9T11-036120 Body Wiring Harness HEC| 2}0|Of & S| A 23,375,400
Ineos Grenadier Electrical GRA-9T11-036130 Body Wiring Harness HFC| Q0|02 S| A 21,650,800
Ineos Grenadier Electrical GRA-9T11-036140 Body Wiring Harness HEC| 2}0|0{ & A 22,051,700
Ineos Grenadier Electrical GRA-9T11-036150 Body Wiring Harness HFC| Q0|02 sh| A 20,515,900
Ineos Grenadier Electrical GRA-9T11-036160 Body Wiring Harness HEC| 2}0|0{ & A 22,700,600
Ineos Grenadier Electrical GRA-9T11-036170 Body Wiring Harness HFC| 2}0|0f & S| A 20,980,100
Ineos Grenadier Electrical GRA-9T11-036180 Body Wiring Harness HEC| 2F0|0{ & S| A 22,489,700
Ineos Grenadier Electrical GRA-9T11-036190 Body Wiring Harness HFC| 2}0|0f & S| A 20,771,000
Ineos Grenadier Electrical GRA-9T11-039220 Body Wiring Harness HEC| 2F0|O{ & S| A 9,761,000
Ineos Grenadier Electrical GRA-9T11-039230 Body Wiring Harness HFC| 2}0|0f & S| A 9,236,800
Ineos Grenadier Electrical GRA-9T11-039240 Body Wiring Harness HEC| 2}0|0{ & A 9,385,400
Ineos Grenadier Electrical GRA-9T11-039250 Body Wiring Harness HFC| 40|02 S| A 8,894,500
Ineos Grenadier Electrical GRA-9T11-039270 Body Wiring Harness HEC| 2F0|0{ & S| A 9,469,300
Ineos Grenadier Electrical GRA-9T11-039310 Body Wiring Harness HFC| Q}0|0f & S| A 8,902,500
Ineos Grenadier Electrical GRA-9T11-039320 Body Wiring Harness HEC| 2}0|O{ & A 9,891,300
Ineos Grenadier Electrical GRA-9T11-039330 Body Wiring Harness HFC| Q}0|0f & S| A 9,049,100
Ineos Grenadier Electrical GRA-9T11-039350 Body Wiring Harness HEC| 2}0|0{ & S| A 9,587,800
Ineos Grenadier Electrical GRA-9T11-039370 Body Wiring Harness HFC| 2}0|0f & S| A 9,019,900
Ineos Grenadier Electrical GRA-9T11-039750 Body Wiring Harness HEC| 2}0|0{ & S| A 9,500,100
Ineos Grenadier Electrical GRA-9T11-039760 Body Wiring Harness HFC| Q}0|0f & S| A 8,933,000
Ineos Grenadier Electrical GRA-9T11-039790 Body Wiring Harness HEC| 2F0|0{ & A 9,307,000
Ineos Grenadier Electrical GRA-9T11-039800 Body Wiring Harness HFC| Q0|02 sh| A 8,898,300
Ineos Grenadier Electrical GRA-9T11-039810 Body Wiring Harness HEC| 2}0|0{ & A 9,363,700
Ineos Grenadier Electrical GRA-9T11-039820 Body Wiring Harness HFC| Q0|02 sh| A 8,800,400
Ineos Grenadier Electrical GRA-9T11-039830 Body Wiring Harness HEC| 2}0|0{ & A 9,553,400
Ineos Grenadier Electrical GRA-9T11-039840 Body Wiring Harness HFC| 2}0|0f & S| A 9,083,900
Ineos Grenadier Electrical GRA-9T11-039850 Body Wiring Harness HEC| 2F0|0{ & A 9,320,700
Ineos Grenadier Electrical GRA-9T11-039860 Body Wiring Harness HFC| 2}0|0f & sh| A 8,753,100
Ineos Grenadier Electrical GRA-9T11-039870 Body Wiring Harness HEC| 2}0|0{ & A 9,229,600
Ineos Grenadier Electrical GRA-9T11-039880 Body Wiring Harness HFC| 40|02 S| A 8,663,000
Ineos Grenadier Electrical GRA-9T12-028110 Bracket =23 68,800

Ineos Grenadier Electrical GRA-9T12-028250 Body Harness HEC| SpH| A 13,676,300
Ineos Grenadier Electrical GRA-9T12-028260 Body Harness HLC| St A 12,746,200
Ineos Grenadier Electrical GRA-9T12-028270 Body Harness HEC| SpH| A 13,810,500
Ineos Grenadier Electrical GRA-9T12-028280 Body Harness HLC| St A 12,881,800
Ineos Grenadier Electrical GRA-9T12-028290 Body Harness HEC| SpH| A 13,415,300
Ineos Grenadier Electrical GRA-9T12-028300 Body Harness HLC| St A 12,429,800
Ineos Grenadier Electrical GRA-9T12-028310 Body Harness HiC| SpH| A 13,543,800
Ineos Grenadier Electrical GRA-9T12-028320 Body Harness HLC| St A 12,558,300
Ineos Grenadier Electrical GRA-9T12-028330 Body Harness HEC| SpH| A 13,482,700
Ineos Grenadier Electrical GRA-9T12-028340 Body Harness HLC| St A 12,500,400
Ineos Grenadier Electrical GRA-9T12-029050 Body Harness HEC| SpH| A 23,714,600
Ineos Grenadier Electrical GRA-9T12-036380 Body Wiring Harness HEC| 2}0|0{ & A 22,098,800
Ineos Grenadier Electrical GRA-9T12-036390 Body Wiring Harness HFC| Q0|02 sh| A 23,248,100
Ineos Grenadier Electrical GRA-9T12-036400 Body Wiring Harness HEC| 2}0|0{ & A 21,529,600
Ineos Grenadier Electrical GRA-9T12-036410 Body Wiring Harness HFC| 2}0|0f & S| A 23,947,100
Ineos Grenadier Electrical GRA-9T12-036420 Body Wiring Harness HEC| 2}0|0{ & A 22,334,900
Ineos Grenadier Electrical GRA-9T12-036430 Body Wiring Harness HFC| 2}0|0f & S| A 23,470,900
Ineos Grenadier Electrical GRA-9T12-036440 Body Wiring Harness HEC| 2F0|O{ & S| A 21,751,900
Ineos Grenadier Electrical GRA-9T12-036450 Body Wiring Harness HFC| 40|02 S| A 23,311,200
Ineos Grenadier Electrical GRA-9T12-036460 Body Wiring Harness HEC| 2}0|O{ & A 21,598,600
Ineos Grenadier Electrical GRA-9T12-039900 Body Wiring Harness HFC| 40|02 S| A 9,957,800
Ineos Grenadier Electrical GRA-9T12-039910 Body Wiring Harness HEC| 2F0|0{ & S| A 9,435,300
Ineos Grenadier Electrical GRA-9T12-039920 Body Wiring Harness HFC| Q}0|0f & S| A 9,814,500
Ineos Grenadier Electrical GRA-9T12-039930 Body Wiring Harness HEC| 2}0|O{ & A 9,249,800
Ineos Grenadier Electrical GRA-9T12-039940 Body Wiring Harness HFC| Q}0|0f & S| A 10,060,900
Ineos Grenadier Electrical GRA-9T12-039950 Body Wiring Harness HEC| 2}0|0{ & S| A 9,539,800
Ineos Grenadier Electrical GRA-9T12-039960 Body Wiring Harness HFC| 2}0|0f & S| A 9,913,700
Ineos Grenadier Electrical GRA-9T12-039970 Body Wiring Harness HEC| 2}0|0{ & S| A 9,348,700
Ineos Grenadier Electrical GRA-9T12-039980 Body Wiring Harness HFC| 2}0|0f & S| A 9,799,800
Ineos Grenadier Electrical GRA-9T12-039990 Body Wiring Harness HEC| 2}0|0{ & S| A 9,237,400
Ineos Grenadier Electrical GRA-9T12-040000 Body Wiring Harness HFC| Q0|02 sh| A 9,587,400
Ineos Grenadier Electrical GRA-9T12-040010 Body Wiring Harness HEC| 2}0|0{ & A 9,089,300
Ineos Grenadier Electrical GRA-9T12-040020 Body Wiring Harness HFC| 2}0|0f & S| A 9,686,800
Ineos Grenadier Electrical GRA-9T12-040030 Body Wiring Harness HEC| 2}0|0{ & A 9,187,500
Ineos Grenadier Electrical GRA-9T12-040040 Body Wiring Harness HFC| 2}0|0f & S| A 9,434,400
Ineos Grenadier Electrical GRA-9T12-040050 Body Wiring Harness HEC| 2}0|0f & A 8,900,000
Ineos Grenadier Electrical GRA-9T12-040060 Body Wiring Harness HFC| 2}0|0f & sh| A 9,578,900
Ineos Grenadier Electrical GRA-9T12-040070 Body Wiring Harness HEC| 2}0|0{ & A 8,885,100
Ineos Grenadier Electrical GRA-9T12-040080 Body Wiring Harness HFC| 40|02 S| A 9,532,900
Ineos Grenadier Electrical GRA-9T12-040090 Body Wiring Harness HEC| 2F0|0{ & S| A 8,999,300
Ineos Grenadier Electrical GRA-9T13-006600 Light Bar Connector Cover 2}0|E H} {4lE 7 43,000

Ineos Grenadier Electrical GRA-9T13-028350 FRT LH Rooflight Adapter Harness FRT LH 2Z2t0|E O Sl A 383,700

Ineos Grenadier Electrical GRA-9T13-028362 FRT RH Rooflight Adapter Harness FRT RH £ Z2}0|E o{|H st A 378,800

Ineos Grenadier Electrical GRA-9T13-028371 RR LH Rooflight Adapter Harness RR LH £Z20|E O{HHE Sfi[A 371,100

Ineos Grenadier Electrical GRA-9T13-029860 Roof Connector Base 2 7{4H Ho|A 42,600

Ineos Grenadier Electrical GRA-9T13-041491 FRT LH Rooflight Adapter Harness FRT LH 2Z 20| E O sl A 137,000

Ineos Grenadier Electrical GRA-9T13-041502 FRT RH Rooflight Adapter Harness FRT RH £ Z2}0|E o{|H st A 135,200

Ineos Grenadier Electrical GRA-9T13-041511 RR LH Rooflight Adapter Harness RR LH £Z20|E O{HHE Sti[A 131,000

Ineos Grenadier Electrical GRA-9T13-041522 RR RH Rooflight Adapter Harness RRRH ZIX 20| E Of HE 3tl|A 129,800

Ineos Grenadier Electrical GRA-9T13-043292 RR RH Rooflight Adapter Harness RR RH 2IZ 20| E Of HE Sti|A 366,800

Ineos Grenadier Electrical GRA-9T21-028380 Pyro Switch ool 2 A QK| 917,100

Ineos Grenadier Electrical GRA-9T21-028400 Intelligent Battery Sensor OIEg| M E HYE{ 2] MA 428,400

Ineos Grenadier Electrical GRA-9T21-029440 Pyro Switch ool 2 A QK| 976,200

Ineos Grenadier Electrical GRA-9T21-033590 Pyro Switch ojo| 2 A QK| 759,100

Ineos Grenadier Electrical GRA-9T21-036770 BRACKET SINGLE FUSE HOLDER Hepl A2 Ex 20 48,800

Ineos Grenadier Electrical GRA-9T22-028410 Power Supply Battery Cable el 35 HiEz2| Aols 237,500

Ineos Grenadier Electrical GRA-9T22-028420 Ground Harness 22 sty A 242,100

Ineos Grenadier Electrical GRA-9T22-028430 Battery Charging Control HiE 2] £F Ao 1,125,800
Ineos Grenadier Electrical GRA-9T22-028440 Bracket EEE] 84,600

Ineos Grenadier Electrical GRA-9T22-028450 Single Fuse Power Supply Cable A2 F= e 33 Aols 156,600

Ineos Grenadier Electrical GRA-9T22-028460 Power Supply Cable Hel 23 Aolg 231,100

Ineos Grenadier Electrical GRA-9T22-028470 Single Fuse Holder M2 E=2H 621,500

Ineos Grenadier Electrical GRA-9T22-028480 Interior Pre Fuse Box Olf|2|0f =2| F= gtA 1,153,500




Ineos Grenadier Electrical GRA-9T22-034980 Battery Charging Control HiE 2] £F Ao 1,125,800
Ineos Grenadier Electrical GRA-9T22-041640 20016161-B1-Plastic cap 20016161-B1-Z2tAE 74 200
Ineos Grenadier Electrical GRA-9T22-041650 50028377-A1-Label 50028377-A1-2F 200
Ineos Grenadier Electrical GRA-9T22-044850 Battery Charging Control HiE{ 2| X Ao 1,159,600
Ineos Grenadier Electrical GRA-9T23-028490 400W Inverter Power Cable 400w QIHE Ml Aol 273,900
Ineos Grenadier Electrical GRA-9T23-028520 Inverter Power Cable 2KW Ol E{ M2l 70|82 2kW 269,100
Ineos Grenadier Electrical GRA-9T23-028530 Ground Cable 2l E #olg 332,900
Ineos Grenadier Electrical GRA-9T23-037000 400W Inverter Power Cable 400w QIHE H 2l Ao 251,000
Ineos Grenadier Electrical GRA-9T23-037010 400W Inverter Power Cable 400w PIHE R # 0 316,300
Ineos Grenadier Electrical GRA-9T23-043400 400W Inverter Power Cable 400w QIHE H 2l Ao 272,500
Ineos Grenadier Electrical GRA-9T30-036930 Airbag Connector Bracket ofjoje HUlE =23 28,900
Ineos Grenadier Electrical GRA-9T31-028540 Console Wiring Harness 2Z 9o|ojal st A 2,696,600
Ineos Grenadier Electrical GRA-9T31-028550 Console Wiring Harness 24 ololofal sty A 2,639,100
Ineos Grenadier Electrical GRA-9T31-028560 Console Wiring Harness 24 9o|ofal st A 2,523,700
Ineos Grenadier Electrical GRA-9T31-036780 Console Wiring Harness 24 ololofal sty A 6,030,100
Ineos Grenadier Electrical GRA-9T31-036790 Console Wiring Harness 24 9o|of 2l A 5,624,100
Ineos Grenadier Electrical GRA-9T31-036800 Console Wiring Harness 24 ololofal sty A 5,906,400
Ineos Grenadier Electrical GRA-9T31-036810 Console Wiring Harness 24 9o|ojal A 2,652,500
Ineos Grenadier Electrical GRA-9T31-036820 Console Wiring Harness 24 ololofal sty A 2,479,800
Ineos Grenadier Electrical GRA-9T31-036830 Console Wiring Harness 24 9o|of 2l st A 2,595,900
Ineos Grenadier Electrical GRA-9T31-036840 Console Wiring Harness 24 ololofal sty A 2,577,700
Ineos Grenadier Electrical GRA-9T31-036850 Console Wiring Harness 2Z 9o|ojal st A 2,404,000
Ineos Grenadier Electrical GRA-9T31-036860 Console Wiring Harness 24 ololofal sty A 2,559,000
Ineos Grenadier Electrical GRA-9T32-028630 Console Wiring Harness 24 9o|ofal st A 2,609,700
Ineos Grenadier Electrical GRA-9T32-028640 Console Wiring Harness 24 ololofal sty A 2,503,200
Ineos Grenadier Electrical GRA-9T32-036870 Console Wiring Harness 24 9o|ojal st A 6,008,800
Ineos Grenadier Electrical GRA-9T32-036880 Console Wiring Harness 24 ololofal sty A 5,577,800
Ineos Grenadier Electrical GRA-9T32-036890 Console Wiring Harness 24 9o|of 2l A 2,627,000
Ineos Grenadier Electrical GRA-9T32-036900 Console Wiring Harness 24 ololofal sty A 2,449,400
Ineos Grenadier Electrical GRA-9T32-036910 Console Wiring Harness 24 oo|ojal A 2,550,500
Ineos Grenadier Electrical GRA-9T32-036920 Console Wiring Harness 24 ololofal sty A 2,372,800
Ineos Grenadier Electrical GRA-9T61-028651 LH FRT Door Harness LH FRT =0f 3| A 573,600
Ineos Grenadier Electrical GRA-9T61-028661 LH FRT Door Harness LH FRT =0f &4 A 496,000
Ineos Grenadier Electrical GRA-9T61-028671 LH FRT Door Harness LH FRT =0f 3| A 509,500
Ineos Grenadier Electrical GRA-9T61-028681 LH FRT Door Harness LH FRT =0f &4 A 455,800
Ineos Grenadier Electrical GRA-9T62-028691 LH FRT Door Harness LH FRT =0 3| A 516,300
Ineos Grenadier Electrical GRA-9T62-028701 LH FRT Door Harness LH FRT =0f &4 A 463,700
Ineos Grenadier Electrical GRA-9T62-028711 LH FRT Door Harness LH FRT =0f 3| A 454,400
Ineos Grenadier Electrical GRA-9T62-028721 LH FRT Door Harness LH FRT =0f &4 A 554,100
Ineos Grenadier Electrical GRA-9T63-028732 RH FRT Door Harness RH FRT =0 8t A 484,400
Ineos Grenadier Electrical GRA-9T63-028742 RH FRT Door Harness RH FRT = 0f 3jif| A 457,000
Ineos Grenadier Electrical GRA-9T63-028752 RH FRT Door Harness RH FRT =0 8t A 448,100
Ineos Grenadier Electrical GRA-9T63-028762 RH FRT Door Harness RH FRT = 0f 3jif|A 408,600
Ineos Grenadier Electrical GRA-9T64-028772 RH FRT Door Harness RH FRT =0 8t A 569,600
Ineos Grenadier Electrical GRA-9T64-028782 RH FRT Door Harness RH FRT = 0f 3jif| A 488,900
Ineos Grenadier Electrical GRA-9T64-028792 RH FRT Door Harness RH FRT =0 8t A 503,300
Ineos Grenadier Electrical GRA-9T64-028802 RH FRT Door Harness RH FRT = 0f 3jif|A 447,900
Ineos Grenadier Electrical GRA-9T65-028811 LH RR Door Harness LH RR =0f &f4|A 510,600
Ineos Grenadier Electrical GRA-9T65-028821 LH RR Door Harness LH RR =0f St A 427,200
Ineos Grenadier Electrical GRA-9T65-028831 LH RR Door Harness LH RR =0f &f4|A 442,400
Ineos Grenadier Electrical GRA-9T65-028841 LH RR Door Harness LH RR £0{ &f4|A 347,200
Ineos Grenadier Electrical GRA-9T65-041561 LH RR Door Wiring Harness LH RR = 0] 0|0 & &} A 221,900
Ineos Grenadier Electrical GRA-9T65-041571 LH RR Door Wiring Harness LH RR £=0{ 2}0|0{ & &} A 187,400
Ineos Grenadier Electrical GRA-9T65-041581 LH RR Door Wiring Harness LH RR =0f 20|02 &} A 193,500
Ineos Grenadier Electrical GRA-9T65-041591 LH RR Door Wiring Harness LH RR E=0f 2}0|0{ & &} A 149,800
Ineos Grenadier Electrical GRA-9T66-028852 RH RR Door Harness RHRR =0f 8}l A 507,900
Ineos Grenadier Electrical GRA-9T66-028862 RH RR Door Harness RHRR =0f St A 424,500
Ineos Grenadier Electrical GRA-9T66-028872 RH RR Door Harness RHRR =0f 8}l A 437,600
Ineos Grenadier Electrical GRA-9T66-028882 RH RR Door Harness RH RR £0f 8t A 341,800
Ineos Grenadier Electrical GRA-9T66-041602 RH RR Door Wiring Harness RH RR =0 0|0 &l S} A 220,900
Ineos Grenadier Electrical GRA-9T66-041612 RH RR Door Wiring Harness RH RR £.0f 2100 &l 8} A 186,300
Ineos Grenadier Electrical GRA-9T66-041622 RH RR Door Wiring Harness RH RR =0 0|0 &l S} A 191,500
Ineos Grenadier Electrical GRA-9T66-041632 RH RR Door Wiring Harness RH RR £.0f 2100 &l 8} A 147,500
Ineos Grenadier Electrical GRA-9T81-028891 LH RR Split Door Harness LHRR 22 & 0] 5t A 242,300
Ineos Grenadier Electrical GRA-9T81-036231 LH RR Split Door Wiring Harness LH RR 23| =0f 2t0|0f& S|~ 369,200
Ineos Grenadier Electrical GRA-9T82-028902 RH RR Split Door Harness RHRR 2E& &0 gt A 409,200
Ineos Grenadier Electrical GRA-9T82-028912 RH RR Split Door Harness RHRR 2Z8 =0 st A 480,400
Ineos Grenadier Electrical GRA-9T82-028920 RR View Camera RR £ Zto2t 403,400
Ineos Grenadier Electrical GRA-9T82-033540 RR View Camera RR & 7t 2t 415,500
Ineos Grenadier Electrical GRA-9T82-036242 RH RR Split Door Wiring Harness RHRR AZEl =0 Q0|0 &l S| A 666,600
Ineos Grenadier Electrical GRA-9T82-036252 RH RR Split Door Wiring Harness RH RR AZ&l £0f 2t0[0{ & B} A 540,500
Ineos Grenadier Electrical GRA-9T82-040602 RH RR Split Door Wiring Harness RHRR AEEl =0 Q0|0 &l S| A 231,200
Ineos Grenadier Electrical GRA-9T82-040612 RH RR Split Door Wiring Harness RH RR AZ&l £0f 20|00 & B} A 283,200
Ineos Grenadier Electrical GRA-9T83-040770 Tailgate Wiring Harness E|2 A 0| E 2t0]0{ &l Sfi|A 264,000
Ineos Grenadier Electrical GRA-9T83-040780 Tailgate Wiring Harness E|2AO|E 2to|0fEl st|A 194,100
Ineos Grenadier Electrical GRA-9T91-006770 RR Bumper Wiring Harness RR HI{ 0|0 &l S} A 766,800
Ineos Grenadier Electrical GRA-9T91-006780 RR Bumper Wiring Harness RR i 20|08l il A 1,076,700
Ineos Grenadier Electrical GRA-9T91-006790 RR Bumper Wiring Harness RR HI{ 0|0 &l S} A 3,690,600
Ineos Grenadier Electrical GRA-9T91-006800 RR Bumper Wiring Harness RR i 20|08l | A 4,029,400
Ineos Grenadier Electrical GRA-9T91-006810 RR Bumper Wiring Harness RR HI{ 0|0 &l S} A 661,600
Ineos Grenadier Electrical GRA-9T91-006820 RR Bumper Wiring Harness RR BT 20|08l | A 1,007,300
Ineos Grenadier Electrical GRA-9T91-006830 RR Bumper Wiring Harness RR HI{ 0|0 &l S} A 3,585,600
Ineos Grenadier Electrical GRA-9T91-006840 RR Bumper Wiring Harness RR i 20|08l | A 1,374,700
Ineos Grenadier Electrical GRA-9T91-040490 RR Bumper Wiring Harness RR HI{ 0|0 &l S} A 1,007,300
Ineos Grenadier Electrical GRA-9T91-040500 RR Bumper Wiring Harness RR BT 20|08l | A 1,237,200
Ineos Grenadier Electrical GRA-9T91-040510 RR Bumper Wiring Harness RR HI{ 0|0 &l S} A 766,800
Ineos Grenadier Electrical GRA-9T91-040520 RR Bumper Wiring Harness RR BT 20|08l il A 1,110,700
Ineos Grenadier Electrical GRA-9T91-040530 RR Bumper Wiring Harness RR HI{ 0|0 &l S} A 1,167,200
Ineos Grenadier Electrical GRA-9T91-040540 RR Bumper Wiring Harness RR BT 20|08l | A 4,029,400
Ineos Grenadier Electrical GRA-9T91-040560 RR Bumper Wiring Harness RR HI{ 200 &l S} A 1,137,700
Ineos Grenadier Electrical GRA-9T93-028930 Rear Winch Power Supply Cable 2|0 21X Ml 32 Aol 420,100
Ineos Grenadier Electrical GRA-9T93-028940 High Power Relay 500A e 21840] 500A 708,600
Ineos Grenadier Electrical GRA-9T93-037020 Rear Winch Power Supply Cable 2|0 21X Ml 32 Aol 213,700
Ineos Grenadier Electrical GRA-9T94-028950 Trailer Plug Bracket Egjeg {1 2213 59,900
Ineos Grenadier Electrical GRA-9T94-028960 NATO Connector Bracket NATO 74l E 2213l 46,500
Ineos Grenadier Electrical GRA-9T94-037810 13 Pin Towing Socket Wiring Harness 13 T EQ AZ 240|0{ & S| A 392,000
Ineos Grenadier Electrical GRA-9T94-037820 7 Pin Towing Socket Wiring Harness 7 T EQ A2 9to|of &l B A 341,400
Ineos Grenadier Electrical GRA-9T94-043350 Trailer Plug Bracket Egjeg {1 2213 21,200




Ineos Grenadier Accessory GRA-0A82-043601 LH Side Runners 1,046,000
Ineos Grenadier Accessory GRA-0A82-043612 RH Side Runners 1,046,000
Ineos Grenadier Accessory GRA-0B06-043801 LH Rock Sliders 1,046,000
Ineos Grenadier Accessory GRA-0B06-043812 RH Rock Sliders 1,046,000
Ineos Grenadier Accessory GRA-0A91-001210 Locking Wheel Nuts 205,000
Ineos Grenadier Accessory GRA-0A65-001120 Seat Covers Front Row 587,000
Ineos Grenadier Accessory GRA-0A65-001130 Seat Covers Rear Row 587,000
Ineos Grenadier Accessory GRA-0A63-001100 Rubber Floor Mats 410,000
Ineos Grenadier Accessory GRA-0A61-001080 Carpet Floor Mats FH ZE20{ O E 500,000
Ineos Grenadier Accessory GRA-0A34-001000 Tailgate Table E|2 A 0| E Eo|& 769,000
Ineos Grenadier Accessory GRA-0A41-001030 Cargo Barrier 73 HY2|0f 714,000
Ineos Grenadier Accessory GRA-0A41-022610 Loadspace Divider 2LCALO|A C|HO|H 623,000
Ineos Grenadier Accessory GRA-0A42-001050 Cargo System Fta 22| A|AE 432,000
Ineos Grenadier Accessory GRA-0A36-001020 Luggage Organiser 27| x| 2 AHL}0|X 132,000
Ineos Grenadier Accessory GRA-0A41-001450 Loadspace Partition Net ZEAHO|A THE[M HE 450,000
Ineos Grenadier Accessory GRA-0A52-001070 Luggage Net 27|k HE 96,000
Ineos Grenadier Accessory GRA-0A54-001400 Quick Release Tie-Down Rings 2| 2a|A Elo| Ch2 & 25,000
Ineos Grenadier Accessory GRA-0A01-022570 Roof Rack Platform 2ol ESE 2,558,000
Ineos Grenadier Accessory GRA-0A01-032490 Roof Rack Fitting Kit 2z 2 O|g 7| E 852,000
Ineos Grenadier Accessory GRA-0B25-001310 Batwing Side Awning HIEQ AfO|E Ofd 1,446,000
Ineos Grenadier Accessory GRA-0A55-001560 RotopaxTM Mounting Bracket Fitting Kit ZETA OI2E a7l /& 7|E 32,000
Ineos Grenadier Accessory GRA-0A93-001590 Spare Wheel Carrier A00f 2 7420 223,000
Ineos Grenadier Accessory GRA-0B23-001460 Jerry Can Mount He|Zi o E 241,000
Ineos Grenadier Accessory GRA-0A16-001510 Load Corner Brackets 2C A =53l 232,000
Ineos Grenadier Accessory GRA-0B31-001320 Hi-Lift Jack Mount 10| 2|ZE M OI2E 187,000
Ineos Grenadier Accessory GRA-0A72-001490 Work Lamp Bracket Q|3 2= =33l 187,000
Ineos Grenadier Accessory GRA-0A04-001420 Folding Aerial Mount Zcl 02| O E 187,000
Ineos Grenadier Accessory GRA-0B22-001300 Gas Bottle Holder A HE B0 241,000
Ineos Grenadier Accessory GRA-0A54-001550 Lockdown Security Cable 2CHe 20 A ol2 96,000
Ineos Grenadier Accessory GRA-0A12-000970 Surfboard Carrier MEEE 742|0f 187,000
Ineos Grenadier Accessory GRA-0B13-001480 Sand Ladder Side Mounting Brackets ME 2§ AIO|E OFRE! Eat3l 341,000
Ineos Grenadier Accessory GRA-0B13-001470 Sand Ladder Flat Mounting Brackets AME B¢ E21 O E 23l 287,000
Ineos Grenadier Accessory GRA-0A16-001600 Tool Bracket £ =523l 205,000
Ineos Grenadier Accessory GRA-0A02-032480 Cross-Bars A2 A Hf 869,000
Ineos Grenadier Accessory GRA-0A22-001580 Cargo Box Fta ghA 1,228,000
Ineos Grenadier Accessory GRA-0A14-001440 Kayak Mount Saddles 71 O E M E 369,000
Ineos Grenadier Accessory GRA-0A14-001430 Kayak Mount J-Style 1ok OF2 E H|O| AEFY 432,000
Ineos Grenadier Accessory GRA-0A11-000960 Bike Carrier M EREe] 605,000
Ineos Grenadier Accessory GRA-0A13-000980 Ski Snowboard Carrier AF| ALQHE FiE[0f 387,000
Ineos Grenadier Accessory GRA-0A51-001530 Adjustable Load Holder O|{EXAEE BEE 24 96,000
Ineos Grenadier Accessory GRA-0A51-001060 Cargo Load Straps Ft0 2E AER 60,000
Ineos Grenadier Accessory GRA-0A54-001540 Roof Tie-Down Rings 2= ELO|-CH & 123,000
Ineos Grenadier Chemical Gasoline Engine Oil Titan GT1 Flex 5 0W20 (1L) Titan GT1 Flex 5 0W20 (1L) 17,200
Ineos Grenadier Chemical Anti Freeze Ravenol HTC-40C MB 325.0 Blue (5L) Ravenol HTC-40C MB 325.0 Blue (5L) 27,500
Ineos Grenadier Chemical Transfer Case Oil Titan Sintopoid 75W90 (1L) Titan Sintopoid 75W90 (1L) 21,100
Ineos Grenadier Chemical Axle Oil Titan Supergear MC 80W90 (1L) Titan Supergear MC 80W90 (1L) 21,900
Ineos Grenadier Chemical Auto Transmission Oil ZF LifeGuard Fluid 8 (1L) ZF LifeGuard Fluid 8 (1L) 25,800
Ineos Grenadier Chemical Power Steering Oil Fuchs Titan CHF 11S (1L) Fuchs Titan CHF 11S (1L) 24,100
Ineos Grenadier Chemical Brake Fluid TRW DOT4 ESP (1L) TRW DOT4 ESP (1L) 14,000




